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Αβστραχτ

Ιν τηισ ωορκ ωε δεαλ ωιτη λινεαρ σεχονδ ορδερ παρτιαλ δι⁄ερεντιαλ οπερ−
ατορσ οφ τηε φολλοωινγ τψπε:

Η = ≅τ � Λ = ≅τ �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ΞιΞϕ �
θΞ

κ=1

ακ (τ; ξ)Ξκ � α0 (τ; ξ)

ωηερε Ξ1; Ξ2; : : : ; Ξθ ισ α σψστεµ οφ ρεαλ Ηρµανδερ�σ ϖεχτορ �ελδσ ιν
σοµε βουνδεδ δοµαιν 
 � Ρ

ν, Α = φαιϕ (τ; ξ)γθι;ϕ=1 ισ α ρεαλ σψµµετριχ
�2000 ΑΜΣ Χλασσι�χατιον. Πριµαρψ: 35Η20, 35Α08, 35Κ65 Σεχονδαρψ: 35Η10,

35Α17 Κεψωορδσ: Ηρµανδερ�σ ϖεχτορ �ελδσ, ηεατ κερνελσ, Γαυσσιαν βουνδσ, Ηαρναχκ ιν−
εθυαλιτιεσ
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υνιφορµλψ ποσιτιϖε δε�νιτε µατριξ συχη τηατ:

�
�1 ϕ�ϕ2 �

θΞ

ι;ϕ=1

αιϕ (τ; ξ) �ι�ϕ � � ϕ�ϕ2 8� 2 Ρθ; ξ 2 
; τ 2 (Τ1; Τ2)

φορ α συιταβλε χονσταντ � > 0 α φορ σοµε ρεαλ νυµβερσ Τ1 < Τ2: Τηε
χοε′χιεντσ αιϕ ; ακ; α0 αρε Ηλδερ χοντινυουσ ον (Τ1; Τ2)� 
 ωιτη ρεσπεχτ
το τηε παραβολιχ ΧΧ−µετριχ

δΠ ((τ; ξ) ; (σ; ψ)) =

θ
δ (ξ; ψ)2 + ϕτ� σϕ

(ωηερε δ ισ τηε Χαρνοτ−Χαρατηοδορψ διστανχε ινδυχεδ βψ τηε ϖεχτορ �ελδσ
Ξι�σ). Ωε προϖε τηε εξιστενχε οφ α φυνδαµενταλ σολυτιον η (τ; ξ; σ; ψ) φορ
Η, σατισφψινγ νατυραλ προπερτιεσ ανδ σηαρπ Γαυσσιαν βουνδσ οφ τηε κινδ:

ε�χδ(ξ;ψ)
2=(τ�σ)

χ
��Β
�
ξ;
π
τ� σ

��� � η (τ; ξ; σ; ψ) � χ
ε�δ(ξ;ψ)

2=χ(τ�σ)

��Β
�
ξ;
π
τ� σ

���

ϕΞιη (τ; ξ; σ; ψ)ϕ �
χπ
τ� σ

ε�δ(ξ;ψ)
2=χ(τ�σ)

��Β
�
ξ;
π
τ� σ

���

ϕΞιΞϕη (τ; ξ; σ; ψ)ϕ+ ϕ≅τη (τ; ξ; σ; ψ)ϕ �
χ

τ� σ
ε�δ(ξ;ψ)

2=χ(τ�σ)

��Β
�
ξ;
π
τ� σ

���

ωηερε ϕΒ (ξ; ρ)ϕ δενοτεσ τηε Λεβεσγυε µεασυρε οφ τηε δ−βαλλ Β (ξ; ρ). Ωε
τηεν υσε τηεσε προπερτιεσ οφ η ασ α σταρτινγ ποιντ το προϖε α σχαλινγ ινϖαρι−
αντ Ηαρναχκ ινεθυαλιτψ φορ ποσιτιϖε σολυτιονσ το Ηυ = 0, ωηεν α0 � 0.
Αλλ τηε χονσταντσ ιν ουρ εστιµατεσ ανδ ινεθυαλιτιεσ ωιλλ δεπενδ ον τηε
χοε′χιεντσ αιϕ ; ακ; α0 ονλψ τηρουγη τηειρ Ηλδερ νορµσ ανδ τηε νυµβερ �.
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Ιντροδυχτιον

Οβϕεχτ ανδ µαιν ρεσυλτσ οφ τηε παπερ

Λετ υσ χονσιδερ τηε ηεατ−τψπε οπερατορ ιν Ρν+1

Η = ≅τ � Λ = ≅τ �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ΞιΞϕ �
θΞ

κ=1

ακ (τ; ξ)Ξκ � α0 (τ; ξ) (0.1)

ωηερε:
(Η1) Ξ1; Ξ2; : : : ; Ξθ ισ α σψστεµ οφ ρεαλ σµοοτη ϖεχτορ �ελδσ ωηιχη αρε

δε�νεδ ιν σοµε βουνδεδ δοµαιν 
 � Ρν ανδ σατισφψ Ηρµανδερ�σ χονδιτιον ιν

: ρανκ ΛιεφΞι; ι = 1; 2; :::; θγ = ν ατ ανψ ποιντ οφ 
 (µορε πρεχισε δε�νιτιονσ
ωιλλ βε γιϖεν λατερ);
(Η2) Α = φαιϕ (τ; ξ)γθι;ϕ=1 ισ α ρεαλ σψµµετριχ υνιφορµλψ ποσιτιϖε δε�νιτε

µατριξ σατισφψινγ, φορ σοµε ποσιτιϖε χονσταντ �,

��1 ϕ�ϕ2 �
θΞ

ι;ϕ=1

αιϕ (τ; ξ) �ι�ϕ � � ϕ�ϕ2

φορ εϖερψ � 2 Ρθ; ξ 2 
; τ 2 (Τ1; Τ2) φορ σοµε Τ1 < Τ2.
Ιφ δ (ξ; ψ) δενοτεσ τηε Χαρνοτ−Χαρατηοδορψ µετριχ γενερατεδ ιν 
 βψ τηε

Ξι�σ ανδ

δΠ ((τ; ξ) ; (σ; ψ)) =

θ
δ (ξ; ψ)

2
+ ϕτ� σϕ

ισ ιτσ �παραβολιχ� χουντερπαρτ ιν Ρ� 
, ωε ωιλλ ασσυµε τηατ:
(Η3) αιϕ ; ακ; α0 αρε Ηλδερ χοντινυοσ ον Χ = (Τ1; Τ2)�
 ωιτη ρεσπεχτ το

τηε διστανχε δΠ :
Υνδερ ασσυµπτιονσ (Η1),(Η2),(Η3), ωε σηαλλ προϖε τηε εξιστενχε ανδ βασιχ

προπερτιεσ οφ α φυνδαµενταλ σολυτιον η φορ τηε οπερατορ Η, ινχλυδινγ α ρεπρεσεν−
τατιον φορµυλα φορ σολυτιονσ το τηε Χαυχηψ προβλεµ, α �ρεπροδυχτιον προπερτψ�
φορ η, ανδ ρεγυλαριτψ ρεσυλτσ: ναµελψ, ωε ωιλλ σηοω τηατ η ισ λοχαλλψ Ηλδερ χον−
τινυουσ, φαρ ο⁄ τηε πολε, τογετηερ ωιτη ιτσ δεριϖατιϖεσ Ξϕη;ΞιΞϕη; ≅τη. Το βε
µορε πρεχισε, αν εξπλανατιον ισ ιν ορδερ ηερε. Τηε οπερατορ Η ισ δε�νεδ ονλψ
ον τηε χψλινδερ Χ: Ον τηε οτηερ ηανδ, δεαλινγ ωιτη φυνδαµενταλ σολυτιονσ, ιτ ισ
χονϖενιεντ το ωορκ ωιτη αν οπερατορ δε�νεδ ον τηε ωηολε σπαχε: Φορ τηισ ρεασον
ωε ωιλλ εξτενδ τηε οπερατορ Η το τηε ωηολε Ρν+1; ιν συχη α ωαψ τηατ, ουτσιδε
α χοµπαχτ σετ ιν τηε σπαχε ϖαριαβλεσ, ιτ χοινχιδεσ ωιτη τηε χλασσιχαλ ηεατ οπερ−
ατορ, ανδ ηενχεφορτη ωε ωιλλ στυδψ τηε φυνδαµενταλ σολυτιον φορ τηισ εξτενδεδ
οπερατορ.
Στριχτλψ ρελατεδ το τηε προοφ οφ τηε εξιστενχε οφ η, ανδ οφ ινδεπενδεντ ιντερεστ,
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αρε σεϖεραλ σηαρπ Γαυσσιαν βουνδσ φορ η τηατ ωε ωιλλ εσταβλιση:

ε�χδ(ξ;ψ)
2=(τ�σ)

χ
��Β
�
ξ;
π
τ� σ

��� � η (τ; ξ; σ; ψ) � χ
ε�δ(ξ;ψ)

2=χ(τ�σ)
��Β
�
ξ;
π
τ� σ

���

ϕΞιη (τ; ξ; σ; ψ)ϕ �
χπ
τ� σ

ε�δ(ξ;ψ)
2=χ(τ�σ)

��Β
�
ξ;
π
τ� σ

��� (0.2)

ϕΞιΞϕη (τ; ξ; σ; ψ)ϕ+ ϕ≅τη (τ; ξ; σ; ψ)ϕ �
χ

τ� σ
ε�δ(ξ;ψ)

2=χ(τ�σ)
��Β
�
ξ;
π
τ� σ

���

ωηερε ξ; ψ 2 Ρν; 0 < τ � σ < Τ ανδ ϕΒ (ξ; ρ)ϕ δενοτεσ Λεβεσγυε µεασυρε οφ τηε
δ−βαλλ Β (ξ; ρ). Τηε χονσταντ χ ιν τηεσε εστιµατεσ δεπενδσ ον τηε χοε′χιεντσ
αιϕ ; ακ; α0 ονλψ τηρουγη τηειρ Ηλδερ µοδυλι οφ χοντινυιτψ ανδ τηε ελλιπτιχιτψ
χονσταντ �:
Α πρεχισε λιστ οφ τηε ρεσυλτσ ωε προϖε αβουτ η ισ χονταινεδ ιν Τηεορεµ 10.7,

στατεδ ατ τηε βεγιννινγ οφ Παρτ ΙΙ (σεε αλσο Ρεµαρκ 10.9).
Α ρεµαρκαβλε χονσεθυενχε οφ τηεσε βουνδσ ισ α σχαλινγ ινϖαριαντ Ηαρναχκ

ινεθυαλιτψ φορ Η; ανδ φορ ιτσ στατιοναρψ χουντερπαρτ Λ ιν (0.1), ωηιχη ωιλλ βε
προϖεδ τηρουγηουτ Παρτ ΙΙΙ. Ιν τηατ παρτ ωε ωιλλ ασσυµε α0, τηε ζερο ορδερ τερµ
οφ Η, το βε ιδεντιχαλλψ ζερο. Πρεχισε ρεσυλτσ αρε στατεδ ιν Τηεορεµσ 15.1 ανδ
15.3 ατ τηε βεγιννινγ οφ Παρτ ΙΙΙ.
Ασ ωε µεντιονεδ βεφορε, αλλ τηε ρεσυλτσ ωε ηαϖε δεσχριβεδ σο φαρ αρε προϖεδ

φορ αν οπερατορ δε�νεδ ον τηε ωηολε σπαχε, ωηιχη εξτενδσ Η, ινιτιαλλψ δε�νεδ
ονλψ λοχαλλψ. Ατ τηε ενδ οφ τηισ ωορκ (σεε Σεχτιον 19) ωε ωιλλ αλσο σηοω ηοω το
χοµε βαχκ το τηε οριγιναλ οπερατορ, δεδυχινγ λοχαλ ρεσυλτσ φροµ τηε αβοϖε γλοβαλ
τηεορεµσ (σεε Τηεορεµσ 19.1 ανδ 19.2). Ωε χουλδ αλσο σαψ τηατ τηε �ναλ γοαλ
οφ αλλ ουρ τηεορψ ισ το προϖε λοχαλ προπερτιεσ οφ ουρ οπερατορσ, σο τηατ τηε τηεορψ
ιτσελφ ισ λοχαλ, ιν σπιριτ, αλτηουγη ιτ εξπλοιτσ, φορ τεχηνιχαλ χονϖενιενχε, οβϕεχτσ
τηατ αρε δε�νεδ γλοβαλλψ.
Αν αννουνχεµεντ οφ τηε ρεσυλτσ χονταινεδ ιν τηισ παπερ ηασ αππεαρεδ ιν [13].

Πρεϖιουσ ρεσυλτσ ανδ βιβλιογραπηιχ ρεµαρκσ

Γαυσσιαν εστιµατεσ φορ τηε φυνδαµενταλ σολυτιον οφ σεχονδ ορδερ παρτιαλ δι⁄ερ−
εντιαλ οπερατορσ οφ παραβολιχ τψπε, ορ, σοµεηοω µορε γενεραλλψ, φορ τηε δενσιτψ
φυνχτιον οφ ηεατ δι⁄υσιον σεµιγρουπσ, ηαϖε α λονγ ηιστορψ, σταρτινγ ωιτη Αρον−
σον�σ ωορκ [1]. Τηε ρελεϖανχε οφ τωο−σιδεδ Γαυσσιαν εστιµατεσ το γετ σχαλινγ
ινϖαριαντ Ηαρναχκ ινεθυαλιτιεσ φορ ποσιτιϖε σολυτιονσ ωασ �ρστλψ ποιντεδ ουτ βψ
Ναση ιν τηε Αππενδιξ οφ ηισ χελεβρατεδ παπερ [46]. Ηοωεϖερ, α χοµπλετε ιµπλε−
µεντατιον οφ τηε µετηοδ ουτλινεδ βψ Ναση ωασ γιϖεν µυχη λατερ βψ Φαβεσ ανδ
Στροοχκ ιν [22], αλσο ινσπιρεδ βψ σοµε ιδεασ οφ Κρψλοϖ ανδ Σαφονοϖ (σεε [32], [33],
[50]). Σινχε τηεν, τηε φυλλ στρενγτη οφ Γαυσσιαν εστιµατεσ ηασ βεεν ενλιγητενεδ
βψ σεϖεραλ αυτηορσ, σηοωινγ τηειρ δεεπ ρελατιονσηιπ νοτ ονλψ ωιτη τηε σχαλινγ
ινϖαριαντ Ηαρναχκ ινεθυαλιτψ, βυτ αλσο ωιτη τηε υλτραχοντραχτιϖιτψ προπερτψ οφ
ηεατ δι⁄υσιον σεµιγρουπσ, ωιτη ινεθυαλιτιεσ οφ Ναση, Σοβολεϖ ορ Ποινχαρ τψπε,
ανδ ωιτη τηε δουβλινγ προπερτψ οφ τηε µεασυρε οφ �ιντρινσιχ� βαλλσ. Ωε διρεχτλψ
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ρεφερ το τηε ρεχεντ µονογραπη βψ Σαλο⁄−Χοστε [51] φορ α βεαυτιφυλ εξποσιτιον οφ
τηισ χιρχλε οφ ιδεασ, ανδ φορ αν εξηαυστιϖε λιστ οφ ρεφερενχεσ ον τηεσε συβϕεχτσ.
Ηερε ωε εξπλιχιτλψ ρεχαλλ ϕυστ τηε ρεσυλτσ ιν λιτερατυρε στριχτλψ χλοσε το τηε χορε οφ
ουρ ωορκ.
Φορ ηεατ οπερατορσ οφ τηε κινδ

Η = ≅τ �
θΞ

ι=1

Ξ2
ι (0.3)

ωιτη Ξι λεφτ ινϖαριαντ ηοµογενεουσ ϖεχτορ �ελδσ ον α Χαρνοτ γρουπ ιν Ρν,
Γαυσσιαν βουνδσ ηαϖε βεεν προϖεδ βψ ςαροπουλοσ ([57], [58], σεε αλσο [59]):

1

χτΘ=2
ε�χκψ�1�ξκ

2
=τ � η (τ; ξ; ψ) � χ

τΘ=2
ε�κψ�1�ξκ

2
=χτ (0.4)

φορ ανψ ξ; ψ 2 Ρν; τ > 0, ωηερε Θ ισ τηε ηοµογενεουσ διµενσιον οφ τηε γρουπ,
ανδ κ�κ ανψ ηοµογενεουσ νορµ οφ τηε γρουπ. Τωο−σιδεδ Γαυσσιαν εστιµατεσ
ανδ α σχαλινγ ινϖαριαντ Ηαρναχκ ινεθυαλιτψ φορ τηε οπερατορ

Η = ≅τ �
θΞ

ι;ϕ=1

Ξι (αιϕΞϕ)

ηαϖε βεεν προϖεδ βψ Σαλο⁄−Χοστε ανδ Στροοχκ ιν [52], ωηερε φαιϕγ ισ α υνι−
φορµλψ ποσιτιϖε µατριξ ωιτη µεασυραβλε εντριεσ, ανδ τηε ϖεχτορ �ελδσ Ξι αρε λεφτ
ινϖαριαντ ωιτη ρεσπεχτ το α χοννεχτεδ υνιµοδυλαρ Λιε γρουπ ωιτη πολψνοµιαλ
γροωτη.
Ιν αβσενχε οφ α γρουπ στρυχτυρε, Γαυσσιαν βουνδσ φορ οπερατορσ (0.3) ηαϖε

βεεν προϖεδ, ον α χοµπαχτ µανιφολδ ανδ φορ �νιτε τιµε, βψ ϑερισον−Σανχηεζ−Χαλλε
[30], ωιτη αν αναλψτιχ αππροαχη (σεε αλσο τηε πρεϖιουσ παρτιαλ ρεσυλτ ιν [53]), ανδ,
ον τηε ωηολε Ρν+1; βψ Κυσυοκα−Στροοχκ, [35], [36], υσινγ τηε Μαλλιαϖιν στοχηαστιχ
χαλχυλυσ.
Υνλικε τηε στυδψ οφ �συµ οφ σθυαρεσ� Ηρµανδερ�σ οπερατορσ, τηε ινϖεστι−

γατιον οφ νον−διϖεργενχε οπερατορσ οφ Ηρµανδερ τψπε ηασ α ρελατιϖελψ ρεχεντ
ηιστορψ. Στατιοναρψ οπερατορσ οφ κινδ

Λ =

θΞ

ι;ϕ=1

αιϕ (ξ)ΞιΞϕ (0.5)

ωιτη Ξ1; :::; Ξθ σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ ηαϖε βεεν στυδιεδ βψ Ξυ
[60], Βραµαντι, Βρανδολινι [10], [11], Χαπογνα, Ηαν [15]. Α �ρστ αττεµπτ το
στυδψ Χορδεσ ανδ/ορ Αλεξανδροϖ−Βακελµαν−Πυχχι εστιµατεσ φορ οπερατορσ (0.5)
ωιτη µεασυραβλε χοε′χιεντσ αιϕ ανδ παρτιχυλαρ χλασσεσ οφ ϖεχτορ �ελδσ Ξι αρε
χονταινεδ ιν [19], [20], [21].
Εϖολυτιον οπερατορσ οφ κινδ (0.1) ηαϖε βεεν χονσιδερεδ βψ Βον�γλιολι, Λαν−

χονελλι, Υγυζζονι [3], [4], [6], Βραµαντι, Βρανδολινι [12]. Ιν [9] αλσο µορε γενεραλ
οπερατορσ οφ κινδ

Λ =

θΞ

ι;ϕ=1

αιϕ (ξ)ΞιΞϕ + α0 (ξ)Ξ0 (0.6)
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ωιτη Ξ0; Ξ1; :::; Ξθ σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ ηαϖε βεεν στυδιεδ.
Ιν τηεσε παπερσ, τηε µατριξ φαιϕγ ισ ασσυµεδ σψµµετριχ ανδ υνιφορµλψ ελ−

λιπτιχ, ανδ τηε εντριεσ αιϕ τψπιχαλλψ βελονγ το σοµε φυνχτιον σπαχε δε�νεδ ιν
τερµσ οφ τηε ϖεχτορ �ελδσ Ξι ανδ τηε µετριχ τηεψ ινδυχε. Ιν παρτιχυλαρ, τηεσε
οπερατορσ δο νοτ ηαϖε σµοοτη χοε′χιεντσ, σο τηεψ αρε νο λονγερ ηψποελλιπτιχ.
Τηερεφορε τηε µερε εξιστενχε οφ α φυνδαµενταλ σολυτιον ισ τρουβλεσοµε. Φορ τηε
οπερατορσ (0.1) (ωιτηουτ λοωερ ορδερ τερµσ) ωιτη Ξι λεφτ ινϖαριαντ ηοµογενεουσ
Ηρµανδερ�σ ϖεχτορ �ελδσ ον α στρατι�εδ Λιε γρουπ ανδ υνδερ ασσυµπτιονσ (Η1),
(Η2), (Η3), ιτ ηασ βεεν προϖεδ βψ Βον�γλιολι, Λανχονελλι, Υγυζζονι ιν [3], [4],
[5] τηατ τηε φυνδαµενταλ σολυτιον η εξιστσ ανδ σατισ�εσ Γαυσσιαν βουνδσ οφ τηε
κινδ (0.4). Ασ α χονσεθυενχε οφ τηεσε εστιµατεσ, ιν [6] ιτ ισ προϖεδ α σχαλινγ
ινϖαριαντ Ηαρναχκ ινεθυαλιτψ φορ τηε οπερατορ Η.
Α παρτιχυλαρ χλασσ οφ οπερατορσ (0.6), ναµελψ υλτραπαραβολιχ οπερατορσ οφ

Κολµογοροϖ−Φοκκερ−Πλανχκ τψπε, ηασ βεεν στυδιεδ βψ Πασχυχχι ανδ Πολιδορο
ιν ρελατιον βοτη ωιτη Ηαρναχκ ινεθυαλιτψ ανδ Γαυσσιαν βουνδσ φορ τηε φυνδα−
µενταλ σολυτιον; σεε [47].
Πρεϖιουσ ρεσυλτσ αβουτ Ηαρναχκ ινεθυαλιτψ φορ γενεραλ Ηρµανδερ�σ οπερα−

τορσ δατε βαχκ το Βονψ�σ σεµιναλ παπερ [8], ωηερε α �ρστ θυαλιτατιϖε ϖερσιον οφ
τηισ ρεσυλτ ισ προϖεδ. Α �ρστ σχαλινγ ινϖαριαντ Ηαρναχκ ινεθυαλιτψ φορ ηεατ−τψπε
Ηρµανδερ�σ οπερατορσ ωασ προϖεδ λατερ βψ Κυσυοκα−Στροοχκ [35].

Στρατεγψ ανδ στρυχτυρε οφ τηε παπερ

Φολλοωινγ τηε γενεραλ στρατεγψ υσεδ ιν τηε χασε οφ ηοµογενεουσ γρουπσ ιν [3], [4],
[6], ουρ στυδψ προχεεδσ ιν τηρεε στεπσ, χορρεσπονδινγ το τηε Παρτσ οφ τηισ παπερ.
Ιν Παρτ Ι ωε χονσιδερ οπερατορσ οφ κινδ (0.1) ωιτη χονσταντ χοε′χιεντσ αιϕ , ανδ
νο λοωερ ορδερ τερµσ. Φορ τηεσε οπερατορσ, εξιστενχε ανδ βασιχ προπερτιεσ οφ τηε
φυνδαµενταλ σολυτιον ηΑ αρε γυαραντεεδ βψ κνοων ρεσυλτσ (σεε Σεχτιον 3). Ηερε
τηε ποιντ ισ το προϖε σηαρπ Γαυσσιαν βουνδσ ον ηΑ, ωηιχη ηαϖε το βε υνιφορµ
ιν τηε ελλιπτιχιτψ χλασσ οφ τηε µατριξ Α = φαιϕγ :
Ιν Παρτ ΙΙ ωε στυδψ οπερατορσ ωιτη ϖαριαβλε Ηλδερ χοντινυουσ χοε′χιεντσ

αιϕ ; ακ; α0, ανδ αππλψ τηε ρεσυλτσ οφ Παρτ Ι το εσταβλιση εξιστενχε ανδ Γαυσσιαν
βουνδσ φορ τηε φυνδαµενταλ σολυτιον οφ τηεσε οπερατορσ. Τηισ ισ αχχοµπλισηεδ βψ
α συιταβλε αδαπτατιον το ουρ συβελλιπτιχ χοντεξτ οφ τηε χλασσιχαλ Λεϖι�σ παραµετριξ
µετηοδ.
Φιναλλψ, τηανκσ το τηε ρεσυλτσ οφ Παρτ ΙΙ, τηε προοφ οφ α Ηαρναχκ ινεθυαλιτψ

φορ Η χαν φολλοω τηε λινεσ δραων ιν [6], ανδ ινσπιρεδ βψ Φαβεσ−Στροοχκ�σ παπερ
[22]: τηισ ισ αχχοµπλισηεδ ιν Παρτ ΙΙΙ.
Φορ τηε ρεαδερ�σ χονϖενιενχε, ωε ηαϖε ινχλυδεδ ατ τηε βεγιννινγ οφ εαχη Παρτ

οφ τηε παπερ µορε δεταιλσ αβουτ τηε στρατεγψ, τηε τεχηνιθυεσ, ανδ τηε µαιν νεω
δι′χυλτιεσ ωε ηαδ το οϖερχοµε το ρεαχη ουρ ρεσυλτσ.

Α µοτιϖατιον

Μανψ προβλεµσ ιν γεοµετριχ τηεορψ οφ σεϖεραλ χοµπλεξ ϖαριαβλεσ λεαδ το φυλλψ
νονλινεαρ σεχονδ ορδερ εθυατιονσ, ωηοσε λινεαριζατιονσ αρε νονϖαριατιοναλ οπ−
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ερατορσ οφ Ηρµανδερ τψπε (0.5). Ηερε ωε ωουλδ λικε το πρεσεντ ονε οφ τηεσε
προβλεµσ ωηοσε σουρχε γοεσ βαχκ το σοµε παπερσ βψ Βεδφορδ, Γαϖεαυ, Σλοδ−
κοωσκψ ανδ Τοµασσινι, σεε [2], [56], [54].
Λετ Μ βε α ρεαλ ηψπερσυρφαχε, εµβεδδεδ ιν τηε Ευχλιδεαν χοµπλεξ σπαχε

Χν+1. Τηε Λεϖι φορµ οφΜ ατ α ποιντ π 2Μ ισ α Ηερµιτιαν φορµ ον τηε χοµπλεξ
τανγεντ σπαχε ωηοσε ειγενϖαλυεσ �1 (π) ; :::; �ν (π) δετερµινε ιν τηε διρεχτιονσ οφ
εαχη χορρεσπονδινγ ειγενϖεχτορ α κινδ οφ �πρινχιπαλ χυρϖατυρε�. Τηεν, γιϖεν
α γενεραλιζεδ σψµµετριχ φυνχτιον σ, ιν τηε σενσε οφ Χα⁄αρελλι−Νιρενβεργ−Σπρυχκ
[14], ονε χαν δε�νε τηε σ−Λεϖι χυρϖατυρε οφ Μ ατ π, ασ φολλοωσ:

Σπ (Μ) = σ (�1 (π) ; :::; �ν (π)) :

Ωηεν Μ ισ τηε γραπη οφ α φυνχτιον υ ανδ ονε ιµποσεσ τηατ ιτσ σ−Λεϖι χυρϖατυρε
ισ εθυαλ το α γιϖεν φυνχτιον, ονε οβταινσ α σεχονδ ορδερ φυλλψ νονλινεαρ παρτιαλ
δι⁄ερεντιαλ εθυατιον, ωηιχη χαν βε σεεν ασ τηε πσευδοχονϖεξ χουντερπαρτ οφ τηε
υσυαλ φυλλψ νονλινεαρ ελλιπτιχ εθυατιονσ οφ Ηεσσιαν τψπε, ασ στυδιεδ ε.γ. ιν [14].
Ιν λινεαριζεδ φορµ, τηε εθυατιονσ οφ τηισ νεω χλασσ χαν βε ωριττεν ασ (σεε [43,
εθυατιον (34) π.324])

Λυ �
2νΞ

ι;ϕ=1

αιϕ
�
∆υ;∆2υ

�
ΞιΞϕυ = Κ (ξ; υ;∆υ) ιν Ρ2ν+1 (0.7)

ωηερε:
τηε Ξϕ �σ αρε �ρστ ορδερ δι⁄ερεντιαλ οπερατορσ, ωιτη χοε′χιεντσ δεπενδινγ ον

τηε γραδιεντ οφ υ, ωηιχη φορµ α ρεαλ βασισ φορ τηε χοµπλεξ τανγεντ σπαχε το τηε
γραπη οφ υ;
τηε µατριξ φαιϕγ δεπενδσ ον τηε φυνχτιον σ;
Κ ισ α πρεσχριβεδ φυνχτιον.
Ιτ ηασ το βε νοτιχεδ τηατ Λ ονλψ ινϖολϖεσ 2ν δεριϖατιϖεσ, ωηιλε ιτ λιϖεσ ιν α

σπαχε οφ διµενσιον 2ν + 1: Τηεν, Λ ισ νεϖερ ελλιπτιχ, ον ανψ ρεασοναβλε χλασσ
οφ φυνχτιονσ. Ηοωεϖερ, τηε οπερατορ Λ, ωηεν ρεστριχτεδ το τηε σετ οφ στριχτλψ
σ−πσευδοχονϖεξ φυνχτιονσ, βεχοµεσ �ελλιπτιχ� αλονγ τηε 2ν λινεαρλψ ινδεπενδεντ
διρεχτιονσ γιϖεν βψ τηε Ξι�σ, ωηιλε τηε µισσινγ ονε χαν βε ρεχοϖερεδ βψ α χοµ−
µυτατιον. Πρεχισελψ,

διµ (σπαν φΞϕ ; [Ξι; Ξϕ ] ; ι; ϕ = 1; :::; 2νγ) = 2ν+ 1

ατ ανψ ποιντ (σεε [43, εθυατιον (36) π. 324]). Τηισ ισ α Ηρµανδερ−τψπε ρανκ
χονδιτιον οφ στεπ 2.
Τηε παραβολιχ χουντερπαρτ οφ (0.7), ι.ε. εθυατιον

≅τυ (τ; ξ) = Λυ (τ; ξ) φορ τ 2 Ρ; ξ 2 Ρ2ν+1 (0.8)

αρισεσ στυδψινγ τηε εϖολυτιον βψ σ−Λεϖι χυρϖατυρε οφ α ρεαλ ηψπερσυρφαχε οφ Χν+1

(σεε [29], [42]).
Σατισφαχτορψ εξιστενχε ρεσυλτσ οφ ϖισχοσιτψ σολυτιον φορ εθυατιον (0.7) αρε αλ−

ρεαδψ κνοων (σεε [18], ανδ ρεφερενχεσ τηερειν). Ιν [44] α σορτ οφ ηψποελλιπτιχ−
ιτψ τηεορεµ ισ προϖεδ φορ τηε σ−Λεϖι εθυατιον: εϖερψ στριχτλψ σ−πσευδοχονϖεξ
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Χ2;�λοχ σολυτιον το τηε εθυατιον (0.7) ισ οφ χλασσ Χ
1 ωηενεϖερ Κ ισ οφ χλασσ Χ1.

Εξιστενχε οφ χλασσιχαλ σολυτιονσ ανδ οπτιµαλ ρεγυλαριτψ ρεσυλτσ φορ τηε ϖισχοσιτψ
σολυτιονσ αρε στιλλ ωιδελψ οπεν προβλεµσ. Ονε οφ τηε µοτιϖατιονσ οφ τηε πρεσεντ
ωορκ ισ το προϖιδε τηε λινεαρ φραµεωορκ φορ σ−Λεϖι εθυατιονσ (0.7) ανδ (0.8), βψ
περφορµινγ α δεεπ αναλψσισ οφ τηε γενεραλ χλασσ οφ Ηρµανδερ ηεατ−τψπε οπερα−
τορσ (0.1). Φορ ινστανχε, αν αππλιχατιον οφ ουρ στατιοναρψ Ηαρναχκ ινεθυαλιτψ ισ
τηε φολλοωινγ: λετ υ βε α ποσιτιϖε σµοοτη στριχτλψ σ−πσευδοχονϖεξ σολυτιον το τηε
σ−Λεϖι εθυατιον (0.7), ωιτη Κ οφ χλασσ Χ1. Τηεν υ σατισ�εσ α σχαλινγ ινϖαριαντ
Ηαρναχκ ινεθυαλιτψ οφ τψπε:

συπ
Βρ

υ � Χ ινφ
Βρ

υ

ωηερε Βρ ισ τηε Χαρνοτ−Χαρατηοδορψ βαλλ οφ ραδιυσ ρ, ρελατεδ το τηε ϖεχτορ �ελδσ
Ξ1; Ξ2; :::; Ξ2ν ιν (0.7). Τηε υνπλεασαντ φαχτ ισ τηατ τηε χονσταντ Χ δεπενδσ ον
τηε σολυτιον υ ιν αν υνσπεχι�εδ ωαψ. Υνδερστανδινγ ηοω Χ δεπενδσ ον υ ισ αν
ιντερεστινγ ανδ σεεµινγλψ δι′χυλτ οπεν προβλεµ.
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Παρτ Ι

Οπερατορσ ωιτη χονσταντ
χοε′χιεντσ

1 Οϖερϖιεω οφ Παρτ Ι

Λετ υσ χονσιδερ τηε ηεατ−τψπε οπερατορ ιν Ρν+1

ΗΑ = ≅τ � ΛΑ = ≅τ �
θΞ

ι;ϕ=1

αιϕΞιΞϕ (1.1)

ωηερε:
(Η1) Ξ1; Ξ2; : : : ; Ξθ ισ α σψστεµ οφ ρεαλ σµοοτη ϖεχτορ �ελδσ ωηιχη αρε

δε�νεδ ιν σοµε βουνδεδ δοµαιν 
 � Ρν ανδ σατισφψ Ηρµανδερ�σ χονδιτιον οφ
σοµε στεπ σ ιν 
. Εξπλιχιτλψ, τηισ µεανσ τηατ:

Ξι =
νΞ

κ=1

βικ (ξ) ≅ξκ

ωιτη βικ 2 Χ1 (
) ; ανδ τηε ϖεχτορ σπαχε σπαννεδ ατ εϖερψ ποιντ οφ 
 βψ: τηε
�ελδσ Ξι; τηειρ χοµµυτατορσ [Ξι; Ξϕ ] = ΞιΞϕ �ΞϕΞι; τηε χοµµυτατορσ οφ τηε
Ξκ�σ ωιτη τηε χοµµυτατορσ [Ξι; Ξϕ ];: : :ανδ σο ον, υπ το σοµε στεπ σ, ισ τηε
ωηολε Ρν.
(Η2) Α = φαιϕγθι;ϕ=1 ισ α ρεαλ σψµµετριχ ποσιτιϖε δε�νιτε µατριξ ωιτη

χονσταντ εντριεσ, ανδ � > 0 α χονσταντ συχη τηατ:

��1 ϕ�ϕ2 �
θΞ

ι;ϕ=1

αιϕ�ι�ϕ � � ϕ�ϕ2

φορ εϖερψ � 2 Ρθ. Ωηεν χονδιτιον (Η2) ισ φυλ�λλεδ, ωε ωιλλ σαψ βριε�ψ τηατ

Α 2 Ε�:

Ασ ωε ηαϖε αλρεαδψ νοτεδ, φορ τηεσε οπερατορσ (ορ, µορε πρεχισελψ, φορ α
συιταβλε εξτενσιον οφ τηεσε οπερατορσ το τηε ωηολε Ρν+1; σεε Σεχτιον 3), εξιστενχε
ανδ βασιχ προπερτιεσ οφ τηε φυνδαµενταλ σολυτιον ηΑ αρε γυαραντεεδ βψ κνοων
ρεσυλτσ. Τηε γοαλ οφ Παρτ Ι ισ το προϖε τηε φολλοωινγ:

Τηεορεµ 1.1 (υνιφορµ Γαυσσιαν βουνδσ ον ηΑ) Φορ ανψ Τ > 0 τηερε εξ−
ιστσ χ > 0 συχη τηατ, φορ ανψ τ 2 (0; Τ ) ; ξ; ψ 2 Ρν τηε φολλοωινγ βουνδσ ηολδ:
1. Υππερ ανδ λοωερ βουνδσ ον ηΑ:

1

χ
��Β
�
ξ;
π
τ
���ε

�χδ(ξ;ψ)2=τ � ηΑ (τ; ξ; ψ) �
χ��Β

�
ξ;
π
τ
���ε

�δ(ξ;ψ)2=χτ (1.2)
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2. Υππερ βουνδσ ον τηε δεριϖατιϖεσ οφ ηΑ οφ αρβιτραρψ ορδερ:

��ΞΙ
ξΞ

ϑ
ψ ≅

ι
τηΑ (τ; ξ; ψ)

�� � χ

τι+
ϕΙϕ+ϕϑϕ

2

��Β
�
ξ;
π
τ
���ε

�δ(ξ;ψ)2=χτ (1.3)

3. Εστιµατε ον τηε δι⁄ερενχε οφ τηε φυνδαµενταλ σολυτιονσ οφ τωο οπερατορσ
(ανδ τηειρ δεριϖατιϖεσ):

��ΞΙ
ξΞ

ϑ
ψ ≅

ι
τηΑ (τ; ξ; ψ)�ΞΙ

ξΞ
ϑ
ψ ≅

ι
τηΒ (τ; ξ; ψ)

�� � χ κΑ�Βκ
τι+

ϕΙϕ+ϕϑϕ
2

��Β
�
ξ;
π
τ
���ε

�δ(ξ;ψ)2=χτ

(1.4)
(ηερε Ι; ϑ αρε αρβιτραρψ µυλτιινδιχεσ, Α;Β 2 Ε�). Τηε χονσταντσ δεπενδ ον τηε
µατριξ Α ονλψ τηρουγη τηε νυµβερ �; ιν (1.3), (1.4), τηε χονσταντ αλσο δεπενδσ
ον τηε µυλτιινδιχεσ. Τηε σαµε εστιµατεσ ηολδ φορ ηΑ (τ; ψ; ξ).

Τηε αβοϖε τηεορεµ ωιλλ βε προϖεδ ιν Χορολλαρψ 6.18 ανδ Τηεορεµ 7.1 (βουνδσ
(1.2)), Τηεορεµ 8.1 (βουνδσ (1.3)), ανδ Τηεορεµ 9.1 (βουνδσ (1.4)). Ωε αλσο
ρεφερ το τηεσε τηεορεµσ φορ µορε πρεχισε στατεµεντσ.
Το προϖε Τηεορεµ 1.1, τηε τεχηνιθυεσ υσεδ ιν [3] φορ ηοµογενεουσ λεφτ ιν−

ϖαριαντ ϖεχτορ �ελδσ αρε νοτ συιταβλε. Ινστεαδ, ηερε ωε φολλοω αν αππροαχη τηατ
ϕυστ υσεσ τηε ρεσυλτσ ιν [3] ανδ ωηιχη ισ βασιχαλλψ ινσπιρεδ το τηε ωορκ οφ ϑερισον
ανδ Σανχηεζ−Χαλλε [30], ιντεγρατεδ ωιτη σεϖεραλ οτηερ δεϖιχεσ το οϖερχοµε τηε
νεω δι′χυλτιεσ. Τηε µαιν οφ τηεµ αρε τηε φολλοωινγ: �ρστ, ωε ηαϖε το τακε ιντο
αχχουντ τηε δεπενδενχε ον τηε µατριξ Α, γεττινγ εστιµατεσ δεπενδινγ ον Α
ονλψ τηρουγη τηε νυµβερ �; σεχονδ, ουρ εστιµατεσ ηαϖε το βε γλοβαλ ιν σπαχε,
ωηιλε ιν [30] τηε Αυτηορσ ωορκ ον α χοµπαχτ µανιφολδ; τηιρδ, ουρ εστιµατεσ ον
τηε δι⁄ερενχε οφ τηε φυνδαµενταλ σολυτιονσ οφ τωο οπερατορσ ηαϖε νο αναλογ ιν
[30].
Τηε στρατεγψ ανδ πλαν οφ Παρτ Ι ισ ασ φολλοωσ. Ιν Σεχτιον 2 ωε ωιλλ σηοω ηοω

το εξτενδ το τηε ωηολε σπαχε τηε ϖεχτορ �ελδσ Ξι; σο τηατ τηε διστανχε ινδυχεδ
ιν Ρν βψ τηεσε εξτενδεδ ϖεχτορ �ελδσ χουλδ ενϕοψ συιταβλε γλοβαλ προπερτιεσ,
ωηιχη ωιλλ βε υσεδ τηρουγηουτ τηε παπερ; ιν παρτιχυλαρ, τηε Λεβεσγυε µεασυρε
ωιλλ σατισφψ γλοβαλλψ τηε δουβλινγ χονδιτιον ω.ρ.τ. µετριχ βαλλσ. Χονσεθυεντλψ,
ιν Σεχτιον 3 ωε ωιλλ εξτενδ το τηε ωηολε σπαχε Ρν+1 τηε οπερατορ ΗΑ, ιν ορδερ
το ασσυρε τηε εξιστενχε οφ α γλοβαλ φυνδαµενταλ σολυτιον ηΑ, σατισφψινγ νατυραλ
προπερτιεσ. Τηε ρεστ οφ Παρτ Ι ισ δεϖοτεδ το τηε προοφ οφ τηε υνιφορµ Γαυσσιαν
βουνδσ (1.2), (1.3), (1.4) φορ τηισ φυνδαµενταλ σολυτιον ηΑ. Τηε ηαρδεστ στεπ ισ
τηε προοφ οφ τηε υππερ βουνδ ιν (1.2), ωηιχη ωιλλ γο τηρουγη Σεχτιονσ 4 το 6.
Τηε στρατεγψ ισ τηε φολλοωινγ. Φιρστ, ονε προϖεσ τηε υππερ βουνδ φορ τ 2 (0; 1)
ανδ ∀ < δ (ξ; ψ) < Ρ. Ιν τηισ ρανγε, τηε βουνδ ισ εθυιϖαλεντ το:

ηΑ (τ; ξ; ψ) � χε�1=χτ (1.5)

ανδ ισ προϖεδ βψ µεανσ οφ εστιµατεσ οφ Γεϖραψ τψπε. Τηισ µεανσ τηατ τηε
εξπονεντιαλ δεχαψ οφ ηΑ φορ ϖανισηινγ τ ισ δεδυχεδ βψ α χοντρολ ον τηε συπρεµυµ
οφ τηε τιµε δεριϖατιϖε οφ ανψ ορδερ οφ α σολυτιον το ΗΑυ = 0. Εσταβλισηινγ τηεσε
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βουνδσ ισ τηε οβϕεχτ οφ Σεχτιον 4. Τηισ τεχηνιθυε µακεσ τηε χονσταντ χ ιν (1.5)
δεπενδ ον:

συπ
ψ2Ρν

Ζ Τ

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

ηΑ (�; ξ; ψ) δξ:

Σο τηε νεξτ προβλεµ ισ το προϖε α υνιφορµ υππερ βουνδ ον τηισ θυαντιτψ (ι.ε.,
δεπενδινγ ον Α ονλψ τηρουγη �). Τηισ ισ αχχοµπλισηεδ ιν Σεχτιον 5, εξπλοιτινγ
συιταβλε εστιµατεσ ον φραχτιοναλ ανδ σινγυλαρ ιντεγραλσ ον σπαχεσ οφ ηοµογενεουσ
τψπε, ανδ υνιφορµ συβελλιπτιχ εστιµατεσ. Νεξτ, ονε ηασ το προϖε τηε υππερ βουνδ
ιν (1.2) φορ τ 2 (0; 1) ανδ δ (ξ; ψ) < ∀. Τηισ ισ περφορµεδ ιν Σεχτιον 6, αππλψινγ
Ροτησχηιλδ−Στειν�σ τεχηνιθυε οφ �λιφτινγ ανδ αππροξιµατιον�. Τηισ αλλοωσ, βψ
α ρατηερ ινϖολϖεδ προχεδυρε, το δεδυχε τηε δεσιρεδ υνιφορµ βουνδ φροµ τηε
αναλογουσ ρεσυλτ προϖεδ, ιν τηε χοντεξτ οφ ηοµογενεουσ γρουπσ, βψ Βον�γλιολι−
Λανχονελλι−Υγυζζονι [3], ανδ τηερεφορε χοµπλετεσ τηε προοφ οφ τηε υππερ βουνδ
ιν (1.2) φορ τ 2 (0; 1) ανδ δ (ξ; ψ) < Ρ. Το προϖε τηε σαµε υππερ βουνδ φορ ανψ
ξ; ψ 2 Ρν ανδ τ 2 (0; Τ ), ωε ωιλλ υσε α χοµπαρισον αργυµεντ, εξπλοιτινγ τηε αδ
ηοχ εξτενσιον οφ τηε οπερατορ ΗΑ περφορµεδ ιν Σεχτιον 3.
Ιν Σεχτιον 7 ωε προϖε τηε λοωερ βουνδ ιν (1.2), εξπλοιτινγ τηε σαµε χον−

στρυχτιον αλρεαδψ υσεδ ιν Σεχτιον 6. Αγαιν, υνιφορµιτψ οφ τηε λοωερ βουνδ ρελιεσ
ον τηε αναλογουσ υνιφορµ λοωερ βουνδ ωηιχη ηολδσ ιν τηε χασε οφ ηοµογενεουσ
γρουπσ.
Ιν Σεχτιον 8 ωε προϖε τηε Γαυσσιαν βουνδ (1.3) ον τηε δεριϖατιϖεσ οφ ηΑ.

Λικε ιν [30], τηισ βουνδ ισ δεδυχεδ βψ τηε υππερ βουνδ ον ηΑ (προϖεδ ιν Σεχτιονσ
4 το 6), αππλψινγ α ποωερφυλ ρεσυλτ προϖεδ βψ Φε⁄ερµαν ανδ Σανχηεζ−Χαλλε [24],
ωηιχη ασσυρεσ τηε εξιστενχε οφ α λοχαλ χηανγε οφ χοορδινατεσ ωηιχη ισ α γοοδ
συβστιτυτε οφ διλατιονσ (ωηιχη ιν ουρ χοντεξτ δο νοτ γενεραλλψ εξιστ).
Φιναλλψ, ιν Σεχτιον 9 ωε προϖε ουρ εστιµατε (1.4). Τηε βασιχ εστιµατε, ον τηε

δι⁄ερενχε οφ τωο φυνδαµενταλ σολυτιονσ ηΑ�ηΒ , ρελιεσ ον α συιταβλε υσε οφ βασιχ
προπερτιεσ οφ τηε φυνδαµενταλ σολυτιον ανδ ον τηε υνιφορµ βουνδ (1.3) ον τηε
δεριϖατιϖεσ οφ ηΑ: Τηε εστιµατε ον τηε δι⁄ερενχε οφ δεριϖατιϖεσ οφ τωο φυνδα−
µενταλ σολυτιον ισ τηεν δεριϖεδ βψ τηε βασιχ εστιµατε, ωιτη τηε σαµε τεχηνιθυεσ
υσεδ ιν Σεχτιον 8.

2 Γλοβαλ εξτενσιον οφ Ηρµανδερ�σ ϖεχτορ �ελδσ

ανδ γεοµετριχ προπερτιεσ οφ τηε ΧΧ−διστανχε

Τηε αιµ οφ τηισ σεχτιον ισ το σηοω ηοω α σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ
ινιτιαλλψ δε�νεδ ιν α βουνδεδ δοµαιν οφ Ρν χαν βε εξτενδεδ το τηε ωηολε σπαχε
το α νεω σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ ενϕοψινγ σοµε γοοδ προπερτιεσ,
αµονγ ωηιχη α γλοβαλ δουβλινγ χονδιτιον φορ τηε ινδυχεδ ΧΧ−διστανχε. Τηεσε
φαχτσ χαν βε αλσο οφ ινδεπενδεντ ιντερεστ. Μορεοϖερ, ιν τηε νεξτ σεχτιον ωε ωιλλ
αππλψ τηισ προχεδυρε το εξτενδ τηε δι⁄ερεντιαλ οπερατορ ΗΑ το τηε ωηολε σπαχε,
ανδ ασσυρε τηε εξιστενχε οφ α φυνδαµενταλ σολυτιον δε�νεδ ιν τηε ωηολε Ρν+1.
Ωε ωιλλ αλσο προϖε σεϖεραλ εστιµατεσ ρελατεδ το τηε ΧΧ−διστανχε, ωηιχη ωιλλ βε
υσεδ τηρουγηουτ τηε παπερ.
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Ωε σταρτ ρεχαλλινγ τηε στανδαρδ δε�νιτιον οφ Χαρνοτ−Χαρατηοδορψ διστανχε
ινδυχεδ βψ α σψστεµ οφ ϖεχτορ �ελδσ Ξ1; :::; Ξθ.

∆ε�νιτιον 2.1 Λετ 
 βε α δοµαιν ιν Ρν. Ωε σαψ τηατ αν αβσολυτελψ χοντινυουσ
χυρϖε 
 : [0; Τ ]! 
 ισ α συβ−υνιτ χυρϖε ωιτη ρεσπεχτ το τηε σψστεµ οφ ϖεχτορ �ελδσ
Ξ1; Ξ2; : : : ; Ξθ ιφ


0(τ) =
θΞ

ϕ=1

�ϕ(τ)Ξϕ(
(τ))

φορ α.ε. τ 2 [0; Τ ], ωιτη Πθ
ϕ=1 �ϕ(τ)

2 � 1 α.ε. Ιν τηε φολλοωινγ, τηισ νυµβερ Τ
ωιλλ βε δενοτεδ βψ λ (
).
Φορ ανψ ξ; ψ 2 
, ωε δε�νε

δ
(ξ; ψ) = ινφφλ (
) ϕ 
 ισ Ξ−συβυνιτ; 
(0) = ξ; 
(λ (
)) = ψγ:

Ιτ ισ ωελλ κνοων (Χηοω�σ τηεορεµ) τηατ, ιφ τηε ϖεχτορ �ελδσ σατισφψ Ηρµαν−
δερ�σ χονδιτιον, τηε αβοϖε σετ ιν νονεµπτψ, σο τηατ δ
(ξ; ψ) ισ �νιτε φορ εϖερψ
παιρ οφ ποιντσ. Μορεοϖερ, δ
 ισ α διστανχε ιν 
, χαλλεδ τηε Χαρνοτ−Χαρατηοδορψ
διστανχε (ΧΧ−διστανχε) ινδυχεδ βψ τηε ϖεχτορ �ελδσ Ξι�σ.
Α κνοων ρεσυλτ βψ Φε⁄ερµαν−Πηονγ [23] στατεσ τηατ

χ�1 ϕξ� ψϕ � δ
 (ξ; ψ) � χ ϕξ� ψϕ1=σ (2.1)

φορ εϖερψ ξ; ψ 2 Κ β 
, ωηερε σ ισ τηε στεπ οφ Ηρµανδερ χονδιτιον. Ιν παρτιχ−
υλαρ, τηισ µεανσ τηατ δ
 ινδυχεσ τηε υσυαλ τοπολογψ οφ Ρν. Μορεοϖερ, Σανχηεζ−
Χαλλε [53] ανδ Ναγελ−Στειν−Ωεινγερ [45] προϖε τηατ τηε ΧΧ−διστανχε ισ λοχαλλψ
δουβλινγ ωιτη ρεσπεχτ το τηε Λεβεσγυε µεασυρε, ι.ε., δενοτινγ βψ Β (ξ; ρ) τηε
δ
−βαλλ οφ χεντερ ξ ανδ ραδιυσ ρ:

ϕΒ (ξ; 2ρ)ϕ � χ ϕΒ (ξ; ρ)ϕ (2.2)

ατ λεαστ φορ ξ ρανγινγ ιν α χοµπαχτ σετ ανδ ρ βουνδεδ βψ σοµε ρ0.

Ωε ωιλλ νοω προχεεδ ασ φολλοωσ. Φιρστ, ωε ωιλλ ασσυµε το ηαϖε α σψστεµ οφ
Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ιν τηε ωηολε Ρν ανδ συχη τηατ, ουτσιδε α χοµ−
παχτ σετ, ιτ χοινχιδεσ ωιτη (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) : Υνδερ τηεσε ασσυµπτιονσ,
ωε ωιλλ προϖε σεϖεραλ προπερτιεσ οφ τηε ινδυχεδ ΧΧ−διστανχε ανδ µετριχ βαλλσ.
Νεξτ, ωε ωιλλ σηοω ηοω ανψ Ηρµανδερ�σ σψστεµ ιν α βουνδεδ δοµαιν χαν βε
εξτενδεδ το Ρν ιν ορδερ το σατισφψ τηεσε ασσυµπτιονσ.

2.1 Σοµε γλοβαλ γεοµετριχ προπερτιεσ οφ ΧΧ−διστανχεσ

Τηρουγηουτ τηισ συβσεχτιον, Ξ = (Ξ1; Ξ2; :::; Ξµ) (µ � ν) ωιλλ δενοτε α �ξεδ
σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ιν τηε ωηολε Ρν; ανδ συχη τηατ

Ξ = (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) ιν Ρ
ν ν 
0

ωηερε 
0 ισ α �ξεδ βουνδεδ δοµαιν.
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Νοτατιον 2.2 Ωε σηαλλ δενοτε βψ δ τηε Χαρνοτ−Χαρατηοδορψ διστανχε ινδυχεδ
βψ Ξ, ανδ βψ Β(ξ; ρ) τηε βαλλσ ιν τηε µετριχ δ. Ευχλιδεαν βαλλσ ιν Ρν ωιλλ βε
δενοτεδ βψ ΒΕ(ξ; ρ).
Αλσο, τηρουγηουτ Σεχτιον 2 ωε ωιλλ δενοτε βψ χ ανψ ποσιτιϖε χονσταντ ονλψ

δεπενδινγ ον Ξ1; : : : ; Ξµ; ωε ωιλλ ωριτε χ (φ1; φ2; :::; φκ) φορ ανψ ποσιτιϖε χονσταντ
αλσο δεπενδινγ ον τηε αργυµεντσ φ1; φ2; :::; φκ: Νοτε τηατ α δι⁄ερεντ χονϖεντιον
ον τηε χονσταντσ ωιλλ βε µαδε ιν Σεχτιον 3, φορ τηε ρεµαινινγ σεχτιονσ οφ Παρτ Ι
(σεε Νοτατιον 3.3).

Ωε αρε ιντερεστεδ ιν εσταβλισηινγ σοµε γλοβαλ προπερτιεσ οφ δ. Ωε �ρστ προϖε
τηε φολλοωινγ

Λεµµα 2.3 Ιφ ειτηερ ΒΕ(ξ; ρ) � Ρν ν 
0 ορ Β(ξ; ρ) � Ρν ν 
0, τηεν ωε ηαϖε

δ(ξ; ψ) = ϕξ� ψϕ 8ψ 2 ΒΕ(ξ; ρ)

ανδ
Β(ξ; ρ) = ΒΕ(ξ; ρ):

Προοφ. Χλεαρλψ, ιφ 
 ισ αν αβσολυτελψ χοντινυουσ πατη χονταινεδ ιν Ρν ν
0, τηεν

 ισ Ξ−συβυνιτ ι⁄ ϕ
0ϕ � 1 α.ε.
Φιρστ συπποσε ΒΕ(ξ; ρ) � Ρν ν 
0 ανδ λετ ψ 2 ΒΕ(ξ; ρ). Οβϖιουσλψ δ(ξ; ψ) �
ϕξ � ψϕ, σινχε τηε σεγµεντ �!ξψ ισ Ξ−συβυνιτ. Λετ νοω 
 βε α Ξ−συβυνιτ πατη
χοννεχτινγ ξ ανδ ψ. Ιφ 
 ισ χονταινεδ ιν ΒΕ(ξ; ρ), τηεν ϕ
0ϕ � 1 α.ε. ανδ τηυσ
λ(
) � ϕξ � ψϕ. Οτηερωισε, τηερε εξιστσ τ0 � λ(
) συχη τηατ 
(τ0) 2 ≅ΒΕ(ξ; ρ)
ανδ 
ϕ[0;τ0] ισ χονταινεδ ιν Ρν ν 
0. Ηενχε ϕ
0ϕ � 1 α.ε. ιν [0; τ0] ανδ ωε γετ
ϕξ � ψϕ � ρ � τ0 � λ(
). Τηερεφορε δ(ξ; ψ) = ϕξ � ψϕ. Τηισ ιµµεδιατελψ ψιελδσ
Β(ξ; ρ) � ΒΕ(ξ; ρ). Ον τηε οτηερ ηανδ, ιφ � 2 Ρν ν ΒΕ(ξ; ρ), τηεν φορ εϖερψ
Ξ−συβυνιτ πατη 
 χοννεχτινγ ξ ανδ � ωε ηαϖε (αργυινγ ασ αβοϖε) λ(
) � ρ ανδ
τηεν δ(ξ; �) � ρ. Τηισ προϖεσ τηατ αλσο Β(ξ; ρ) � ΒΕ(ξ; ρ).
Νοω συπποσε Β(ξ; ρ) � Ρν ν 
0. Ιτ ισ συ′χιεντ το σεε τηατ Β(ξ; ρ) � ΒΕ(ξ; ρ)
ανδ τηεν υσε ωηατ ωε ηαϖε αλρεαδψ προϖεδ. Λετ υσ αργυε βψ χοντραδιχτιον ανδ
συπποσε τηατ τηερε εξιστσ ψ 2 ΒΕ(ξ; ρ) ν Β(ξ; ρ). Λεττινγ 
 = �!ξψ, τηερε εξιστσ
τ0 � λ(
) = ϕξ � ψϕ < ρ συχη τηατ ψ0 = 
(τ0) 2 ≅Β(ξ; ρ) ανδ � = 
ϕ[0;τ0] ισ
χονταινεδ ιν Β(ξ; ρ) � Ρν ν
0. Τηεν � ισ Ξ−συβυνιτ ανδ δ(ξ; ψ0) � λ(�) = τ0 <
ρ, ωηιχη γιϖεσ α χοντραδιχτιον.

Λεµµα 2.4 Ωε ηαϖε

ϕξ� ψϕ � χ δ(ξ; ψ) 8ξ; ψ 2 Ρν; (2.3)

δ(ξ; ψ) � χ(�) ϕξ� ψϕ 8ξ; ψ 2 Ρν : µαξφϕξ� ψϕ; δ(ξ; ψ)γ � � > 0: (2.4)

Ασ α χονσεθυενχε, φορ εϖερψ δοµαιν 
 χ 
0, δ ισ εθυιϖαλεντ το τηε Ευχλιδεαν
διστανχε ιν Ρν ν 
. Μορεοϖερ,

Β(ξ; ρ) � ΒΕ(ξ; χ ρ) 8ξ 2 Ρν; ρ > 0; (2.5)

Β(ξ; ρ) � ΒΕ(ξ; χ(�)
�1 ρ) 8ξ 2 Ρν; ρ � � > 0: (2.6)
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Ιν παρτιχυλαρ

χ(�)�1ρν � ϕΒ(ξ; ρ)ϕ � χ ρν 8ξ 2 Ρν; ρ � � > 0: (2.7)

Προοφ. Τηε προοφ οφ (2.3) ισ α στανδαρδ χονσεθυενχε οφ τηε βουνδεδνεσσ οφ τηε
ϖεχτορ �ελδσ Ξ = (Ξ1; : : : ; Ξµ). Ινδεεδ, φορ εϖερψ Ξ−συβυνιτ πατη 
 χοννεχτινγ
ξ ανδ ψ, ωε ηαϖε

ϕξ� ψϕ =
�����

Ζ λ(
)

0


0 (τ) δτ

����� �
�����

Ζ λ(
)

0

µΞ

ι=1

�ι (τ)Ξι (
 (τ)) δτ

����� �

6

Ζ λ(
)

0

ϖυυτ
µΞ

ι=1

�ι (τ)
2

ϖυυτ
µΞ

ι=1

[Ξι (
 (τ))]
2
δτ � λ(
)µαξ

Ρν
ϕΞϕ � χδ (ξ; ψ) :

Λετ υσ νοω προϖε (2.4). Λετ 
0 βε ασ αβοϖε ανδ δενοτε

δ(ξ;
0) = µιν
�2
0

δ(ξ; �); δΕ(ξ;
0) = µιν
�2
0

ϕξ� �ϕ

διαµ δ 
0 = µαξ
�;�02
0

δ(�; �0) διαµΕ 
0 = µαξ
�;�02
0

ϕ� � �0ϕ:

Ωιτη νο λοσσ οφ γενεραλιτψ ωε χαν ασσυµε δΕ(ξ;
0) � δΕ(ψ;
0). Φιξ Ρ >
2 διαµδ 
0 συχη τηατ 
0 � ΒΕ(0; Ρ=2).
Ιφ ϕξ� ψϕ < δΕ(ξ;
0), ωε ηαϖε ψ 2 ΒΕ(ξ; δΕ(ξ;
0)) � Ρν ν 
0 ανδ τηεν

δ(ξ; ψ) = ϕξ� ψϕ βψ Λεµµα 2.3.
Ασσυµε νοω ϕξ � ψϕ � δΕ(ξ;
0) ανδ ξ =2 ΒΕ(0; Ρ). Τηερε εξιστ ξ; ψ 2 
0

συχη τηατ δΕ(ξ;
0) = ϕξ� ξϕ, δΕ(ψ;
0) = ϕψ � ψϕ. Φροµ Λεµµα 2.3, ιτ φολλοωσ
τηατ δ(ξ; ξ) = ϕξ� ξϕ, δ(ψ; ψ) = ϕψ � ψϕ. Τηυσ

δ(ξ; ψ) � δ(ξ; ξ) + διαµδ 
0 + δ(ψ; ψ)

� δΕ(ξ;
0) +Ρ=2 + δΕ(ψ;
0) � 3 δΕ(ξ;
0) � 3ϕξ� ψϕ:

Φιναλλψ, ιφ ϕξ � ψϕ � δΕ(ξ;
0) ανδ ξ 2 ΒΕ(0; Ρ), τηεν ωε ηαϖε ϕψϕ �
δΕ(ψ;
0) + Ρ=2 � δΕ(ξ;
0) + Ρ=2 � 2Ρ. Τηερεφορε, βψ τηε χοντινυιτψ οφ
δ,

δ(ξ; ψ)

ϕξ� ψϕ � µαξ
�;#2ΒΕ(0;2Ρ); ϕ��#ϕ��

δ(�; #)

ϕ� � #ϕ = χ(�); ιφ ϕξ� ψϕ � �;

ϕξ� ψϕ
δ(ξ; ψ)

� µιν
�;#2ΒΕ(0;2Ρ); δ(�;#)��

ϕ� � #ϕ
δ(�; #)

= χ(�)�1; ιφ δ(ξ; ψ) � �:

Τηισ χοµπλετεσ τηε προοφ οφ (2.4).
Νοω, ιφ 
 χ 
0, το προϖε τηε εθυιϖαλενχε οφ δ ωιτη τηε Ευχλιδεαν διστανχε,

λετ
� = δ (
0;


χ)
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ανδ λετ ξ; ψ 2 
. Ιφ δ (ξ; ψ) < �; τηεν ψ 2 Β (ξ; �) � (
0)χ ανδ βψ Λεµµα 2.3
δ (ξ; ψ) = ϕξ� ψϕ. Ιφ δ (ξ; ψ) � �; τηεν βψ (2.3)−(2.4) ωε ηαϖε

ϕξ� ψϕ � χ δ(ξ; ψ) � χ(�) ϕξ� ψϕ:

Φιναλλψ, (2.5) φολλοωσ βψ (2.3), (2.6) φολλοωσ βψ (2.4), ανδ (2.7) φολλοωσ βψ
(2.5)−(2.6).
Νεξτ, ωε προϖε τηατ φορ τηε ΧΧ−διστανχε δ, τηε δουβλινγ χονδιτιον ηολδσ

γλοβαλλψ. Τηισ ωιλλ ηαϖε σεϖεραλ υσεφυλ χονσεθυενχεσ.

Προποσιτιον 2.5 Ωε ηαϖε

ϕΒ(ξ; 2ρ)ϕ � χϕΒ(ξ; ρ)ϕ 8ξ 2 Ρν; ρ > 0: (2.8)

Ασ α χονσεθυενχε, τηερε εξιστσ α ποσιτιϖε χονσταντ Θ (� ν) συχη τηατ

ϕΒ(ξ;Μρ)ϕ � χΜΘϕΒ(ξ; ρ)ϕ 8Μ � 1; ξ 2 Ρν; ρ > 0: (2.9)

Ωε αλσο ηαϖε

ϕΒ(ξ; ρ)ϕ � χ(�)ρΘ 8 ρ � � > 0; ξ 2 Ρν; (2.10)

ϕΒ(ξ; ρ)ϕ � χ(Ρ)�1ρΘ 8 0 < ρ � Ρ; ξ 2 Ρν: (2.11)

Προοφ. Ασ ωε ηαϖε αλρεαδψ νοτεδ (σεε (2.2)), ωε κνοω τηατ (2.8) ηολδσ λοχαλλψ,
ι.ε.,

8Κ β Ρν 9 ρ0(Κ) > 0; Α(Κ) � 1 :
ϕΒ(ξ; 2ρ)ϕ � Α(Κ) ϕΒ(ξ; ρ)ϕ 8ξ 2 Κ; 0 < ρ � ρ0(Κ)

Λετ Κ0 = φψ 2 Ρνϕδ(ψ;
0) � 2γ. Τηισ ισ α χοµπαχτ σετ, βψ (2.3). Σετ � =
µινφρ0(Κ0); 1γ. Ιφ ξ 2 Κ0, 0 < ρ � �, τηεν ωε ηαϖε

ϕΒ(ξ; 2ρ)ϕ � Α(Κ0) ϕΒ(ξ; ρ)ϕ = χ ϕΒ(ξ; ρ)ϕ :

Ιφ ξ =2 Κ0, 0 < ρ � �, τηεν ωε ηαϖε Β(ξ; 2ρ) � Β (ξ; 2) � Ρν ν 
0 ανδ, βψ
Λεµµα 2.3, Β(ξ; ρ) = ΒΕ(ξ; ρ), Β(ξ; 2ρ) = ΒΕ(ξ; 2ρ), ωηιχη ιµµεδιατελψ γιϖεσ
ϕΒ(ξ; 2ρ)ϕ = 2νϕΒ(ξ; ρ)ϕ.
Φιναλλψ, ιφ ρ � �, τηεν (2.7) ψιελδσ ϕΒ(ξ; 2ρ)ϕ � χ(�) ϕΒ(ξ; ρ)ϕ = χϕΒ(ξ; ρ)ϕ.

Τηισ προϖεσ (2.8).
Τηε προοφ οφ (2.9) ισ νοω στανδαρδ: λετ χ0 � 2ν βε ασ ιν (2.8) ανδ σετ

Θ = λογ2 χ0. Ωε ηαϖε 2
π �Μ < 2π+1 φορ σοµε νοννεγατιϖε ιντεγερ π. Αππλψινγ

(2.8) π+ 1 τιµεσ, ωε γετ

ϕΒ(ξ;Μρ)ϕ �
��Β(ξ; 2π+1ρ)

�� � χπ+10 ϕΒ(ξ; ρ)ϕ = χ02πΘ ϕΒ(ξ; ρ)ϕ � χ0ΜΘϕΒ(ξ; ρ)ϕ:

Φιναλλψ, (2.10) ανδ (2.11) αρε εασψ χονσεθυενχεσ οφ (2.7) ανδ (2.9).
Α �ρστ εασψ χονσεθυενχε οφ τηε γλοβαλ δουβλινγ χονδιτιον ισ τηε φολλοωινγ

(σεε αλσο Προποσιτιον 5.11 ιν [36]):
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Λεµµα 2.6 Φορ εϖερψ �0 < � τηερε εξιστσ χ (�; �0) > 0; συχη τηατ φορ εϖερψ
ξ; ψ 2 Ρν; τ > 0;

ε��δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
��� � χ (�; �

0)
ε��

0δ(ξ;ψ)2=τ

��Β
�
ψ;
π
τ
��� (2.12)

Προοφ. Ιφ δ (ξ; ψ) �
π
τ; τηεν τηε δουβλινγ χονδιτιον ιµπλιεσ

��Β
�
ξ;
π
τ
��� ∋��Β

�
ψ;
π
τ
��� ; ανδ (2.12) ηολδσ φορ ανψ �0 � � ωιτη χ ινδεπενδεντ οφ �; �0. Ιφ

δ (ξ; ψ) �
π
τ, βψ (2.9)

���Β
�
ψ;
π
τ
���� �

���Β
�
ξ; δ (ξ; ψ) +

π
τ
���� � χ

�
δ (ξ; ψ) +

π
τπ

τ

�Θ ���Β
�
ξ;
π
τ
����

� χ
�
δ (ξ; ψ)π

τ

�Θ ���Β
�
ξ;
π
τ
���� :

Τηεν

ε��δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
��� � χ

�
δ (ξ; ψ)π

τ

�Θ
ε��

δ(ξ;ψ)2

τ��Β
�
ψ;
π
τ
��� � χ (�; �

0)
ε��

0 δ(ξ;ψ)
2

τ��Β
�
ψ;
π
τ
���

βεχαυσε φορ ανψ � > 0; �0 < �; τηερε εξιστσ χ > 0 συχη τηατ

υΘε��υ
2 � χε��

0υ2 φορ ανψ υ � 0:

2.2 Γλοβαλ εξτενσιον οφ Ηρµανδερ�σ ϖεχτορ �ελδσ

Ωε σταρτ ωιτη τηε φολλοωινγ γενεραλ φαχτ ον ΧΧ−διστανχεσ:

Λεµµα 2.7 Λετ Ξ1; Ξ2 βε τωο σψστεµσ οφ Ηρµανδερ ϖεχτορ �ελδσ δε�νεδ,
ρεσπεχτιϖελψ, ιν τωο δοµαινσ Α1; Α2 οφ Ρν, ανδ ασσυµε τηατ ιν σοµε δοµαιν
Α0 β Α1 ∴ Α2 τηε τωο σψστεµσ χοινχιδε. Τηεν, φορ εϖερψ συβδοµαιν Α00 β Α0,
τηε ΧΧ−διστανχεσ δ1; δ2 ινδυχεδ βψ Ξ

1; Ξ2 αρε εθυιϖαλεντ ιν Α00:

Προοφ. Λετ �1 = δ1
�
Α00; (Α0)χ

�
; Μ = µαξ�;�2
00 δ2 (�; �) ; ανδ λετ ξ; ψ 2 Α00.

Ιφ δ1 (ξ; ψ) � �1, τηεν δ2 (ξ; ψ) �Μ � Μ
�1
δ1 (ξ; ψ) :

Ον τηε οτηερ ηανδ, ιφ δ1 (ξ; ψ) < �1; τηεν ψ 2 Βδ1 (ξ; �1) � Α0; ανδ τηερε
εξιστσ α σεθυενχε 
ν οφΞ

1−συβυνιτ χυρϖεσ ϕοινινγ ξ το ψ; χονταινεδ ιν Βδ1 (ξ; �1)
ανδ ρεαλιζινγ δ1 (ξ; ψ). Σινχε Βδ1 (ξ; �1) � Α0 ανδ Ξ1 = Ξ2 ιν Α0; 
ν ωιλλ βε
αλσο Ξ2−συβυνιτ χυρϖεσ. Ηενχε δ2 (ξ; ψ) � δ1 (ξ; ψ) :
Ωε ηαϖε τηερεφορε προϖεδ τηατ δ2 (ξ; ψ) � χδ1 (ξ; ψ) φορ εϖερψ ξ; ψ 2 Α0.

Εξχηανγινγ τηε ρολεσ οφ δ1; δ2 ωε γετ τηε ασσερτιον.
Νεξτ, ωε νεεδ α τεχηνιχαλ λεµµα:

Λεµµα 2.8 Φορ ανψ χουπλε οφ βουνδεδ οπεν συβσετσ οφ Ρν; Α1 β Α2, τηερε
εξιστσ ανοτηερ οπεν σετ Α, ωιτη Α1 β Α β Α2 συχη τηατ:
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1. Α ηασ σµοοτη βουνδαρψ;

2. τηερε εξιστσ � 2 Χ10 (Α2) ; 0 � � � 1; συχη τηατ � (ξ) = 1 ιφ ανδ ονλψ ιφ
ξ 2 Α.

Προοφ. Λετ  ∀ βε α στανδαρδ φαµιλψ οφ µολλι�ερσ, τηατ ισ  ∀ (ξ) = ∀�ν (ξ=∀)
φορ ανψ ∀ > 0, ωηερε

 2 Χ10 (Ρν) ωιτη συππ = ΒΕ (0; 1) ; � 0;
Ζ

Ρν

 (ξ) δξ = 1: (2.13)

Λετ υσ προϖε 1. Ιτ ισ κνοων τηατ τηερε εξιστσ α φυνχτιον φ 2 Χ0 (Α2) ; 0 � φ �
1; συχη τηατ φ (ξ) = 1 ιφ ξ 2 Α1: Λετ φ∀ = φ �  ∀: Σινχε φ 2 Χ0 (Α2) ; ωε κνοω
τηατ φ∀ ! φ υνιφορµλψ. Τηεν, πιχκ ∀0 συχη τηατ συπ ϕφ � φ∀0 ϕ < 1=8: Ηενχε

φ∀0 (ξ)

�
� 1� 1

8 ιν Α1
� 1

8 ιν (Α2)
χ (2.14)

Λετ
�τ = φξ : φ∀0 (ξ) = τγ :

Σινχε φ∀0 ισ σµοοτη, βψ Σαρδ�σ τηεορεµ, φορ α.ε. τ 2
�
1
4 ;

3
4

�
τηε λεϖελ σετ �τ

δοεσ νοτ χονταιν χριτιχαλ ϖαλυεσ οφ φ∀0 ; ανδ τηερεφορε ισ τηε σµοοτη βουνδαρψ
οφ τηε οπεν σετ φξ : φ∀0 (ξ) > τγ. Φορ α �ξεδ τ0 φορ ωηιχη τηισ ηαππενσ, δε�νε
Α = φξ : φ∀0 (ξ) > τ0γ : Τηεν βψ (2.14), ωε ηαϖε Α1 β Α β Α2; ανδ ποιντ 1 ισ
προϖεδ.
Το προϖε 2, ωε ωιλλ προϖε τηε φολλοωινγ µορε γενεραλ φαχτ: ιφ Α1 β Α β Α2

ωηερε Α ισ α βουνδεδ οπεν συβσετ οφ Ρν σατισφψινγ α υνιφορµ εξτεριορ βαλλ
χονδιτιον, τηεν προπερτψ 2 ηολδσ.
Λετ ∀0 > 0 βε συχη τηατ:

8ζ 2 ≅Α;9ΒΕ (ξ; ∀0) σ.τ. ΒΕ (ξ; ∀0) ∴Α = ? ανδ ΒΕ (ξ; ∀0) ∴Α = φζγ :

(Τηισ ισ εξαχτλψ τηε υνιφορµ εξτεριορ βαλλ χονδιτιον). Νοω, φορ σοµε ∀ < ∀0=2,
λετ

Α∀ = φξ : δΕ (ξ;Α) < ∀γ ;
�Α∀ βε τηε χηαραχτεριστιχ φυνχτιον οφ Α∀; ανδ

�∀ (ξ) = (�Α∀
�  ∀) =

Ζ

Α∀

 ∀ (ξ� ψ) δψ:

Τηεν 0 � �∀ � 1; συππ�∀ � Α2∀; ανδ βψ (2.13), �∀ (ξ) = 1 ιφ ανδ ονλψ ιφ
ΒΕ (ξ; ∀) � Α∀: Χλεαρλψ, ιφ ξ 2 Α; τηεν ΒΕ (ξ; ∀) � Α∀; ανδ σο �∀ (ξ) = 1: Τηε
ποιντ ισ το προϖε τηατ, χονϖερσελψ,

ΒΕ (ξ; ∀) � Α∀ ) ξ 2 Α: (2.15)

Το δο τηισ, πιχκ αν ξ =2 Α; ανδ λετ υσ σηοω τηατ ΒΕ (ξ; ∀) ∗ Α∀: Ιφ δΕ (ξ;Α) �
∀; τηισ ισ οβϖιουσ βεχαυσε ξ =2 Α∀: Ιφ ξ =2 Α ανδ δΕ (ξ;Α) < ∀; λετ ζ 2 ≅Α συχη
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τηατ δΕ (ξ; ζ) = δΕ (ξ;Α) = � < ∀. Λετ ξ0 βε συχη τηατ ΒΕ (ξ0; ∀0=2)∴Α = φζγ ;
ανδ λετ ρ βε τηε διαµετερ οφ ΒΕ (ξ0; ∀0=2) πασσινγ τηρουγη ζ. Τηεν ξ 2 ρ; ανδ φορ
ανψ ποιντ ξ0 2 ρ; ονε χαν σαψ τηατ δΕ (ξ0; ζ) = δΕ (ξ

0; Α), βεχαυσε τηε σεγµεντ
ρ ισ αλσο τηε ραδιυσ οφ τηε βαλλ ΒΕ (ξ0; ∀0) � Αχ: Τηερεφορε ωε χαν �νδ α ποιντ
ξ0 2 ρ, συχη τηατ δΕ (ξ0; ξ) = ∀� �

2 ανδ δΕ (ξ
0; ζ) = δΕ (ξ; ζ)+δΕ (ξ

0; ξ) = ∀+ �
2 :

Ηενχε ξ0 2 ΒΕ (ξ; ∀) ν Α∀ ανδ (2.15) ισ προϖεδ. Ωε ηαϖε τηερεφορε χονστρυχτεδ,
φορ ανψ ∀ < ∀0=2; α φυνχτιον �∀ 2 Χ10 (Ρν) συχη τηατ

0 � �∀ � 1; συππ�∀ � Α2∀; �∀ (ξ) = 1 ιφ ανδ ονλψ ιφ ξ 2 Α:
Χηοοσινγ 2∀ < δΕ (Α;Α2) ;ωε ηαϖε συππ�∀ � Α2 ανδ τηε ασσερτιον ισ προϖεδ.

Τηεορεµ 2.9 Λετ Ζ = (Ζ1; : : : ; Ζθ) βε α σψστεµ οφ ϖεχτορ �ελδσ δε�νεδ ιν α
βουνδεδ δοµαιν 
 � Ρν ανδ σατισφψινγ Ηρµανδερ�σ χονδιτιον οφ στεπ σ ιν

: Τηεν, φορ ανψ δοµαινσ 
1 β 
0 β 
, τηερε εξιστσ α νεω σψστεµ Ξ =
(Ξ1; Ξ2; :::; Ξµ) (µ = θ + ν) οφ ϖεχτορ �ελδσ, συχη τηατ τηε ϖεχτορ �ελδσ Ξι�σ
αρε δε�νεδ ον τηε ωηολε σπαχε Ρν ανδ σατισφψ Ηρµανδερ�σ χονδιτιον οφ στεπ σ
ιν Ρν; µορεοϖερ:

Ξ = (Ζ1; Ζ2; :::; Ζθ; 0; 0; :::; 0) ιν 
1; (2.16)

Ξ = (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) ιν Ρ
ν ν 
0: (2.17)

Φυρτηερµορε, δενοτινγ βψ δΖ ,δΞ , ρεσπεχτιϖελψ, τηε ΧΧ−διστανχεσ ινδυχεδ βψ
Ζ ιν 
 ανδ Ξ ιν Ρν; ωε ηαϖε:

1. φορ ανψ δοµαιν 
2 β 
1; δΞ ισ εθυιϖαλεντ το δΖ ιν 
2;

2. δΞ ισ εθυιϖαλεντ το τηε Ευχλιδεαν διστανχε ιν Ρν ν 
;
3. δΞ σατισ�εσ τηε γλοβαλ δουβλινγ χονδιτιον:

ϕΒ (ξ; 2ρ)ϕ � χ ϕΒ (ξ; ρ)ϕ 8ξ 2 Ρν; ρ > 0:

Προοφ. Αππλψινγ Λεµµα 2.8 το 
1 β 
0; λετ Α βε α σµοοτη οπεν σετ ανδ
∋ 2 Χ10 (
0) α χυτ−ο⁄ φυνχτιον συχη 
1 β Α β 
0 ανδ ∋(ξ) = 1 ιφ ανδ ονλψ ιφ
ξ 2 Α. Λετ υσ δε�νε:

Ξι = ∋Ζι; ι = 1; : : : ; θ; Ξθ+κ = (1� ∋)≅ξκ ; κ = 1; : : : ; ν:

Ρελατιονσ (2.16), (2.17) αρε οβϖιουσ, σο ωε ονλψ νεεδ το χηεχκ Ηρµανδερ�σ
χονδιτιον. Φιξ α ποιντ ξ 2 Ρν; ιφ ∋ (ξ) 6= 1, τηεν ιν α νειγηβορηοοδ οφ ξ τηε
σψστεµ Ξ1; : : : ; Ξµ χονταινσ νονϖανισηινγ µυλτιπλεσ οφ τηε ν �ελδσ ≅ξκ , ωηιχη
σπαν; ιφ ∋ (ξ) = 1, τηεν ξ 2 Α ανδ τηε �ελδσ Ξι = ∋Ζι, ι = 1; :::; θ, σατισφψ
Ηρµανδερ�σ χονδιτιον ατ ξ βεχαυσε ατ τηατ ποιντ

[Ξι; Ξϕ ] = [∋Ζι; ∋Ζϕ ] = ∋2 [Ζι; Ζϕ ] + ∋ (Ζι∋)Ζϕ � ∋ (Ζϕ∋)Ζι = [Ζι; Ζϕ ]
σινχε, ιν Α, ∋ = 1 ανδ ∋ξκ = 0 φορ εϖερψ κ. Ιτερατινγ τηε αβοϖε ρελατιον, ωε σεε
τηατ ατ τηε ποιντ ξ τηε σψστεµ Ξι (ι = 1; :::; θ) ανδ τηε σψστεµ Ζι (ι = 1; :::; θ)
γενερατε τηε σαµε Λιε αλγεβρα, τηατ ισ τηε ωηολε Ρν:
Προπερτψ 1 φολλοωσ φροµ Λεµµα 2.7; προπερτψ 2 φολλοωσ φροµ Λεµµα 2.4;

προπερτψ 3 φολλοωσ φροµ Προποσιτιον 2.5
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3 Γλοβαλ εξτενσιον οφ τηε οπερατορ ΗΑ ανδ εξισ−

τενχε οφ α φυνδαµενταλ σολυτιον

Ασ ωε ηαϖε αλρεαδψ µεντιονεδ ιν τηε Ιντροδυχτιον, ιτ ισ χονϖενιεντ το δεαλ ωιτη
αν οπερατορ ΗΑ σατισφψινγ (Η1)−(Η2) ον τηε ωηολε σπαχε Ρν+1: Βψ Τηεορεµ 2.9,
ωε ιµµεδιατελψ ηαϖε τηε φολλοωινγ:

Τηεορεµ 3.1 Γιϖεν αν οπερατορ οφ τψπε (1.1),

ΗΑ = ≅τ � ΛΑ = ≅τ �
θΞ

ι;ϕ=1

αιϕΖιΖϕ ;

ωηερε Ζ1; : : : ; Ζθ σατισφψ τηε ασσυµπτιονσ (Η1) ιν σοµε βουνδεδ δοµαιν 
 � Ρν;
ανδ τηε µατριξ Α = φαιϕγ σατισ�εσ ασσυµπτιονσ (Η2), ανδ γιϖεν 
1 β 
, τηερε
εξιστσ α νεω οπερατορ οφ τψπε (1.1)

Η 0
Α = ≅τ � Λ0Α = ≅τ �

µΞ

ι;ϕ=1

α0ιϕΞιΞϕ ;
�
α0ιϕ
	
=

�φαιϕγθι;ϕ=1 0

0 Ιν

�
; (3.1)

συχη τηατ:
ι) τηε ϖεχτορ �ελδσ Ξι�σ αρε δε�νεδ ον τηε ωηολε σπαχε Ρν+1;
ιι) Η 0

Α χοινχιδεσ ωιτη ΗΑ φορ ξ 2 
1;
ιιι) Η 0

Α χοινχιδεσ ωιτη τηε χλασσιχαλ ηεατ οπερατορ φορ ξ ουτσιδε 
;
ιϖ) Η 0

Α σατισ�εσ (Η1) ανδ (Η2), ωιτη τηε σαµε χονσταντ �.

Ρεµαρκ 3.2 Χονδιτιονσ (Η1)−(Η2) ιµπλψ τηατ Η 0
Α χαν βε ρεωριττεν ασ α σταν−

δαρδ �συµ οφ σθυαρεσ� Ηρµανδερ�σ οπερατορ, ανδ τηερεφορε ιτ ισ ηψποελλιπτιχ ιν
Ρν+1. Λετ υσ ρεχαλλ τηατ α λινεαρ δι⁄ερεντιαλ οπερατορ Π ωιτη Χ1 χοε′χιεντσ ισ
σαιδ το βε ηψποελλιπτιχ ιφ, ωηενεϖερ τηε εθυατιον Πυ = φ ισ σατισ�εδ, ιν διστριβ−
υτιοναλ σενσε, ον σοµε οπεν σετ 
, τηεν φ 2 Χ1(
) ιµπλιεσ υ 2 Χ1(
):

>Φροµ νοω ον ωε σηαλλ αλωαψσ ωορκ ωιτη τηε νεω ϖεχτορ �ελδσ Ξ1; : : : ; Ξµ

δε�νεδ ιν Τηεορεµ 2.9 ανδ ωε σηαλλ δενοτε Η 0
Α σιµπλψ βψ ΗΑ ανδ α

0
ιϕ βψ αιϕ .

Μορε γενεραλλψ, τηρουγηουτ τηε ρεστ οφ Παρτ Ι ιτ ωιλλ βε ενουγη το ωορκ ιν τηε
φολλοωινγ σεττινγ:

Ηψποτηεσεσ. Λετ Ξ = (Ξ1; Ξ2; :::; Ξµ) (µ = ν + θ) βε α �ξεδ σψστεµ οφ
Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ιν τηε ωηολε Ρν; ανδ συχη τηατ

Ξ = (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) ιν Ρ
ν ν 
0

ωηερε 
0 ισ α �ξεδ βουνδεδ δοµαιν. Φορ α �ξεδ χονσταντ � � 1, λετ Β� βε τηε
σετ οφ µατριχεσ οφ τηε κινδ

Α = φαιϕγµι;ϕ=1 =
�φαιϕγθι;ϕ=1 0

0 Ιν

�
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ωιτη φαιϕγθι;ϕ=1 2 Ε�. Φορ εϖερψ Α 2 Β�; ωε σετ

ΗΑ = ≅τ � ΛΑ = ≅τ �
µΞ

ι;ϕ=1

αιϕΞιΞϕ :

Νοτατιον 3.3 Φροµ νοω ον, ιν τηε ρεστ οφ Παρτ Ι, ωε ωιλλ δενοτε βψ χ ανψ
ποσιτιϖε χονσταντ ονλψ δεπενδινγ ον Ξ1; : : : ; Ξµ ανδ τηε νυµβερ �. Ωε ωιλλ
ωριτε χ (φ1; φ2; :::; φκ) φορ ανψ ποσιτιϖε χονσταντ αλσο δεπενδινγ ον τηε αργυµεντσ
φ1; φ2; :::; φκ: Νοτε τηατ α δι⁄ερεντ χονϖεντιον ον χονσταντσ ωιλλ βε µαδε ιν Σεχ−
τιον 10 (σεε Νοτατιον 10.6) φορ Παρτσ ΙΙ ανδ ΙΙΙ.

Τηε ρεµαρκαβλε φαχτ ισ τηατ τηε οπερατορ ΗΑ ποσσεσσεσ α γλοβαλ φυνδαµενταλ
σολυτιον, ασ στατεδ ιν τηε φολλοωινγ ρεσυλτ, ωηιχη ισ εσσεντιαλλψ χονταινεδ ιν τηε
παπερ [37] βψ Λανχονελλι, Πασχυχχι.

Τηεορεµ 3.4 Τηερε εξιστσ α γλοβαλ φυνδαµενταλ σολυτιον ηΑ(τ; ξ; σ; ψ) φορ ΗΑ

ιν Ρν+1, ωιτη τηε προπερτιεσ λιστεδ βελοω.

(ι) ηΑ ισ σµοοτη αωαψ φροµ τηε διαγοναλ οφ Ρν+1 � Ρν+1.

(ιι) ηΑ � 0 ανδ ηΑ ϖανισηεσ φορ τ � σ.

(ιιι) Φορ εϖερψ (σ; ψ) 2 Ρν+1, ηΑ(�; σ; ψ) ισ λοχαλλψ ιντεγραβλε ανδ

ΗΑηΑ(�; σ; ψ) = �(σ;ψ)

(τηε ∆ιραχ µεασυρε συππορτεδ ατ φ(σ; ψ)γ).

(ιϖ) Φορ εϖερψ τεστ φυνχτιον ∋ 2 Χ10 (Ρν+1), ωε ηαϖε

ΗΑ

�Ζ

Ρν+1

ηΑ(�; σ; ψ)∋(σ; ψ) δσδψ
�
=

Ζ

Ρν+1

ηΑ(�; σ; ψ)ΗΑ∋(σ; ψ) δσδψ = ∋:

(ϖ) η�Α(τ; ξ; σ; ψ) = ηΑ(σ; ψ; τ; ξ) ισ α φυνδαµενταλ σολυτιον φορ τηε φορµαλ αδ−
ϕοιντ οπερατορ Η�

Α = �≅τ�
Πµ
ι;ϕ=1 αι;ϕΞ

�
ϕΞ

�
ι ανδ ιτ σατισ�εσ τηε δυαλ στατε−

µεντσ οφ (ιιι) ανδ (ιϖ).

(ϖι) Φορ εϖερψ τ > σ, ωε ηαϖε
Ζ

Ρν

ηΑ(τ; ξ; σ; ψ) δψ = 1: (3.2)

(ϖιι) Φορ εϖερψ χοµπαχτ σετ Κ � Ρν ανδ φορ εϖερψ Τ > 0 τηερε εξιστ ποσιτιϖε
χονσταντσ Μ;Ρ; � συχη τηατ, φορ ϕξϕ > Ρ

συπ
ψ2Κ; σ<τ<Τ

ηΑ(τ; ξ; σ; ψ) + συπ
ψ2Κ; σ<τ<Τ

ηΑ(τ; ψ; σ; ξ) �Μ εξπ(��ϕξϕ2):

(3.3)
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(ϖιιι) ηΑ(τ; ξ; σ; ψ) δεπενδσ ον τ; σ ονλψ τηρουγη τ � σ: Ηενχε, φροµ νοω ον ωε
ωιλλ αλωαψσ ωριτε

ηΑ(τ; ξ; σ; ψ) = ηΑ(τ� σ; ξ; ψ)

Χορολλαρψ 3.5 Λετ φ : Ρν ! Ρ βε α βουνδεδ χοντινυουσ φυνχτιον. Τηεν, τηε
φυνχτιον υ (τ; ξ) =

Ρ
Ρν
ηΑ(τ; ξ; ψ) φ(ψ) δψ ισ α χλασσιχαλ σολυτιον το τηε Χαυχηψ

προβλεµ
ΗΑυ = 0 ιν (0;1)� Ρν; υ (0; �) = φ:

Προοφ. Λετ �κ 2 Χ10 (Ρ
ν), κ 2 Ν, βε χυτο⁄ φυνχτιονσ συχη τηατ 0 � �κ � 1,

�κ(ξ) = 1 φορ ϕξϕ � κ. Λετ υσ σετ υκ (τ; ξ) =
Ρ
Ρν
ηΑ(τ; ξ; ψ) φ (ψ)�κ (ψ) δψ. Φροµ

Τηεορεµ 3.4−(ι),(ιιι), ιτ φολλοωσ τηατ ωε χαν δι⁄ερεντιατε υνδερ τηε ιντεγραλ σιγν
ανδ οβταιν ΗΑυκ (τ; ξ) = 0 φορ τ > 0. Μορεοϖερ υκ ! υ ποιντωισε. Ινδεεδ

ϕυκ (τ; ξ)� υ (τ; ξ)ϕ � συπ ϕφ ϕ
Ζ

ϕψϕ>κ
ηΑ(τ; ξ; ψ) δψ ! 0 ασ κ !1:

Τηυσ, φορ εϖερψ τεστ φυνχτιον  2 Χ10 ((0;1)� Ρν), ωε ηαϖε

0 =

Ζ

Ρν+1

 ΗΑυκ =

Ζ

Ρν+1

υκΗ
�
Α !

Ζ

Ρν+1

υΗ�
Α ασ κ !1;

βψ δοµινατεδ χονϖεργενχε, οβσερϖινγ τηατ

ϕυκ (τ; ξ)ϕ � συπ ϕφ ϕ
Ζ

Ρν

ηΑ(τ; ξ; ψ) δψ = συπ ϕφ ϕ

βψ (3.2). Τηερεφορε ΗΑυ = 0 ιν (0;1) � Ρν (ρεχαλλ ΗΑ ισ ηψποελλιπτιχ). Λετ
νοω ξ0 2 Ρν βε �ξεδ ανδ λετ υσ προϖε τηατ υ (τ; ξ)! φ(ξ0), ασ (τ; ξ)! (0; ξ0).
Ρεχαλλινγ αγαιν (3.2), ωε γετ

ϕυ (τ; ξ)� φ(ξ0)ϕ �
Ζ

ϕψ�ξ0ϕ��
ηΑ(τ; ξ; ψ) ϕφ(ψ)� φ(ξ0)ϕ δψ

+ 2 συπ ϕφ ϕ
Ζ

ϕψ�ξ0ϕ>�
ηΑ(τ; ξ; ψ) δψ:

Τηε �ρστ ιντεγραλ χαν βε µαδε σµαλλ χηοοσινγ � σµαλλ ενουγη, σινχε φ ισ χον−
τινυουσ ανδ (3.2) ηολδσ. Ονχε � ισ �ξεδ, τηε σεχονδ ιντεγραλ γοεσ το ζερο ασ
(τ; ξ)! (0; ξ0) βψ δοµινατεδ χονϖεργενχε, υσινγ Τηεορεµ 3.4−(ι),(ιι),(ϖιι).
Ωε ωιλλ υσε σεϖεραλ τιµεσ τηε φολλοωινγ ωεακ µαξιµυµ πρινχιπλε:

Προποσιτιον 3.6 Λετ 
 βε αν οπεν συβσετ οφ Ρν ανδ λετ Τ0 < Τ1. Φορ ανψ
υ 2 Χ2((Τ0; Τ1)� 
), ιφ

Ηυ � 0 ιν (Τ0; Τ1)� 

λιµ συπυ � 0 ιν ([Τ0; Τ1)� ≅
) [ (φΤ0γ � 
) ανδ ατ ιν�νιτψ,

τηεν υ � 0 ιν (Τ0; Τ1)� 
.
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Τηε αβοϖε ρεσυλτ ισ εσσεντιαλλψ δυε το Πιχονε; α προοφ χαν βε φουνδ ιν [37,
Προποσιτιον 2.2].

Χορολλαρψ 3.7 Φορ εϖερψ ξ; ψ 2 Ρν, τ > 0 ανδ σ > 0, τηε φολλοωινγ ρεπροδυχ−
τιον προπερτψ ηολδσ

ηΑ(τ+ σ; ξ; ψ) =

Ζ

Ρν

ηΑ(τ; ξ; ζ)ηΑ(σ; ζ; ψ) δζ: (3.4)

Προοφ. Λετ υσ δενοτε βψ ϖ (τ; ξ) ανδ υ (τ; ξ) ρεσπεχτιϖελψ τηε φυνχτιονσ ιν τηε
λεφτ ανδ ιν τηε ριγητ ηανδ σιδε οφ (3.4). Φροµ Τηεορεµ 3.4 ανδ Χορολλαρψ 3.5
ιτ φολλοωσ τηατ ΗΑϖ = 0 = ΗΑυ ιν (0;1) � Ρν, υ(0; �) = ϖ(0; �). Μορεοϖερ ϖ
ϖανισηεσ ασ ϕξϕ ! 1, υνιφορµλψ ιν ανψ στριπ 0 < τ < Τ , βψ µεανσ οφ (3.3). Τηυσ
ωε ονλψ νεεδ το σεε τηατ τηε σαµε ηολδσ φορ υ, ιν ορδερ το γετ (3.4) φροµ τηε
ωεακ µαξιµυµ πρινχιπλε φορ ΗΑ (Προποσιτιον 3.6). Λετ υσ ωριτε

υ (τ; ξ) =

Ζ

ϕζ�ψϕ>Ρ
ηΑ(τ; ξ; ζ)ηΑ(σ; ζ; ψ) δζ +

Ζ

ϕζ�ψϕ�Ρ
ηΑ(τ; ξ; ζ)ηΑ(σ; ζ; ψ) δζ

= Ι1 + Ι2:

>Φροµ (3.3) ιτ φολλοωσ τηατ, φορ ανψ �ξεδ ∀ > 0; ωε χαν χηοοσε Ρ = Ρ∀ > 0 συχη
τηατ ηΑ(σ; ζ; ψ) � ∀ ιφ ϕζ � ψϕ > Ρ. Ηενχε

Ι1 � ∀

Ζ

Ρν

ηΑ(τ; ξ; ζ) δζ = ∀

βψ (3.2). Ον τηε οτηερ ηανδ, ονχε Ρ ισ �ξεδ, (3.3) γιϖεσ

συπ
0<τ<Τ

Ι2 �Μ εξπ(�� ϕξϕ2)
Ζ

ϕζ�ψϕ�Ρ
ηΑ(σ; ζ; ψ) δζ ! 0; ασ ϕξϕ ! 1:

Τηερεφορε συπ0<τ<Τ υ (τ; ξ)! 0, ασ ϕξϕ ! 1, ανδ τηε προοφ ισ χοµπλετεδ.

4 Υνιφορµ Γεϖραψ εστιµατεσ ανδ υππερ βουνδσ

οφ φυνδαµενταλ σολυτιονσ φορ λαργε δ (ξ; ψ)

Φολλοωινγ τηε πλαν ωε ηαϖε εξπλαινεδ ιν Σεχτιον 1, φροµ νοω ον ιν Παρτ Ι ωε
ωιλλ στυδψ τηε φυνδαµενταλ σολυτιον ηΑ, ωηοσε εξιστενχε ανδ βασιχ προπερτιεσ
αρε γραντεδ βψ Τηεορεµ 3.4. Ωε ωιλλ αδοπτ Ηψποτηεσεσ ανδ Νοτατιον στατεδ ιν
Σεχτιον 3.
Ιν τηισ Σεχτιον ωε φολλοω, αδαπτ ανδ χοµπλετε τηε αργυµεντσ οφ [30], ♣2−

3, τηε ιµπορταντ δι⁄ερενχε βεινγ τηατ ωε αρε χονσιδερινγ α χλασσ οφ οπερατορσ
(δεπενδινγ ον τηε µατριξ Α = φαιϕγ) ινστεαδ οφ α σινγλε ονε.
Τηε στρατεγψ ισ το δεδυχε τηε εξπονεντιαλ δεχαψ, φορ ϖανισηινγ τ, οφ σολυτιονσ

το τηε εθυατιον ΗΑυ = 0, φροµ σηαρπ εστιµατεσ ον τιµε δεριϖατιϖεσ οφ ανψ ορδερ
οφ υ. Τηισ ωιλλ αλλοω το εσταβλιση τηε εξπονεντιαλ δεχαψ οφ ηΑ, φορ ϖανισηινγ
τ ανδ (ξ; ψ) αωαψ φροµ τηε διαγοναλ, υνιφορµλψ φορ Α 2 Β�: Τηισ αργυµεντ ισ
βασεδ ον τηε φολλοωινγ φαχτ:
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Λεµµα 4.1 Λετ φ 2 Χ1 ([0; 1]) βε συχη τηατ τηε κ−τη δεριϖατιϖε φ (κ) (0) =
0; κ = 0; 1; 2; ::: ανδ συχη τηατ

συπ
0�τ�1

���φ (κ) (τ)
��� � Ρκ+1 (κ!)

2
φορ σοµε Ρ > 0:

Τηεν ϕφ (τ)ϕ � Ρε�1=(2εΡτ) φορ τ < 1=(εΡ).

Προοφ. Σεε Λεµµα 2 ιν [30].

Ρεµαρκ 4.2 Τηε βουνδ ον φ (κ) ωηιχη αππεαρσ ιν τηε ασσυµπτιονσ οφ τηισ Λεµµα
ισ τηε χονδιτιον αππεαρινγ ιν τηε δε�νιτιον οφ τηε Γεϖραψ χλασσ Γ2; ωηενχε τηε
τερµ �Γεϖραψ εστιµατεσ�:

Νοτατιον 4.3 Ονλψ ιν τηισ σεχτιον, ωε ωιλλ δενοτε βψ ΒΕ (ρ) τηε Ευχλιδεαν βαλλσ
ιν Ρν+1; χεντερεδ ατ τηε οριγιν ανδ ωε ωιλλ υσε τηε νοτατιον:

ηφ; γι =
Ζ

Ρν+1

φ (τ; ξ) γ (τ; ξ) δτδξ; κφκ = κφκΛ2(Ρν+1)

Ωε ωιλλ υσε σεϖεραλ τιµεσ τηε φολλοωινγ ινστανχεσ οφ Χαυχηψ−Σχηωαρζ ινεθυαλ−
ιτψ: φορ φ = (φ1; φ2; :::; φµ) ;γ = (γ1; γ2; :::; γµ) ; ανδ

β (φ ;γ) =
µΞ

ι;ϕ=1

αιϕ ηφι; γϕι ;

ϕβ (φ ;γ)ϕ �
π
β (φ ; φ) � β (γ;γ): (4.1)

Αλσο, ωε ωιλλ υσε

��1
µΞ

ι=1

κφικ2 � β (φ ; φ) � �
µΞ

ι=1

κφικ2

Ωε ωιλλ αλσο υσε τηε µορε ελεµενταρψ φορµ οφ (4.1):
������

µΞ

ι;ϕ=1

αιϕ�ι�ϕ

������
�

ϖυυτ
µΞ

ι;ϕ=1

αιϕ�ι�ϕ

ϖυυτ
µΞ

ι;ϕ=1

αιϕ�ι�ϕ (4.2)

Ρεµαρκ 4.4 ον χυτο⁄ φυνχτιονσ. Φορ α χουπλε οφ χονχεντριχ Ευχλιδεαν βαλλσ
ΒΕ (Ρ) ; ΒΕ (ρ) ιν Ρν+1, ωιτη 0 < ρ < Ρ < 1, ωε ωιλλ ωριτε

ΒΕ (ρ) � � � ΒΕ (Ρ)

το σαψ τηατ � ισ α χυτο⁄ φυνχτιον ωιτη τηε φολλοωινγ στανδαρδ προπερτιεσ:

� 2 Χ10
�
Ρν+1

�
; 0 � � (τ; ξ) � 1 φορ εϖερψ (τ; ξ) 2 Ρν+1;

� = 1 ιν ΒΕ (ρ) ; � = 0 ουτσιδε ΒΕ (Ρ) ;
��≅κτ ≅�ξ� (τ; ξ)

�� � χ (�; κ) (Ρ� ρ)�ϕ�ϕ�κ :

∆υε το τηε γλοβαλ βουνδεδνεσσ οφ τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ Ξι (ανδ
τηειρ δεριϖατιϖεσ), ιφ � ισ ασ αβοϖε, τηεν ιτ ισ αλσο τρυε τηατ

��≅κτΞΙ� (τ; ξ)
�� � χ (κ; Ι) (Ρ� ρ)�ϕΙϕ�κ
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Λεµµα 4.5 Τηερε εξιστσ χ > 0 συχη τηατ

κ≅τυκ2 � χ
ν
κ(≅τ � ΛΑ)υκ2 + κυκ2

ο
(4.3)

φορ εϖερψ υ 2 Χ10
�
Ρν+1

�
.

Προοφ. Ωε σταρτ νοτινγ τηατ, ιφ Ξ1; Ξ2; :::; Ξµ αρε γενεραλ Ηρµανδερ ϖεχτορ
�ελδσ, Ξϕ =

Πν
ι=1 βϕι (ξ) ≅ξι , ανδ τηε µατριξ Α ισ σψµµετριχ, τηεν

Ξ�
ϕ = �Ξϕ + αϕ ωιτη αϕ = �

νΞ

ι=1

≅ξι (βϕι)

Λ�Α =

0
≅

µΞ

ι;ϕ=1

αιϕΞιΞϕ

1
Α
�

=
µΞ

ι;ϕ=1

αιϕΞ
�
ι Ξ

�
ϕ =

µΞ

ι;ϕ=1

αιϕ (�Ξι + αι) (�Ξϕ + αϕ) =

= ΛΑ +
µΞ

ι;ϕ=1

αιϕ (�Ξι (αϕ �)� αιΞϕ + αιαϕ) :

Συπποσε τηατ υ 2 Χ10
�
Ρν+1

�
; τηεν

η≅τυ; υι = ηυ;�≅τυι = �η≅τυ; υι ; ηενχε η≅τυ; υι = 0

η(≅τ � ΛΑ)υ; υι = η�ΛΑυ; υι =
∗
�

µΞ

ι;ϕ=1

αιϕΞιΞϕυ; υ

+
=

=
µΞ

ι;ϕ=1

αιϕ ηΞϕυ;Ξιυ� αιυι �

� 1

�

µΞ

ι=1

κΞιυκ2 � �

ϖυυτ
µΞ

ι=1

κΞιυκ2
ϖυυτ

µΞ

ι=1

καιυκ2 �

� 1

2�

µΞ

ι=1

κΞιυκ2 � χ κυκ2

σο τηατ
µΞ

ι=1

κΞιυκ2 � χ
ν
κ(≅τ � ΛΑ)υκ2 + κυκ2

ο
: (4.4)

Νεξτ, ωε νοτε τηατ, σινχε ≅τ χοµµυτεσ ωιτη ΛΑ ανδ Λ
�
Α,

η≅τυ; (ΛΑ + Λ�Α)υι = η(ΛΑ + Λ�Α)υ;�≅τυι ιµπλιεσ η≅τυ; (ΛΑ + Λ�Α)υι = 0:
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Τηερεφορε (συβτραχτινγ 1
2 η≅τυ; (ΛΑ + Λ�Α)υι), ωε ηαϖε

κ≅τυκ2 = η≅τυ; ≅τυι = η(≅τ � ΛΑ)υ; ≅τυι+ η≅τυ; ΛΑυι =

= η(≅τ � ΛΑ)υ; ≅τυι+
1

2
η≅τυ; (ΛΑ � Λ�Α)υι =

= η(≅τ � ΛΑ)υ; ≅τυι+
1

2

∗
≅τυ;

0
≅

µΞ

ι;ϕ=1

αιϕ (Ξι (αϕ �) + αιΞϕ � αιαϕ)

1
Αυ

+
�

� κ(≅τ � ΛΑ)υκ κ≅τυκ+ χ κ≅τυκ

8
<
:

ϖυυτ
µΞ

ι=1

κΞιυκ2 + κυκ

9
=
; �

� 1

2
κ≅τυκ2 + χ

(
κ(≅τ � ΛΑ)υκ2 +

µΞ

ι=1

κΞιυκ2 + κυκ2
)
�

βψ (4.4)

� 1

2
κ≅τυκ2 + χ

ν
κ(≅τ � ΛΑ)υκ2 + κυκ2

ο

ανδ �ναλλψ

κ≅τυκ2 � χ
ν
κ(≅τ � ΛΑ)υκ2 + κυκ2

ο

Λεµµα 4.6 Τηερε ισ α χονσταντ Ρ (δεπενδινγ ον Α ονλψ τηρουγη �) συχη τηατ
ιφ ΗΑυ (τ; ξ) = 0 ιν ΒΕ (1), τηεν



≅κτ υ



Λ2(ΒΕ(1=2))

� Ρκ+1 (κ!)
2 κυκΛ2(ΒΕ(1))

φορ κ = 0; 1; 2:::

Προοφ. Ωε ωιλλ προϖε βψ ινδυχτιον τηατ τηερε εξιστσ Ρ0 συχη τηατ φορ ανψ ∀,
0 < ∀ < 1 ανδ ανψ νοννεγατιϖε ιντεγερ κ,



≅κτ υ



Λ2(ΒΕ(1�2κ∀)) � Ρκ+10 ∀�2κ κυκΛ2(ΒΕ(1))

: (4.5)

Τηισ ιµπλιεσ τηε Λεµµα βεχαυσε ιφ ωε πυτ ∀ = 1
4κ ωε οβταιν



≅κτ υ



Λ2(ΒΕ(1=2))

� Ρκ+10 16κκ2κ κυκΛ2(ΒΕ(1))
� Ρκ+1 (κ!)

2 κυκΛ2(ΒΕ(1))

φορ Ρ = 16ε2Ρ0 (ωηερε ωε ηαϖε υσεδ κ! � κκε�κ
π
2�κ).

Τηε χασε κ = 0 ισ τριϖιαλλψ τρυε προϖιδεδ Ρ0 � 1: Φορ κ � 1, χηοοσε τωο χυτο⁄
φυνχτιονσ ∋κ;∀;  κ;∀ συχη τηατ

ΒΕ (1� 2κ∀) � ∋κ;∀ � ΒΕ (1� (2κ � 1) ∀)
ΒΕ (1� (2κ � 1) ∀) �  κ;∀ � ΒΕ (1� (2κ � 2) ∀)

Τηεν ωε ηαϖε


≅κτ υ




Λ2(ΒΕ(1�2κ∀)) �



≅τ
�
∋κ;∀≅

κ�1
τ υ

�



βψ (4.3) � χ
�

(≅τ � ΛΑ)

�
∋κ;∀≅

κ�1
τ υ

�

+


∋κ;∀≅κ�1τ υ



� :
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Λετ υσ χοµπυτε

(≅τ � ΛΑ)
�
∋κ;∀≅

κ�1
τ υ

�
= ((≅τ � ΛΑ)∋κ;∀) ≅κ�1τ υ+

� 2
µΞ

ι;ϕ=1

αιϕ (Ξϕ∋κ;∀)
�
Ξι≅

κ�1
τ υ

�
+ ∋κ;∀≅

κ�1
τ ((≅τ � ΛΑ)υ)

Βεχαυσε (≅τ � ΛΑ)υ = 0 ανδ υσινγ τηε ηψποτηεσεσ ον ∋κ;∀; ωε ηαϖε


≅κτ υ




Λ2(ΒΕ(1�2κ∀))

� χ

0
≅∀�2



≅κ�1τ υ



Λ2(ΒΕ(1�(2κ�1)∀)) +









µΞ

ι;ϕ=1

αιϕ (Ξϕ∋κ;∀)
�
Ξι≅

κ�1
τ υ

�








1
Α :

(4.6)

Νοω,

������

µΞ

ι;ϕ=1

αιϕ (Ξϕ∋κ;∀)
�
Ξι≅

κ�1
τ υ

�
������

�

ϖυυτ
µΞ

ι;ϕ=1

αιϕ (Ξι∋κ;∀) (Ξϕ∋κ;∀) �

ϖυυτ
µΞ

ι;ϕ=1

αιϕ
�
Ξι≅

κ�1
τ υ

� �
Ξϕ≅

κ�1
τ υ

�

� χ∀�1 κ;∀

ϖυυτ
µΞ

ι;ϕ=1

αιϕ
�
Ξι≅

κ�1
τ υ

� �
Ξϕ≅

κ�1
τ υ

�

σο τηατ









µΞ

ι;ϕ=1

αιϕ (Ξϕ∋κ;∀)
�
Ξι≅

κ�1
τ υ

�








2

� χ∀�2
µΞ

ι;ϕ=1

αιϕ

Ζ

Ρν+1

 2κ;∀
�
Ξι≅

κ�1
τ υ

� �
Ξϕ≅

κ�1
τ υ

�
δξδτ

= χ∀�2
µΞ

ι;ϕ=1

αιϕ


 2κ;∀

�
Ξι≅

κ�1
τ υ

�
;
�
Ξϕ≅

κ�1
τ υ

��
: (4.7)
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Ον τηε οτηερ ηανδ,

µΞ

ι;ϕ=1

αιϕ


 2κ;∀

�
Ξι≅

κ�1
τ υ

�
;
�
Ξϕ≅

κ�1
τ υ

��
=

= �
µΞ

ι;ϕ=1

αιϕ


Ξϕ

�
 2κ;∀

� �
Ξι≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
+

+

µΞ

ι;ϕ=1

αιϕ


αϕ 

2
κ;∀

�
Ξι≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
+

�
∗
 2κ;∀≅

κ�1
τ

0
≅

µΞ

ι;ϕ=1

αιϕΞιΞϕυ

1
Α ; ≅κ�1τ υ

+
=

= Α+Β + Χ (4.8)

Υσινγ τηε εθυατιον ≅τυ = ΛΑυ;ωε ηαϖε

Χ = �


 2κ;∀≅

κ
τ υ; ≅

κ�1
τ υ

�

Ωε νοτε τηατ


 2κ;∀≅

κ
τ υ; ≅

κ�1
τ υ

�
=


≅τ
�
 2κ;∀≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
�

�
≅τ 

2
κ;∀

�
≅κ�1τ υ; ≅κ�1τ υ

�

= �


 2κ;∀≅

κ�1
τ υ; ≅κτ υ

�
�

�
≅τ 

2
κ;∀

�
≅κ�1τ υ; ≅κ�1τ υ

�

ηενχε

ϕΧϕ =
��
 2κ;∀≅κτ υ; ≅κ�1τ υ

��� = 1

2

��
�≅τ 2κ;∀
�
≅κ�1τ υ; ≅κ�1τ υ

���

� χ∀�1


≅κ�1τ υ



2
Λ2(ΒΕ(1�(2κ�2)∀)) (4.9)

Το βουνδΑ;Β ιν (4.8), ωε µακε τηε φολλοωινγ ρεµαρκ. Φορ εϖερψ  2 Χ10
�
Ρν+1

�
;

η Ξϕϖ; ϖι = ηΞϕ ( ϖ) ; ϖι � η(Ξϕ ) ϖ; ϖι =


 ϖ;Ξ�

ϕ ϖ
�
� η(Ξϕ ) ϖ; ϖι =

= �η ϖ;Ξϕϖι+ η ϖ; αϕϖι � η(Ξϕ ) ϖ; ϖι

ηενχε

η Ξϕϖ; ϖι =
1

2
(η ϖ; αϕϖι � η(Ξϕ ) ϖ; ϖι)

ανδ

ϕη Ξϕϖ; ϖιϕ � χ
�
συπ ϕ ϕ κϖκ2Λ2(συππ ) + συπ ϕΞϕ ϕ κϖκ2Λ2(συππΞϕ )

�
: (4.10)

Φορ ϖ = ≅κ�1τ υ; (4.10) ιµπλιεσ

ϕΒϕ =

������

µΞ

ι;ϕ=1

αιϕ


αϕ 

2
κ;∀

�
Ξι≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
������
� χ∀�1



≅κ�1τ υ


2
Λ2(ΒΕ(1�(2κ�2)∀))

(4.11)
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Σιµιλαρλψ,

ϕΑϕ =

������

µΞ

ι;ϕ=1

αιϕ


Ξϕ

�
 2κ;∀

� �
Ξι≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
������
=

=

������

µΞ

ι;ϕ=1

αιϕ


2 κ;∀ (Ξϕ κ;∀)

�
Ξι≅

κ�1
τ υ

�
; ≅κ�1τ υ

�
������
�

� χ∀�2


≅κ�1τ υ



2
Λ2(ΒΕ(1�(2κ�2)∀)) (4.12)

Ινεθυαλιτιεσ (4.6), (4.7), (4.8), (4.9), (4.11), (4.12) ιµπλψ


≅κτ υ




Λ2(ΒΕ(1�2κ∀))

� χ∀�2


≅κ�1τ υ




Λ2(ΒΕ(1�(2κ�1)∀))+

+ χ∀�1

ϖυυτ
µΞ

ι;ϕ=1

αιϕ

∆
 2κ;∀

�
Ξι≅

κ�1
τ υ

�
;
�
Ξϕ≅

κ�1
τ υ

�Ε

� χ∀�2


≅κ�1τ υ




Λ2(ΒΕ(1�(2κ�1)∀))+

+ χ∀�1
ν
∀�1=2



≅κ�1τ υ



Λ2(ΒΕ(1�(2κ�2)∀)) + ∀

�1 

≅κ�1τ υ



Λ2(ΒΕ(1�(2κ�2)∀))

ο

(4.13)

Τηερεφορε,


≅κτ υ




Λ2(ΒΕ(1�2κ∀)) � χ∀

�2 

≅κ�1τ υ



Λ2(ΒΕ(1�(2κ�2)∀))

βψ τηε ινδυχτιϖε ασσυµπτιον

� χ∀�2Ρκ0∀�2κ+2 κυκΛ2(ΒΕ(1))
= Ρκ+10 ∀�2κ κυκΛ2(ΒΕ(1))

χηοοσινγ Ρ0 = χ. Τηισ προϖεσ (4.5), ανδ σο τηε Λεµµα.

Ρεµαρκ 4.7 Ωε ωιλλ νεεδ Λεµµα 4.6 ιν τηε φολλοωινγ φορµ, αδαπτεδ το α βαλλ
οφ ραδιυσ ρ: φορ ανψ ρ > 0, τηερε ισ α χονσταντ Ρ συχη τηατ ιφ ΗΑυ (τ; ξ) = 0 ιν
ΒΕ (ρ), τηεν 

≅κτ υ




Λ2(ΒΕ(ρ=2))

� Ρκ+1 (κ!)
2 κυκΛ2(ΒΕ(ρ))

: (4.14)

Το γετ τηισ ινεθυαλιτψ, ωε χαν αργυε ασ φολλοωσ. Ωιτη τηε σαµε ρεασονινγ οφ τηε
προοφ οφ Λεµµα 4.6, υσινγ χυτο⁄ φυνχτιονσ αδαπτεδ το τηε βαλλσ ΒΕ (ρ (1� 2κ∀))
ετχ., ονε προϖεσ, βψ ινδυχτιον, τηατ τηερε εξιστσ Ρ0 συχη τηατ φορ ανψ ∀, 0 < ∀ < 1
ανδ ανψ νοννεγατιϖε ιντεγερ κ,



≅κτ υ



Λ2(ΒΕ(ρ(1�2κ∀))) � Ρκ+10 (∀ρ)

�2κ κυκΛ2(ΒΕ(ρ))
: (4.15)

Τηισ ιµπλιεσ (4.14) βεχαυσε ιφ ωε πυτ ∀ = 1
4κ ωε οβταιν



≅κτ υ



Λ2(ΒΕ(ρ=2))

� Ρκ+10 16κκ2κρ�2κ κυκΛ2(ΒΕ(ρ))
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Νοω,
Ρκ+10 16κκ2κρ�2κ � Ρκ+1κ2κε�2κ2�κ � Ρκ+1 (κ!)

2

ωηερε τηε �ρστ ινεθυαλιτψ ηολδσ προϖιδεδ ωε χηοοσε

Ρ = Ρ0 ιφ
16ε2

ρ2
� 1; Ρ = Ρ0

16ε2

ρ2
ιφ
16ε2

ρ2
> 1:

Το τρανσφορµ τηε Λ2 βουνδ οφ τηε πρεϖιουσ Λεµµα ιν α συπρεµυµ βουνδ
ον ≅κτ υ; ωε ωιλλ µακε υσε οφ τηε φολλοωινγ συβελλιπτιχ εστιµατε, υνιφορµ ιν Α:

Λεµµα 4.8 Φορ εϖερψ χουπλε οφ χυτο⁄ φυνχτιονσ ∋1; ∋2; ωιτη ∋2 = 1 ον συππ∋1;
ανδ εϖερψ σ > 0; τηερε εξιστσ α χονσταντ χ (∋1; ∋2; σ) (δεπενδινγ ον Α ονλψ
τηρουγη �), συχη τηατ

κ∋1ωκΗσ � χ (∋1; ∋2; σ) φκ∋2 (≅τ � ΛΑ)ωκΗσ + κ∋2ωκγ (4.16)

φορ εϖερψ ω 2 Χ1 (συππ∋2) : Ηερε Ησ δενοτεσ τηε ορδιναρψ Σοβολεϖ σπαχε οφ
φραχτιοναλ ορδερ ον Ρν+1:

Τηισ χλασσιχαλ βουνδ (σεε φορ ινστανχε Κοην [31]) ηολδσ υνιφορµλψ ωιτη ρεσπεχτ
το Α ιν Β�, ασ ποιντεδ ουτ ιν [9]; µορεοϖερ, τηε σαµε ρεασονινγ οφ [9] αππλιεσ ωηεν
Ξ1; :::; Ξµ αρε γενεραλ Ηρµανδερ ϖεχτορ �ελδσ (νοτ νεχεσσαριλψ λεφτ ινϖαριαντ
ωιτη ρεσπεχτ το α Λιε γρουπ στρυχτυρε). Ρεχαλλ αλσο τηατ, βψ Σοβολεϖ� Λεµµα,
φορ ανψ σ > (ν+ 1) =2 ωε ηαϖε

συπ ϕ∋1ωϕ � χ (σ; ∋1) κ∋1ωκΗσ (4.17)

Προποσιτιον 4.9 Λετ ρ > 0; τηερε εξιστσ α χονσταντ Ρ1 = χ (ρ) συχη τηατ, φορ
ανψ βαλλ ΒΕ (ρ) � Ρν+1; ιφ (≅τ � ΛΑ) ϖ = 0 ιν ΒΕ (ρ), τηεν φορ ανψ νοννεγατιϖε
ιντεγερ κ,

συπ
ΒΕ(ρ=4)

��≅κτ ϖ
�� � Ρκ+11 (κ!)

2 κϖκΛ2(ΒΕ(ρ))
: (4.18)

Προοφ. Αππλψινγ (4.16) το ω = ≅κτ ϖ (ωηιχη σατισ�εσ (≅τ � ΛΑ)ω = 0 ιν ΒΕ (ρ))
ανδ (4.17), ανδ χηοοσινγ τωο χυτο⁄ φυνχτιονσ

ΒΕ (ρ=4) � ∋1 � ΒΕ (3ρ=8) ;ΒΕ (3ρ=8) � ∋2 � ΒΕ (ρ=2)

ωε γετ

συπ
ΒΕ(ρ=4)

��≅κτ ϖ
�� � συπ

ΒΕ(ρ=2)

��∋1≅κτ ϖ
�� � χ



∋1≅κτ ϖ



Ησ

� χ
�

∋2 (≅τ � ΛΑ) ≅κτ ϖ




Ησ +



∋2≅κτ ϖ


	 =

= χ


∋2≅κτ ϖ



 � χ


≅κτ ϖ




Λ2(ΒΕ(ρ=2))

� χΡκ+1 (κ!)2 κϖκΛ2(ΒΕ(ρ))

ωηιχη γιϖεσ (4.18) ωιτη Ρ1 = χΡ: Ιν τηε λαστ ινεθυαλιτψ ωε ηαϖε αππλιεδ (4.14).

Ωε νοω αππλψ το τηε φυνδαµενταλ σολυτιον οφ ΗΑ τηε πρεϖιουσ ρεσυλτσ, το γετ
αν υππερ Γαυσσιαν βουνδ φορ ηΑ; ωηιχη ηολδσ ωηεν δ (ξ; ψ) ισ βουνδεδ αωαψ
φροµ ζερο.
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Τηεορεµ 4.10 Τηερε εξιστσ α χονσταντ � συχη τηατ φορ ανψ Ρ > ∀ > 0 ωε ηαϖε

ηΑ (τ; ξ; ψ) � χ1 (∀;Ρ) ε�χ=τ

φορ εϖερψ τ 2 (0; �) ; ξ; ψ 2 Ρν ωιτη ∀ � δ (ξ; ψ) � Ρ.

Προοφ. Φορ ανψ �ξεδ ψ 2 Ρν; λετ

Χ = Χ∀;Ρ = φ(τ; ξ) : 0 � τ � 1; ∀ < δ (ξ; ψ) < Ργ :

Λετ υσ χοϖερ Χ ωιτη α �νιτε νυµβερ οφ βαλλσ Βϕ συχη τηατ τηε βαλλσ Β
�
ϕ χονχεντριχ

ωιτη Βϕ ανδ ωιτη ραδιυσ φουρ τιµεσ τηε ραδιυσ οφ Βϕ αρε ατ ποσιτιϖε διστανχε φροµ
τηε οριγιν, λετ Χ 0 =

Σ
Β�ϕ . Αππλψινγ Προποσιτιον 4.9 το ηΑ ιν εαχη βαλλ, ανδ

τηεν πασσινγ το τηε συπ ωιτη ρεσπεχτ το τηε φαµιλψ Βϕ ωε ηαϖε

συπ
Χ

��≅κτ ηΑ(�; �; ψ)
�� � Ρκ (κ!)

2 κηΑ(�; �; ψ)κΛ2(Χ0) � χΡκ (κ!)
2

(4.19)

φορ τηε υνιφορµ Λ2 βουνδ ον ηΑ χονταινεδ ιν τηε νεξτ τηεορεµ. Νοτε αλσο τηατ
τηε νυµβερ οφ βαλλσ Βϕ χαν βε χηοσεν ινδεπενδεντλψ οφ ψ. Τηεν Λεµµα 4.1
ιµπλιεσ τηε τηεορεµ.

Τηεορεµ 4.11 Φορ ανψ Ρ > ∀ > 0; Τ > 0, τηερε εξιστσ α χονσταντ χ (∀;Ρ; Τ ),
συχη τηατ

συπ
ψ2Ρν

Ζ Τ

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

ηΑ (�; ξ; ψ)
2
δξ � χ (∀;Ρ; Τ )

Τηισ φαχτ ωιλλ βε προϖεδ ιν τηε νεξτ σεχτιον.

5 Φραχτιοναλ ιντεγραλσ ανδ υνιφορµ Λ2 βουνδσ οφ

φυνδαµενταλ σολυτιονσ φορ λαργε δ (ξ; ψ)

Τηε γοαλ οφ τηισ σεχτιον ισ το προϖε Τηεορεµ 4.11, ανδ τηερεφορε χοµπλετε τηε
προοφ οφ Τηεορεµ 4.10. Το προϖε τηισ υνιφορµ βουνδ ον ηΑ; ωε ωιλλ φολλοω τηε
αππροαχη υσεδ βψ Βραµαντι, Βρανδολινι ιν [9], ♣4, ωηιχη ιν τυρν ισ βασεδ ον ιδεασ
χονταινεδ ιν τηε παπερσ βψ Ροτησχηιλδ−Στειν [49] ανδ Κοην [31]. Τηε βασιχ τοολ
ισ αν Λ2 εστιµατε φορ τηε φραχτιοναλ ιντεγραλ οπερατορ ωιτη κερνελ ηΑ, υνιφορµ
φορ Α ρανγινγ ιν τηε χλασσ Β� (σεε Σεχτιον 3). Τηε συιταβλε φραµεωορκ φορ τηισ
φραχτιοναλ ιντεγραλ εστιµατε ισ τηατ οφ σπαχεσ οφ ηοµογενεουσ τψπε, ιν τηε σενσε
οφ Χοιφµαν−Ωεισσ [16].
Ρεχαλλ τηατ τηε σψµβολ Β (ξ; ρ) = Βρ (ξ) δενοτεσ βαλλσ ωιτη ρεσπεχτ το τηε

ΧΧ−διστανχε δ, τηατ ωε ηαϖε δε�νεδ ανδ στυδιεδ ιν Σεχτιον 2. Ωε ωιλλ αλσο υσε
τηε �παραβολιχ ΧΧ−διστανχε� ιν Ρν+1,

δΠ ((τ; ξ) ; (σ; ψ)) =

θ
δ (ξ; ψ)

2
+ ϕτ� σϕ

ανδ τηε χορρεσπονδινγ βαλλσ

ΒΠ ((τ; ξ) ; ρ) =
�
(σ; ψ) 2 Ρν+1 : δΠ ((τ; ξ) ; (σ; ψ)) < ρ

	
:
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Νοτε τηατ
��ΒΠ

�
(σ; ψ) ;

π
τ� σ

���
Ρν+1

∋ (τ� σ)
��Β
�
ψ;
π
τ� σ

���
Ρν

ωηερε ϕ�ϕ
Ρν
δενοτεσ τηε Λεβεσγυε µεασυρε ιν Ρν: Ιτ ισ εασψ το προϖε τηατ δΠ ισ α

διστανχε, ωηιχη σατισ�εσ α γλοβαλ δουβλινγ χονδιτιον (σινχε τηε σαµε ισ τρυε φορ
δ, βψ Προποσιτιον 2.5). Φυρτηερµορε:

Λεµµα 5.1 Φορ ανψ (τ0; ξ0) 2 Ρν+1; Ρ0 > 0

(ΒΠ ((τ0; ξ0) ; Ρ0) ; δΠ ; δτδξ)

ισ α σπαχε οφ ηοµογενεουσ τψπε, τηατ ισ τηε δουβλινγ χονδιτιον ηολδσ ωιτηιν τηισ
σπαχε; εξπλιχιτλψ, τηισ µεανσ τηατ

ϕΒΠ ((τ; ξ) ; 2ρ) ∴ΒΠ ((τ0; ξ0) ; Ρ0)ϕ � χ ϕΒΠ ((τ; ξ) ; ρ) ∴ΒΠ ((τ0; ξ0) ; Ρ0)ϕ

φορ ανψ (τ; ξ) 2 ΒΠ ((τ0; ξ0) ; Ρ0) ; ρ > 0: Μορεοϖερ, τηε χονσταντ αππεαρινγ ιν
τηε δουβλινγ χονδιτιον χαν βε χηοσεν ινδεπενδεντλψ οφ (τ0; ξ0).

Προοφ. Τηισ φαχτ ιµµεδιατελψ φολλοωσ φροµ τηε γλοβαλ δουβλινγ χονδιτιον ωηιχη
ηολδσ φορ δΠ , πλυσ τηε φολλοωινγ προπερτψ, προϖεδ ιν Προποσιτιον 3.8 οφ [12]: τηερε
εξιστσ χ > 0 συχη τηατ

ϕΒΠ ((τ; ξ) ; ρ) ∴ΒΠ ((τ0; ξ0) ; Ρ0)ϕ > χ ϕΒΠ ((τ; ξ) ; ρ)ϕ

φορ εϖερψ (τ; ξ) 2 ΒΠ ((τ0; ξ0) ; Ρ0) ; 0 < ρ < 2Ρ0:
Νοω, λετ

Β0 = ΒΠ ((τ0; ξ0) ; Ρ0)

ανδ λετ ηΑ (τ; ξ; ψ) βε τηε φυνδαµενταλ σολυτιον οφ ΗΑ ιν Ρν+1; αλσο, σετ

ΓΑ ((τ; ξ) ; (σ; ψ)) = ηΑ (τ� σ; ξ; ψ) :

Νοτατιον 5.2 Κεεπινγ ουρ χονϖεντιον αβουτ χονσταντσ, ιν τηισ σεχτιον ωε ωιλλ
ωριτε χ (Α) φορ α χονσταντ δεπενδινγ ον τηε χοε′χιεντσ οφ τηε µατριξ Α ιν ανψ
υνσπεχι�εδ ωαψ, ανδ χ φορ α χονσταντ δεπενδινγ ον Α ονλψ τηρουγη τηε ελλιπτιχιτψ
χονσταντ �.

Βψ τηε (νονυνιφορµ) Γαυσσιαν βουνδσ προϖεδ βψ ϑερισον−Σανχηεζ−Χαλλε [30]
ορ Κυσυοκα−Στροοχκ [35], [36], ωε κνοω τηατ, φορ (τ; ξ) ; (σ; ψ) 2 Β0;

ΓΑ ((τ; ξ) ; (σ; ψ)) � χ (Α;Ρ0; Τ )
ε�χ

δ(ξ;ψ)2

τ�σ

��Β
�
ψ;
π
τ� σ

���

� χ (Α;Ρ0; Τ ) (τ� σ)
ε�χ

δ(ξ;ψ)2

τ�σ

��ΒΠ
�
(σ; ψ) ;

π
τ� σ

��� : (5.1)

Σιµιλαρλψ, σεττινγ

Γ0Α ((τ; ξ) ; (σ; ψ)) = Ξξ
ϕ ηΑ (τ� σ; ξ; ψ) φορ ανψ ϕ = 1; 2; ::;µ
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ωε ηαϖε

Γ0Α ((τ; ξ) ; (σ; ψ)) � χ (Α;Ρ0; Τ )
π
τ� σ ε�χ

δ(ξ;ψ)2

τ�σ

��ΒΠ
�
(σ; ψ) ;

π
τ� σ

��� (5.2)

Ωιτη τηεσε βουνδσ, ωε χαν προϖε τηε φολλοωινγ:

Λεµµα 5.3 Φορ (τ; ξ) ; (σ; ψ) 2 Β0;

ΓΑ ((τ; ξ) ; (σ; ψ)) � χ (Α;Ρ0; Τ )
δ2Π ((τ; ξ) ; (σ; ψ))

ϕΒΠ ((σ; ψ) ; δΠ ((τ; ξ) ; (σ; ψ)))ϕ

Γ0Α ((τ; ξ) ; (σ; ψ)) � χ (Α;Ρ0; Τ )
δΠ ((τ; ξ) ; (σ; ψ))

ϕΒΠ ((σ; ψ) ; δΠ ((τ; ξ) ; (σ; ψ)))ϕ
:

Προοφ. Λετ υσ ασσυµε σ < τ, οτηερωισε τηε κερνελσΓΑ ((τ; ξ) ; (σ; ψ)) ; Γ
0
Α ((τ; ξ) ; (σ; ψ))

ϖανιση. Τηε δουβλινγ χονδιτιον φορ δΠ ιµπλιεσ τηε εξιστενχε οφ σοµε � > 0 συχη
τηατ

ϕΒΠ (�; ρ)ϕ
ϕΒΠ (�; �)ϕ

� χ
�
ρ

�

��
φορ ανψ � < ρ (5.3)

Ιτ ισ νοτ ρεστριχτιϖε το ασσυµε � > 2, σαψ � = 2 + ∀: Τηεν

ΓΑ ((τ; ξ) ; (σ; ψ)) �

� χ (Α;Ρ0; Τ )
δΠ ((τ; ξ) ; (σ; ψ))

2
ε�χ

δ(ξ;ψ)2

τ�σ

ϕΒΠ ((σ; ψ) ; δΠ ((τ; ξ) ; (σ; ψ)))ϕ
�
 
δ (ξ; ψ)

2
+ ϕτ� σϕ

ϕτ� σϕ

!∀=2

� χ (Α;Ρ0; Τ )
δΠ ((τ; ξ) ; (σ; ψ))

2

ϕΒΠ ((σ; ψ) ; δΠ ((τ; ξ) ; (σ; ψ)))ϕ

βεχαυσε

Α � ε�χ
δ(ξ;ψ)2

τ�σ

 
δ (ξ; ψ)

2
+ ϕτ� σϕ

ϕτ� σϕ

!∀=2

ισ βουνδεδ: ιφ δ (ξ; ψ)
2 � ϕτ� σϕ, τηεν Α � χε�χ

δ(ξ;ψ)2

τ�σ � χ; ιφ δ (ξ; ψ)2 > ϕτ� σϕ ;
τηεν

Α � χε�χ
δ(ξ;ψ)2

τ�σ

 
δ (ξ; ψ)

2

ϕτ� σϕ

!∀=2
� χ

βεχαυσε ε�υυ∀=2 ισ βουνδεδ φορ υ � 0. Αναλογουσλψ, βψ (5.2), ονε προϖεσ τηε
βουνδ ον Γ0:

Λεµµα 5.4 Ιν α βουνδεδ σπαχε οφ ηοµογενεουσ τψπε (Ξ; δ; δξ), λετ

Τφ (ξ) =

Ζ

Ξ

Γ (ξ; ψ) φ (ψ) δψ
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ωιτη

ϕΓ (ξ; ψ)ϕ � χ
δ (ξ; ψ)

�

ϕΒ (ξ; δ (ξ; ψ))ϕ φορ σοµε � > 0.

Τηεν Τ ισ χοντινυουσ ον Λπ (Ξ) (φορ 1 � π � 1) ; ωιτη νορµ δεπενδεντ ον χ; �;
τηε δουβλινγ χονσταντ ανδ τηε διαµετερ οφ Ξ:

Προοφ. Λετ υσ σηοω τηατ

συπ
ξ

Ζ
ϕΓ (ξ; ψ)ϕ δψ + συπ

ψ

Ζ
ϕΓ (ξ; ψ)ϕ δξ � χ <1:

Τηισ ιµπλιεσ τηε χοντινυιτψ οφ Τ ον Λπ φορ εϖερψ π 2 [1;1] (σεε ε.γ. Τηεορεµ
6.18 π.193 ιν [25]): Σινχε Ξ ισ βουνδεδ, φορ σοµε Ρ > 0 ωε ηαϖε

Ζ
ϕΓ (ξ; ψ)ϕ δψ � χ

Ξ

κ

Ζ

δ(ξ;ψ)∋Ρ2�κ

δ (ξ; ψ)
�

ϕΒ (ξ; δ (ξ; ψ))ϕδψ �

� χ
Ξ

κ

�
Ρ2�κ

��

ϕΒ (ξ;Ρ2�κ�1)ϕ
��Β
�
ξ;Ρ2�κ

��� �

� χΡ�
Ξ

κ

2�κ� = χ

βψ τηε δουβλινγ χονδιτιον. Τηε οτηερ εστιµατε ισ σιµιλαρ, σινχε

ϕΒ (ξ; δ (ξ; ψ))ϕ ∋ ϕΒ (ψ; δ (ξ; ψ))ϕ ;

αγαιν βψ τηε δουβλινγ χονδιτιον.

Προποσιτιον 5.5 Λετ

ΤΑγ (τ; ξ) =

Ζ

Β0

ηΑ (τ� �; ξ; ψ) γ (�; ψ) δ�δψ:

Τηεν, φορ 1 < π <1:
ι)

κΤΑγκΛπ(Β0)
+ κΞϕΤΑγκΛπ(Β0)

� χ (Α; π;Ρ0) κγκΛπ(Β0)
φορ ϕ = 1; :::µ

ιι)
κΞιΞϕΤΑγκΛπ(Β0)

� χ (Α; π;Ρ0) κγκΛπ(Β0)
φορ ι; ϕ = 1; :::µ

ιιι)
κΤΑγκΛ2(Β0)

� χ (Ρ0) κγκΛ2(Β0)
:

Ρεµαρκ 5.6 Τηε κεψ φεατυρε οφ τηε αβοϖε προποσιτιον ισ τηατ τηε χονσταντ ιν
εστιµατε ιιι) δεπενδσ ον τηε µατριξ Α ονλψ τηρουγη τηε νυµβερ �.
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Προοφ. ι) φολλοωσ βψ Λεµµα 5.3 ανδ Λεµµα 5.4. ιι) ισ α χονσεθυενχε οφ τηε
φολλοωινγ εστιµατε, ωηιχη ισ εσσεντιαλλψ χονταινεδ ιν Ροτησχηιλδ−Στειν [49]: φορ
εϖερψ υ 2 Χ1

�
Ρν+1

�
;

κΞιΞϕυκΛπ(Β0)
� (5.4)

� χ (Α; π;Ρ0)
(
κυκΛπ(2Β0)

+
Ξ

κ

κΞκυκΛπ(2Β0)
+ κΗΑυκΛπ(2Β0)

)

(ωιτη 2Β0 = ΒΠ ((τ0; ξ0) ; 2Ρ0)). Ασ το τηε δεπενδενχε οφ χ ον τηε δοµαιν Β0,
ωε νοτε τηατ: φορ Ρ0 �ξεδ, ωηεν Β0 ισ χονταινεδ ιν α �ξεδ χοµπαχτ σετ, τηεν χ
χαν βε χηοσεν ινδεπενδεντλψ οφ (τ0; ξ0) βψ α σιµπλε χοϖερινγ αργυµεντ; ον τηε
οτηερ σιδε, ιφ (τ0; ξ0) ισ φαρ αωαψ φροµ τηε οριγιν, τηεν ΗΑ ισ τηε ηεατ οπερατορ,
ανδ εστιµατεσ (5.4) αρε τηε στανδαρδ τρανσλατιον ινϖαριαντ παραβολιχ εστιµατεσ.
Νοω, λετ γ 2 Χ10 (Β0) ; ανδ υ = ΤΑγ: Τηεν τηε αβοϖε ινεθυαλιτψ ανδ ποιντ ι)
ιµπλψ

κΞιΞϕΤΑγκΛπ(Β0)
�

� χ (Α; π;Ρ0)
(
κΤΑγκΛπ(2Β0)

+
Ξ

κ

κΞκΤΑγκΛπ(2Β0)
+ κγκΛπ(2Β0)

)

� χ (Α; π;Ρ0) κγκΛπ(2Β0)
= χ (Α; π;Ρ0) κγκΛπ(Β0)

:

ιιι) φολλοωσ φροµ ι) ανδ ιι) ωιτη τηε σαµε ρεασονινγ οφ [9], Λεµµα 3 π.414−5.
Ρεχαλλ τηατ ουρ τασκ ισ το προϖε Τηεορεµ 4.11, τηατ ισ α υνιφορµ βουνδ οφ

τηε κινδ

συπ
ψ2Ρν

Ζ Τ

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

ηΑ (�; ξ; ψ)
2
δξ � χ (∀;Ρ; Τ ) :

Ρεµαρκ 5.7 Ιτ ισ ενουγη το προϖε τηε αβοϖε βουνδ φορ Τ = Ρ2, σινχε

Ζ Τ

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

ηΑ (�; ξ; ψ)
2
δξ �

Ζ ρ2

0

δ�

Ζ

∀<δ(ξ;ψ)<ρ

ηΑ (�; ξ; ψ)
2
δξ

ωιτη ρ = µαξ
�
Ρ;
π
Τ
�
:

Ηενχε, φορ ανψ �ξεδ ξ 2 Ρν; λετ

Χ = Χξ;∀;Ρ =
�
(τ; ψ) : 0 � τ � Ρ2; ∀ < δ (ξ; ψ) < Ρ

	
;

Χ0 = Χ0ξ;∀;Ρ =
�
(τ; ψ) : �2∀ � τ � Ρ2 + 2∀; ∀ < δ (ξ; ψ) < Ρ

	
;

Θ =
�
(τ; ψ) : �2∀ � τ � Ρ2 + 2∀; δ (ξ; ψ) < Ρ

	
;

ανδ χηοοσε Ρ0, χοµπαραβλε το Ρ, συχη τηατ

Θ � Β0.
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Φορ ανψ γ 2 Χ10 (Χ0) ; δε�νε

ΤΑγ (τ; ξ) =

Ζ

Θ

ηΑ (τ� �; ξ; ψ) γ (�; ψ) δ�δψ

Τηε φολλοωινγ προποσιτιον στατεσ α ρεσυλτ σιµιλαρ το ωηατ ωε ηαϖε το προϖε, ωιτη
αν ιντερχηανγεδ ρολε οφ τηε ϖαριαβλεσ ξ; ψ:

Προποσιτιον 5.8

συπ
ξ2Ρν

Ζ Ρ2

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

ηΑ (�; ξ; ψ)
2
δψ � χ (∀;Ρ)

Προοφ. Φορ α �ξεδ ξ 2 Ρν; πιχκ τωο χυτο⁄ φυνχτιονσ ∋;∋1 συχη τηατ
�
0; Ρ2

�
�Β∀=4 (ξ) � ∋ �

�
�∀;Ρ2 + ∀

�
�Β∀=2 (ξ) � ∋1 � (�2∀;Ρ+ 2∀)�Β∀ (ξ) :

Λετ γ 2 Χ10 (Χ) ωιτη κγκ2 � 1, ανδ λετ φ = ΤΑγ: Σινχε ΗΑφ = γ; βψ τηε
ηψποελλιπτιχιτψ οφ ΗΑ; φ ισ σµοοτη. Σινχε γ = 0 ιν

�
0; Ρ2

�
�Β∀, τηεν ∋1γ � 0 ,

ανδ βψ τηε υνιφορµ συβελλιπτιχ εστιµατε (4.16) ανδ Προποσιτιον 5.5 ιιι), ωε χαν
ωριτε

κ∋φκΗσ � χ (σ; ∋1; ∋) κ∋1φκΛ2 �
� χ (σ; ∋1; ∋) κφκΛ2((�2∀;Ρ2+2∀)�ΒΡ(ξ))

= χ (σ; ∋1; ∋) κΤΑγκΛ2(Θ) �
� χ (σ; ∋1; ∋) κΤΑγκΛ2(Β0)

� χ (σ; ∋1; ∋) κγκΛ2(Β0)
� χ (σ; ∋1; ∋) :

Τηισ βουνδ, ωιτη α συιταβλε χηοιχε οφ σ; ιµπλιεσ, βψ τηε στανδαρδ Σοβολεϖ εµ−
βεδδινγ τηεορεµ, τηατ

συπ
[0;Ρ2]�Β∀=4(ξ)

ϕφ (τ; ζ)ϕ � χ (∀;Ρ) :

Φορ τ = Ρ2 ανδ ζ = ξ ωε γετ
����
Ζ

Χ
ηΑ
�
Ρ2 � �; ξ; ψ

�
γ (�; ψ) δ�δψ

���� � χ (∀;Ρ)

φορ ανψ γ 2 Χ10 (Χ) συχη τηατ κγκΛ2(Χ) � 1. Τηισ ιµπλιεσ
Ζ

Χ
ηΑ (�; ξ; ψ)

2
δ�δψ � χ (∀;Ρ) :

Χονχλυσιον οφ τηε προοφ οφ Τηεορεµ 4.11. Το γετ Τηεορεµ 4.11 φροµ τηε
πρεϖιουσ προποσιτιον, ωε ηαϖε το ιντερχηανγε τηε ϖαριαβλεσ ξ; ψ. Το δο τηισ, ωε
νοω υσε τηε φαχτ τηατ η�Α (τ; ξ; ψ) = ηΑ (τ; ψ; ξ) ισ τηε φυνδαµενταλ σολυτιον οφ

Η�
Α = ≅τ �

µΞ

ι;ϕ=1

αιϕΞ
�
ι Ξ

�
ϕ
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ωηερε ωε ρεχαλλ τηατ
Ξ�
ι = �Ξι + αι

φορ σοµε σµοοτη φυνχτιον αι: Τηεν, ιφ ωε σετ

Τ �Αγ (τ; ξ) =

Ζ

Χ0
η�Α (τ� �; ξ; ψ) γ (�; ψ) δ�δψ

ωε χαν σεε τηατ Προποσιτιον 5.5 ηολδσ ωιτη Ξι; ΤΑ ρεπλαχεδ βψ Ξ
�
ι ; Τ

�
Α: Ναµελψ:

ι) ηολδσ βεχαυσε ιτ ρελιεσ ον τηε εστιµατεσ οφ Λεµµα 5.3, ωηιχη αρε σψµµετριχ
ιν τηε ϖαριαβλεσ ξ; ψ.
ιι) ηολδσ βεχαυσε �Ξι ανδ Ξ�

ι ; ΗΑ ανδ Η�
Α δι⁄ερ βψ λοωερ ορδερ τερµσ;

τηερεφορε (5.4) ηολδσ ωιτη Ξι; ΤΑ ρεπλαχεδ βψ Ξ
�
ι ; Τ

�
Α:



Ξ�
ι Ξ

�
ϕ υ



Λπ(Β0)

�

� κΞιΞϕυκΛπ(Β0)
+ χ

∀
κυκΛπ(Β0)

+
Ξ

κ

κΞκυκΛπ(Β0)

#
�

� χ
(
κυκΛπ(2Β0)

+
Ξ

κ

κΞκυκΛπ(2Β0)
+ κΗΑυκΛπ(2Β0)

)
�

� χ
(
κυκΛπ(2Β0)

+
Ξ

κ

κΞ�
κυκΛπ(2Β0)

+ κΗ�
ΑυκΛπ(2Β0)

+ κ(ΗΑ �Η�
Α)υκΛπ(2Β0)

)

� χ
(
κυκΛπ(2Β0)

+
Ξ

κ

κΞ�
κυκΛπ(2Β0)

+ κΗ�
ΑυκΛπ(2Β0)

)
:

ιιι) φολλοωσ φροµ ι) ανδ ιι) ασ σαιδ βεφορε. Ωιτη τηισ ρεµαρκ, ωε χαν ρεπεατ
τηε προοφ οφ Προποσιτιον 5.8 ανδ γετ

συπ
ξ2Ρν

Ζ Ρ2

0

δ�

Ζ

∀<δ(ξ;ψ)<Ρ

η�Α (�; ξ; ψ)
2
δψ � χ (∀;Ρ)

ωηιχη, βψ Ρεµαρκ 5.7, ισ Τηεορεµ 4.11.

6 Υνιφορµ γλοβαλ υππερ βουνδσ φορ φυνδαµενταλ

σολυτιονσ

Ιν τηισ σεχτιον ανδ τηε φολλοωινγ ονε, ωε ωιλλ µακε εξτενσιϖε υσε οφ ρεσυλτσ ανδ
φορµαλισµ µαινλψ δεϖελοπεδ βψ Φολλανδ [26] ανδ Ροτησχηιλδ−Στειν [49]. Ωε ηαϖε
χολλεχτεδ ιν τηε φολλοωινγ συβσεχτιον α νυµβερ οφ κνοων δε�νιτιον ανδ ρεσυλτσ,
το �ξ νοτατιον ανδ µακε µορε σελφ−χονταινεδ τηε εξποσιτιον.
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6.1 Πρελιµιναριεσ ον ηοµογενεουσ γρουπσ ανδ τηε �λιφτινγ
ανδ αππροξιµατιον� τεχηνιθυε

Ηοµογενεουσ γρουπσ

Φολλοωινγ α τερµινολογψ ιντροδυχεδ βψ Στειν (σεε [55], π. 618−622) ωε σαψ τηατ
α ηοµογενεουσ γρουπ Γ ισ ΡΝ ενδοωεδ ωιτη α Λιε γρουπ στρυχτυρε (συχη τηατ
τηε γρουπ οπερατιον ισ ωριττεν υ � ϖ ανδ χαλλεδ τρανσλατιον; τηε ινϖερσε ισ δε−
νοτεδ βψ υ�1, ανδ τηε ιδεντιτψ ισ τηε οριγιν, 0), ανδ α ονε παραµετερ φαµιλψ οφ
αυτοµορπηισµσ (χαλλεδ διλατιονσ ανδ δενοτεδ βψ ∆(�)), ωηιχη αχτ ασ φολλοωσ:

∆(�) : (υ1; : : : ; υΝ ) 7! (�α1υ1; : : : ; �
αΝυΝ ) 8� > 0

φορ συιταβλε �ξεδ ιντεγερσ 0 < α1 � α2 � : : : � αΝ . Τηε νυµβερ

Θ =
νΞ

ι=1

αι

ισ χαλλεδ τηε ηοµογενεουσ διµενσιον οφ Γ. Ιφ ∋ :
�
ΡΝ ; �

�
!
�
ΡΝ ; �

�
ισ ανψ

γρουπ ισοµορπηισµ, ωε χαν αλσο σαψ τηατ

ϖ = ∋ (υ)

ισ ανοτηερ χηοιχε οφ α σψστεµ οφ χοορδινατεσ ιν Γ.
Τηε φολλοωινγ στρυχτυρεσ χαν βε δε�νεδ ιν α στανδαρδ ωαψ ιν Γ:
� Ηοµογενεουσ νορµ κ�κ: φορ ανψ υ 2 Γ, υ 6= 0, σετ

κυκ = � ,
����∆(

1

�
)υ

���� = 1,

ωηερε ϕ�ϕ δενοτεσ τηε Ευχλιδεαν νορµ; αλσο, λετ κ0κ = 0. Τηεν:
κ∆(�)υκ = � κυκ φορ εϖερψ υ 2 Γ, � > 0;
τηε σετ φυ 2 Γ: κυκ = 1γ χοινχιδεσ ωιτη τηε Ευχλιδεαν υνιτ σπηερε ΠΝ ;
τηε φυνχτιον υ 7! κυκ ισ σµοοτη ουτσιδε τηε οριγιν;
τηερε εξιστσ χ(Γ) � 1 συχη τηατ φορ εϖερψ υ, ϖ 2 Γ

κυ � ϖκ � χ (κυκ+ κϖκ) ανδ


υ�1



 � χ κυκ ;

1

χ
ϕϖϕ � κϖκ � χ ϕϖϕ1=σ ιφ κϖκ � 1:

� Θυασιδιστανχε δ:
δ(υ; ϖ) =



ϖ�1 � υ




φορ ωηιχη τηε φολλοωινγ ηολδ:

δ(υ; ϖ) � 0 ανδ δ(υ; ϖ) = 0 ιφ ανδ ονλψ ιφ υ = ϖ;

1

χ
δ(ϖ,υ) � δ(υ; ϖ) � χ δ(ϖ,υ);
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δ(υ; ϖ) � χ φδ(υ; ζ) + δ(ζ; ϖ)γ
φορ εϖερψ υ, ϖ, ζ 2 ΡΝ ανδ σοµε ποσιτιϖε χονσταντ χ(Γ) � 1.
Ιφ ωε δενοτε βψ Β(υ; ρ) � Βρ(υ) �

�
ϖ 2 ΡΝ : δ(υ; ϖ) < ρ

	
τηε µετριχ βαλλσ,

τηεν ωε σεε τηατ Β(0; ρ) = ∆(ρ)Β(0; 1). Μορεοϖερ, ιτ χαν βε προϖεδ τηατ τηε
Λεβεσγυε µεασυρε ιν ΡΝ ισ τηε Ηααρ µεασυρε οφ Γ. Τηερεφορε

ϕΒ(υ; ρ)ϕ = ϕΒ(0; 1)ϕ ρΘ,

φορ εϖερψ υ 2 Γ ανδ ρ > 0, ωηερε Θ ισ τηε ηοµογενεουσ διµενσιον οφ Γ.
� Τηε χονϖολυτιον οφ τωο φυνχτιονσ ιν Γ ισ δε�νεδ ασ

(φ � γ)(ξ) =
Ζ

ΡΝ

φ(ξ � ψ�1) γ(ψ) δψ =
Ζ

ΡΝ

γ(ψ�1 � ξ) φ(ψ) δψ,

φορ εϖερψ χουπλε οφ φυνχτιονσ φορ ωηιχη τηε αβοϖε ιντεγραλσ µακε σενσε.
Λετ �υ βε τηε λεφτ τρανσλατιον οπερατορ αχτινγ ον φυνχτιονσ: (�υφ)(ϖ) = φ(υ �

ϖ). Ωε σαψ τηατ α δι⁄ερεντιαλ οπερατορ Π ον Γ ισ λεφτ ινϖαριαντ ιφ Π (�υφ) =
�υ(Πφ) φορ εϖερψ σµοοτη φυνχτιον φ . Φροµ τηε αβοϖε δε�νιτιον οφ χονϖολυτιον
ωε ρεαδ τηατ ιφ Π ισ ανψ λεφτ ινϖαριαντ δι⁄ερεντιαλ οπερατορ,

Π (φ � γ) = φ � Πγ

(προϖιδεδ τηε ιντεγραλσ χονϖεργε).
Ωε σαψ τηατ α δι⁄ερεντιαλ οπερατορ Π ον Γ ισ ηοµογενεουσ οφ δεγρεε � > 0

ιφ
Π (φ (∆(�)υ)) = �� (Πφ)(∆(�)υ)

φορ εϖερψ τεστ φυνχτιον φ , � > 0, υ 2 ΡΝ . Αλσο, ωε σαψ τηατ α φυνχτιον φ ισ
ηοµογενεουσ οφ δεγρεε � 2 Ρ ιφ

φ (∆(�)υ) = �� φ (υ) φορ εϖερψ � > 0, υ 2 ΡΝ :

Χλεαρλψ, ιφ Π ισ α δι⁄ερεντιαλ οπερατορ ηοµογενεουσ οφ δεγρεε �1 ανδ φ ισ α
ηοµογενεουσ φυνχτιον οφ δεγρεε �2, τηεν Πφ ισ ηοµογενεουσ οφ δεγρεε �2 � �1.
Φορ εξαµπλε, υι

≅
≅υϕ

ισ ηοµογενεουσ οφ δεγρεε ϕ�ϕ ϕ � ϕ�ιϕ.
Α δι⁄ερεντιαλ οπερατορ Π ον Γ ισ σαιδ το ηαϖε λοχαλ δεγρεε λεσσ τηαν ορ εθυαλ

το  ιφ, αφτερ τακινγ τηε Ταψλορ εξπανσιον ατ 0 οφ ιτσ χοε′χιεντσ, εαχη τερµ
οβταινεδ ισ ηοµογενεουσ οφ δεγρεε � . Φορ ινστανχε, ιφ Π ισ α ϖεχτορ �ελδ (τηατ
ισ α δι⁄ερεντιαλ οπερατορ οφ δεγρεε ονε), σαψινγ τηατ Π ηασ λοχαλ δεγρεε � 
εξπλιχιτλψ µεανσ τηατ φορ ανψ ποσιτιϖε ιντεγερ Κ, ωε χαν ωριτε

Π =
Ξ

�2Α

 
ΚΞ

κ=0

χ�κϕπκϕ (υ)
≅

≅υ�
+ γ (υ)

≅

≅υ�

!

ωηερε: χ�κϕ αρε συιταβλε χονσταντσ; πκϕ (υ) αρε αλλ τηε ηοµογενεουσ µονοµιαλσ
οφ δεγρεε κ; συχη τηατ εαχη δι⁄ερεντιαλ οπερατορ πκϕ (υ)

≅
≅υ�

ισ ηοµογενεουσ οφ

δεγρεε ϕ�ϕ � κ � ; γ (υ) = ο
�
κυκΚ

�
φορ υ! 0.
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Ηοµογενεουσ Λιε αλγεβρασ

Λετ Γ (σ;µ) βε τηε φρεε Λιε αλγεβρα οφ στεπ σ ον µ γενερατορσ, τηατ ισ τηε
θυοτιεντ οφ τηε φρεε Λιε αλγεβρα ωιτη µ γενερατορσ βψ τηε ιδεαλ γενερατεδ βψ τηε
χοµµυτατορσ οφ λενγτη ατ λεαστ σ+1, ανδ λετ Ν =διµΓ (σ;µ), ασ α ϖεχτορ σπαχε.
Ονε αλωαψσ ηασ Ν � ν.
Ιφ ε1,: : : ; εµ αρε γενερατορσ οφ Γ (µ; σ), φορ εϖερψ µυλτιινδεξ � = (�1,: : : ; �δ)

ωιτη 1 � �ι � µ, ωε δε�νε

ε� =
�
ε�δ ;

�
ε�δ�1 ; : : : [ε�2 ; ε�1 ] : : :

��
,

ανδ ϕ�ϕ = δ: Ωε χαλλ ε� α χοµµυτατορ οφ τηε ει�σ οφ λενγτη δ: Τηεν τηερε εξιστσ
α σετ Α οφ µυλτιινδιχεσ � σο τηατ φε�γ�2Α ισ α βασισ οφ Γ (µ; σ) ασ α ϖεχτορ
σπαχε. Τηισ αλλοωσ υσ το ιδεντιφψ Γ (µ; σ) ωιτη ΡΝ . Νοτε τηατ ΧαρδΑ = Ν
ωηιλε µαξ�2Α ϕ�ϕ = σ, τηε στεπ οφ τηε Λιε αλγεβρα. Τηε Χαµπβελλ−Ηαυσδορ⁄
σεριεσ δε�νεσ α µυλτιπλιχατιον ιν ΡΝ (σεε ε.γ. [53]) τηατ µακεσ ΡΝ τηε γρουπ
Ν(µ; σ), τηατ ισ τηε σιµπλψ χοννεχτεδ Λιε γρουπ ασσοχιατεδ το Γ (µ; σ). Ωε χαν
νατυραλλψ δε�νε διλατιονσ ιν Ν(µ; σ) βψ

∆(�)
�
(υ�)�2Α

�
=
�
�ϕ�ϕυ�

�
�2Α

:

Τηεσε αρε αυτοµορπηισµσ οφ Ν(µ; σ), ωηιχη ισ τηερεφορε α ηοµογενεουσ γρουπ.
Ωε ωιλλ χαλλ ιτ Γ, λεαϖινγ τηε νυµβερσ µ; σ ιµπλιχιτλψ υνδερστοοδ.
Ονχε ωε ηαϖε ιντροδυχεδ τηισ στρυχτυρε οφ ηοµογενεουσ γρουπ ιν ΡΝ , ωε

χαν γιϖε α χονχρετε ϖισυαλιζατιον το τηε αβστραχτ ελεµεντσ ει οφ τηε Λιε αλγεβρα,
ασ φολλοωσ. ∆ενοτε βψ Ψϕ (ϕ = 1; : : : ;µ) τηε λεφτ−ινϖαριαντ ϖεχτορ �ελδσ ον Γ
ωηιχη αγρεε ωιτη ≅

≅υϕ
ατ 0. Τηεν Ψϕ ισ ηοµογενεουσ οφ δεγρεε 1 ανδ, φορ εϖερψ

µυλτιινδεξ �, Ψ� ισ ηοµογενεουσ οφ δεγρεε ϕ�ϕ. Τηε σψστεµ οφ ϖεχτορ �ελδσ
φΨϕγµϕ=1 σατισ�εσ Ηρµανδερ�σ χονδιτιον οφ στεπ σ ιν ΡΝ ; ανδ τηειρ Λιε αλγεβρα
χοινχιδεσ ωιτη Γ (µ; σ). Τηεσε Ψϕ �σ αρε υνιθυελψ δετερµινεδ βψ τηε χηοιχε οφ α
σψστεµ οφ χοορδινατεσ υ ιν Γ.
Ιτ ισ σοµετιµεσ υσεφυλ το χονσιδερ αλσο τηε ριγητ−ινϖαριαντ ϖεχτορ �ελδσ Ζϕ ,

ωηιχη αγρεε ωιτη ≅
≅υϕ

(ανδ τηερεφορε ωιτη Ψϕ) ατ 0; αλσο τηεσε Ζι αρε ηοµογενεουσ

οφ δεγρεε ονε.
Ασ το τηε στρυχτυρε οφ τηε λεφτ (ορ ριγητ) ινϖαριαντ ϖεχτορ �ελδσ, ιτ χαν βε

προϖεδ τηατ τηε σψστεµσ φΨιγ ανδ φΖιγ ηαϖε τηε φολλοωινγ �τριανγυλαρ φορµ�
ωιτη ρεσπεχτ το Χαρτεσιαν δεριϖατιϖεσ:

Ψι =
≅

≅υι
+

ΝΞ

κ=ι+1

θκι (υ)
≅

≅υκ

Ζι =
≅

≅υι
+

ΝΞ

κ=ι+1

θκι (υ)
≅

≅υκ

ωηερε θκι ; θ
κ
ι αρε πολψνοµιαλσ, ηοµογενεουσ οφ δεγρεε ακ � αι (τηε αι�σ αρε τηε

διλατιον εξπονεντσ). Τηισ ιµπλιεσ τηατ ανψ Χαρτεσιαν δεριϖατιϖε ≅υκ χαν βε

41



ωριττεν ασ α λινεαρ χοµβινατιον οφ τηε Ψι�σ (ανδ, αναλογουσλψ, οφ τηε Ζϕ �σ). Ιν
παρτιχυλαρ, ανψ ηοµογενεουσ δι⁄ερεντιαλ οπερατορ χαν βε ρεωριττεν ασ α λινεαρ
χοµβινατιον οφ λεφτ ινϖαριαντ (ορ, σιµιλαρλψ, ριγητ ινϖαριαντ) ηοµογενεουσ ϖεχτορ
�ελδσ, ωιτη πολψνοµιαλ χοε′χιεντσ. Τηε αβοϖε στρυχτυρε οφ τηε Ψι�σ αλσο ιµπλιεσ
τηατ τηε φορµαλ τρανσποσε Ψ �ι οφ Ψι ισ ϕυστ �Ψι (ασ ιν α στανδαρδ ιντεγρατιον βψ
παρτσ).

Συβλαπλαχιανσ ανδ ηοµογενεουσ φυνδαµενταλ σολυτιονσ

Ωιτη τηε αβοϖε νοτατιον, ωε σεε τηατ τηε συβλαπλαχιαν:

Λ =
µΞ

ι=1

Ψ 2ι

ισ α λεφτ ινϖαριαντ, ηοµογενεουσ οφ δεγρεε 2, ηψποελλιπτιχ οπερατορ ον Γ; αλσο,
νοτε τηατ Λ� = Λ. Ατ τηισ ποιντ ωε ρεχαλλ α φυνδαµενταλ ρεσυλτ βψ Φολλανδ [26]:

Τηεορεµ 6.1 (Εξιστενχε οφ α ηοµογενεουσ φυνδαµενταλ σολυτιον) Λετ
Λ βε α λεφτ ινϖαριαντ δι⁄ερεντιαλ οπερατορ ηοµογενεουσ οφ δεγρεε τωο ον α ηοµο−
γενεουσ γρουπ Γ, συχη τηατ Λ ανδ Λ� αρε βοτη ηψποελλιπτιχ. Μορεοϖερ, ασσυµε
Θ � 3. Τηεν τηερε ισ α υνιθυε φυνδαµενταλ σολυτιον � συχη τηατ:
(α) � 2 Χ1

�
ΡΝ ν φ0γ

�
;

(β) � ισ ηοµογενεουσ οφ δεγρεε (2�Θ) ;
(χ) φορ εϖερψ διστριβυτιον �;

Λ(� � �) = (Λ�) � � = �:

Τηε πρεϖιουσ ρεπρεσεντατιον φορµυλα αλσο ιµπλιεσ τηατ, φορ ανψ τεστ φυνχτιον υ:

ΨιΨϕυ = Πς ((Λυ) � ΨιΨϕ�) + χιϕΛυ

ωηερε χιϕ αρε χονσταντσ.

Γενεραλ Ηρµανδερ�σ ϖεχτορ �ελδσ: �λιφτινγ ανδ αππροξιµατιον�

Λετ υσ χονσιδερ νοω α γενεριχ σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσΞ1; Ξ2; :::; Ξµ.
Ροτησχηιλδ ανδ Στειν [49] ηαϖε φουνδ α ωαψ το εξπλοιτ Φολλανδ�σ τηεορψ φορ ηο−
µογενεουσ γρουπσ το στυδψ τηε µορε γενεραλ οπερατορσ

Λ =

θΞ

ι=1

Ξ2
ι ορ Η = ≅τ � Λ:

Τηισ ισ αχχοµπλισηεδ βψ τηε φαµουσ �λιφτινγ ανδ αππροξιµατιον� ρεσυλτ χονταινεδ
ιν [49]:

Τηεορεµ 6.2 Λετ Ξ1; : : : ; Ξµ βε Χ1 ρεαλ ϖεχτορ �ελδσ ον α δοµαιν 
 � Ρν

σατισφψινγ Ηρµανδερ�σ χονδιτιον οφ στεπ σ ατ σοµε ποιντ ξ0 2 
,

Ξι =
νΞ

ϕ=1

βιϕ (ξ) ≅ξϕ :
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Λετ Γ (σ;µ) βε τηε φρεε Λιε αλγεβρα οφ στεπ σ ον θ γενερατορσ, Γ τηε χορρεσπονδινγ
ηοµογενεουσ γρουπ ον ΡΝ (Ν = διµΓ (σ;µ) > ν). Τηεν ιν τερµσ οφ νεω
ϖαριαβλεσ, η1,: : : ; ηΝ�ν, τηερε εξιστ σµοοτη φυνχτιονσ χιϕ(ξ; η) (1 � ι � µ, 1 �
ϕ � Ν � ν) δε�νεδ ιν α νειγηβορηοοδ εΥ οφ �0 = (ξ0; 0) 2 
 � ΡΝ�ν = ε
 συχη
τηατ τηε ϖεχτορ �ελδσ εΞι γιϖεν βψ

εΞι = Ξι +
Ν�νΞ

ϕ=1

χιϕ (ξ; η1; η2; :::; ηϕ�1) ≅ηϕ ι = 1; : : : ;µ

σατισφψ Ηρµανδερ�σ χονδιτιον οφ στεπ σ. Μορεοϖερ, ιφ ωε χηοοσε α σψστεµ
φ εΞ�(�)γ�2Α συχη τηατ φ εΞ�(�0)γ�2Α βε α βασισ φορ ΡΝ , τηεν τηερε εξιστσ α χηοιχε
οφ χοορδινατεσ υ� ιν Γ συχη τηατ, φορ �; � 2 εΥ , τηε µαπ

��(�) = (υ�)�2Α

ωιτη

� = εξπ

 
Ξ

�2Α
υ� εΞ�

!
�

ισ ωελλ−δε�νεδ, ανδ σατισ�εσ τηε φολλοωινγ προπερτιεσ. Τηερε εξιστ οπεν νειγη−
βορηοοδσ Υ οφ 0 ανδ ς;Ω οφ �0 ιν ΡΝ , ωιτη Ω β ς συχη τηατ:
α) �� ϕ ς ισ α δι⁄εοµορπηισµ οντο τηε ιµαγε, φορ εϖερψ � 2 ς ;
β) ��(ς ) � Υ φορ εϖερψ � 2Ω ;
χ) �: ς � ς ! ΡΝ , δε�νεδ βψ �(�; �) = ��(�) ισ Χ1 (ς � ς );
δ) Ιν τηε χοορδινατεσ γιϖεν βψ ��, ωε χαν ωριτε εΞι = Ψι + Ρ�ι ον Υ , ωηερε
Ψι αρε τηε ηοµογενεουσ λεφτ ινϖαριαντ ϖεχτορ �ελδσ ον Γ, χοινχιδινγ ωιτη ≅υι ατ
τηε οριγιν, ανδ Ρ�ι αρε ϖεχτορ �ελδσ οφ λοχαλ δεγρεε � 0 δεπενδινγ σµοοτηλψ ον
� 2Ω (τηε συπερσχριπτ � δοεσ νοτ δενοτε τηε ϖαριαβλε οφ δι⁄ερεντιατιον βυτ τηε
δεπενδενχε ον τηε ποιντ �). Εξπλιχιτλψ, τηισ µεανσ τηατ φορ εϖερψ φ 2 Χ10 (Γ):

εΞι (φ(�� (�))) (�) = (Ψιφ +Ρ�ι φ) (�� (�)) :

ε) Μορε γενεραλλψ, φορ εϖερψ � 2 Α ωε χαν ωριτε

εΞ� = Ψ� +Ρ
�
�

ωηερε Ρ�� ισ α ϖεχτορ �ελδ οφ λοχαλ δεγρεε � ϕ�ϕ � 1 δεπενδινγ σµοοτηλψ ον �.

Ρουγηλψ σπεακινγ, τηε αβοϖε τηεορεµ σαψσ τηατ τηε οριγιναλ σψστεµ οφ ϖεχτορ

�ελδσ φΞιγµι=1 δε�νεδ ιν Ρν χαν βε λοχαλλψ λιφτεδ το ανοτηερ σψστεµ
ν
εΞι

οµ
ι=1

δε�νεδ ιν εΥ � ΡΝ (Ν > ν), συχη τηατ τηε εΞι χαν βε λοχαλλψ αππροξιµατεδ βψ
τηε ηοµογενεουσ λεφτ ινϖαριαντ ϖεχτορ �ελδσ Ψι. Τηε ρεµαινδερ ιν τηισ αππροξ−
ιµατιον προχεσσ ισ εξπρεσσεδ βψ τηε ϖεχτορ �ελδσ Ρ�ι ωηιχη ηαϖε τηε φολλοωινγ
γοοδ προπερτψ: ωηεν τηεψ αχτ ον α ηοµογενεουσ φυνχτιον, τψπιχαλλψ οφ νεγατιϖε
δεγρεε (τηατ ισ, ωιτη σοµε σινγυλαριτψ), τηε σινγυλαριτψ δοεσ νοτ βεχοµε ωορσε.
Τηε ϖεχτορ �ελδσ Ψι; Ρ

�
ι µυστ βε τηουγητ ασ αχτινγ ον τηε γρουπ Γ; τηε ϖεχτορ
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�ελδσ εΞι ασ αχτινγ ον τηε �µανιφολδ� ΡΝ ; τηε χηανγε οφ ϖαριαβλεσ βετωεεν τηε
τωο ενϖιρονµεντσ βεινγ ρεαλιζεδ βψ τηε µαπ ��: Ηερε βελοω ωε αδδ σοµε οτηερ
µισχελλανεουσ φαχτσ, ρελατεδ το τηε αβοϖε χονχεπτσ, ωηιχη ωιλλ βε νεεδεδ ιν τηε
φολλοωινγ.
� Υνδερ τηε χηανγε οφ ϖαριαβλεσ � 7! υ γιϖεν βψ υ = ��(�), τηε µεασυρε

ελεµεντ βεχοµεσ:
δ� = χ(�) � (1 +Ο (κυκ)) δυ,

ωηερε χ(�) ισ α σµοοτη φυνχτιον, βουνδεδ ανδ βουνδεδ αωαψ φροµ ζερο ιν ς .
Φορ τηε χηανγε οφ χοορδινατεσ � 7! υ γιϖεν βψ υ = ��(�); αν αναλογουσ ρελατιον
ηολδσ:

δ� = χ(�) � (1 +Ο (κυκ)) δυ:
� Ιφ, φορ �; � 2 ς , ωε δε�νε

� (�; �) = κ�(�; �)κ

ωηερε κ�κ ισ τηε ηοµογενεουσ νορµ δε�νεδ αβοϖε, τηεν � ισ α θυασιδιστανχε,

λοχαλλψ εθυιϖαλεντ το τηε ΧΧ−διστανχε εδ ινδυχεδ βψ τηε ϖεχτορ �ελδσ
ν
εΞι

ο
.

� Αλτηουγη τηερε ισ νο εασψ ρελατιον βετωεεν τηε ΧΧ−διστανχε δ ινδυχεδ
ιν Ρν βψ τηε Ξι�σ ανδ τηε ΧΧ−διστανχε εδ ινδυχεδ ιν ΡΝ βψ τηε εΞι�σ, α µορε
τρανσπαρεντ ρελατιον ηολδσ βετωεεν τηε ϖολυµεσ οφ χορρεσπονδινγ βαλλσ. Τηισ
φαχτ ισ δεσχριβεδ βψ τηε φολλοωινγ ρεσυλτ βψ Σανχηεζ−Χαλλε:

Λεµµα 6.3 (Σεε [53], Λεµµα 5). Λετ Β; εΒ δενοτε µετριχ βαλλσ ωιτη ρεσπεχτ το

δ (ιν Ρν) ανδ εδ (ιν ΡΝ ), ρεσπεχτιϖελψ. Τηερε εξιστ ρ0 > 0 ανδ � 2 (0; 1) συχη
τηατ φορ ανψ (ξ; η) 2 ε
; ρ < ρ0; ψ 2 Β (ξ; �ρ) ονε ηασ

ρΘ ∋
��� εΒ ((ξ; η) ; ρ)

��� ∋ ϕΒ (ξ; ρ)ϕ �
���
ν
η0 2 ΡΝ�ν : (ψ; η0) 2 εΒ ((ξ; η) ; ρ)

ο���

ωηερε ϕ�ϕ δενοτεσ Λεβεσγυε µεασυρε ιν τηε αππροπριατε Ρµ, ανδ τηε εθυιϖαλενχε
α ∋ β µεανσ χ1α � β � χ2α φορ ποσιτιϖε χονσταντσ χ1; χ2 ινδεπενδεντ οφ ρ; ξ; ψ; η.

� Σοµετιµεσ ωε ωιλλ ιντεγρατε α φυνχτιον οφ Ν ϖαριαβλεσ ωιτη ρεσπεχτ το τηε
�λιφτεδ ϖαριαβλεσ� ονλψ; τηε ρεσυλτινγ φυνχτιον ισ δε�νεδ ιν Ρν, ανδ ιτσ δεριϖατιϖεσ
ωιτη ρεσπεχτ το τηε οριγιναλ ϖεχτορ �ελδσ Ξι χαν βε εξπρεσσεδ βψ τηε φολλοωινγ
υσεφυλ ιδεντιτψ:

Λεµµα 6.4 Λετ φ 2 Χ10 (Υ), τηεν

Ξξ
ι

Ζ

ΡΝ�ν

φ (�) δη =

Ζ

ΡΝ�ν

εΞ�
ι φ (�) δη

(ωριτινγ � = (ξ; η)).

Προοφ. Ρεχαλλ τηατ:

εΞι = Ξι +
Ν�νΞ

ϕ=1

χιϕ (ξ; η1; η2; :::; ηϕ�1) ≅ηϕ
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ΤηενΖ

ΡΝ�ν

εΞ�
ι φ (�) δη

=

Ζ

ΡΝ�ν

Ξξ
ι φ (�) +

Ν�νΞ

ϕ=1

≅ηϕ (χιϕ (ξ; η1; η2; :::; ηϕ�1) φ (�)) δη =

= Ξξ
ι

Ζ

ΡΝ�ν

φ (�) δη+
Ν�νΞ

ϕ=1

Ζ

ΡΝ�ν�1

δη1:::δηϕ�1δηϕ+1:::δηΝ�ν

Ζ

Ρ

≅ηϕ (γ (�)) δηϕ =

= Ξξ
ι

Ζ

ΡΝ�ν

φ (�) δη

βεχαυσε
Ρ
Ρ
≅ηϕ (γ (�)) δηϕ = 0.

Παραβολιχ χοντεξτ

Ιν τηε φολλοωινγ, ωε ωιλλ αππλψ τηε προχεδυρεσ δεσχριβεδ αβοϖε το τηε σπαχε
ϖαριαβλεσ, ωηιλε τιµε ωιλλ πλαψ τηε ρολε οφ α παραµετερ. Ιτ ισ ωορτηωηιλε το νοτε
εξπλιχιτλψ τηε φολλοωινγ φαχτ:

Ρεµαρκ 6.5 Ιφ Γ =
�
ΡΝ ; �; ∆ (�)

�
ισ α ηοµογενεουσ γρουπ, ωε χαν νατυραλλψ

δε�νε ιτσ �παραβολιχ ϖερσιον�, σεττινγ, ιν ΡΝ+1:

(τ; υ) �Π (σ; ϖ) = (τ+ σ; υ � ϖ) ; ∆Π (�) (τ; υ) =
�
�2τ;∆ (�)υ

�
:

Τηε �παραβολιχ ηοµογενεουσ γρουπ� ΓΠ =
�
ΡΝ+1; �Π ; ∆Π (�)

�
ηασ ηοµογενεουσ

διµενσιον Θ+ 2.

Ωιτη ρεσπεχτ το τηισ στρυχτυρε, τηε ηψποελλιπτιχ δι⁄ερεντιαλ οπερατορ ιν ΡΝ+1

ΗΑ = ≅τ �
µΞ

ι;ϕ=1

αιϕΨιΨϕ

ισ τρανσλατιον ινϖαριαντ ανδ ηοµογενεουσ οφ δεγρεε 2. Τηεν, βψ τηε γενεραλ ρεσυλτ
οφ Φολλανδ ρεχαλλεδ αβοϖε,ΗΑ ηασ α φυνδαµενταλ σολυτιον γΑ (τ; υ) ; ηοµογενεουσ
οφ δεγρεε �Θ. Μορεοϖερ, φορ τηισ οπερατορ, υνιφορµ Γαυσσιαν βουνδσ ηαϖε βεεν
προϖεδ ιν [3, Τηεορεµ 2.5 π.1160]; ωε ρεχαλλ ηερε τηεσε εστιµατεσ, ωηιχη ωιλλ βε
χρυχιαλ ιν τηε φολλοωινγ (αχτυαλλψ, ωε ωιλλ υσε ονλψ (6.1), (6.2)):

Τηεορεµ 6.6 Φορ εϖερψ νοννεγατιϖε ιντεγερσ π; θ, φορ εϖερψ υ 2 Ρν; τ > 0 ανδ
Α;Β 2 Β�, τηε φολλοωινγ υνιφορµ Γαυσσιαν βουνδσ ηολδ

χ�1τ�Θ=2ε�κυκ
2=χ�1τ � γΑ(τ; υ) � χτ�Θ=2ε�κυκ

2=χτ (6.1)

��Ψι1 � � �Ψιπ(≅τ)θ γΑ (τ; υ)
�� � χ(π; θ)τ�(Θ+π+2θ)=2ε�κυκ2=χτ (6.2)

��Ψι1 � � �Ψιπ(≅τ)θ ( γΑ � γΒ) (τ; υ)
�� � χ(π; θ) κΑ�Βκ1=σ τ�(Θ+π+2θ)=2ε�κυκ2=χτ

(6.3)
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ωηερε σ δενοτεσ τηε στεπ οφ τηε Λιε αλγεβρα οφ Γ.

6.2 Υππερ βουνδσ ον φυνδαµενταλ σολυτιονσ

Ασ ωε µεντιονεδ ιν τηε Οϖερϖιεω οφ Παρτ Ι, τηε προχεδυρε το δεδυχε τηε δεσιρεδ
υνιφορµ υππερ βουνδ ον ηΑ φροµ τηε αναλογουσ ρεσυλτ προϖεδ ιν [3] φορ ηοµο−
γενεουσ γρουπσ, ισ ρατηερ ινϖολϖεδ. Σο, το οριεντ τηε ρεαδερ, ωε ωαντ το σκετχη
ηερε τηε µαιν στεπσ οφ τηισ προοφ, αδαπτεδ φροµ [30]. Αππλψινγ Ροτησχηιλδ−Στειν

τεχηνιθυε, ωε �λιφτ�, λοχαλλψ, ουρ οπερατορΗΑ το ανοτηερ οπερατορ εΗΑ; λιϖινγ ιν α
ηιγηερ διµενσιοναλ σπαχε, ωηιχη ισ λοχαλλψ αππροξιµατεδ βψ α τηιρδ οπερατορΗΑ;
λεφτ ινϖαριαντ ανδ 2−ηοµογενεουσ ον α ηοµογενεουσ γρουπ, ωηοσε φυνδαµενταλ
σολυτιον γΑ (τ; υ) σατισ�εσ τηε υνιφορµ Γαυσσιαν βουνδσ στατεδ ιν Τηεορεµ 6.6.
Σταρτινγ ωιτη τηισ γΑ, ωε φορµ τηε κερνελ (σεε (6.9))

εΚ0 (τ; �; �) = � (τ) α (�) β (�) γΑ (τ;�(�; �)) ;

(ωηερε � (τ) ; α (�) ; β (�) αρε συιταβλε χυτο⁄ φυνχτιονσ), ωηιχη, µοραλλψ σπεακινγ,

σηουλδ βε α �ρστ αππροξιµατιον οφ τηε φυνδαµενταλ σολυτιον οφ εΗΑ: Ναµελψ (σεε
(6.10)),

εΗ� εΚ0 (τ; �; �) = α (�) �(0;�) (τ; �) + εΕ0 (τ; �; �)
ωηερε τηε �ερρορ τερµ� εΕ0 σατισ�εσ τηε Γαυσσιαν−τψπε εστιµατε τηατ ωε ωουλδ
εξπεχτ φροµ τηε �ρστ ορδερ δεριϖατιϖε οφ εΚ0: Α συιταβλε ινδυχτιϖε προχεδυρε
αλλοωσ το ιµπροϖε τηισ γαιν, βυιλδινγ α σεθυενχε οφ κερνελσ εΚι (σεε (6.12)) συχη
τηατ:
1) εΚι σατισ�εσ τηε Γαυσσιαν βουνδ ωε εξπεχτ φορ τηε φυνδαµενταλ σολυτιον

οφ εΗΑ;
2)

εΗ� εΚι (τ; �; �) = α (�) �(0;�) (τ; �) + εΕι (τ; �; �) ;
3) τηε �ερρορ τερµ� εΕι ισ βουνδεδ βψ α φυνχτιον οφ τηε κινδ τ(ι�1)=2γΑ (ωε

χαν τηινκ τηατ �ιτ ισ σµαλλ ιν σενσε οφ Γαυσσιαν βουνδσ�).
Το κεεπ τραχκ οφ τηε υνιφορµιτψ (ωιτη ρεσπεχτ το Α) οφ τηεσε βουνδσ ον

εΚι; εΕι; τηε πρελιµιναρψ στυδψ χαρριεδ ουτ φροµ ∆ε�νιτιον 6.7 τηρουγη Λεµµα
6.11 ισ χρυχιαλ; τηισ στυδψ µακεσ εξτενσιϖε υσε οφ (6.1), (6.2).

Τηεν, ονε χουλδ ηοπε το προϖε τηατ τηισ σεθυενχε εΚι αππροξιµατεσ τηε φυν−
δαµενταλ σολυτιον εηΑ οφ εΗΑ (τηυσ γιϖινγ τηε Γαυσσιαν βουνδσ φορ εηΑ) ανδ τηισ,
ιν τυρν, χουλδ ιµπλψ αναλογουσ Γαυσσιαν βουνδσ φορ ηΑ, τηε φυνδαµενταλ σολυ−
τιον οφ ΗΑ. Ηοωεϖερ, τηισ ιδεα δοεσ νοτ ωορκ (ονε οφ τηε ρεασονσ βεινγ τηατ
τηε φυνδαµενταλ σολυτιον οφ ΗΑ ισ νοτ υνιθυε). Ινστεαδ, α µορε ινδιρεχτ λινκ

ισ εσταβλισηεδ φροµ εΚι το ηΑ: �ρστ (σεε (6.13)), ονε δε�νεσ α νεω σεθυενχε οφ
κερνελσ Κι, λιϖινγ ιν τηε �οριγιναλ� σπαχε Ρν ωηερε ΗΑ ισ δε�νεδ:

Κϕ (τ; ξ; ψ) =

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη δη
0:

Τηεν, ονε προϖεσ τηατ ΗΑ (Κϕ � ηΑ) ισ σµαλλερ ανδ σµαλλερ, φορ ινχρεασινγ ϕ, ιν
τηε σενσε οφ Γαυσσιαν βουνδσ (σεε Λεµµα 6.13). Φιναλλψ, τηε χονστρυχτιον οφ
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συιταβλε βαρριερσ (σεε Λεµµα 6.15) εναβλεσ το σηοω (σεε τηε προοφ οφ Τηεορεµ
6.16) τηατ ιν τηε ρεγιον δ (ξ; ψ) < ∀; ξ 2 Β (0; Ρ) (φορ ∀ σµαλλ ενουγη), τηε
δεσιρεδ Γαυσσιαν βουνδ ηολδσ φορ (Κϕ � ηΑ) ; ιφ ϕ ισ λαργε ενουγη, ανδ τηερεφορε
ηολδσ φορ ηΑ. Σινχε, ον τηε οτηερ σιδε, ιν τηε ρεγιον δ (ξ; ψ) � ∀ ωε ηαϖε αλρεαδψ
προϖεδ τηε υππερ βουνδ ιν Σεχτιονσ 4 ανδ 5, ωε αρε δονε. Ωε νοω χοµε το τηε
πρεχισε χονστρυχτιον.

Ηερε ωε κεεπ αλλ νοτατιον ιντροδυχεδ ιν τηε πρεϖιουσ συβσεχτιον; ιν παρτιχυ−
λαρ, ωε ωιλλ δενοτε βψ Β; εΒ τηε µετριχ βαλλσ ωιτη ρεσπεχτ το δ (ιν Ρν) ανδ εδ (ιν
ΡΝ ), ρεσπεχτιϖελψ.
Φιξ α λαργε βαλλ Β (0; Ρ) � Ρν; ωιτη Ρ το βε χηοσεν λατερ, ανδ χοϖερ ιτ ωιτη

α �νιτε χολλεχτιον οφ βαλλσ Β (ξ; ρ) ; ωιτη ρ σµαλλ ενουγη σο τηατ ιν εαχη βαλλ
ωε χαν περφορµ τηε προχεδυρε οφ λιφτινγ ανδ αππροξιµατιον. Λετ φ� (ξ)γ βε α
παρτιτιον οφ υνιτψ οφ Β (0; Ρ) ινδυχεδ βψ τηε φαµιλψ φΒ (ξ; ρ)γ : Σετ � = (ξ; 0) ;
ανδ δε�νε

α (�) = � (ξ)∋ (η) φορ � = (ξ; η) (6.4)

ωηερε ∋ ισ α χυτο⁄ φυνχτιον ιν τηε η ϖαριαβλεσ, �ξεδ ονχε ανδ φορ αλλ, ωιτη

Ζ

ΡΝ�ν

∋ (η) δη = 1: (6.5)

Ωε νοω �ξ ονε οφ τηε ποιντσ �; ανδ ιν α συιταβλε νειγηβορηοοδ εΥ οφ τηε
κινδ Β (ξ; ρ) � (��; �)Ν�ν � ΡΝ ωε περφορµ τηε φολλοωινγ χονστρυχτιον. Λετ
εΞ
1;
εΞ
2; :::;

εΞ
µ βε τηε λιφτεδ ϖεχτορ �ελδσ δε�νεδ ιν εΥ ; ωιτη τηε νοτατιον οφ

Τηεορεµ 6.2,

εΞ
ι

�
φ
�
� (�; �)

��
=
�
Ψιφ +Ρ

;�
ι φ

� �
� (�; �)

�

ωηερε τηε µαπ �� (�) = � (�; �) ισ δε�νεδ φορ � ανδ � ιν εΥ . Ιν τηε αβοϖε
φορµυλα, τηε δεριϖατιϖε εΞ

ι ισ τακεν ωιτη ρεσπεχτ το �; τηε δεριϖατιϖεσ Ψι; Ρ
;�
ι

αρε τακεν ωιτη ρεσπεχτ το τηε ϖαριαβλε υ ιν τηε γρουπ Γ =
�
ΡΝ ; �

�
, ανδ τηε

χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ Ρ;�ι δεπενδ ον τηε �ξεδ ποιντ � (ανδ ον υ). Λετ

εΗ
Α = ≅τ �

µΞ

ι;ϕ=1

αιϕ εΞ
ι
εΞ
ϕ ; (6.6)

ανδ

ΗΑ = ≅τ �
µΞ

ι;ϕ=1

αιϕΨιΨϕ , (6.7)

τηεν τηε αβοϖε αππροξιµατιον ρελατιον βεχοµεσ:

εΗ
Αφ
�
τ;
�
� (�; �)

��
(�) = (ΗΑφ)

�
τ;� (�; �)

�
+
�
Ε;�Α φ

� �
τ;� (�; �)

�
(6.8)
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ωιτη

�
Ε;�Α φ

�
=

µΞ

ι;ϕ=1

αιϕ

�
Ε;�ιϕ φ

�
=

=
µΞ

ι;ϕ=1

αιϕ

�
ΨιΡ

;�
ϕ φ +Ρ;�ι Ψϕφ +Ρ

;�
ι Ρ;�ϕ φ

�

(οβσερϖε τηατ τηε δι⁄ερεντιαλ οπερατορ Ε;�Α δοεσ νοτ δεπενδ ον τ).
Τηε ρεασον ωηψ τηισ αππροξιµατιον προχεδυρε ισ ηελπφυλ ισ τηατ τηε οπερατορ

ΗΑ ιν (6.7) ισ ηοµογενεουσ οφ δεγρεε 2 ανδ τρανσλατιον ινϖαριαντ ον ΓΠ (σεε
Ρεµαρκ 6.5), ανδ φορ ιτσ φυνδαµενταλ σολυτιον Γαυσσιαν βουνδσ αρε κνοων (σεε
Τηεορεµ 6.6).

∆ε�νιτιον 6.7 ∆ενοτε ωιτη γΑ (τ; υ) τηε ηοµογενεουσ φυνδαµενταλ σολυτιον οφ
ΗΑ. Φορ ανψ ιντεγερ �; ωε δε�νε τηε χλασσ ΦΑ� ασ φολλοωσ: κ 2 ΦΑ� ιφ:

ι) κ 2 Χ1 (Ρ�Γ ν φ0; 0γ);

ιι) κ (τ; υ) = 0 φορ τ < 0;

ιιι) φορ εϖερψ ιντεγερ π ανδ εϖερψ µυλτι−ινδεξ �

ϕ≅πτ Ψ �κ (τ; υ)ϕ 6 χ (π; �; �) τ(��2�2π�ϕ�ϕ)=2γΑ (Χτ; υ) φορ ανψ τ > 0; υ 2 Γ

ωηερε τηε χονσταντσ χ (π; �; �) δεπενδ ον τηε µατριξ φαιϕγ ονλψ τηρουγη τηε
ελλιπτιχιτψ χονσταντ � ανδ Χ δεπενδσ ον π; � ανδ τηε κερνελ κ, βυτ νοτ ον
Α.

Νοτε τηατ, βψ (6.1), (6.2), γΑ 2 ΦΑ2 : Αλσο, νοτε τηατ

�1 < �2 ) ΦΑ�2 � ΦΑ�1 :

Ιν τηε νεξτ λεµµα ωε συµµαριζε σοµε οφ τηε προπερτιεσ οφ τηε χλασσεσ ΦΑ� .

Λεµµα 6.8
1) Ιφ κ 2 ΦΑ� ωιτη � > Θ+2; ανδ ωε δε�νε κ (0; 0) = 0; τηεν κ 2 Χ0 (Ρ�Γ) :
2) Ιφ κ 2 ΦΑ� ανδ Π ισ α ηοµογενεουσ δι⁄ερεντιαλ οπερατορ οφ δεγρεε δ ιν τηε

υ ϖαριαβλε, τηεν ≅πτ Π (κ) 2 ΦΑ��δ�2π. Ιν παρτιχυλαρ ονε χαν τακε ιν τηε δε�νιτιον
οφ ΦΑ� τηε ριγητ ινϖαριαντ ϖεχτορ �ελδσ Ζ1; Ζ2; : : : ; Ζµ ινστεαδ οφ Ψ1; : : : Ψµ. Αλσο

ιφ κ 2 ΦΑ� ανδ Π ισ α δι⁄ερεντιαλ οπερατορ οφ λοχαλ δεγρεε 6 δ, τηεν ≅πτ Π (κ) 2
ΦΑ��δ�2π.

3) Γιϖεν 
 > 0 ωε χαν �νδ � σο τηατ ΦΑ� � Χ
 (Ρ�Γ) :

4) Ιφ κ 2 ΦΑ�1 ; η 2 ΦΑ�2 , �1; �2 > 0 ανδ

(κ � η) (τ; υ) =
Ζ Ζ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

τηεν (κ � η) 2 Φ�1+�2 .
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Προοφ. 1) ισ α σιµπλε χονσεθυενχε οφ ∆ε�νιτιον 6.7 ανδ (6.1).
Το σηοω 2) οβσερϖε τηατ ανψ ηοµογενεουσ δι⁄ερεντιαλ οπερατορ οφ δεγρεε δ

χαν βε ωριττεν ασ
Π
�� (υ)Ψ

� ωηερε �� ισ α ηοµογενεουσ φυνχτιον οφ δεγρεε
ϕ�ϕ � δ. Ωε ηαϖε

ϕ≅πτ Π (κ)ϕ =
�����
Ξ

�

�� (υ) ≅
π
τ Ψ

�κ

����� 6

6
Ξ

�

κυκϕ�ϕ�δ χ (π; �; �) τ(��2�2π�ϕ�ϕ)=2γΑ (Χτ; υ)

6
Ξ

�

�κυκπ
τ

�ϕ�ϕ�δ
χ (π; �; �) τ(��2�2π�δ)=2γΑ (χτ; υ) :

6 χ (π; �; �) τ(��2�2π�δ)=2γΑ (Χ
0τ; υ)

ωηερε τηε λαστ ινεθυαλιτψ ισ α χονσεθυενχε οφ (6.1). Ινδεεδ,

�κυκπ
τ

�ϕ�ϕ�δ
γΑ (Χτ; υ) 6 χ

�κυκπ
τ

�ϕ�ϕ�δ
τ�

Θ
2 εξπ

�
�κυκ2 =χτ

�

6 χγΑ (Χ
0τ; υ) :

Τηισ προϖεσ τηε �ρστ ασσερτιον ιν (2). Μορεοϖερ, σινχε τηε ριγητ ινϖαριαντ ϖεχ−
τορ �ελδσ Ζ1; : : : ; Ζµ αρε ηοµογενεουσ οφ δεγρεε 1, ανδ σινχε ιτ ισ αλσο τρυε τηατ
ανψ ηοµογενεουσ δι⁄ερεντιαλ οπερατορ οφ δεγρεε δ χαν βε ωριττεν ασ

Π
�0� (υ)Ζ

�,
ωηερε �0� ισ α ηοµογενεουσ φυνχτιον οφ δεγρεε ϕ�ϕ � δ, τηε αβοϖε ρεασονινγ αλσο
ιµπλιεσ τηατ ιν τηε δε�νιτιον οφ τηε χλασσ ΦΑ� ονε χαν υσε τηεσε Ζι�σ ινστεαδ οφ
τηε Ψι�σ. Τηε χασε ωηεν Π ισ α δι⁄ερεντιαλ οπερατορ οφ λοχαλ δεγρεε 6 δ χαν
βε προϖεδ ιν τηε σαµε ωαψ οβσερϖινγ τηατ ιφ Π =

Π
φ� (υ)∆

� τηεν τηε Ταψ−
λορ εξπανσιον οφ φ� (υ)∆

� � Π
χ��υ

�∆� ισ τηε φορµαλ συµ οφ ηοµογενεουσ
δι⁄ερεντιαλ οπερατορ οφ δεγρεε 6 δ.
3) Τηε φαχτ τηατ ΦΑ� � Χ
 (Ρ�Γ) ωηεν � ισ λαργε ενουγη ισ α σιµπλε

χονσεθυενχε οφ (6.1).
4) Λετ � 2 Χ10 (Ρ�Γ) συχη τηατ � (τ; υ) = 1 ιφ κ(τ; υ)κ 6 1 ανδ � (τ; υ) = 0

ιφ κ(τ; υ)κ > 2. ∆ε�νε �� (τ; υ) = � (∆Π (�) (τ; υ)) ανδ ωριτε

(κ � η) (τ; υ) =
Ζ Ζ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

=

Ζ Ζ
�� (σ; ϖ) κ (σ; ϖ)η

�
τ� σ; ϖ�1 � υ

�
δϖδσ

+

Ζ Ζ
�� (σ; ϖ)η (σ; ϖ) κ

�
τ� σ; υ � ϖ�1

�
δϖδσ

+

Ζ Ζ �
1� ��

�
τ� σ; υ � ϖ�1

�
� �� (σ; ϖ)

�
κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

= Ι1 + Ι2 + Ι3:

Λετ Χ συχη τηατ κ(τ+ σ; υ � ϖ)κ 6 Χ (κ(τ; υ)κ+ κ(σ; ϖ)κ) ανδ οβσερϖε τηατ φορ
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(σ; ϖ) 2 συππ�� ονε ηασ



�τ� σ; ϖ�1 � υ
�

 > κ(τ; υ)κ

Χ
� κ(σ; ϖ)κ > κ(τ; υ)κ

Χ
� 2
�

>
κ(τ; υ)κ
2Χ

ωηενεϖερ � > 4Χ
κ(τ;υ)κ . Τηισ σηοωσ τηατ Ι1, Ι2 ανδ Ι3 αρε ιν Χ

1 (Ρ�Γ ν φ0; 0γ).
Τηε φαχτ τηατ (κ � η) (τ; υ) = 0 ωηεν τ < 0 φολλοωσ φροµ τηε αναλογουσ προπερτψ
οφ κ ανδ η. Λετ υσ ωριτε

(κ � η) (τ; υ) =

=

Ζ τ

0

Ζ

Γ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

=

Ζ τ=2

0

Ζ

Γ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ+

Ζ τ

τ=2

Ζ

Γ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

=

Ζ τ=2

0

Ζ

Γ

κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ+

Ζ τ=2

0

Ζ

Γ

κ (σ; ω)η
�
τ� σ; ω�1 � υ

�
δϖδσ

Ι + ΙΙ:

Λετ Ζα δενοτε ανψ ριγητ ινϖαριαντ δι⁄ερεντιαλ οπερατορ ηοµογενεουσ οφ δε−
γρεε �. Τηεν

≅πτ Ζ
� (Ι) = ≅πτ

Ζ τ=2

0

Ζ

Γ

Ζ�κ
�
τ� σ; υ � ϖ�1

�
η (σ; ϖ) δϖδσ

= ≅πτ τ

Ζ 1
2

0

Ζ

Γ

Ζ�κ
�
τ� τσ; υ � ϖ�1

�
η (τσ; ϖ) δϖδσ

= π

Ζ 1
2

0

Ζ

Γ

(1� σ)π�1 ≅π�1τ Ζ�κ
�
τ (1� σ) ; υ � ϖ�1

�
η (τσ; ϖ) δϖδσ

+ τ

Ζ 1
2

0

Ζ

Γ

(1� σ)π ≅πτ Ζ�κ
�
τ (1� σ) ; υ � ϖ�1

�
η (τσ; ϖ) δϖδσ

ωηερε ωε υσεδ τηε φαχτ τηατ δν

δτν (τγ (τ)) = νγ(ν�1) (τ) + τγ(ν) (τ).
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Φορ τηε �ρστ τερµ ωε ηαϖε
�����

Ζ 1
2

0

Ζ

Γ

(1� σ)π�1 ≅π�1τ Ζ�κ
�
τ (1� σ) ; υ � ϖ�1

�
η (τσ; ϖ) δϖδσ

�����

6 χ

Ζ 1
2

0

(1� σ)π�1 (τ (1� σ))(�1�2π�ϕ�ϕ)=2 (τσ)(�2�2)=2 �

�
Ζ

Γ

γΑ
�
χτ (1� σ) ; υ � ϖ�1

�
γΑ (χτσ; ϖ) δϖδσ

6 χγΑ (χτ; υ)

Ζ 1
2

0

(1� σ)π�1 (τ (1� σ))(�1�2π�ϕ�ϕ)=2 (τσ)(�2�2)=2 δσ

6 χγΑ (χτ; υ) τ
(�1�2π�ϕ�ϕ)=2τ(�2�2)=2

Ζ 1
2

0

σ(�2�2)=2δσ

6 χγΑ (χτ; υ) τ
(�1+�2�2�2π�ϕ�ϕ)=2:

Τηε σεχονδ τερµ χαν βε χοντρολλεδ ιν τηε σαµε ωαψ. Ιν α σιµιλαρ ωαψ ονε
χαν εστιµατε ≅τΨ

� (ΙΙ) ωηερε Ψ � ισ α ηοµογενεουσ λεφτ ινϖαριαντ δι⁄ερεντιαλ
οπερατορ οφ δεγρεε �.

∆ε�νιτιον 6.9 Ωε σαψ τηατ Κ ισ α κερνελ οφ τψπε � ιν εΥ  ιφ

Κ (τ; �; �) =
ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) κϕ
�
τ;� (�; �)

�

ωηερε �ϕ 2 Χ10 (Ρ) ; αϕ ; βϕ 2 Χ10
�
ΡΝ
�
(ωιτη συππορτσ σµαλλ ενουγη σο τηατ

� (�; �) ισ ωελλ δε�νεδ φορ � 2 συππ αϕ ανδ � 2 συππ βϕ), �ϕ (τ) = 1 φορ σµαλλ τ,
βϕ = 1 ον συππ αϕ ανδ κϕ 2 ΦΑ� . Ωε αλσο ασσυµε τηατ

συπ ϕ∆�αϕ ϕ+ συπ ϕ∆�βϕ ϕ 6 χ (�)

συπ

����
δκ�

δτκ
(τ)

���� 6 χ (κ)

φορ εϖερψ ιντεγερ κ ανδ µυλτιινδεξ �.

Ιν παρτιχυλαρ, νοτε τηατ ιφ Κ ισ οφ τψπε � ιν εΥ  τηεν

ϕΚ (τ; �; �)ϕ � τ(��2)=2γΑ
�
χτ;� (�; �)

� ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�)

Ρεµαρκ 6.10 Ωε αρε νοω γοινγ το µακε σοµε χοµπυτατιονσ ιν α σινγλε �ξεδ
νειγηβορηοοδ εΥ : Ιν ορδερ το µακε µορε ρεαδαβλε ουρ εξπρεσσιονσ, τηε ινδεξ 
ωιλλ βε συππρεσσεδ. Ωε ωιλλ υσε ιτ αγαιν λατερ, το εξπλαιν ηοω γλοβαλ οβϕεχτσ χαν
βε βυιλτ γλυινγ τογετηερ λοχαλ πιεχεσ.
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Λεµµα 6.11 Λετ Κ (τ; �; �) = � (τ) α (�) β (�) κ (τ;�(�; �)) βε α κερνελ οφ τψπε
�. Τηεν

εΗ�Κ (τ; �; �) = � (τ) α (�) β (�)Ηκ (τ;�(�; �)) + Ε (τ; �; �)

ωηερε Ε ισ α κερνελ οφ τψπε �� 1. Μορεοϖερ, εΗ�Κ ισ α κερνελ οφ τψπε �� 2:

Προοφ. Βψ (6.8) ωε ηαϖε

εΗ�Κ (τ; �; �)

= � (τ) α (�) β (�) εΗ� [κ (τ;�(�; �))] + �0 (τ) α (�) β (�) κ (τ;�(�; �))

� � (τ) β (�)
µΞ

ι;ϕ=1

αιϕ

ν�
εΞι
εΞϕα (�)

�
κ (τ;�(�; �)) + 2 εΞια (�) εΞϕ [κ (τ;�(�; �))]

ο

= � (τ) α (�) β (�) [Ηκ (τ;�(�; �)) + (Ε�κ) (� (�; �) ; τ)]+

+ �0 (τ) α (�) β (�) κ (τ;�(�; �))� � (τ) β (�)
µΞ

ι;ϕ=1

αιϕ

ν�
εΞι
εΞϕα (�)

�
κ (τ;�(�; �))+

+2 εΞια (�)
�
(Ψϕκ) (τ;�(�; �)) +

�
Ρ�ϕ κ

�
(τ;�(�; �))

�ο

= � (τ) α (�) β (�)Ηκ (τ;�(�; �)) + Ε (τ; �; �)

ωηερε Ε (τ; �; �) ισ τηε συµ οφ τηε φολλοωινγ τερµσ:

�0 (τ) α (�) β (�) κ (τ;�(�; �)) ; κερνελ οφ τψπε �;

� � (τ) β (�)
µΞ

ι;ϕ=1

αιϕ

�
εΞι
εΞϕα (�)

�
κ (τ;�(�; �)) ; κερνελ οφ τψπε �;

� � (τ) β (�)
µΞ

ι;ϕ=1

αιϕ2 εΞια (�) (Ψϕκ) (τ;�(�; �)) ; κερνελ οφ τψπε �� 1;

� (τ) α (�) β (�) (Ε�κ) (τ;�(�; �)) ; κερνελ οφ τψπε �� 1;

� � (τ) β (�)
µΞ

ι;ϕ=1

αιϕ2 εΞια (�)
�
Ρ�ϕ κ

�
(τ;�(�; �)) ; κερνελ οφ τψπε �� 1:

Τηισ φολλοωσ φροµ Λεµµα 6.8, ποιντ 2, σινχε Ψϕ ισ α ηοµογενεουσ δι⁄ερεντιαλ
οπερατορ οφ δεγρεε 1, ωηιλε Ε� ανδ Ρ

�
ϕ αρε δι⁄ερεντιαλ οπερατορσ οφ λοχαλ δεγρεε

� 1: Τηερεφορε Ε ισ α κερνελ οφ τψπε � � 1. Φιναλλψ, σινχε Η ισ α ηοµογενεουσ
δι⁄ερεντιαλ οπερατορ οφ δεγρεε 2,

� (τ) α (�) β (�)Ηκ (τ;�(�; �)) ισ α κερνελ οφ τψπε �� 2

ανδ τηερεφορε εΗ�Κ (τ; �; �) ισ α κερνελ οφ τψπε �� 2:
Ωε νοω σετ:

εΚ0 (τ; �; �) = � (τ) α (�) β (�) γΑ (τ;�(�; �)) ; (6.9)
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ωηερε � (τ) ; α (�) ; β (�) αρε χυτο⁄ φυνχτιονσ ασ ιν τηε ∆ε�νιτιον 6.9, ανδ α (�) ισ

τηε φυνχτιον α (�) δε�νεδ ιν (6.4)−(6.5). Νοτε τηατ εΚ0 ισ α κερνελ οφ τψπε 2 ιν
εΥ . Βψ Λεµµα 6.11,

εΗ� εΚ0 (τ; �; �) = � (τ) α (�) β (�)ΗΑγΑ (τ;�(�; �)) + εΕ0 (τ; �; �) =
= α (�) �(0;�) (τ; �) + εΕ0 (τ; �; �) (6.10)

ωηερε εΕ0 ισ α κερνελ οφ τψπε 1, ωηιχη χαν βε ωριττεν ασ:

εΕ0 (τ; �; �) =
ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) κϕ (τ;�(�; �)) (6.11)

ωιτη κϕ 2 ΦΑ1 : Νεξτ, ωε δε�νε:

εΚ1 (τ; �; �) = εΚ0 (τ; �; �)�
ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) (κϕ � γΑ) (τ;�(�; �))

Χλαιµ 6.12
ι) Τηε χονϖολυτιον (κϕ � γΑ) µακεσ σενσε
ιι)

εΗ� εΚ1 (τ; �; �) = α (�) �(0;�) (τ; �) + εΕ1 (τ; �; �)

ωηερε εΕ1 ισ α κερνελ οφ τψπε 2:

Προοφ. Σινχε γΑ 2 ΦΑ2 ανδ κϕ 2 ΦΑ1 ; (κϕ � γΑ) εξιστσ ανδ βελονγσ το ΦΑ3 : Βψ
(6.10), (6.11) ανδ Λεµµα 6.11, ωε χαν χοµπυτε

εΗ� εΚ1 (τ; �; �) =

= εΗ� εΚ0 (τ; �; �)� εΗ�

0
≅

ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) (κϕ � γΑ) (τ;�(�; �))

1
Α =

= α (�) �(0;�) (τ; �) +
ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) κϕ (τ;�(�; �))�

�
ρΞ

ϕ=1

�ϕ (τ) αϕ (�) βϕ (�) [Η (κϕ � γΑ)] (τ;�(�; �)) + εΕ1 (τ; �; �)

ωηερε εΕ1 ισ α κερνελ οφ τψπε 2: Φιναλλψ, σινχε [Η (κϕ � γΑ)] = κϕ ωε γετ

εΗ� εΚ1 (τ; �; �) = α (�) �(0;�) (τ; �) + εΕ1 (τ; �; �)

Προχεεδινγ ινδυχτιϖελψ, υσινγ Λεµµα 6.11 ανδ τηε αργυµεντ οφ τηε πρεϖιουσ
Χλαιµ, ωε χαν βυιλδ τωο σεθυενχεσ εΚι; εΕι συχη τηατ:

εΗ� εΚι (τ; �; �) = α (�) �(0;�) (τ; �) + εΕι (τ; �; �) (6.12)
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ωηερε εΕι ισ α κερνελ οφ τψπε ι+ 1 ωηιχη χαν βε ωριττεν ασ

εΕι (τ; �; �) =
ρΞ

ϕ=1

�ι;ϕ (τ) αι;ϕ (�) βι;ϕ (�) κι;ϕ (τ;�(�; �))

ωιτη κι;ϕ 2 ΦΑι+1, ανδ

εΚι+1 (τ; �; �) = εΚι (τ; �; �)�
ρΞ

ϕ=1

�ι;ϕ (τ) αι;ϕ (�) βι;ϕ (�) (κι;ϕ � γΑ) (τ;�(�; �)) :

Μορεοϖερ, εΚι ισ α κερνελ οφ τψπε 2 φορ εϖερψ ι.
Ωε νοω ρεχαλλ τηατ τηισ χονστρυχτιον χαν βε περφορµεδ ιν εαχη οφ τηε νειγη−

βορηοοδσ εΥ . Τηερεφορε ωε χαν δε�νε

εΚι (τ; �; �) =
Ξ



εΚ
ι (τ; �; �)

ανδ
εΕι (τ; �; �) =

Ξ



εΕι (τ; �; �) :

Ωε νοω ωαντ το χοµε βαχκ το τηε οριγιναλ (υνλιφτεδ) ϖαριαβλεσ. Λετ:

� = (ξ; η) ; � = (ψ; η0)

ανδ δε�νε:

Κϕ (τ; ξ; ψ) =

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη δη
0; (6.13)

Εϕ (τ; ξ; ψ) =

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

εΕϕ (τ; �; �) δη δη0:

Τηεν:

Λεµµα 6.13 Τηερε εξιστσ α χονσταντ � > 0 ανδ, φορ εϖερψ ποσιτιϖε ιντεγερ ϕ
τηερε εξιστσ α χονσταντ χ (ϕ) > 0 συχη τηατ, φορ ανψ ξ; ψ 2 Β (0; Ρ) ; τ 2 (0; 1) ;

Η
(τ;ξ)
Α (Κϕ � ηΑ) (τ; ξ; ψ) = Εϕ (τ; ξ; ψ)

ωιτη

ϕΕϕ (τ; ξ; ψ)ϕ � χ (ϕ) τ(ϕ�1)=2
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
��� :

Αλσο,

ϕΚϕ (τ; ξ; ψ)ϕ � χ (ϕ)
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
��� :
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Προοφ. Βψ Λεµµα 6.4 ωε ηαϖε

ΗΑ

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη = ΗΑ

Ζ

ΡΝ�ν

Ξ



εΚ
ι (τ; �; �) δη

=
Ξ



Ζ

ΡΝ�ν

εΗ
Α
εΚ
ι (τ; �; �) δη

=
Ξ



Ζ

ΡΝ�ν

�
α (�) �(0;�) (τ; �) + εΕι (τ; �; �)

�
δη

=

Ζ

ΡΝ�ν

�
α (�) �(0;�) (τ; �) + εΕι (τ; �; �)

�
δη:

Τηερεφορε

Η
(τ;ξ)
Α Κϕ (τ; ξ; ψ) = Η

(τ;ξ)
Α

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη δη
0

=

Ζ

ΡΝ�ν

Η
(τ;ξ)
Α

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη δη
0

=

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

�
α (�) �(0;�) (τ; �) + εΕι (τ; �; �)

�
δηδη0

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

α (�) �(0;�) (τ; �) δηδη
0 + Ει (τ; ξ; ψ) :

Βψ (6.5) ωε ηαϖε
Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

∋ (η) �(0;�) (τ; �) δη δη
0 = �(0;ψ) (τ; ξ)

ανδ σινχε ΗΑηΑ (τ; ξ; ψ) = �(0;ψ) (τ; ξ) ωε οβταιν

Η
(τ;ξ)
Α Κϕ (τ; ξ; ψ) = ΗΑηΑ (τ; ξ; ψ) + Ει (τ; ξ; ψ) :

Νοω ρεχαλλ τηατ
��� εΕϕ (τ; �; �)

��� � χ (ϕ) τ(ϕ�1)=2
Ξ



γΑ
�
χτ;� (�; �)

� ρΞ

ι=1

�ι (τ) α

ι (�) β


ι (�)

ηενχε

ϕΕϕ (τ; ξ; ψ)ϕ �

� χ (ϕ) τ(ϕ�1)=2
Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

∀
Ξ



γΑ
�
χτ;� (�; �)

� ρΞ

ι=1

�ι (τ) α

ι (�) β


ι (�)

#
δη0

(6.14)

� χ (ϕ) τ(ϕ�1)=2 ε
��δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
���

ωηερε τηε λαστ ινεθυαλιτψ φολλοωσ φροµ τηε νεξτ Λεµµα; τηε σαµε αργυµεντ
προϖεσ τηε βουνδ ον Κϕ , ρεµεµβερινγ τηατ εΚϕ ισ α κερνελ οφ τψπε 2. Τηισ
�νισηεσ τηε προοφ.
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Λεµµα 6.14 Φορ εαχη τερµ αππεαρινγ ιν τηε ιντεγραλ ιν (6.14) τηε φολλοωινγ
βουνδ ηολδσ,

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0 � χ0 ε

�χ00δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
��� :

Τηισ Λεµµα χαν βε προϖεδ ασ τηε Ρεµαρκ ον π.848 οφ [30], µακινγ αλσο υσε
οφ τηε υνιφορµ Γαυσσιαν βουνδσ οφ [3]; ιν [30] τηε Αυτηορσ ωριτε τηατ �τηε προοφ
ισ ϖερψ σιµιλαρ το τηατ οφ Λεµµασ 8, 9 ιν [53], ωηερε τηε �ελλιπτιχ� χασε ισ δεαλτ�.
Φορ σεεκ οφ χοµπλετενεσσ ωε πρεσεντ α δεταιλεδ προοφ οφ τηισ φαχτ.
Προοφ. Βψ (6.1),

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0

� χ� (ξ)
Ζ

ΡΝ�ν

∋ (η) δη

Ζ

ΡΝ�ν

τ�Θ=2ε��
εδ(�;�)2=τβ (�) δη0:

Τηεν ωε διστινγυιση τωο χασεσ.
1στ χασε: δ2 (ξ; ψ) � τ. Τηεν

Ζ

ΡΝ�ν

τ�Θ=2ε��
εδ(�;�)2=τβ (�) δη0

=
1Ξ

κ=0

Ζ

φη0:2κδ(ξ;ψ)�εδ(�;�)�2κ+1δ(ξ;ψ)γ
τ�Θ=2ε��

εδ(�;�)2=τβ (�) δη0:

Βψ Λεµµα 6.3,

�
2κ+1δ (ξ; ψ)

�Θ ∋
��� εΒ
�
(ξ; η) ; 2κ+1δ (ξ; ψ)

���� ∋

∋
��Β
�
ξ; 2κ+1δ (ξ; ψ)

��� �
���
ν
η0 : εδ ((ξ; η) ; (ψ; η0)) � 2κ+1δ (ξ; ψ)

ο���

(στριχτλψ σπεακινγ, το αππλψ Λεµµα 6.3 ωε σηουλδ ρεπλαχε 2κ ωιτη ��κ; ωηερε �
ισ τηε σµαλλ νυµβερ αππεαρινγ ιν τηε Λεµµα); τηεν

Ζ

ΡΝ�ν

τ�Θ=2ε��
εδ(�;�)2=τβ (�) δη0

�
1Ξ

κ=0

τ�Θ=2ε��2
2κδ(ξ;ψ)2=τ �

�
2κ+1δ (ξ; ψ)

�Θ

ϕΒ (ξ; 2κ+1δ (ξ; ψ))ϕ �

� 1

ϕΒ (ξ; δ (ξ; ψ))ϕ

�
δ (ξ; ψ)π

τ

�Θ 1Ξ

κ=0

ε��2
2κδ(ξ;ψ)2=τ2(κ+1)Θ �
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σινχε σ = δ(ξ;ψ)π
τ
� 1; ανδ σΘε��22κσ2 � χε��22κ�1σ2

� 1��Β
�
ξ;
π
τ
���

1Ξ

κ=0

ε��2
2κ�1δ(ξ;ψ)2=τ2(κ+1)Θ =

=
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
���

1Ξ

κ=0

ε��(2
2κ�1�1)2(κ+1)Θ � χε

��δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
���

2νδ χασε: δ2 (ξ; ψ) � τ. Τηεν
Ζ

ΡΝ�ν

τ�Θ=2ε��
εδ(�;�)2=τβ (�) δη0

=

Ζ

φη0:εδ(�;�)�2πτγ
:::δη0 +

1Ξ

κ=1

Ζ

φη0:2κπτ�εδ(�;�)�2κ+1πτγ
:::δη0:

Αγαιν βψ Λεµµα 6.3,

�
2κ+1

π
τ
�Θ

∋
��� εΒ
�
(ξ; η) ; 2κ+1

π
τ
���� ∋

∋
���Β
�
ξ; 2κ+1

π
τ
���� �

���
ν
η0 : εδ ((ξ; η) ; (ψ; η0)) � 2κ+1

π
τ
ο���

ηενχε

1Ξ

κ=1

Ζ

φη0:2κπτ�εδ(�;�)�2κ+1πτγ
:::δη0 �

1Ξ

κ=1

τ�Θ=2ε��2
2κ

�
2κ+1

π
τ
�Θ

��Β
�
ξ; 2κ+1

π
τ
��� �

� 1��Β
�
ξ;
π
τ
���

1Ξ

κ=1

ε��2
2κ �
2κ+1

�Θ �

� χ��Β
�
ξ;
π
τ
��� � χ

ε��δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
���

βεχαυσε ε��δ(ξ;ψ)
2=τ � χ > 0, βεινγ δ2 (ξ; ψ) � τ: Αναλογουσλψ ονε βουνδσ τηε

σινγλε τερµ Ζ

φη0:εδ(�;�)�2πτγ
:::δη0:

Τηισ χοµπλετεσ τηε προοφ.
Ουρ νεξτ τασκ ισ το βυιλδ α συιταβλε βαρριερ φυνχτιον φϕ , το βε χοµπαρεδ ωιτη

(Κϕ � ηΑ):

Λεµµα 6.15 Φορ ανψ �ξεδ Ρ; ∀ > 0 ανδ εϖερψ ποσιτιϖε ιντεγερ ϕ λαργε ενουγη,
τηερε εξιστ α φυνχτιον φϕ (τ; ξ; ψ) ανδ ποσιτιϖε χονσταντσ χϕ= χ (ϕ; ∀; Ρ), 
1 (∀;Ρ),

2 (∀;Ρ) συχη τηατ φορ ανψ τ 2 (0; 1) ; ξ; ψ 2 Β (0; Ρ):
ι)

ε�
1δ(ξ;ψ)
2=τ � φϕ (τ; ξ; ψ) �

χϕ��Β
�
ξ;
π
τ
���ε

�
2δ(ξ;ψ)2=τ ιφ δ (ξ; ψ) ∋ ∀ (6.15)
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ιι)

Η
(τ;ξ)
Α φϕ (τ; ξ; ψ) � χϕ ϕΕϕ (τ; ξ; ψ)ϕ : (6.16)

Προοφ. Βψ (6.14), ωε κνοω τηατ, φορ ξ; ψ 2 Β (0; Ρ) ;

ϕΕϕ (τ; ξ; ψ)ϕ � χ (ϕ) τ(ϕ�1)=2�

�
Ξ



ρΞ

ι=1

�ι (τ)

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

�
γΑ
�
χτ;� (�; �)

�
αι (�) β


ι (�)

�
δη0:

Ωιτη τηισ νοτατιον, λετ

φϕ (τ; ξ; ψ) = Βϕτ
(ϕ+1)=2�

�
Ξ



ρΞ

ι=1

�ι (τ)

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

�
γΑ
�
χτ;� (�; �)

�
αι (�) β


ι (�)

�
δη0

ωιτη Βϕ χονσταντ το βε χηοσεν λατερ. ϑυστ το σιµπλιφψ νοτατιον, ωε ωιλλ ωριτε τηε
προοφ ασσυµινγ τηατ

ϕΕϕ (τ; ξ; ψ)ϕ � χ (ϕ) τ(ϕ�1)=2
Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0

ανδ

φϕ (τ; ξ; ψ) = Βϕτ
(ϕ+1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0:

Βψ Λεµµα 6.14,

φϕ (τ; ξ; ψ) � χΒϕτ(ϕ+1)=2
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
��� � χΒϕ

ε��δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
���

σινχε τ � 1.
Το προϖε τηε �ρστ ινεθυαλιτψ ιν (6.15), ωε σταρτ νοτινγ τηατ

εδ (�; �) � χ (∀;Ρ) δ (ξ; ψ)

σινχε εδ (�; �) ισ βουνδεδ ανδ δ (ξ; ψ) ∋ ∀. Βψ τηε λοωερ βουνδ ιν (6.1), τακινγ
ιντο αχχουντ τηε συππορτσ οφ α; β, ανδ σινχε δ (ξ; ψ) ∋ ∀

φϕ (τ; ξ; ψ) � χΒϕτ(ϕ+1�Θ)=2
Ζ

ϕηϕ�χ
δη

Ζ

ϕη0ϕ�χ
ε�

εδ(�;�)2=χ(∀;Ρ)τδη0

� χΒϕε�δ(ξ;ψ)
2=χττ(ϕ+1�Θ)=2

� χΒϕε�∀
2=χττ(ϕ+1�Θ)=2 � χΒϕε�∀

2=χ0τ

� χΒϕε�δ(ξ;ψ)
2=χ0τ � ε�δ(ξ;ψ)

2=χ0τ
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βψ α συιταβλε χηοιχε οφ Βϕ .
Το προϖε (6.16), ωε υσε Λεµµα 6.4 ανδ χοµπυτε:

Η
(τ;ξ)
Α φϕ (τ; ξ; ψ) =

= Βϕ
ϕ + 1

2
τ(ϕ�1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0+

+Βϕτ
(ϕ+1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

εΗ(τ;ξ)
Α [γΑ (χτ;�(�; �)) α (�)] β (�) δη

0

βψ Λεµµα 6.11,

= Βϕ
ϕ + 1

2
τ(ϕ�1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0+

+Βϕτ
(ϕ+1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

[(ΗΑγΑ) (χτ;�(�; �)) α (�) β (�) + Ε (τ; �; �)] δη0

φορ σοµε κερνελ Ε (τ; �; �) οφ τψπε 1

= Βϕ
ϕ + 1

2
τ(ϕ�1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0+

+Βϕτ
(ϕ+1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

Ε (τ; �; �) δη0

ωηερε ωε υσεδ τηε φαχτ τηατ τ(ϕ+1)=2�(0;ξ) (τ; ψ) = 0. Νοω,

����τ
(ϕ+1)=2

Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

Ε (τ; �; �) δη0
����

� χτϕ=2
Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0

� χτ(ϕ�1)=2
Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0

σινχε τ < 1; τηερεφορε, φορ ϕ λαργε ενουγη,

Η
(τ;ξ)
Α φϕ (τ; ξ; ψ) �

� χΒϕτ(ϕ�1)=2
Ζ

ΡΝ�ν

δη

Ζ

ΡΝ�ν

γΑ (χτ;�(�; �)) α (�) β (�) δη
0 � χϕ ϕΕϕ (τ; ξ; ψ)ϕ :

Τηεορεµ 6.16 Τηερε εξιστ � = χ ανδ � = χ συχη τηατ, φορ εϖερψ Ρ > 0 ωε
ηαϖε

ηΑ (τ; ξ; ψ) � χ (Ρ)
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
���

φορ εϖερψ τ 2 (0; �) ; ξ; ψ 2 Ρν, ωιτη δ (ξ; ψ) < Ρ:
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Προοφ. Βψ Τηεορεµ 4.10, φορ ανψ �ξεδ ∀ > 0; ιφ ∀ � δ (ξ; ψ) � Ρ ανδ τ 2 (0; �)
ωε ηαϖε:

ηΑ (τ; ξ; ψ) � χε�χ=τ � χε�χδ(ξ;ψ)
2=Ρ2τ �

� χ

ϕΒ (ξ; 1)ϕε
�χδ(ξ;ψ)2=Ρ2τ � χ0 ε

�χδ(ξ;ψ)2=Ρ2τ

��Β
�
ξ;
π
τ
��� :

Ηενχε ωε ηαϖε το ωορρψ ονλψ φορ δ (ξ; ψ) < ∀. Ωε ωιλλ προχεεδ ιν τωο στεπσ: �ρστ
ωε ωιλλ προϖε τηε υππερ βουνδ ασσυµινγ δ (ξ; ψ) < ∀ ανδ ξ 2 Β (0; Ρ); τηεν ωε
ωιλλ χονσιδερ τηε χασε δ (ξ; ψ) < ∀ ανδ ξ =2 Β (0; Ρ) :
Στεπ 1. Ιτ ισ ενουγη το προϖε τηατ, φορ ξ 2 Β (0; Ρ) ; δ (ξ; ψ) < ∀; τ 2 (0; 1)

ανδ ϕ λαργε ενουγη,

ϕΚϕ (τ; ξ; ψ)� ηΑ (τ; ξ; ψ)ϕ � χ (ϕ)
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
��� : (6.17)

Το σηοω τηισ, ωε ωαντ το αππλψ τηε µαξιµυµ πρινχιπλε ον τηε χψλινδερ

φ(τ; ξ) : τ 2 (0; 1) ; δ (ξ; ψ) < ∀γ ; φορ ψ �ξεδ,

το τηε φυνχτιονσ
� (Κϕ � ηΑ)�Αϕφϕ

ωηερε φϕ ισ ασ ιν Λεµµα 6.15, ανδ Αϕ ωιλλ βε χηοσεν λατερ. Ωε κνοω τηατ, φορ

δ (ξ; ψ) � ∀; βοτη ηΑ (τ; ξ; ψ) ανδ Κϕ (τ; ξ; ψ) αρε βουνδεδ βψ χ (ϕ)
ε��δ(ξ;ψ)

2=τ

ϕΒ(ξ;πτ)ϕ ;
τηερεφορε (6.17) ηολδσ φορ δ (ξ; ψ) ∋ ∀; τ 2 (0; 1) : Νοτε αλσο τηατ, φορ δ (ξ; ψ) � ∀;

ε��δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
��� � χε

��0=τ φορ ανψ �0 < �

(βεχαυσε
��Β
�
ξ;
π
τ
��� � χτν=2µ). Τηεν φορ δ (ξ; ψ) ∋ ∀; τ 2 (0; 1) ; ωε χαν σαψ

τηατ
ϕΚϕ � ηΑϕ � χε�
1δ(ξ;ψ)

2=τ � Αϕφϕ : (6.18)

Μορεοϖερ, βψ τηε συβελλιπτιχ εστιµατεσ ον ΗΑ, σινχε ΗΑ (Κϕ � ηΑ) = Εϕ ισ ασ
σµοοτη ασ ωε νεεδ, φορ λαργε ϕ, εϖεν ατ τ = 0, τηεν (Κϕ � ηΑ) ισ χοντινυουσ ατ
τ = 0; ανδ τηερεφορε ϖανισηεσ (βεχαυσε φορ τ < 0 βοτη Κϕ ανδ ηΑ ϖανιση), ηενχε
(6.18) ηολδσ αλσο φορ τ = 0; δ (ξ; ψ) � ∀:
Ον τηε οτηερ ηανδ, βψ Λεµµα 6.13,

ΗΑ (Κϕ � ηΑ) = Εϕ

ηενχε, βψ (6.15),

ΗΑ (� (Κϕ � ηΑ)�Αϕφϕ) � ϕΕϕ (τ; ξ; ψ)ϕ �Αϕχϕ ϕΕϕ (τ; ξ; ψ)ϕ � 0

φορ συιταβλε Αϕ : Τηερεφορε, βψ τηε µαξιµυµ πρινχιπλε (Προποσιτιον 3.6),

ϕΚϕ � ηΑϕ � Αϕφϕ φορ δ (ξ; ψ) � ∀; τ 2 (0; 1) : (6.19)
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Τηισ ενδσ τηε �ρστ στεπ.
Στεπ 2. Ωε χαν ασσυµε Ρ λαργε ενουγη συχη τηατ ΗΑ ισ τηε στανδαρδ ηεατ

οπερατορ ιν τηε χοµπλεµεντ οφ Β (0; Ρ=2) : Λετ ξ =2 Β (0; Ρ) ανδ δ (ξ; ψ) < ∀;
ρεχαλλ τηατ ιν τηισ ρεγιον δ εθυαλσ τηε Ευχλιδεαν διστανχε, βψ Λεµµα 2.3. Λετ
η0 (τ; ξ; ψ) βε τηε φυνδαµενταλ σολυτιον οφ τηε ηεατ οπερατορ ιν Ρν+1: Αδαπτινγ
τηε τεχηνιθυε οφ Στεπ 1, ωε νοω σιµπλψ χηοοσε

φϕ (τ; ξ; ψ) = χτ
ϕ+1
2 η0 (τ; ξ; ψ) :

Τηεν, ονε εασιλψ χηεχκσ τηατ, ιν τηισ ρεγιον,

ε�
1δ(ξ;ψ)
2=τ � φϕ (τ; ξ; ψ)

φορ α ποσιτιϖε χονσταντ 
1; τ 2 (0; 1) ; ανδ δ (ξ; ψ) ∋ ∀; ανδ τηατ

Η
(τ;ξ)
Α φϕ (τ; ξ; ψ) � 0:

Ονε χαν νοω ρεπεατ τηε αργυµεντ οφ στεπ 1: χηοοσινγ Κϕ = η0 ανδ εξπλοιτινγ
τηε φαχτ τηατ

Η
(τ;ξ)
Α (η0 � ηΑ) = 0

ονε προϖεσ (6.17). Τηισ χοµπλετεσ τηε προοφ.
Ωε εϖεντυαλλψ ηαϖε το προϖε τηε υππερ βουνδ ον ηΑ ρεµοϖινγ τηε ασσυµπ−

τιον δ (ξ; ψ) < Ρ. Αγαιν, τηισ ισ αχχοµπλισηεδ εξπλοιτινγ τηε φαχτ τηατ ουτσιδε α
χοµπαχτ σετ ΗΑ ισ τηε ηεατ οπερατορ:

Τηεορεµ 6.17 Τηερε εξιστ � 0 = χ ανδ �0 = χ συχη τηατ,

ηΑ (τ; ξ; ψ) � χ
ε��

0δ(ξ;ψ)2=τ

��Β
�
ξ;
π
τ
���

φορ εϖερψ τ 2 (0; � 0) ανδ ξ; ψ 2 Ρν:

Προοφ. Φιξ Ρ λαργε ενουγη σο τηατ 
0 � Β(0; Ρ) ανδ ουτσιδε Β (0; Ρ) τηε
οπερατορ ΗΑ ρεδυχεσ το τηε ηεατ οπερατορ. Φορ ανψ �ξεδ ψ 2 Ρν ωε δε�νε

� (ψ) =

8
<
:

Ρ ιφ δ (ψ; 0) > 3Ρ

5Ρ οτηερωισε.
:

Ιτ ισ εασψ το χηεχκ τηατ

ξ 2 ≅Β (ψ; � (ψ)) =) Β (ξ;Ρ) ∴Β (0; Ρ) = ?: (6.20)

Αλσο οβσερϖε τηατ βψ Τηεορεµ 6.16

ηΑ (τ; ξ; ψ) � χ (Ρ)
ε�

�δ(ξ;ψ)2

τ��Β
�
ξ;
π
τ
��� (6.21)
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φορ εϖερψ ξ 2 Β (ψ; � (ψ)), τ 2 (0; �).
Λετ νοω


 (τ; ξ) = ηΑ (τ; ξ; ψ)

ω� (τ; ξ) = Κ (�τ; ξ� ψ) ωηερε Κ (τ; ξ) = τ�ν=2ε�
ϕξϕ2

τ

∆� = (0; �
0)�

�
Ρν νΒ (ψ; � (ψ))

�

ωιτη � 0 το βε χηοσεν λατερ, � 0 < � . Ωε αιµ το αππλψ τηε µαξιµυµ πρινχιπλε
(Προποσιτιον 3.6) ον ∆� το σηοω τηατ 
 � χ (�;Ρ)ω�. Τηε παραβολιχ βουνδαρψ
οφ ∆� ισ

≅π∆� = ≅0 [ ≅1
ωηερε

≅0 = φ0γ � (Ρν νΒ (ψ; � (ψ)))
ανδ

≅1 = [0; �
0]� ≅Β (ψ; � (ψ)) :

Λετ (τ; ξ) 2 ≅1; βψ (6.20), Β
�
ξ;
π
� 0
�
∴ Β (0; Ρ) = ?, σινχε ωε χαν ασσυµε

π
� 0 < Ρ. Τηισ ιµπλιεσ τηατ

��Β
�
ξ;
π
τ
��� = χντ

ν=2 , βψ Λεµµα 2.3. Τηεν βψ
(6.21), ανδ σινχε δ (ξ; ψ) � χ ϕξ� ψϕ βψ Λεµµα 2.4, ωε ηαϖε


 (τ; ξ) � χ (Ρ) τ�ν=2ε�
�δ(ξ;ψ)2

τ � χ (Ρ) τ�ν=2ε�
χϕξ�ψϕ2

τ � χ (Ρ) �ν=2ω� (τ; ξ)

φορ α συιταβλε � (λαργε ενουγη). Νοτε τηατ ον ≅0 ον ηασ 
 (τ; ξ) = 0 = ω� (τ; ξ).
Μορεοϖερ φορ (τ; ξ) 2 ∆� , υσινγ τηε γλοβαλ, νον−υνιφορµ εστιµατεσ ιν [35] ωε
ηαϖε

λιµ
ξ!1

συπ
τ2[0;� 0]


 (τ; ξ) � λιµ
ξ!1

συπ
τ2[0;� 0]

χ (Α)
ε�

δ(ξ;ψ)2

χ(Α)τ

��Β
�
ξ;
π
τ
���

� λιµ
ξ!1

συπ
τ2[0;� 0]

χ (Α) τ�ν=2ε�
ϕξ�ψϕ2

χ(Α)τ = 0:

Τηε αβοϖε αργυµεντσ σηοω τηατ


 (τ; ξ) � χ (Ρ) �ν=2ω� (τ; ξ)

ον τηε παραβολιχ βουνδαρψ οφ ∆� ανδ ατ τηε ιν�νιτψ, φορ � λαργε ενουγη. Ωε
νοω ωαντ το προϖε τηατ ιν ∆� ; αγαιν φορ � λαργε ενουγη,

ΗΑ (
) � ΗΑ

�
χ (Ρ) �ν=2ω�

�
:

Σινχε ΗΑ (
) = 0 ιν ∆� ; ιτ ισ ενουγη το σηοω τηατ ΗΑ (ω�) � 0.
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Ωε �ρστ χοµπυτε:

≅Κ

≅τ
(τ; ξ) = Κ (τ; ξ)

�
�ν
2
τ�1 + ϕξϕ2 τ�2

�
;

≅Κ

≅ξϕ
(τ; ξ) = Κ (τ; ξ)

�
�2τ�1ξϕ

�
;

≅2Κ

≅ξι≅ξϕ
(τ; ξ) = Κ (τ; ξ)

�
�2τ�1�ιϕ + 4τ�2ξιξϕ

�
:

Ωριτινγ εξπλιχιτλψ τηε δι⁄ερεντιαλ οπερατορ ΛΑ ιν Χαρτεσιαν χοορδινατεσ ωε ηαϖε
τηατ

ϕΛΑω� (τ; ξ)ϕ � χ
νΞ

ι;ϕ=1

�����
≅ω�
≅ξι

(τ; ξ)

����+
����
≅2ω�
≅ξι≅ξϕ

(τ; ξ)

����
�

� χΚ (�τ; ξ� ψ)
 
2 ϕξ� ψϕ

�τ
+
2

�τ
+
4 ϕξ� ψϕ2
�2τ2

!
:

Μορεοϖερ

≅ω�
≅τ

(τ; ξ) = �
≅Κ

≅τ
(�τ; ξ� ψ) = Κ (�τ; ξ� ψ)

 
� ν

2τ
+
ϕξ� ψϕ2
�τ2

!
:

Βψ Λεµµα 2.3 ανδ τηε δε�νιτιον οφ ∆� , φορ (τ; ξ) 2 ∆� ωε ηαϖε ϕξ� ψϕ � Ρ.
Τηερεφορε

ΗΑ (ω�) =
≅ω�
≅τ

(τ; ξ)� ΛΑω� (τ; ξ)

� Κ (�τ; ξ� ψ)
�τ2

(�
�ν�τ
2
+ ϕξ� ψϕ2

�
� χ

 
2τ ϕξ� ψϕ+ 2τ+ 4 ϕξ� ψϕ

2

�

!)

� Κ (�τ; ξ� ψ)
�τ2

ϕξ� ψϕ2
��
�ν
2

�� 0

Ρ2
+ 1

�
� χ

�
2� 0

Ρ
+
2� 0

Ρ2
+
4

�

��

Νοω, φορ � 0 = 1=�2; ανδ � λαργε ενουγη δεπενδινγ ον Ρ, ωε γετ ΗΑ (ω�) � 0 ιν
∆� . Ηενχε τηε µαξιµυµ πρινχιπλε ιµπλιεσ τηατ


 (τ; ξ) � χ (Ρ) �ν=2ω� (τ; ξ) ιν ∆� ;

τηατ ισ
ηΑ (τ; ξ; ψ) � χ (Ρ) τ�ν=2ε�ϕξ�ψϕ

2=χτ φορ (τ; ξ) 2 ∆� :

Ωε νοω υσε τηε φαχτ τηατ, φορ (τ; ξ) 2 ∆� ; ϕξ� ψϕ � Ρ > 1; σο τηατ βψ (2.3),
(2.4) ιν Λεµµα 2.4

χ�1δ (ξ; ψ) � ϕξ� ψϕ � χδ (ξ; ψ) :
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Τηεν:

ηΑ (τ; ξ; ψ) � χ (Ρ) τ�ν=2ε�ϕξ�ψϕ
2=2χτε�ϕξ�ψϕ

2=2χτ �

� χ (Ρ)
�
τ�ν=2ε�1=2χτ

�
ε�ϕξ�ψϕ

2=2χτ �

� χ (Ρ) ε�δ(ξ;ψ)2=2χτ �

� χ (Ρ) ε
�δ(ξ;ψ)2=2χτ
��Β
�
ξ;
π
τ
���

βεχαυσε, βψ (2.7), ���Β
�
ξ;
π
τ
���� � ϕΒ (ξ; 1)ϕ � χ:

Χορολλαρψ 6.18 Τηερε εξιστσ � = χ συχη τηατ, φορ ανψ Τ > 0 ωε ηαϖε

ηΑ (τ; ξ; ψ) � χ (Τ )
ε��δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
���

φορ εϖερψ 0 < τ < Τ ανδ ξ; ψ 2 Ρν:

Προοφ. Φορ Τ > 0 �ξεδ, λετ κ βε αν ιντεγερ λαργε ενουγη σο τηατ Τκ < � 0; ωηερε
� 0 ισ τηε νυµβερ αππεαρινγ ιν τηε πρεϖιουσ Τηεορεµ. Τηεν, βψ τηε ρεπροδυχτιον
προπερτψ (3.4) ανδ τηε πρεϖιουσ τηεορεµ,

ηΑ (τ; ξ; ψ) =

=

Ζ

Ρν

:::

Ζ

Ρν

ηΑ

�
τ

κ
; ξ; ψ1

�
ηΑ

�
τ

κ
; ψ1; ψ2

�
:::ηΑ

�
τ

κ
; ψκ�1; ψ

�
δψ1δψ2:::δψκ�1 �

�
Ζ

Ρν

:::

Ζ

Ρν

χ
ε�

�δ2(ξ;ψ1)

τ=κ

���Β
�
ξ;
π
τ=κ
����
χ

ε�
�δ2(ψ1;ψ2)

τ=κ

���Β
�
ψ1;
π
τ=κ
����
:::χ

ε�
�δ2(ψκ�1;ψ)

τ=κ

���Β
�
ψκ�1;

π
τ=κ
����
δψ1δψ2:::δψκ�1:

Ωε νοω υσε τηε γλοβαλ, λονγ τιµε εστιµατεσ φροµ βελοω ανδ φροµ αβοϖε, προϖεδ
ιν [36, Χορολλαρψ 3.25 π.182] φορ τηε φυνδαµενταλ σολυτιον η0 οφ τηε οπερατορ,
�ξεδ ονχε ανδ φορ αλλ,

Η0 = ≅τ �
µΞ

ι=1

Ξ�
ι Ξι;

ναµελψ:

χ1
ε��1δ(ξ;ψ)

2=τ

��Β
�
ξ;
π
τ
��� � η0 (τ; ξ; ψ) � χ2

ε��2δ(ξ;ψ)
2=τ

��Β
�
ξ;
π
τ
���

φορ ξ; ψ 2 Ρν; τ 2 (0;1) ; ωιτη χονσταντσ χ1; χ2; �1; �2 ονλψ δεπενδινγ ον ν ανδ
τηε ϖεχτορ �ελδσ Ξ1; :::; Ξµ: Ηενχε

ηΑ (τ; ξ; ψ) �
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� χκ
Ζ

Ρν

:::

Ζ

Ρν

η0

�
χ0
τ

κ
; ξ; ψ1

�
η0

�
χ0
τ

κ
; ψ1; ψ2

�
:::η0

�
χ0
τ

κ
; ψκ�1; ψ

�
δψ1δψ2:::δψκ�1 =

= χκη0 (χ
0τ; ξ; ψ) � χ(Τ )ε

��δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
��� :

7 Υνιφορµ λοωερ βουνδσ φορ φυνδαµενταλ σολυ−

τιονσ

Ιν τηισ σεχτιον ωε ωαντ το προϖε τηε φολλοωινγ

Τηεορεµ 7.1 Τηερε εξιστσ � = χ συχη τηατ, φορ ανψ Τ > 0 ωε ηαϖε

ηΑ (τ; ξ; ψ) �
χ (Τ )��Β
�
ξ;
π
τ
���ε

��δ(ξ;ψ)2=τ

φορ αλλ τ 2 (0; Τ ) ; ξ; ψ 2 Ρν.

Τηισ ρεσυλτ ωιλλ βε δεδυχεδ βψ τηε φολλοωινγ

Λεµµα 7.2 Τηερε εξιστσ ∀ = χ ανδ χ1 2 (0; 1) συχη τηατ

ηΑ (τ; ξ; ψ) �
χ0��Β
�
ξ;
π
τ
��� (7.1)

ωηενεϖερ δ (ξ; ψ)
2 � χ1τ ανδ τ � ∀; ξ; ψ 2 Ρν.

Προοφ οφ τηε Λεµµα. Τηε προοφ ρελιεσ ον τηε σαµε χονστρυχτιον οφ τηε πρε−
ϖιουσ σεχτιον. Φροµ τηε προοφ οφ Τηεορεµ 6.16, Στεπ 1, ωε ρεαδ (σεε (6.19))

ϕ(Κϕ � ηΑ) (τ; ξ; ψ)ϕ � Αϕφϕ (τ; ξ; ψ) (7.2)

φορ α συιταβλε ϕ, ξ 2 Β (0; Ρ) ; δ (ξ; ψ) σµαλλ ενουγη ανδ ανψ τ 2 (0; 1), ωηερε

φϕ (τ; ξ; ψ) � χ (ϕ)
τ(ϕ+1)=2��Β
�
ξ;
π
τ
��� : (7.3)

Νεξτ ωε ωιλλ σηοω τηατ φορ εϖερψ ϕ τηερε εξιστσ ∀ συχη τηατ φορ ξ 2 Β (0; Ρ) ; τ < ∀

ανδ δ (ξ; ψ)
2 � χ1τ ονε ηασ

Κϕ (τ; ξ; ψ) �
χ (ϕ)��Β
�
ξ;
π
τ
��� : (7.4)

Το προϖε τηισ, ωε σταρτ ρεχαλλινγ τηε φολλοωινγ ρεφορµυλατιον οφ Λεµµα 6.3: τηερε
εξιστσ χ1 2 (0; 1) συχη τηατ φορ δ (ξ; ψ)2 � χ1τ, ωε ηαϖε

Ζ

φη: εδ2((ξ;η);(ψ;η0))�τγ
τ�Θ=2δη � χ0��Β

�
ξ;
π
τ
��� (7.5)

Μορεοϖερ, ωε νεεδ τηε φολλοωινγ:
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Χλαιµ 7.3 Φορ εϖερψ ι τηερε εξιστσ ∀ συχη τηατ φορ τ < ∀ ανδ εδ (�; �)2 � τ ονε
ηασ

εΚι (τ; �; �) � χ (ι) τ�Θ=2: (7.6)

Προοφ οφ τηε Χλαιµ. Ωε ωιλλ προϖε (7.6) βψ ινδυχτιον. Βψ τηε λοωερ βουνδ
ιν (6.1), ωε ηαϖε

εΚ0 (τ; �; �) =
Ξ



� (τ) α (�) β (�) γΑ
�
τ;� (�; �)

�

� χτ�Θ=2ε�εδ(�;�)2=χτ � χτ�Θ=2

φορ εδ (�; �)2 � τ. Ωε νοω ασσυµε τηατ (7.6) ηολδσ φορ εΚι. Ρεχαλλ τηατ

εΚι+1 (τ; �; �) = εΚι (τ; �; �)�
Ξ



ρΞ

ϕ=1

�ι;ϕ (τ) α

ι;ϕ (�) β


ι;ϕ (�) (κι;ϕ � γΑ)

�
τ;� (�; �)

�

ωηερε κι;ϕ 2 ΦΑι+1, σο τηατ βψ Λεµµα 6.8 ωε ηαϖε κι;ϕ � γΑ 2 ΦΑι+3 ανδ
������

Ξ



ρΞ

ϕ=1

�ι;ϕ (τ) α

ι;ϕ (�) β


ι;ϕ (�) (κι;ϕ � γΑ)

�
τ;� (�; �)

�
������
�

� χτ ι+12
Ξ



�ι;ϕ (τ) α

ι;ϕ (�) β


ι;ϕ (�) γΑ

�
τ;� (�; �)

�
� χτ ι+1�Θ2 :

Τηερεφορε
εΚι+1 (τ; �; �) � χ1τ�Θ=2 � χ2τ

ι+1�Θ
2 � χ3τ�Θ=2

φορ συ′χιεντλψ σµαλλ τ. Τηισ προϖεσ τηε Χλαιµ.
Ωε χαν νοω προϖε (7.4) ασ φολλοωσ: βψ τηε Χλαιµ, (7.5), ανδ τηε δε�νιτιον

οφ Κϕ ;

Κϕ (τ; ξ; ψ) =

Ζ

ΡΝ�ν

Ζ

ΡΝ�ν

εΚϕ (τ; �; �) δη δη
0 �

�
Ζ

φη: εδ2((ξ;η);(ψ;η0))�τγ
τ�Θ=2δη

� χ0��Β
�
ξ;
π
τ
��� :

Λεµµα 7.2, υνδερ τηε φυρτηερ ασσυµπτιον ξ 2 Β (0; Ρ), τηεν φολλοωσ φροµ (7.2),
(7.3) ανδ (7.4). Το ενδ τηε προοφ οφ Λεµµα 7.2, ασσυµε νοω τηατ ξ =2 Β (0; Ρ) ;
ωιτη Ρ λαργε ενουγη συχη τηατ ΗΑ ισ τηε στανδαρδ ηεατ οπερατορ ιν τηε χοµπλε−
µεντ οφ Β (0; Ρ=2) : Ρεασονινγ λικε ιν Στεπ 2 οφ τηε προοφ οφ Τηεορεµ 6.16, ωε
τηεν προϖε τηατ

ϕ(η0 � ηΑ) (τ; ξ; ψ)ϕ � Αϕφϕ (τ; ξ; ψ)

ωηερε η0 ισ τηε ηεατ κερνελ,

φϕ (τ; ξ; ψ) = χτ
ϕ+1
2 η0 (τ; ξ; ψ)
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ανδ φορ τ < ∀ ανδ δ (ξ; ψ)
2 � χ1τ (ρεχαλλ τηατ ηερε δ (ξ; ψ) = ϕξ� ψϕ) ονε ηασ

η0 (τ; ξ; ψ) �
χ��Β

�
ξ;
π
τ
��� =

χ

τν=2
:

Τηεν ωε χονχλυδε ασ ιν τηε χασε ξ 2 Β (0; Ρ) :
Ωε νοω χοµε το τηε

Προοφ οφ Τηεορεµ 7.1. (Τηισ προοφ ισ σιµιλαρ το τηατ οφ Τηεορεµ 4 ιν [30],
π.853, ωιτη µινορ χορρεχτιονσ). Λετ δ (ξ; ψ) = � > 0 ανδ τακε α συβυνιτ πατη

 χοννεχτινγ ξ ανδ ψ; ωιτη λ (
) � 2�. Τακε κ+1 ποιντσ ξ0; ξ1; :::; ξκ ον 
 ωιτη
ξ0 = ξ; ξκ = ψ; δ (ξι; ξι+1) � 2�=κ; ι = 0; :::; κ � 1; ανδ λετ

Βι = Β (ξι; �) ; ι = 0; :::; κ � 1

ωιτη � το βε χηοσεν λατερ. Νοτε τηατ ιφ ψι 2 Βι, τηεν δ (ψι; ψι+1) � 2�=κ + 2�.
Βψ τηε ρεπροδυχτιον προπερτψ (Χορολλαρψ 3.7),

ηΑ (τ; ξ; ψ) =Ζ

Ρν

:::

Ζ

Ρν

ηΑ

�
τ

κ
; ξ; ψ1

�
ηΑ

�
τ

κ
; ψ1; ψ2

�
:::ηΑ

�
τ

κ
; ψκ�1; ψ

�
δψ1δψ2:::δψκ�1 �

�
Ζ
:::

Ζ

Β1�:::�Βκ�1

ηΑ

�
τ

κ
; ξ; ψ1

�
ηΑ

�
τ

κ
; ψ1; ψ2

�
:::ηΑ

�
τ

κ
; ψκ�1; ψ

�
δψ1δψ2:::δψκ�1

(7.7)

Το αππλψ Λεµµα 7.2 το εαχη φαχτορ ιν τηε ιντεγραλ (7.7), ωε νεεδ το κνοω τηατ

δ2 (ψι; ψι+1) �
χ1τ

κ
φορ ανψ ψι 2 Βι; ανδ

τ

κ
< ∀:

Τηισ φολλοωσ φροµ �
2�

κ
+ 2�

�2
� χ1τ

κ
ανδ

Τ

κ
< ∀

ωηιχη, ιν τυρν, ηολδ προϖιδεδ

� =
1

4

ρ
χ1τ

κ
; κ � Τ

∀
ανδ κ � 16�2

χ1τ
:

Τηεν ωε χηοοσε κ συχη τηατ

κ � 16�2

χ1τ
+
Τ

∀
+ 1 � κ + 1

ανδ γετ, βψ (7.7) ανδ Λεµµα 7.2,

ηΑ (τ; ξ; ψ) �
χ0���Β

�
ξ;
π
τ=κ
����

χ0

���Β
�
ξ1;

1
4

θ
χ1τ
κ

����
���Β
�
ψ1;
π
τ=κ
����

� ::: �
χ0Β

�
ξκ�1;

1
4

θ
χ1τ
κ

�

���Β
�
ψκ�1;

π
τ=κ
����

�
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βψ τηε δουβλινγ προπερτψ

� χκ0χ
κ�1
2���Β

�
ξ;
π
τ=κ
����
� χ ε��κ��Β

�
ξ;
π
τ
��� :

Νοω: ιφ 16�
2

χ1τ
� Τ

∀ ; τηεν κ �
32�2

χ1τ
ανδ

ηΑ (τ; ξ; ψ) � χ
ε��κ��Β
�
ξ;
π
τ
��� � χ

ε��δ
2(ξ;ψ)=τ

��Β
�
ξ;
π
τ
��� ;

ιφ 16�
2

χ1τ
� Τ

∀ ; τηεν κ � 2Τ
∀ ανδ

ηΑ (τ; ξ; ψ) � χ
ε��κ��Β
�
ξ;
π
τ
��� � χ

ε��Τ=∀��Β
�
ξ;
π
τ
��� � χε

��Τ=∀ ε
��δ2(ξ;ψ)=τ
��Β
�
ξ;
π
τ
��� :

Σο ιν ανψ χασε ωε γετ τηε χονχλυσιον.

Ρεµαρκ 7.4 Φροµ Τηεορεµ 7.1 ανδ τηε δουβλινγ χονδιτιον, ωε αλσο ρεαδ τηατ,
φορ ανψ �0 > 0, ανψ Α 2 Β�

ε��
0δ(ξ;ψ)2=τ

��Β
�
ξ;
π
τ
��� � χ (�

0; Τ )ηΑ (χ1 (�
0) τ; ξ; ψ)

φορ ανψ τ 2 (0; Τ ) ; ξ; ψ 2 Ρν. Ωε ωιλλ υσε σεϖεραλ τιµεσ τηισ προπερτψ, ιν τηε
φολλοωινγ σεχτιονσ.

8 Υνιφορµ υππερ βουνδσ φορ τηε δεριϖατιϖεσ οφ

φυνδαµενταλ σολυτιονσ

Φολλοωινγ α τεχηνιθυε αλρεαδψ εξπλοιτεδ ιν [30], ιν τηισ σεχτιον ωε ωιλλ σηοω ηοω
τηε υνιφορµ υππερ βουνδ προϖεδ ιν Τηεορεµ 6.16 ιµπλιεσ αν αναλογουσ υππερ
βουνδ ον τηε δεριϖατιϖεσ οφ ηΑ:

Τηεορεµ 8.1 Τηερε εξιστσ � = χ συχη τηατ, φορ εϖερψ νοννεγατιϖε ιντεγερ ι,
µυλτιινδιχεσ Ι; ϑ; ανδ φορ ανψ Τ > 0, ωε ηαϖε

��≅ιτΞξ
ΙΞ

ψ
ϑηΑ (τ; ξ; ψ)

�� � χ (ι; Ι; ϑ; Τ ) τ�ι�(ϕΙϕ+ϕϑϕ)=2 ε
��δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
���

φορ εϖερψ ξ; ψ 2 Ρν; τ 2 (0; Τ ) :

Τηε κεψ τοολ το προϖε τηε αβοϖε Τηεορεµ ισ τηε υσε οφ συιταβλε �διλατιονσ�
ωηιχη εξιστ εϖεν ιν τηισ νον−ηοµογενεουσ χοντεξτ, δυε το τηε φολλοωινγ ρεσυλτ
οφ Φε⁄ερµαν ανδ Σανχηεζ−Χαλλε (σεε [24], Λεµµα 3 π.253; σεε αλσο [30], Λεµµα
3 π.851), ωηιχη ωε στατε ηερε ιν α φασηιον αδαπτεδ το ουρ χοντεξτ:
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Λεµµα 8.2 Τηερε εξιστ χονσταντσ χ; χ0 2 (0; 1) συχη τηατ γιϖεν ανψ µετριχ βαλλ
Β = Β (ξ; ρ) � Ρν τηερε ισ α σµοοτη ινϖερτιβλε µαπ �Β : [�1; 1]ν ! Β; σατισφψ−
ινγ:
ι) �Β ([�1; 1]ν) � Β (ξ; χρ) � �Β

�
[�χ0; χ0]ν

�
;�Β (0) = ξ;

ιι) τηε πυση−φορωαρδ
�
��1Β

�
� (Ξϕ) �

�
Ξϕ

�
φ � ��1Β

��
� �Β = ρ�1Ζϕ;Β ; τηε χοε′−

χιεντσ οφ Ζϕ;Β ηαϖινγ αλλ τηειρ δεριϖατιϖεσ βουνδεδ ινδεπενδεντλψ οφ Β;
ιιι) Ιφ ΛΒΑ ισ δε�νεδ βψ

ΛΒΑ (φ) =
�
ρ2ΛΑ

�
φ � ��1Β

��
� �Β ;

0
≅ΛΒΑ =

µΞ

ι;ϕ=1

αιϕΖι;ΒΖϕ;Β

1
Α

τηεν τηε φαµιλψ
�
ΛΒΑ
	
ισ υνιφορµλψ συβελλιπτιχ, ωηιχη µεανσ ιν παρτιχυλαρ τηατ:

φορ εϖερψ χουπλε οφ χυτο⁄ φυνχτιονσ ∋1; ∋2;ωιτη ∋2 = 1 ον συππ∋1; ανδ εϖερψ
σ > 0; τηερε εξιστσ α χονσταντ χ (σ; ∋1; ∋2) συχη τηατ

κ∋1ωκΗσ � χ (σ; ∋1; ∋2)
�

∋2

�
≅τ � ΛΒΑ

�
ω



Ησ + κ∋2ωκΛ2

	
(8.1)

φορ εϖερψ ω 2 Χ1 (συππ∋2) : Ιν παρτιχυλαρ, χ ισ ινδεπενδεντ οφ Β, ανδ δεπενδσ
ον Α ονλψ τηρουγη �: (Αχτυαλλψ, ωε ωιλλ προϖε (8.1) ονλψ φορ σ εϖεν ιντεγερ, βυτ
τηισ ωιλλ βε ενουγη το χοµπλετε τηε προοφ οφ Τηεορεµ 8.1).

ιϖ) Φιναλλψ, ιφ ωε ρεπλαχε ΛΑ ωιτη Λ
�
Α ανδ Λ

Β
Α ωιτη (Λ

�
Α)
Β
; (8.1) στιλλ ηολδσ φορ

(Λ�Α)
Β
.

Προοφ οφ τηε Λεµµα. Τηε µαπ �Β ισ τηε ονε χονστρυχτεδ βψ Φε⁄ερµαν−
Σανχηεζ−Χαλλε ιν [24, ♣1], δεπενδινγ ον τηε ϖεχτορ �ελδσ Ξ1; Ξ2; :::; Ξµ ανδ τηε
βαλλ Β (βυτ νοτ τηε χοε′χιεντσ αιϕ). Τηεψ προϖε ι), ιι); τηεψ αλσο προϖε ιιι) φορ α
�ξεδ µατριξ Α. Ιν ορδερ το οβταιν υνιφορµ συβελλιπτιχ εστιµατε αδαπτεδ το ουρ
χοντεξτ (τηατ ισ, υνιφορµ ωιτη ρεσπεχτ το βοτη τηε µατριξ Α ανδ τηε βαλλ Β) ωε
χαν ρεϖισε τηε προοφ οφ τηεσε εστιµατεσ ασ γιϖεν βψ Κοην ιν [31]. Τηισ ινσπεχτιον
σηοωσ τηατ:
1. Ρεπλαχινγ τηε οπερατορ

Π
Ζ2ι ωιτη

Π
αιϕΖιΖϕ ισ ηαρµλεσσ, σινχε τηε φεω

ινεθυαλιτιεσ ωηιχη εξπλιχιτλψ ινϖολϖε τηε χοε′χιεντσ αιϕ (ανδ νοτ ονλψ τηε ϖεχτορ
�ελδσ) χαν βε χαρριεδ ουτ βψ ουρ ελλιπτιχιτψ ασσυµπτιον (Η2), γεττινγ χονσταντσ
δεπενδινγ ον τηε αιϕ �σ ονλψ τηρουγη τηε νυµβερ � (τηισ φαχτ ηασ αλρεαδψ βεεν
ποιντεδ ουτ ιν [9, Τηεορεµ 20]).
2. Ρεπλαχινγ α ��ξεδ� σψστεµ οφ ϖεχτορ �ελδσ ωιτη ονε δεπενδινγ ον α

παραµετερ (ασ τηε σψστεµ Ζϕ;Β δεπενδινγ ον τηε βαλλ Β) κεεπσ υνιφορµ βουνδσ,
ασ σοον ασ ωε χηεχκ τηατ:
2.α. Τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ Ζϕ;Β ανδ τηειρ δεριϖατιϖεσ αρε

βουνδεδ ινδεπενδεντλψ οφ Β (ωε αλρεαδψ κνοω τηισ φαχτ βψ ποιντ (ιι)).
2.β. Ανψ διρεχτιον ωϕ χαν βε οβταινεδ βψ µεανσ οφ τηε ϖεχτορ �ελδσ Ζϕ;Β ανδ

τηειρ χοµµυτατορσ υσινγ χοε′χιεντσ τηατ αρε υνιφορµλψ βουνδεδ. Μορε πρεχισελψ
ονε χαν ωριτε ≅ωϕ =

Π
Ι �Ι;ΒΖΙ;Β ωιτη χοε′χιεντσ �Ι;Β βουνδεδ ινδεπενδεντλψ

οφ Β. (Τηισ ισ νεεδεδ ιν τηε �Προοφ οφ Τηεορεµ Η�, σεε [31, π. 65]).
2.χ. Ιφ ωε δε�νε τηε οπερατορ �σ σεττινγ:

∴(�σφ) (�) =
�
1 + ϕ�ϕ2

�σ=2 βφ (�) ;
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τηεν τηε χοµµυτατορ �
ΛΒΑ ;�

σ
�

ισ οφ τψπε σ+ 1, υνιφορµλψ ωιτη ρεσπεχτ το Α;Β, τηατ ισ:


�ΛΒΑ ;�σ

�
υ



Λ2
� χ κυκΗσ+1 φορ ανψ σ > 0,

ωηερε Ησ ισ τηε στανδαρδ Σοβολεϖ σπαχε οφ φραχτιοναλ ορδερ. (Τηισ ισ νεεδεδ ιν
τηε προοφ οφ (11) ιν [31, π. 64]). Σο, λετ υσ προϖε 2.β ανδ 2.χ.
Προοφ οφ 2.β. Λετ

ΨΒγ (ξ) = ρ�1≅ωϕ [γ (�Β (�))]
�
��1Β (ξ)

�
:

Βψ [24, Λεµµα 1] ϕ≅ωι�Β (ω)ϕ 6 χρ ανδ τηερεφορε ΨΒ ηασ υνιφορµλψ βουνδεδ
χοε′χιεντσ. Ασσυµε τηατ ΨΒγ (ξ) =

Π
αι≅ξι . Αππλψινγ Ηρµανδερ�σ το ≅ξι

σηοωσ τηατ ωε χαν ωριτε

ΨΒγ (ξ) =
Ξ

Ι

�Ι;ΒΞΙγ (ξ)

φορ συιταβλε υνιφορµλψ βουνδεδ χοε′χιεντσ �Ι;Β .
Βψ Λεµµα 8.2 ιι) ωε ηαϖε ΞΙγ = ρ�1ΖΙ;Β [γ (�Β (�))] ανδ χονσεθυεντλψ

ρ�1≅ωϕ [γ (�Β (�))] = ρ�1
Ξ

Ι

�Ι;ΒΖΙ;Β [γ (�Β (�))]

τηατ ισ
≅ωϕ =

Ξ

Ι

�Ι;ΒΖΙ;Β :

Προοφ οφ 2.χ. Τηε βουνδ


�ΛΒΑ ;�σ

�
υ



Λ2
� χ κυκΗσ+1

ωιλλ βε προϖεδ ασ σοον ασ ωε σηοω τηατ τηε χοµµυτατορ [α;�σ], ωηερε α δενοτεσ
µυλτιπλιχατιον βψ α σµοοτη φυνχτιον α, ισ οφ τψπε σ� 1, τηατ ισ

κ[α;�σ]υκΛ2 � χ κυκΗσ�1 ; (8.2)

ωιτη χ δεπενδινγ ον α ονλψ τηρουγη υππερ βουνδσ ον α ανδ ιτσ δεριϖατιϖεσ. Λετ
υσ προϖε (8.2) φορ σ εϖεν ιντεγερ. Λετ � βε τηε στανδαρδ Λαπλαχε οπερατορ. Φορ
ανψ ποσιτιϖε ιντεγερ η, ωε ηαϖε

∴(�ηφ) (�) = (�1)η ϕ�ϕ2η βφ (�) ;

ηενχε

∴(�2κφ) (�) =
�
1 + ϕ�ϕ2

�κ βφ (�) =

=
κΞ

η=0

�
κ

η

�
ϕ�ϕ2η βφ (�) =

κΞ

η=0

�
κ

η

�
(�1)η ∴(�ηφ) (�)
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ανδ

�2κφ =
κΞ

η=0

�
κ

η

�
(�1)η�ηφ

ισ α χονσταντ χοε′χιεντ δι⁄ερεντιαλ οπερατορ οφ ορδερ 2κ. Τηερεφορε
�
�2κ; α

�
ισ α

δι⁄ερεντιαλ οπερατορ οφ ορδερ 2κ� 1, ωιτη χοε′χιεντσ γιϖεν βψ α ανδ δεριϖατιϖεσ
οφ α οφ ορδερ υπ το 2κ. Τηισ προϖεσ (8.2), ανδ τηερεφορε (4.16), φορ σ εϖεν ιντεγερ.
Ασ το ποιντ ιϖ), τηε σαµε ρεασονινγ οφ ποιντ ιιι) αππλιεσ.

Προοφ οφ τηε Τηεορεµ. Ηερε ωε φολλοω τηε αργυµεντ ιν [30], ππ.851−2.
Φιξ τ0 2 (0; Τ ) ; ξ0; ψ0 2 Ρν. Ωηιλε ιν [30] τηε Αυτηορσ ονλψ ηαϖε το χαρε

αβουτ τηε χασε τ0 � δ (ξ0; ψ0)
2
; ωε ηαϖε το ηανδλε σεπαρατελψ τωο χασεσ.

ι) 4τ0 � δ (ξ0; ψ0)
2
: Μακινγ τηε χηανγε οφ ϖαριαβλεσ τ = τ0σ; ξ = �Β (ζ) ; ωιτη

Β = Β
�
ξ0;
π
τ0
�
, ωε σεε τηατ τηε φυνχτιον υ (σ; ζ) = η (τ; ξ; ψ0) σατισ�εσ, βψ

Χορολλαρψ 6.18,

�
≅σ � ΛΒΑ

�
υ (σ; ζ) = 0 ιφ ϕσϕ � 2; ϕζϕ � 1

ϕυ (σ; ζ)ϕ � χ (Τ ) ε
��δ(ξ;ψ0)2=τ
��Β
�
ξ;
π
τ
��� � χ (Τ )

ε��δ(ξ0;ψ0)
2=τ0

��Β
�
ξ0;
π
τ0
��� ιφ

1

2
� ϕσϕ � 2; ϕζϕ � 1

βεχαυσε:
��Β
�
ξ;
π
τ
��� ∋

��Β
�
ξ0;
π
τ0
��� σινχε τ ∋ τ0 ανδ ξ 2 Β

�
ξ0;
π
τ0
�
; δ (ξ; ψ0) ∋

δ (ξ0; ψ0) σινχε δ (ξ0; ψ0) � 2
π
τ0 > 2δ (ξ; ξ0) : Νοω, αππλψ (8.1) το υ χηοοσ−

ινγ ∋1 � 1 ον φ3=4 � ϕσϕ � 3=2; ϕζϕ � χ0γ ; ∋2 � 1 ον σπρτ∋1; ανδ σπρτ∋2 �
φ1=2 � ϕσϕ � 2; ϕζϕ � 1γ:

κ∋1υκΗ� � χ (�; ∋1; ∋2) κ∋2υκΛ2

ηενχε, φορ ανψ ιντεγερ κ (αππλψινγ τηε πρεϖιουσ ινεθυαλιτψ ωιτη � = � (κ) λαργε
ενουγη)

κυκΧκ(φ3=4�ϕσϕ�3=2;ϕζϕ�χ0γ) � χ (Τ; κ)
ε��δ(ξ0;ψ0)

2=τ0
��Β
�
ξ0;
π
τ0
��� :

Ιν παρτιχυλαρ, βψ Λεµµα 8.2 ιι),

��≅ιτΞξ
Ι ηΑ (τ0; ξ0; ψ0)

�� = τ
�ι�ϕΙϕ=2
0

��≅ισΖΙ;Βυ (1; 0)
��

� χτ�ι�ϕΙϕ=20 κυκΧι+ϕΙϕ(φ3=4�ϕσϕ�3=2;ϕζϕ�χ0γ)

� χ (Τ; ι; ϕΙϕ) τ�ι�ϕΙϕ=20

ε��δ(ξ0;ψ0)
2=τ0

��Β
�
ξ0;
π
τ0
��� :

ιι) 4τ0 � δ (ξ0; ψ0)
2
: Ωιτη τηε σαµε χηανγε οφ ϖαριαβλεσ, ωε σεε τηατ

�
≅σ � ΛΒΑ

�
υ (σ; ζ) = 0 ιφ

1

2
� σ � 2; ϕζϕ � 1:

Νοτε τηατ ιν τηισ χασε, χονδιτιονσ δ (ξ; ξ0) <
π
τ0 ανδ 4τ0 � δ (ξ0; ψ0)

2
αλλοω ξ

το ρεαχη ψ0; νεϖερτηελεσσ, χονδιτιον
1
2 � σ � 2 κεεπσ τ φαρ ο⁄ 0, σο ηΑ (τ; ξ; ψ0) ισ
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α σολυτιον ιν τηε χορρεσπονδινγ ρεγιον. Βψ Χορολλαρψ 6.18, ιφ 12 � σ � 2; ϕζϕ � 1

ϕυ (σ; ζ)ϕ � χ (Τ ) ε
��δ(ξ;ψ0)2=τ
��Β
�
ξ;
π
τ
���

� χ (Τ ) ε
��δ(ξ;ψ0)2=τ
��Β
�
ξ;
π
τ0
��� � χ (Τ )

ε��δ(ξ;ψ0)
2=τ

��Β
�
ξ0;
π
τ0
���

βεχαυσε δ (ξ; ξ0) <
π
τ0 ιµπλιεσ

��Β
�
ξ;
π
τ0
��� ∋

��Β
�
ξ0;
π
τ0
���

� χ (Τ ) 1��Β
�
ξ0;
π
τ0
��� � χ (Τ )

ε��
0δ(ξ0;ψ0)

2=τ0
��Β
�
ξ0;
π
τ0
���

βεχαυσε 4τ0 � δ (ξ0; ψ0)
2
: Ηενχε τηε σαµε αργυµεντ οφ χασε ι) χαν βε ρεπεατεδ,

το χονχλυδε τηε προοφ. Τηε εστιµατεσ οφ τηε δεριϖατιϖεσ ιν ψ φολλοω ασ ιν τηε
προοφ οφ Τηεορεµ 3, π.852, [30]: ωε ωιλλ πρεσεντ τηισ τεχηνιθυε ιν δεταιλ ιν τηε
προοφ οφ νεξτ Τηεορεµ 9.1.

9 Υνιφορµ υππερ βουνδσ ον τηε δι⁄ερενχε οφ τηε

φυνδαµενταλ σολυτιονσ οφ τωο οπερατορσ

Ιν τηισ σεχτιον ωε ωαντ το προϖε τηε φολλοωινγ

Τηεορεµ 9.1 Φορ Α;Β 2 Β�; λετ ηΑ; ηΒ βε φυνδαµενταλ σολυτιονσ οφ ΗΑ;ΗΒ,
ρεσπεχτιϖελψ. Τηεν, φορ ανψ νοννεγατιϖε ιντεγερ ι, χουπλε οφ µυλτιινδιχεσ Ι; ϑ ,
ανδ Τ > 0, ωε ηαϖε

���≅ιτΞξ
ΙΞ

ψ
ϑηΑ � ≅ιτΞξ

ΙΞ
ψ
ϑηΒ

�
(τ; ξ; ψ)

�� � (9.1)

� χ (ι; Ι; ϑ; Τ ) κΑ�Βκ τ�ι�(ϕΙϕ+ϕϑϕ)=2 ε
�χ0δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
���

φορ εϖερψ ξ; ψ 2 Ρν; τ 2 (0; Τ ).

Προοφ. Ιτ ισ ενουγη το προϖε (9.1) ωηεν Α;Β δι⁄ερ φορ α σινγλε χοε′χιεντ, ανδ
τηεν ιτερατε; σο, ασσυµε:

ΗΑ �ΗΒ = (� � �) (ΞΨ + Ψ Ξ)

ωηερε Ξ;Ψ αρε ανψ τωο οφ τηε ϖεχτορ �ελδσ Ξ1; :::; Ξµ: ∆υε το ουρ ασσυµπτιονσ
ον τηε Ξι�σ ανδ τηε στρυχτυρε οφ τηε µατριξ Α 2 Β� (σεε τηε Ηψποτηεσεσ ιν
Σεχτιον 3), τηε ϖεχτορ �ελδσ Ξ;Ψ ωιλλ ϖανιση ουτσιδε α χοµπαχτ σετ. Αλσο, ωε
ωιλλ ωριτε η�; η� ;Η�;Η� φορ ηΑ; ηΒ ;ΗΑ;ΗΒ ρεσπεχτιϖελψ.
Τηε προοφ προχεεδσ ιν τηρεε στεπσ.
Στεπ 1. Ωε ωιλλ προϖε �ρστ (9.1) ωηεν ι + ϕΙϕ + ϕϑ ϕ = 0. Ωε σταρτ νοτινγ

τηατ:
Η� (η� � η�) = (Η� �Η�)η� = (�� �) (ΞΨ η� + Ψ Ξη�) (9.2)

72



ωηερε αλλ τηε φυνδαµενταλ σολυτιονσ αρε ωριττεν ασ η (τ; ξ; ω) ; ωιτη πολε ατ τηε
ποιντ (0; ω) : Λετ Τ1 βε τηε διστριβυτιον (ΞΨ η�) (0; �; ω), ι.ε.

ηΤ1; ∋ι =
Ζ

Ρν

Ζ +1

0

η� (τ; ξ; ω)Ψ
�Ξ�∋ (τ; ξ) δτδξ

=

Ζ

Ρν

Ζ +1

0

Ψξη� (τ; ξ; ω)Ξ
�∋ (τ; ξ) δτδξ

= λιµ
∀!0

Ζ

Ρν

Ζ +1

∀

Ψξη� (τ; ξ; ω)Ξ
�∋ (τ; ξ) δτδξ

= λιµ
∀!0

Ζ

Ρν

Ζ +1

∀

ΞξΨξη� (τ; ξ; ω)∋ (τ; ξ) δτδξ:

Λετ

υ1 (�; ψ) = λιµ
∀!0

Ζ

Ρν

Ζ +1

∀

ΞξΨξη� (τ; ξ; ω)η� (� � τ; ψ; ξ) δτδξ

=

Ζ

Ρν

Ζ +1

0

Ψξη� (τ; ξ; ω)Ξ
�
ξη� (� � τ; ψ; ξ) δτδξ

Ωε ωαντ το σηοω τηατ
Η�υ1 = Τ1;

ι.ε.
ηυ1;Η�

�∋ι = ηΤ1; ∋ι :
Ωε ηαϖε
Ζ

Ρν

Ζ +1

�1
υ1 (�; ψ)Η

�
�∋ (�; ψ) δψδ�

=

Ζ

Ρν

Ζ +1

�1

�Ζ

Ρν

Ζ +1

0

Ψξη� (τ; ξ; ω)Ξ
�
ξη� (� � τ; ψ; ξ) δτδξ

�
Η�
�∋ (�; ψ) δψδ�

= λιµ
∀!0

Ζ

Ρν

Ζ +1

�1

�Ζ

Ρν

Ζ +1

∀

Ψξη� (τ; ξ; ω)Ξ
�
ξη� (� � τ; ψ; ξ) δτδξ

�
Η�
�∋ (�; ψ) δψδ�

= λιµ
∀!0

Ζ

Ρν

Ζ +1

�1

�Ζ

Ρν

Ζ +1

∀

ΞξΨξη� (τ; ξ; ω)η� (� � τ; ψ; ξ) δτδξ
�
Η�
�∋ (�; ψ) δψδ�

= λιµ
∀!0

Ζ

Ρν

Ζ +1

∀

ΞξΨξη� (τ; ξ; ω)

�Ζ

Ρν

Ζ +1

�1
η� (� � τ; ψ; ξ)Η�

�∋ (�; ψ) δψδ�

�
δτδξ

= λιµ
∀!0

Ζ

Ρν

Ζ +1

∀

ΞξΨξη� (τ; ξ; ω)∋ (τ; ξ) δτδξ

= ηΤ1; ∋ι

ωηερε ωε υσεδ τηε φαχτ τηατ
Ζ

Ρν

Ζ +1

�1
η� (� � τ; ψ; ξ)Η�

�∋ (�; ψ) δψδ� = ∋ (τ; ξ)

73



σινχε Η
(�;ψ)
� η� (� � τ; ψ; ξ) = �(τ;ξ) (�; ψ) : Αναλογουσλψ, ιφ ωε δε�νε

υ (�; ψ) =

Ζ

Ρν

Ζ +1

0

Ψξη� (τ; ξ; ω)Ξ
�
ξη� (� � τ; ψ; ξ) δτδξ+

+

Ζ

Ρν

Ζ +1

0

Ξξη� (τ; ξ; ω)Ψ
�
ξ η� (� � τ; ψ; ξ) δτδξ

ωε �νδ τηατ Η�υ = (ΞΨ η� + Ψ Ξη�) = Η�

�
η��η�
���

�
; σο τηατ ϖ = υ�

�
η��η�
���

�

σατισ�εσ τηε εθυατιον Η�ϖ = 0 ιν τηε ωηολε σπαχε, ιν διστριβυτιοναλ σενσε. Νεξτ,
ωε ρεχαλλ τηατ, φορ ανψ �ξεδ �; �;

����
η� � η�
�� � (τ; ξ; ψ)

���� � χ (�; �; Τ )η (χ1τ; ξ; ψ)

φορ ανψ ξ; ψ 2 Ρν ανδ τ 2 (0; Τ ) βψ Χορολλαρψ 6.18 ανδ Ρεµαρκ 7.4. Ηερε
η στανδσ φορ τηε φυνδαµενταλ σολυτιον οφ τηε οπερατορ ΗΑ ωηερε Α =ιδεντιτψ
µατριξ. Ωε αρε γοινγ το σηοω τηατ υ σατισ�εσ α σιµιλαρ βουνδ, υνιφορµλψ ιν
�; �; φορ ανψ ξ; ψ 2 Ρν ανδ τ 2 (0; Τ ). Τηισ ιµπλιεσ τηατ:
ι) ϖ ϖανισηεσ ατ ιν�νιτψ ανδ τηερεφορε ισ ιδεντιχαλλψ ζερο, βψ τηε µαξι−

µυµ πρινχιπλε (Προποσιτιον 3.6), σο υ = (η� � η�) = (� � �);

ιι)

����
η� � η�
� � � (τ; ξ; ψ)

���� = ϕυ (τ; ξ; ψ)ϕ � χ (Τ )η (χ1τ; ξ; ψ)

ανδ �ναλλψ

ϕ(η� � η�) (τ; ξ; ψ)ϕ � χ (Τ ) ϕ� � �ϕη (χτ; ξ; ψ) (9.3)

� χ (Τ ) ϕ� � �ϕ ε
�χ0δ(ξ;ψ)2=τ
��Β
�
ξ;
π
τ
���

φορ ανψ ξ; ψ 2 Ρν ανδ τ 2 (0; Τ ), αγαιν βψ Χορολλαρψ 6.18. Σο, λετ υσ προϖε τηε
βουνδ φορ υ1; αναλογουσλψ ονε χαν προϖε τηε βουνδ φορ τηε ωηολε υ. Ρεχαλλ τηατ

υ1 (�; ψ) =

Ζ

Ρν

Ζ �

0

Ψξη� (τ; ξ; ω)Ξ
�
ξη� (� � τ; ψ; ξ) δτδξ:

Βψ Τηεορεµ 8.1 ανδ Ρεµαρκ 7.4

ϕΨξη� (τ; ξ; ω)ϕ � χ (Τ ) τ�1=2η (χ1τ; ξ; ω) φορ ξ;ω 2 Ρν; 0 < τ < Τ:

Αλσο,
Ξ�
ξη� (τ; ψ; ξ) = �Ξξη� (τ; ψ; ξ) + χ (ξ)η� (τ; ψ; ξ)

ηενχε

ϕΞ�
ξη� (τ; ψ; ξ)ϕ � χ (Τ ) τ�1=2

ε�χ
0δ(ξ;ψ)2=τ

��Β
�
ψ;
π
τ
��� � χ (Τ ) τ

�1=2η (χ1τ; ψ; ξ)
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φορ ξ; ψ 2 Ρν; 0 < τ < Τ . Τηισ ιµπλιεσ τηατ

ϕυ1 (�; ψ)ϕ �
Ζ

Ρν

Ζ +1

0

ϕΨξη� (τ; ξ; ω)Ξ�
ξη� (� � τ; ψ; ξ)ϕ δτδξ �

� χ (Τ )
Ζ

ΡΝ

Ζ +1

0

τ�1=2η (χ1τ; ξ; ω) (� � τ)�1=2 η (χ1 (� � τ) ; ψ; ξ) δτδξ =

= χ (Τ )

Ζ �

0

τ�1=2 (� � τ)�1=2 δτ � η (χ1�; ψ; ω) = χ (Τ )η (χ1�; ψ; ω)

ωηερε ωε υσεδ τηε ρεπροδυχτιον προπερτψ (3.4). Τηισ ενδσ τηε προοφ οφ (9.3).
Στεπ 2. Ουρ νεξτ γοαλ ισ το εξτενδ τηισ ρεσυλτ το:

���≅ιτΞξ
Ι η� � ≅ιτΞξ

Ι η�
�
(τ; ξ; ψ)

�� � χ (Τ; ι; ϕΙϕ) ϕ� � �ϕ τ�ι�ϕΙϕ=2η (χ1τ; ξ; ψ) : (9.4)

Ηερε ωε φολλοω τηε σαµε τεχηνιθυε οφ τηε προοφ οφ Τηεορεµ 8.1.
Σο, λετ 4τ0 � δ (ξ0; ψ0)

2
; ανδ µακε τηε χηανγε οφ ϖαριαβλεσ τ = τ0σ; ξ = �Β (ζ)

ωιτη Β = Β
�
ξ0;
π
τ0
�
. Λετ

υ (σ; ζ) = (η� � η�) (τ; ξ; ψ0) :

Βψ (9.2), ωε κνοω τηατ, φορ 1=2 < σ < 2; ϕζϕ � 1;
�
≅σ � ΛΒΑ

�
υ (σ; ζ) = τ0 (�� �) (ΞΨ η� + Ψ Ξη�) (τ; ξ; ψ0) :

Αλσο, βψ (9.3), ιν τηε σαµε ρεγιον ωε ηαϖε

ϕυ (σ; ζ)ϕ � χ (Τ ) ϕ� � �ϕ ε
�χδ(ξ;ψ0)2=τ
��Β
�
ξ;
π
τ
���

� χ (Τ ) ϕ� � �ϕ ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
���

ωηερε τηε λαστ ινεθυαλιτψ ισ προϖεδ ασ ιν τηε προοφ οφ Τηεορεµ 8.1, χασε ι). Ον
τηε οτηερ ηανδ,

��≅ιτΞξ
Ι (η� � η�) (τ0; ξ0; ψ0)

�� � τ
�ι�ϕΙϕ=2
0

��≅ισΖΙ;Βυ (1; 0)
�� �

� τ
�ι�ϕΙϕ=2
0 κυκΧι+ϕΙϕ( 34<ϕσϕ< 3

2 ;ϕζϕ<1)

φορ � λαργε ενουγη

� χτ�ι�ϕΙϕ=20 κ∋1υκΗ�

βψ τηε υνιφορµ συβελλιπτιχ εστιµατε (4.8), χηοοσινγ τηε σαµε χυτο⁄ φυνχτιονσ ασ
αβοϖε

� χτ�ι�ϕΙϕ=20

(
χ (Τ ) ϕ� � �ϕ ε

�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
��� +



∋2
�
≅σ � ΛΒΑ

�
υ



Η�

)
:
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Βυτ:

∋2
�
≅σ � ΛΒΑ

�
υ (σ; ζ) = ∋2τ0 (�� �) (ΞΨ η� + Ψ Ξη�) (τ0σ;�Β (ζ) ; ψ0) :

Ρεχαλλινγ τηατ, βψ Λεµµα 8.2, ιι),

�
��1Β

�
� (Ξϕ) = τ

�1=2
0 Ζϕ;Β

ωε ηαϖε:

ϕΖϕ;Β [τ0 (ΞΨ η� + Ψ Ξη�) (τ0σ;�Β (ζ) ; ψ0)]ϕ

=
���τ3=20 (ΞϕΞΨ η� +ΞϕΨ Ξη�) (τ0σ;�Β (ζ) ; ψ0)

���

� χ (Τ ) ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
���

βψ Τηεορεµ 8.1. Ιτερατινγ τηισ αργυµεντ, ωε �νδ τηατ

ϕ≅πτ Ζϕ1;ΒΖϕ2;Β :::Ζϕκ;Β [τ0 (ΞΨ η� + Ψ Ξη�) (τ0σ;�Β (ζ) ; ψ0)]ϕ

� χ (Τ; π; κ) ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
��� :

Εξπρεσσινγ στανδαρδ δεριϖατιϖεσ ιν τερµσ οφ ϖεχτορ �ελδσ, ονε ηασ



∋2
�
≅σ � ΛΒΑ

�
υ



Η� � χ (Τ; �)

ε�χδ(ξ0;ψ0)
2=τ0

��Β
�
ξ0;
π
τ0
���

ανδ �ναλλψ (ρεχαλλινγ τηατ � ονλψ δεπενδσ ον ι; ϕΙϕ)

��≅ιτΞξ
Ι (η� � η�) (τ0; ξ0; ψ0)

�� � χ (Τ; ι; ϕΙϕ) τ�ι�ϕΙϕ=20 ϕ�� �ϕ ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
��� :

Τηε χασε 4τ0 � δ (ξ0; ψ0)
2
χαν βε ηανδλεδ σιµιλαρλψ, αδαπτινγ τηε προοφ οφ Τηε−

ορεµ 8.1, σεχονδ χασε.
Στεπ 3. Φιναλλψ, ωε χοµε το τηε εστιµατεσ ον ψ−δεριϖατιϖεσ. Ωε σταρτ νοτινγ

τηατ, ιφΞ1; Ξ2; :::; Ξµ αρε γενεραλ Ηρµανδερ ϖεχτορ �ελδσ,Ξϕ =
Πν
ι=1 βϕι (ξ) ≅ξι ,

τηεν

Ξ�
ϕ = �Ξϕ + αϕ ωιτη αϕ = �

νΞ

ι=1

≅ξι (βϕι)

Ωιτη α σλιγητ αβυσε οφ νοτατιον, ηερε ωε ωιλλ ωριτε:

Η�
� = ≅τ � Λ��

Σινχε τηε µατριξ Α ισ σψµµετριχ, τηε φυνδαµενταλ σολυτιον οφ Η�
� ισ η

� (τ; ξ; ψ) =
η (τ; ψ; ξ), ανδ

Η�
�

�
η�� � η��

�
(τ; ξ; ψ) =

�
Η�
� �Η�

�

�
η�� =

�
Λ�� � Λ��

�
η�� =

= (�� �)
��
ΞΨ η�� + Ψ Ξη

�
�

�
+ αΞη�� + βΨ η

�
� + χη

�
�

	
(τ; ξ; ψ)
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φορ συιταβλε σµοοτη φυνχτιονσ α; β; χ δεπενδινγ ονλψ ον τηε ϖεχτορ �ελδσ Ξι; τηε
�ελδσ Ξ;Ψ ανδ τηε οπερατορ Η�

� αχτ ον τηε ξ ϖαριαβλε. ∆ι⁄ερεντιατινγ τηε αβοϖε
ιδεντιτψ ωιτη ρεσπεχτ το ≅ιτΞ

ψ
ϑ (ωηιχη χοµµυτεσ ωιτη Ξ;Ψ;Η

�
�), ωε ωριτε:

Η�
�

�
≅ιτΞ

ψ
ϑη

�
� � ≅ιτΞψ

ϑη
�
�

�
(τ; ξ; ψ)

= (�� �)
��
≅ιτΞΨΞ

ψ
ϑη

�
� + ≅

ι
τΨ ΞΞ

ψ
ϑη

�
�

�
+

+α≅ιτΞΞ
ψ
ϑη

�
� + β≅

ι
τΨ Ξ

ψ
ϑη

�
� + χ≅

ι
τΞ

ψ
ϑη

�
� (τ; ξ; ψ)

	
:

Ωε ονλψ τρεατ τηε χασε 4τ0 � δ (ξ0; ψ0)
2
; τηε οτηερ χασε βεινγ σιµιλαρ. Ωιτη τηε

σαµε χηανγε οφ ϖαριαβλεσ ασ αβοϖε, λετ

υ (σ; ζ) =
�
≅ιτΞ

ψ
ϑη

�
� � ≅ιτΞψ

ϑη
�
�

�
(τ; ξ; ψ0) :

Στεπ 2 οφ τηε προοφ σηοωσ τηατ

ϕυ (σ; ζ)ϕ � χ (Τ; ι; ϕϑ ϕ) τ�ι�ϕϑϕ=20 ϕ� � �ϕ ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
��� :

Ον τηε οτηερ ηανδ

���≅ιτΞξ
ΙΞ

ψ
ϑη

�
� � ≅ιτΞξ

ΙΞ
ψ
ϑη

�
�

�
(τ0; ξ0; ψ0)

�� � τ
�ϕΙϕ=2
0 ϕΖΙ;Βυ (1; 0)ϕ �

� χτ�ϕΙϕ=20 κυκΧϕΙϕ( 34<ϕσϕ< 3
2 ;ϕζϕ<1)

� χτ�ϕΙϕ=20 κ∋1υκΗ�

� χτ�ϕΙϕ=20

(
χ (Τ; ι; ϕϑ ϕ) τ�ι�ϕϑϕ=20 ϕ� � �ϕ ε

�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
��� +




∋2
�
≅σ � (Λ��)Β

�
υ




Η�

)

(9.5)
ωηερε ωε ηαϖε αππλιεδ υνιφορµ συβελλιπτιχ εστιµατεσ (φορ σοµε � ονλψ δεπενδινγ

ον ϕΙϕ) το τηε οπερατορ (Λ�Α)
Β
; τηατ ισ ποιντ (ιϖ) οφ Λεµµα 8.2. Αγαιν Λεµµα

8.2, ανδ τηε στρυχτυρε οφ τηε οπερατορ Λ�� ιµπλψ:

∋2

�
≅σ � (Λ��)Β

�
υ (σ; ζ) =

= (�� �)
ν
∋2

�
τ0≅

ι
τΞΨΞ

ψ
ϑη

�
� + τ0≅

ι
τΨ ΞΞ

ψ
ϑη

�
� + ατ

1=2
0 ≅ιτΞΞ

ψ
ϑη

�
�

+βτ
1=2
0 ≅ιτΨ Ξ

ψ
ϑη

�
� + χ≅

ι
τΞ

ψ
ϑη

�
�

�ο
(τ0σ;�Β (ζ) ; ψ0)

Τηισ, βψ τηε σαµε αργυµεντ οφ τηε �ρστ παρτ οφ τηισ προοφ, ιµπλιεσ τηατ




∋2
�
≅σ � (Λ��)Β

�
υ




Η�

� χ (ϕΙϕ) τ�ι�ϕϑϕ=20 ϕ� � �ϕ ε
�χδ(ξ0;ψ0)2=τ0
��Β
�
ξ0;
π
τ0
���

ωηιχη ινσερτεδ ιν (9.5) γιϖεσ τηε δεσιρεδ �ναλ ρεσυλτ.
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Παρτ ΙΙ

Φυνδαµενταλ σολυτιον φορ
οπερατορσ ωιτη Ηλδερ χοντινυουσ
χοε′χιεντσ

10 Ασσυµπτιονσ, µαιν ρεσυλτσ ανδ οϖερϖιεω οφ

Παρτ ΙΙ

Ιν τηισ παρτ, ωε ωιλλ δεαλ ωιτη ϖαριαβλε−χοε′χιεντ χοµπλετε οπερατορσ, οφ τηε
κινδ:

Η = ≅τ �
µΞ

ι;ϕ=1

αι;ϕ (τ; ξ)ΞιΞϕ �
µΞ

κ=1

ακ (τ; ξ)Ξκ � α0 (τ; ξ) : (10.1)

Το εξπλοιτ τηε ρεσυλτσ προϖεδ ιν Παρτ Ι, ωε ωιλλ µακε τηε σαµε ασσυµπτιονσ
στατεδ ιν Σεχτιον 3 ον τηε ϖεχτορ �ελδσ ανδ τηε στρυχτυρε οφ τηε µατριξ οφ τηε
χοε′χιεντσ ιν τηε πρινχιπαλ παρτ. Μορεοϖερ, τηε χοε′χιεντσ αιϕ ; ακ; α0 ωιλλ βε
ασσυµεδ γλοβαλλψ δε�νεδ ανδ Ηλδερ χοντινυουσ ωιτη ρεσπεχτ το τηε παραβολιχ
ΧΧ−διστανχε δΠ ; τηε µατριξ φαιϕγµι;ϕ=1 ωιλλ βε ασσυµεδ σψµµετριχ ανδ υνιφορµλψ
ποσιτιϖε δε�νιτε. Υνδερ τηεσε ασσυµπτιονσ (ωηιχη ωε ωιλλ στατε µορε πρεχισελψ
ιν α ωηιλε) ωε ωιλλ προϖε τηε εξιστενχε οφ α (γλοβαλ) φυνδαµενταλ σολυτιον φορ
Η, σατισφψινγ νατυραλ βασιχ προπερτιεσ ανδ σηαρπ Γαυσσιαν βουνδσ. Α πρεχισε
λιστ οφ ουρ ρεσυλτσ ισ χονταινεδ ιν Τηεορεµ 10.7 ηερε βελοω. Βεφορε στατινγ ιτ,
ωε νεεδ το ιντροδυχε σοµε πρεχισε δε�νιτιονσ, νοτατιον ανδ ασσυµπτιονσ ωε ωιλλ
υσε τηρουγηουτ Παρτσ ΙΙ ανδ ΙΙΙ.

Ασσυµπτιονσ ον τηε ϖεχτορ �ελδσ

Ωε ωιλλ ασσυµε τηατ:
Ξ = (Ξ1; Ξ2; :::; Ξµ) (µ = ν + θ) ισ α �ξεδ σψστεµ οφ Ηρµανδερ�σ ϖεχτορ

�ελδσ δε�νεδ ιν τηε ωηολε Ρν; ανδ συχη τηατ

Ξ = (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) ιν Ρ
ν ν 
0 (10.2)

ωηερε 
0 ισ α �ξεδ βουνδεδ δοµαιν.

Φυνχτιον σπαχεσ

Ωε σταρτ ωιτη τηε φολλοωινγ
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∆ε�νιτιον 10.1 Τηε ιντρινσιχ−δεριϖατιϖε αλονγ τηε ϖεχτορ �ελδ Ξϕ οφ α φυνχτιον
ϖ(ξ) ατ α ποιντ ξ0 2 Ρν, ισ δε�νεδ το βε

Ξϕϖ(ξ0) =
δ

δ�

����
�=0

ϖ(
(�))

(ιφ συχη δεριϖατιϖε εξιστσ), ωηερε 
 ισ τηε σολυτιον το

_
(�) = Ξϕ(
(�)); 
(0) = ξ0:

Ρεµαρκ 10.2 Τηε ρεαδερ χουλδ ασκ ωηψ, ονλψ ατ τηισ ποιντ οφ τηε παπερ, ωε
νεεδ το γιϖε α πρεχισε δε�νιτιον οφ τηε δεριϖατιϖε Ξϕϖ. Τηισ φαχτ ισ ρελατεδ το α
δεεπ δι⁄ερενχε ωηιχη εξιστσ βετωεεν Παρτ Ι ανδ Παρτ ΙΙ: ιν Παρτ Ι ωε ηαϖε στυδιεδ
τηε δι⁄ερεντιαλ οπερατορ ΗΑ ωιτη σµοοτη χοε′χιεντσ (βεινγ τηε αιϕ�σ χονσταντ),
ωηιχη ισ ηψποελλιπτιχ, ηενχε τηε φυνχτιονσ ινϖολϖεδ ιν ουρ εστιµατεσ ωερε αλωαψσ
Χ1; ανδ τηε µεανινγ οφ τηε δεριϖατιϖε Ξϕϖ ωασ οβϖιουσ. Ιν χοντραστ ωιτη τηισ,
ιν τηισ παρτ ωε ωιλλ στυδψ α δι⁄ερεντιαλ οπερατορ Η ωιτη Ηλδερ χοντινυουσ χοεφ−
�χιεντσ, ανδ ωιλλ βυιλδ α φυνδαµενταλ σολυτιον φορ ιτ, ωηιχη ωε χαννοτ εξπεχτ το
βε σµοοτη: ινστεαδ, ιτσ δεγρεε οφ ρεγυλαριτψ ωιλλ βε τηε οβϕεχτ οφ α χαρεφυλ στυδψ.

Ωε χαν νοω ιντροδυχε σοµε φυνχτιον σπαχεσ ωηιχη ωιλλ βε υσεφυλ ιν τηε
φολλοωινγ.

∆ε�νιτιον 10.3 Λετ Υ � Ρν+1 βε αν οπεν σετ. Ωε δενοτε βψ Χ2(Υ) τηε χλασσ οφ
φυνχτιονσ υ (τ; ξ) δε�νεδ ον Υ ωηιχη αρε χοντινυουσ ιν Υ ω.ρ.τ.τηε παιρ (τ; ξ) ανδ
συχη τηατ υ(τ; �) ηασ χοντινυουσ ιντρινσιχ−δεριϖατιϖεσ υπ το σεχονδ ορδερ αλονγ τηε
ϖεχτορ �ελδσ Ξ1; : : : ; Ξµ (ω.ρ.τ. ξ, φορ εϖερψ �ξεδ τ) ανδ υ(�; ξ) ηασ χοντινυουσ
δεριϖατιϖε (ω.ρ.τ. τ, φορ εϖερψ �ξεδ ξ), ιν τηειρ ρεσπεχτιϖε δοµαινσ οφ δε�νιτιον.

Ωε ωιλλ δενοτε βψ δ τηε Χαρνοτ−Χαρατηοδορψ διστανχε ινδυχεδ βψ τηε σψσ−
τεµ φΞιγµι=1 ιν τηε ωηολε Ρν ανδ βψ Β(ξ; ρ) τηε βαλλσ ιν τηε µετριχ δ. Μορεοϖερ
δΠ ωιλλ βε τηε χορρεσπονδινγ �παραβολιχ−ΧΧ−διστανχε�. Τηεσε διστανχεσ ηαϖε
βεεν ιντροδυχεδ ανδ στυδιεδ ιν Σεχτιονσ 2 ανδ 5. Ωε χαν ιντροδυχε �παραβολιχ
ΧΧ−Ηλδερ σπαχεσ� ρελατεδ το δΠ .

∆ε�νιτιον 10.4 Φορ ανψ � 2 (0; 1] ανδ δοµαιν Υ � Ρν+1, λετ:

ϕυϕΧ�(Υ) = συπ

� ϕυ (τ; ξ)� υ (σ; ψ)ϕ
δΠ ((τ; ξ) ; (σ; ψ))

� : (τ; ξ) ; (σ; ψ) 2 Υ; (τ; ξ) 6= (σ; ψ)
�

κυκΧ�(Υ) = ϕυϕΧ�(Υ) + κυκΛ1(Υ)

Χ� (Υ) =
ν
υ : Υ ! Ρ : κυκΧ�(Υ) <1

ο
:

Αλσο, φορ ανψ ποσιτιϖε ιντεγερ κ; ανδ δοµαιν Υ � Ρν+1; λετ

Χκ;� (Υ) =
ν
υ : Υ ! Ρ : κυκΧκ;�(Υ) <1

ο
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ωιτη
κυκΧκ;�(Υ) =

Ξ

ϕΙϕ+2η6κ



≅ητ ΞΙυ



Χ�(Υ)

ωηερε, φορ ανψ µυλτιινδεξ Ι = (ι1; ι2; :::; ισ) ; ωιτη 1 6 ιϕ 6 θ; ωε σαψ τηατ ϕΙϕ = σ
ανδ

ΞΙυ = Ξι1Ξι2 :::Ξισυ:

Ωε εξπλιχιτλψ ρεµαρκ τηατ ιν τηε δε�νιτιον οφ Χκ;� ωε αρε ασσυµινγ τηατ τηε
δεριϖατιϖεσ οφ υ ινϖολϖεδ εξιστ ασ ιντρινσιχ δεριϖατιϖεσ.

Ρεµαρκ 10.5 (Χοντινυιτψ ανδ χοµπαχτνεσσ προπερτιεσ οφ Ηλδερ φυνχτιονσ)
Νοτε τηατ, βψ (2.1), α φυνχτιον υ 2 Χ� (Υ) ισ αλσο χοντινυουσ ιν Ευχλιδεαν σενσε.
Φορ τηε σαµε ρεασον, αλλ τηε δεριϖατιϖεσ ≅ητ Ξ

Ιυ ινϖολϖεδ ιν τηε δε�νιτιον οφ Χκ;�

αρε χοντινυουσ ιν Ευχλιδεαν σενσε. Τηισ φαχτ ηασ αλσο τηε φολλοωινγ χονσεθυενχε:
ιφ Υ ισ ανψ βουνδεδ δοµαιν οφ Ρν+1 ανδ φ 2 Χ� (Υ), τηεν φ χαν βε χοντινυ−
ουσλψ εξτενδεδ υπ το τηε βουνδαρψ οφ Υ , πρεσερϖινγ Χ� (Υ) νορµ. Τηερεφορε,
φ χαν βε τηουγητ ασ βελονγινγ το Χ�

�
Υ
�
: Τηισ φαχτ ωιλλ βε ιµπλιχιτλψ υσεδ ισ

σοµε χοµπαχτνεσσ αργυµεντσ. Φορ ινστανχε, ιτ αλλοωσ το αππλψ Ασχολι−Αρζελ◊�σ
τηεορεµ το α βουνδεδ σεθυενχε οφ φυνχτιονσ ιν Χ� (Υ).

Ασσυµπτιονσ ον τηε χοε′χιεντσ

Τηρουγηουτ Παρτσ ΙΙ ανδ ΙΙΙ ωε ωιλλ ασσυµε τηατ:
τηε µατριξ φαιϕγµι;ϕ=1 ηασ τηε φολλοωινγ στρυχτυρε:

Α = φαιϕγµι;ϕ=1 =
�φαιϕγθι;ϕ=1 0

0 Ιν

�
; (10.3)

τηε φυνχτιονσ αιϕ = αϕι; ακ; α0; αρε δε�νεδ ον Ρν+1 ανδ σατισφψ, φορ σοµε
� 2 (0; 1] ανδ φορ σοµε ποσιτιϖε χονσταντσ �;Κ,

��1 ϕωϕ2 �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ωιωϕ � � ϕωϕ2 8ω 2 Ρθ; (τ; ξ) 2 Ρν+1

καιϕκΧ�(Ρν+1) + κακκΧ�(Ρν+1) + κα0κΧ�(Ρν+1) � Κ:

(10.4)

Νοτατιον 10.6 Ηερε ωε χολλεχτ σοµε νοτατιον ωηιχη ωιλλ βε υσεδ εξτενσιϖελψ
τηρουγηουτ Παρτ ΙΙ ανδ ΙΙΙ.
Ωε σηαλλ δενοτε βψ χ ανψ ποσιτιϖε χονσταντ ονλψ δεπενδινγ ον Ξ1; : : : ; Ξµ

ανδ τηε παραµετερσ �;Κ; � αππεαρινγ ιν (10.4). Μορεοϖερ, ωε ωιλλ ωριτε χ(φ1; : : : ; φπ)
ιφ χ αλσο δεπενδσ ον φ1; : : : ; φπ.
Τηε ποιντσ οφ Ρν+1 = Ρ� Ρν ωιλλ βε δενοτεδ βψ

ζ = (τ; ξ) ; � = (�; �); � = (σ; ψ):

Φορ τηε σακε οφ βρεϖιτψ, ωε σηαλλ υσε τηε νοτατιον

Ε(ξ; �; τ) = ϕΒ(ξ;
π
τ)ϕ�1 εξπ

�
�δ(ξ; �)

2

τ

�
; ξ; � 2 Ρν; τ > 0:
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Μαιν ρεσυλτσ

Ωε χαν νοω στατε τηε µαιν ρεσυλτσ ωε ωιλλ προϖε ιν Παρτ ΙΙ.

Τηεορεµ 10.7 (Φυνδαµενταλ σολυτιον φορ Η) Λετ Η βε ασ ιν (10.1). Υν−
δερ τηε αβοϖε ασσυµπτιονσ, τηερε εξιστσ α φυνχτιον

η : Ρν+1 � Ρν+1 ! Ρ

συχη τηατ:

ι) η ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ οφ Ρν+1 � Ρν+1;

ιι) η (ζ; �) ισ νοννεγατιϖε, ανδ ϖανισηεσ φορ τ � � ;

ιιι) φορ εϖερψ �ξεδ � 2 Ρν+1, ωε ηαϖε

η(�; �) 2 Χ2;�λοχ (Ρν+1 ν φ�γ); Η (η(�; �)) = 0 ιν Ρν+1 ν φ�γ;

ιϖ) τηε φολλοωινγ εστιµατεσ ηολδ φορ εϖερψ Τ > 0; ζ = (τ; ξ) ; � = (�; �) 2 Ρν+1,
0 < τ� � � Τ :

χ(Τ )�1Ε(ξ; �; χ�1(τ� �)) � η(ζ; �) � χ(Τ )Ε(ξ; �; χ(τ� �));
ϕΞϕ (η(�; �)) (ζ)ϕ � χ(Τ ) (τ� �)�1=2Ε(ξ; �; χ(τ� �));

ϕΞιΞϕ (η(�; �)) (ζ)ϕ+ ϕ≅τ (η(�; �)) (ζ)ϕ � χ(Τ ) (τ� �)�1Ε(ξ; �; χ(τ� �));

ϖ) φορ ανψ φ 2 Χ�
�
Ρν+1

�
; γ 2 Χ (Ρν) ; βοτη σατισφψινγ συιταβλε γροωτη χον−

διτιον ατ ιν�νιτψ (σεε Τηεορεµ 12.1 φορ αν εξαχτ στατεµεντ), Τ 2 Ρ, τηε
φυνχτιον

υ (τ; ξ) =

Ζ

Ρν

η(τ; ξ;Τ; �) γ(�) δ� +

Ζ

[Τ;τ]�Ρν
η(τ; ξ; �; �) φ(�; �)δ� δ�

ισ α Χ2;�λοχ σολυτιον το τηε φολλοωινγ Χαυχηψ προβλεµ
(
Ηυ = φ ιν (Τ;1)� Ρν;
υ(Τ; �) = γ ιν Ρν

ϖι) τηε φολλοωινγ ρεπροδυχτιον φορµυλα ηολδσ

η(τ; ξ; �; �) =

Ζ

Ρν

η(τ; ξ; σ; ψ)η(σ; ψ; �; �)δψ;

φορ τ > σ > � ανδ ξ; � 2 Ρν.

Ρεµαρκ 10.8 Βψ Λεµµα 2.6, ωε κνοω τηατ

Ε(ξ; �; τ) � χΕ(�; ξ; χτ)

φορ ανψ ξ; � 2 Ρν; τ > 0. Ηενχε τηε Γαυσσιαν βουνδσ ιν ποιντ (ιϖ) οφ τηε αβοϖε
Τηεορεµ αρε νοτ σο ασψµµετριχ ιν ξ; � ασ ιτ χουλδ σεεµ.
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Τηε αβοϖε τηεορεµ χολλεχτσ σεϖεραλ φαχτσ ωηιχη ωιλλ βε προϖεδ τηρουγηουτ τηε
φολλοωινγ σεχτιονσ οφ Παρτ ΙΙ, ναµελψ: Προποσιτιον 11.4 (Γαυσσιαν βουνδ φροµ
αβοϖε φορ η), Προποσιτιον 11.7 (χοντινυιτψ οφ η ουτσιδε τηε διαγοναλ), Τηεορεµ
11.8 (υππερ βουνδσ ον τηε δεριϖατιϖεσ οφ η; η ισ α σολυτιον το Ηυ = 0 ουτσιδε
τηε πολε); Τηεορεµ 12.1 (σολυτιον το τηε Χαυχηψ προβλεµ); Προποσιτιον 13.3
(ποσιτιϖιτψ οφ η); Προποσιτιον 13.4 (ρεπροδυχτιον προπερτψ φορ τηε φυνδαµενταλ
σολυτιον); Τηεορεµ 13.6 (Γαυσσιαν βουνδ φροµ βελοω φορ η); Τηεορεµ 14.4
(Χ2;�λοχ −ρεγυλαριτψ οφ η ουτσιδε τηε πολε).
Τηε στατεµεντ οφ ποιντ (ϖ) ιν τηισ Τηεορεµ ηασ βεεν σιµπλι�εδ ωιτη ρεσπεχτ

το τηε σηαρπερ ρεσυλτ προϖεδ ιν Τηεορεµ 12.1.

Ρεµαρκ 10.9 Ουρ ασσυµπτιονσ (10.2), (10.3), ασ ωελλ ασ τηε φαχτ τηατ βοτη
τηε ϖεχτορσ �ελδσ ανδ τηε χοε′χιεντσ αρε δε�νεδ ον τηε ωηολε σπαχε, αρε ϕυστ
µαδε το ηαϖε α χονϖενιεντ σεττινγ το προϖε τηε εξιστενχε οφ α γλοβαλ φυνδαµενταλ
σολυτιον, βυτ αρε νοτ ρεαλλψ ρεστριχτιϖε. Ναµελψ, ασσυµε ωε ηαϖε αν οπερατορ

Ηλοχ = ≅τ �
θΞ

ι;ϕ=1

αι;ϕ (τ; ξ)ΞιΞϕ �
θΞ

κ=1

ακ (τ; ξ)Ξκ � α0 (τ; ξ)

ωηερε Ξ1; Ξ2; :::; Ξθ ισ α σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ιν α βουνδεδ
δοµαιν 
 οφ Ρν; τηε χοε′χιεντσ αιϕ ; ακ; α0 αρε δε�νεδ ανδ Ηλδερ χοντινυουσ
ιν σοµε δοµαιν Υ � Ρ� 
; ανδ τηε µατριξ φαιϕγθι;ϕ=1 σατισ�εσ

��1 ϕωϕ2 �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ωιωϕ � � ϕωϕ2 8ω 2 Ρθ; (τ; ξ) 2 Υ:

Τηεν, αππλψινγ σοµε ρεσυλτσ προϖεδ ιν Σεχτιον 2, ωε ωιλλ σηοω ιν Σεχτιον 19
ηοω το δε�νε α νεω οπερατορ Η, σατισφψινγ αλλ τηε ασσυµπτιονσ ωε ηαϖε µαδε
αβοϖε ανδ συχη τηατ, ιν σοµε χοµπαχτ συβδοµαιν οφ Υ; Η χοινχιδεσ ωιτη Ηλοχ;
ανδ τηε ΧΧ−διστανχεσ οφ τηε τωο οπερατορσ αρε εθυιϖαλεντ. Τηισ φαχτ ωιλλ αλλοω
το δεδυχε λοχαλ ρεσυλτσ φορ τηε οπερατορ Ηλοχ φροµ τηε ρεσυλτσ ωε ηαϖε προϖεδ φορ
ουρ γλοβαλλψ δε�νεδ οπερατορ Η (σεε Τηεορεµ 19.1).

Οϖερϖιεω οφ Παρτ ΙΙ ανδ ρελατιονσ ωιτη Παρτ Ι

Τηε προοφσ οφ αλλ τηε ρεσυλτσ οφ Παρτ ΙΙ, τηατ ωε ηαϖε χολλεχτεδ ιν Τηεορεµ 10.7,
ισ στριχτλψ βασεδ ον τηε αχηιεϖεµεντσ οφ Παρτ Ι. Ναµελψ, λετ

Η�0 � ≅τ � Λ�0 � ≅τ �
µΞ

ι;ϕ=1

αι;ϕ(�0)ΞιΞϕ (10.5)

βε τηε οπερατορ οβταινεδ φροµ τηε �πρινχιπαλ παρτ� οφ Η βψ φρεεζινγ τηε χο−
ε′χιεντσ αιϕ (βυτ νοτ τηε ϖεχτορ �ελδσ Ξϕ) ατ ανψ ποιντ �0 2 Ρν+1. Βψ τηε
ασσυµπτιονσ ωε ηαϖε µαδε αβοϖε ον Η, τηε οπερατορ Η�0 �τσ τηε ασσυµπτιονσ
οφ τηε τηεορψ δεϖελοπεδ ιν Παρτ Ι; λετ υσ δενοτε βψ η�0 ιτσ φυνδαµενταλ σολυτιον
(ωιτη τηε νοτατιον οφ Παρτ Ι, η�0 (ζ; �) = ηΑ (ζ; �) ωηερε Α = (αιϕ (�0))

µ
ι;ϕ=1).

Φορ τηε ρεαδερ�σ χονϖενιενχε, ωε νοω ρεχαλλ τηε προπερτιεσ οφ η�0 τηατ ωε
ηαϖε προϖεδ ιν Παρτ Ι, ανδ ωιλλ πλαψ α χρυχιαλ ρολε ιν τηε φολλοωινγ.

82



Τηεορεµ 10.10 (Προπερτιεσ οφ η�0 προϖεδ ιν Παρτ Ι) Τηε φυνχτιον η�0 ισ
σµοοτη αωαψ φροµ τηε διαγοναλ οφ Ρν+1 � Ρν+1 ανδ

Η�0(η�0(�; �)) = 0 ιν Ρν+1 ν φ�γ: (10.6)

Μορεοϖερ, φορ εϖερψ �0 2 Ρν+1 ανδ Τ > 0 ωε ηαϖε
Ζ

Ρν

η�0(τ; ξ; �; �)δ� = 1; ιφ τ > �; ξ 2 Ρν; (10.7)

Ζ

Ρν

η�0(τ; ξ; �; �) δξ � χ(Τ ); ιφ 0 < τ� � < Τ; � 2 Ρν; (10.8)

η�0(τ; ξ; �; �) =

Ζ

Ρν

η�0(τ; ξ; σ; ψ)η�0(σ; ψ; �; �)δψ ιφ τ > σ > �; ξ; � 2 Ρν:
(10.9)

Τηε φολλοωινγ υνιφορµ Γαυσσιαν βουνδσ ηολδ: φορ εϖερψ Τ > 0 ανδ φορ εϖερψ
νοννεγατιϖε ιντεγερσ π; θ, ωε ηαϖε

χ(Τ )�1Ε(ξ; �; χ�1(τ� �)) � η�0(τ; ξ; �; �) � χ(Τ )Ε(ξ; �; χ(τ� �));��Ξι1 � � �Ξιπ(≅τ)
θ η�0(�; �; �) (τ; ξ)

�� � χ(Τ; π; θ)(τ� �)�(π+2θ)=2Ε(ξ; �; χ(τ� �));
(10.10)

��Ξι1 � � �Ξιπ(≅τ)
θ (η�0(�; �; �)� η�1(�; �; �)) (τ; ξ)

��

� χ(Τ; π; θ) δΠ (�0; �1)� (τ� �)�(π+2θ)=2Ε(ξ; �; χ(τ� �)); (10.11)

ιφ 0 < τ� � < Τ , ξ; � 2 Ρν ανδ �0 = (�0; �0), �1 = (�1; �1) 2 Ρν+1.

Ωε ρεφερ το Τηεορεµ 3.4, Χορολλαρψ 3.7, Χορολλαρψ 6.18, Τηεορεµ 7.1, Τηε−
ορεµ 8.1 ανδ Τηεορεµ 9.1, φορ τηε προοφ οφ τηε αβοϖε στατεµεντσ (ρεχαλλ αλσο
(10.4)). Ωε ρεµαρκ τηατ (10.8) φολλοωσ φροµ (10.7) ανδ (10.10), υσινγ (2.12).
Τηε αβοϖε ρεσυλτσ ωιλλ βε τηε κεψ ινγρεδιεντ το προϖε τηε εξιστενχε οφ α

φυνδαµενταλ σολυτιον φορ τηε οπερατορ (10.1), υσινγ τηε Λεϖι παραµετριξ µετηοδ,
ασ ωιλλ βε εξπλαινεδ ιν Σεχτιον 11. Οτηερ τοολσ ωιλλ βε τηε γεοµετριχ προπερτιεσ
οφ δ προϖεδ ιν Σεχτιον 2, πλυσ σοµε οτηερ µισχελλανεουσ προπερτιεσ ωηιχη ωε
χολλεχτ ηερε βελοω.

Σοµε αυξιλιαρψ εστιµατεσ

Προποσιτιον 10.11 ι) Τηερε εξιστσ χ συχη τηατ

Ε(ξ; �; τ) � χ �Θ=2 Ε(ξ; �; �τ) (10.12)

φορ εϖερψ � � 1; ξ; � 2 Ρν; τ > 0.

ιι) Φορ ανψ � � 0, τηερε εξιστσ χ (�) συχη τηατ

(δ(ξ; �)2=τ)� Ε(ξ; �; �τ) � χ(�) �� Ε(ξ; �; 2�τ) (10.13)

φορ εϖερψ � > 0; ξ; � 2 Ρν; τ > 0.
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ιιι) Φορ ανψ ∀ > 0 ανδ � � 0, τηερε εξιστσ χ (�; ∀) συχη τηατ

τ�� Ε(ξ; �; τ) � χ(∀; �) (10.14)

φορ εϖερψ ξ; � 2 Ρν; τ > 0 συχη τηατ δ(ξ; �)2 + τ � ∀.

ιϖ) Τηερε εξιστσ α ποσιτιϖε χονσταντ � = χ�1 συχη τηατ, ιφ 0 � � � �=Τ , τηεν

Ε(ξ; �; τ) εξπ(�ϕ�ϕ2) � χ Ε(ξ; �; 2τ) εξπ(2�ϕξϕ2) (10.15)

φορ εϖερψ ξ; � 2 Ρν ανδ 0 < τ � Τ .

Προοφ. Ιν ορδερ το προϖε (10.12), ιτ ισ συ′χιεντ το οβσερϖε τηατ
���Β(ξ;

π
τ)
��� � χ�1��Θ=2

���Β(ξ;
π
�τ)
��� ;

βψ (2.9). Λετ υσ προϖε (10.13). Σινχε µαξσ2[0;1) σ
� εξπ (�σ=2) = χ(�) < 1,

τακινγ σ = δ(ξ; �)2=(�τ), ωε γετ

(δ(ξ; �)2=τ)� Ε(ξ; �; �τ) � χ(�) �� εξπ (�σ=2)ϕΒ(ξ;
π
�τ)ϕ�1

� χ(�) �� Ε(ξ; �; 2�τ);

βψ τηε δουβλινγ χονδιτιον (2.8). Ωε νοω τυρν το τηε προοφ οφ (10.14). Ιφ τ > ∀=2,
ωε υσε (2.7) ανδ γετ

τ�� Ε(ξ; �; τ) � χ(∀)τ���ν=2 εξπ (�∀2=τ) � χ(∀; �):

Ιφ 0 < τ � ∀=2, ωε υσε (2.11) ανδ γετ

τ�� Ε(ξ; �; τ) � χ(∀)τ���Θ=2 εξπ (�δ(ξ; �)2=τ)
� χ(∀)τ���Θ=2 εξπ (�∀=(2τ)) � χ(∀; �):

Ωε �ναλλψ προϖε (10.15). Φροµ (2.3), ιτ φολλοωσ τηατ

�ϕ�ϕ2 � 2�(ϕξϕ2 + ϕξ� �ϕ2) � 2�ϕξϕ2 + χ0�δ(ξ; �)2:

Ηενχε, χηοοσινγ � = (2χ0)
�1, ωε ηαϖε χ0� � (2τ)�1 ανδ, υσινγ (2.9), ωε οβταιν

Ε(ξ; �; τ) εξπ(�ϕ�ϕ2) � εξπ(2�ϕξϕ2)ϕΒ(ξ;
π
τ)ϕ�1 εξπ((χ0�� 1=τ)δ(ξ; �)2)

� χ Ε(ξ; �; 2τ) εξπ(2�ϕξϕ2):

Χορολλαρψ 10.12 Ιφ 0 < τ� � � Τ ανδ τ > σ > � , τηεν ωε ηαϖε
Ζ

Ρν

Ε(ξ; ψ; χ1(τ� σ))Ε(ψ; �; χ2(σ� �))δψ � χ(Τ )Ε(ξ; �; χ (τ� �)); (10.16)

φορ εϖερψ ξ; � 2 Ρν. Μορεοϖερ
Ζ

Ρν

Ε(ξ; �; χ τ)δ� � χ(Τ ); (10.17)

ιφ 0 < τ � Τ , ξ 2 Ρν.
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Προοφ. Φιξεδ �0 2 Ρν+1 ανδ σεττινγ χ3 = µαξφχ1; χ2γ, φροµ (10.12) ανδ (10.10)
ωε οβταιν

Ε(ξ; ψ; χ1(τ� σ)) � χΕ(ξ; ψ; χ3(τ� σ)) � χ(Τ )η�0(ξ; ψ; χ4(τ� σ));
Ε(ψ; �; χ2(σ� �)) � χΕ(ψ; �; χ3(σ� �)) � χ(Τ )η�0(ψ; �; χ4(σ� �)):

Ωε χαν νοω υσε τηε ρεπροδυχτιον προπερτψ (10.9) φορ η�0 ανδ τηεν τηε εστι−
µατε φροµ αβοϖε ιν (10.10) το γετ (10.16). Φιναλλψ (10.17) ισ αν ιµµεδιατε
χονσεθυενχε οφ (10.10) ανδ (10.8).
Ωε χλοσε τηισ σεχτιον ποιντινγ ουτ τηε φολλοωινγ µεαν ϖαλυε τηεορεµ ον Ξ−

συβυνιτ πατησ, ωηιχη ωιλλ βε υσεφυλ ιν τηε σεθυελ:

Λεµµα 10.13 Φορ εϖερψ δ−βαλλ Β(ξ0; ρ), ξ 2 Β(ξ0; ρ); ανψ χοντινυουσ φυνχτιον
υ συχη τηατ Ξιυ εξιστσ ανδ ισ χοντινυουσ ιν Β(ξ0; ρ) φορ ι = 1; 2; :::;µ, ωε ηαϖε

ϕυ(ξ)� υ(ξ0)ϕ � δ(ξ; ξ0) µαξ
Β(ξ0;ρ)

ϕΞυϕ (10.18)

ωηερε ϕΞυϕ =
�Πµ

ι=1 ϕΞιυϕ2
�1=2

.

Προοφ. Φιξ ξ 2 Β(ξ0; ρ); ανδ λετ ∀ > 0 βε συχη τηατ (1 + ∀) δ (ξ0; ξ) < ρ; λετ 

βε α συβυνιτ χυρϖε ϕοινινγ ξ0; ξ συχη τηατ:


0 (τ) =
µΞ

ι=1

�ι (τ)Ξι (
 (τ)) ;


 (0) = ξ0; 
 (Τ ) = ξ; Τ 6 (1 + ∀) δ (ξ0; ξ) :

Οβσερϖε τηατ 
 � Β (ξ0; ρ): ναµελψ, φορ ανψ ζ 2 
; λετ 
ζ βε τηε πορτιον οφ 

ωηιχη ϕοινσ ξ0 το ζ, 
 (Τζ) = ζ, τηεν

δ (ξ0; ζ) 6 Τζ 6 Τ 6 (1 + ∀) δ (ξ0; ξ) < ρ:

Νοω, ασσυµε φορ α µοµεντ τηατ υ ισ σµοοτη. Τηεν ωε ηαϖε

υ (ξ)� υ (ξ0) = υ (
 (Τ ))� υ (
 (0)) =

=

Ζ Τ

0

δ

δτ
(υ (
 (τ))) δτ =

Ζ Τ

0

µΞ

ι=1

�ι (τ) (Ξιυ) (
 (τ)) δτ:

ηενχε

ϕυ (ψ)� υ (ξ)ϕ 6 συπ
ζ2Β(ξ0;ρ)

ϕΞυ (ζ)ϕ � Τ 6 (1 + ∀) δ (ξ0; ξ) � συπ
ζ2Β(ξ0;ρ)

ϕΞυ (ζ)ϕ

ανδ, φορ ϖανισηινγ ∀, ωε ηαϖε τηε δεσιρεδ ρεσυλτ. Ιφ υ ισ νοτ σµοοτη, λετ υ∀ν βε
α σεθυενχε οφ σµοοτη φυνχτιονσ οβταινεδ φροµ υ ωιτη α στανδαρδ (Ευχλιδεαν)
µολλι�χατιον προχεδυρε. Ιν ηασ βεεν προϖεδ ιν [7, Προποσιτιον 2.2.] τηατ

Ξϕυ∀ν ! Ξϕυ

υνιφορµλψ ον χοµπαχτ συβσετσ οφ Υ , ανδ τηισ ισ ενουγη το γετ ουρ ασσερτιον ιν
τηε γενεραλ χασε.
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Πλαν οφ Παρτ ΙΙ

Ιν Σεχτιον 11 ωε βυιλδ α φυνδαµενταλ σολυτιον η φορ Η ανδ προϖε Γαυσσιαν
εστιµατεσ φροµ αβοϖε φορ ιτ; ιν Σεχτιον 12 ωε σηοω ηοω τηε σολυτιον οφ α Χαυχηψ
προβλεµ χαν βε ρεπρεσεντεδ βψ τηισ φυνδαµενταλ σολυτιον; ιν Σεχτιον 13 ωε προϖε
α Γαυσσιαν εστιµατε φροµ βελοω ον η ανδ α ρεπροδυχτιον προπερτψ φορ ιτ. Τηε
φυνδαµενταλ σολυτιον χονστρυχτεδ, σο φαρ, ποσσεσσεσ ονλψ α παρτιαλ ρεγυλαριτψ:
σπαχε δεριϖατιϖεσ οφ η αρε χοντινυουσ φορ �ξεδ τ, ανδ ϖιχεϖερσα. Ιν Σεχτιον 14 ωε
προϖε σοµε ρεγυλαριτψ ρεσυλτσ, ωηιχη αλλοω το σηοω τηατ η βελονγσ το τηε σπαχε
Χ2;� ιν ανψ ρεγιον εξχλυδινγ τηε πολε.

11 Φυνδαµενταλ σολυτιον φορΗ: τηε Λεϖι µετηοδ

Τηε �Λεϖι µετηοδ� ισ α χλασσιχαλ τεχηνιθυε τηατ αλλοωσ το χονστρυχτ τηε φυνδα−
µενταλ σολυτιον οφ α ϖαριαβλε χοε′χιεντ δι⁄ερεντιαλ οπερατορ, σταρτινγ φροµ τηε
φυνδαµενταλ σολυτιον οφ τηε χορρεσπονδινγ οπερατορ ωιτη χονσταντ χοε′χιεντσ.
Τηισ µετηοδ ωασ οριγιναλλψ δεϖελοπεδ βψ Ε. Ε. Λεϖι ατ τηε βεγιννινγ οφ 20τη
χεντυρψ το στυδψ υνιφορµλψ ελλιπτιχ εθυατιονσ οφ ορδερ 2ν (σεε [40], [41]) ανδ
λατερ εξτενδεδ το υνιφορµλψ παραβολιχ οπερατορσ (σεε ε.γ. [27]).
Ιν τηε χοντεξτ οφ ηψποελλιπτιχ υλτραπαραβολιχ οπερατορσ οφ Κολµογοροϖ−Φοκκερ−

Πλανχκ τψπε, Πολιδορο ιν [48] µαναγεδ το αδαπτ τηισ µετηοδ, τηανκσ το τηε
κνοωλεδγε οφ αν εξπλιχιτ εξπρεσσιον φορ τηε φυνδαµενταλ σολυτιον οφ τηε �φροζεν�
οπερατορ, ωηιχη ηαδ βεεν χονστρυχτεδ ιν [38]. Φορ οπερατορσ οφ τψπε (10.1),
στρυχτυρεδ ον ηοµογενεουσ ανδ ινϖαριαντ ϖεχτορ �ελδσ ον Χαρνοτ γρουπσ, νο
εξπλιχιτ φυνδαµενταλ σολυτιον ισ αϖαιλαβλε ιν γενεραλ. Νεϖερτηελεσσ, Βον�γλιολι,
Λανχονελλι, Υγυζζονι ιν [4] σηοωεδ ηοω το αδαπτ τηε σαµε µετηοδ, εξπλοιτινγ
συιταβλε σηαρπ υνιφορµ Γαυσσιαν βουνδσ ον τηε φυνδαµενταλ σολυτιονσ οφ τηε
φροζεν οπερατορσ.
Ηερε ωε ωιλλ φολλοω τηε σαµε λινε, τηανκσ το τηε ρεσυλτσ οφ Παρτ Ι. Ωε σταρτ

ωιτη α βριεφ ουτλινε οφ τηε σχηεµε οφ Λεϖι µετηοδ.

Λετ υσ χονσιδερ τηε φυνδαµενταλ σολυτιον η�0(ζ; �) οφ τηε �φροζεν� οπερατορ
Η�0 ; τηε φυνχτιον ζ 7! η�(ζ; �) ισ χαλλεδ παραµετριξ. Τηε ιδεα οφ τηε Λεϖι µετηοδ
ισ το λοοκ φορ α φυνδαµενταλ σολυτιον η (ζ; �) φορ Η; ωηιχη χουλδ βε ωριττεν ιν
τηε φορµ:

η (ζ; �) = η�(ζ; �) +

Ζ τ

�

Ζ

Ρν

η�(ζ; �)� (�; �) δ� (11.1)

φορ α συιταβλε, υνκνοων κερνελ � (ζ; �). Τηισ σεεµσ ρεασοναβλε βεχαυσε ωε εξπεχτ
η το βε α σµαλλ περτυρβατιον οφ τηε παραµετριξ, ασ τηε ιντεγραλ εθυατιον (11.1)
εξπρεσσεσ. Τηε φολλοωινγ φορµαλ χοµπυτατιον συγγεστσ ηοω το γυεσσ τηε ριγητ
φορµ οφ � (ζ; �) : Ιφ ωε σετ

Ζ1(ζ; �) = �Η (ζ 7! η�(ζ; �)) (ζ); ζ 6= � 2 Ρν+1

ανδ αππλψ τηε οπερατορ Η το βοτη σιδεσ οφ (11.1) φορ ζ 6= �; ωε �νδ:

0 = �Ζ1(ζ; �) + � (ζ; �)�
Ζ τ

�

Ζ

Ρν

Ζ1(ζ; �)� (�; �) δ�:
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Τηισ µεανσ τηατ � σολϖεσ τηε ιντεγραλ εθυατιον

Ζ1 (ζ; �) = �(ζ; �)�
Ζ τ

�

Ζ

Ρν

Ζ1(ζ; �)� (�; �) δ�

ωηιχη, δε�νινγ τηε ιντεγραλ οπερατορ Τ ωιτη κερνελ Ζ1, χαν βε ρεωριττεν ασ

Ζ1 = (Ι � Τ )�

ωηενχε, φορµαλλψ,

� =
1Ξ

κ=0

Τ κΖ1 �
1Ξ

κ=0

Ζκ:

Το µακε τηε αβοϖε ιδεα ριγορουσ, ωε ωιλλ ηαϖε το ρεϖερσε τηε ορδερ οφ τηε
πρεϖιουσ στεπσ: ωε ωιλλ σταρτ στυδψινγ τηε προπερτιεσ οφ τηε φυνχτιον Ζ1; τηεν
Ζκ; τηεν � =

Π1
κ=0 Ζκ; τηεν

ϑ (ζ; �) =

Ζ τ

�

Ζ

Ρν

η�(ζ; �)� (�; �) δ�

ανδ �ναλλψ
η (ζ; �) = η�(ζ; �) + ϑ (ζ; �) :

Λετ υσ νοω σταρτ τηισ ηαρδ ϕοβ.

∆ε�νιτιον 11.1 Ωε σετ

Ζ1(ζ; �) = �Η (ζ 7! η�(ζ; �)) (ζ); ζ 6= � 2 Ρν+1 (11.2)

ανδ, φορ εϖερψ ϕ 2 Ν,

Ζϕ+1(ζ; �) =

Ζ

Ρν�[�;τ]
Ζ1(ζ; �)Ζϕ(�; �) δ�; ζ = (τ; ξ) ; � = (�; �) 2 Ρν+1; τ > �:

Προποσιτιον 11.2 Φορ εϖερψ ϕ 2 Ν, Ζϕ(ζ; �) ισ ωελλ δε�νεδ ανδ σατισ�εσ τηε
φολλοωινγ εστιµατε:

ϕΖϕ(ζ; �)ϕ � χ1(Τ )ϕ βϕ(�) (τ� �)�1+ϕ�=2 η�0(ξ; �; χ2 (τ� �)); 0 < τ� � � Τ;
(11.3)

φορ ανψ �0 2 Ρν+1; ωηερε

βϕ(�) = �
ϕ
��
2

�
=�

�
ϕ�

2

�

(ηερε � δενοτεσ τηε Ευλερ Γαµµα φυνχτιον, ανδ � ισ τηε Ηλδερ εξπονεντ απ−
πεαρινγ ιν ουρ ασσυµπτιον (10.4)). Ασ α χονσεθυενχε, τηε σεριεσ

�(ζ; �) =
1Ξ

ϕ=1

Ζϕ(ζ; �)
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τοταλλψ χονϖεργεσ ον τηε σετ

φ0 < τ� � � Τ; δΠ (ζ; �) � 1=Τγ

(φορ εϖερψ Τ > 0), ανδ σατισ�εσ τηε εστιµατε

ϕ�(ζ; �)ϕ � χ(Τ ) (τ� �)�2�1Ε(ξ; �; χ (τ� �)); 0 < τ� � � Τ: (11.4)

Αλσο, ωε ηαϖε

�(ζ; �) = Ζ1(ζ; �) +

Ζ

Ρν�[�;τ]
Ζ1(ζ; �) �(�; �)δ�; (11.5)

φορ εϖερψ ζ = (τ; ξ) ; � = (�; �) 2 Ρν+1; τ > � .

Προοφ. Λετ υσ προϖε (11.3) βψ ινδυχτιον. Φορ ϕ = 1, βψ (10.6), ωε ηαϖε

Ζ1(ζ; �) =
µΞ

ι;ϕ=1

(αιϕ(ζ)� αιϕ(�))ΞιΞϕη�(�; �)(ζ)

+
µΞ

κ=1

ακ(ζ)Ξκη�(�; �)(ζ) + α0(ζ)η�(ζ; �): (11.6)

Μορεοϖερ, βψ (10.4), (10.10) ανδ (10.13), ιφ 0 < τ� � � Τ , ωε ηαϖε

ϕΖ1(ζ; �)ϕ � χ(Τ )Ε(ξ; �; χ (τ� �))
�
δΠ (ζ; �)

�
(τ� �)�1 + (τ� �)�1=2 + 1

�

� χ(Τ ) (τ� �)�2�1Ε(ξ; �; χ (τ� �))
� χ(Τ ) (τ� �)�2�1 η�0(ξ; �; χ (τ� �)); (11.7)

φορ εϖερψ �0 2 Ρν+1. Ασσυµινγ νοω τηατ (11.3) ηολδσ φορ α γιϖεν ϕ 2 Ν, ωε γετ
Ζ

Ρν�[�;τ]
ϕΖ1(ζ; �)Ζϕ(�; �)ϕ δ� � χ1(Τ )ϕ+1 βϕ(�)�

�
Ζ τ

�

(τ� σ)�1+�
2 (σ� �)�1+ ϕ�

2

Ζ

Ρν

η�0(ξ; ψ; χ2(τ� σ))η�0(ψ; �; χ2(σ� �))δψδσ

= χ1(Τ )
ϕ+1 βϕ(�)η�0(ξ; �; χ2 (τ� �))(τ� �)�1+

(ϕ+1)�
2

Ζ 1

0

(1� ρ)�1+�
2 ρ�1+

ϕ�
2 δρ:

Ιν τηε λαστ εθυαλιτψ, ωε ηαϖε υσεδ τηε ρεπροδυχτιον προπερτψ (10.9) οφ η�0 . Ρε−
χαλλινγ τηε δε�νιτιον οφ βϕ(�), ωε οβταιν (11.3) φορ ϕ + 1. Οβσερϖινγ νοω τηατ
τηε ποωερ σεριεσ

1Ξ

ϕ=1

βϕ(�)ω
ϕ
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ηασ ιν�νιτε ραδιυσ οφ χονϖεργενχε ωε γετ, υσινγ αγαιν (10.10),

ϕ�(ζ; �)ϕ �
1Ξ

ϕ=1

ϕΖϕ(ζ; �)ϕ �

� (τ� �)�2�1 η�0(ξ; �; χ (τ� �))
1Ξ

ϕ=1

βϕ(�)χ1(Τ )
ϕΤ (ϕ�1)�=2 �

� χ(Τ )(τ� �)�2�1Ε(ξ; �; χ (τ� �)):

Φιναλλψ, το προϖε (11.5), ιτ ισ ενουγη το οβσερϖε τηατ τηε αβοϖε χοµπυτατιονσ
αλσο σηοω τηατ τηε σεριεσ

1Ξ

ϕ=1

Ζ

Ρν�[�;τ]
ϕΖ1(ζ; �)Ζϕ(�; �)ϕδ�

ισ χονϖεργεντ. Ηενχε

Ζ

Ρν�[�;τ]
Ζ1(ζ; �) �(�; �)δ� =

1Ξ

ϕ=1

Ζ

Ρν�[�;τ]
Ζ1(ζ; �)Ζϕ(�; �)δ�

=
1Ξ

ϕ=1

Ζϕ+1(ζ; �) = �(ζ; �)� Ζ1(ζ; �):

Τηισ ενδσ τηε προοφ.

∆ε�νιτιον 11.3 Φορ εϖερψ ζ = (τ; ξ) ; � = (�; �) 2 Ρν+1, τ > � , ωε σετ

ϑ(ζ; �) =

Ζ

Ρν�[�;τ]
η�(ζ; �) �(�; �)δ�; (11.8)

ανδ
η(ζ; �) = ϑ(ζ; �) + η�(ζ; �): (11.9)

Ωε αλσο αγρεε το εξτενδ η(ζ; �) το βε ζερο φορ τ � � .

Προποσιτιον 11.4 Τηε ιντεγραλ ιν (11.8) ισ χονϖεργεντ ανδ τηε φολλοωινγ εστι−
µατε ηολδσ, φορ 0 < τ� � � Τ :

ϕϑ(ζ; �)ϕ � χ(Τ ) (τ� �)�2 Ε(ξ; �; χ(τ� �)): (11.10)

Μορεοϖερ, τηε φυνχτιον η σατισ�εσ

ϕη(ζ; �)ϕ � χ(Τ )Ε(ξ; �; χ(τ� �)); (11.11)

φορ εϖερψ ζ = (τ; ξ) ; � = (�; �) 2 Ρν+1, 0 < τ� � � Τ .
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Προοφ. Βψ µεανσ οφ (10.10), (11.4) ανδ (10.16), ωε ηαϖε (φορ 0 < τ� � � Τ )

Ζ

Ρν�[�;τ]
ϕη�(ζ; �)�(�; �)ϕ � �

� χ(Τ )
Ζ τ

�

(σ� �)�1+�
2

Ζ

Ρν

Ε(ξ; ψ; χ1(τ� σ))Ε(ψ; �; χ2(σ� �))δψδσ (11.12)

� χ(Τ ) (τ� �)�2 Ε(ξ; �; χ(τ� �)):

Τηισ προϖεσ τηε �ρστ παρτ οφ τηε Προποσιτιον. Ασ το η, (11.11) ιµµεδιατελψ
φολλοωσ φροµ (10.10) ανδ (11.10).
Το σηοω τηατ τηε φυνχτιον η αχτυαλλψ σατισ�εσ τηε δεσιρεδ προπερτιεσ οφ τηε

φυνδαµενταλ σολυτιον, ωε ηαϖε νοω το ινϖεστιγατε σοµε ρεγυλαριτψ προπερτιεσ οφ
τηε φυνχτιονσ Ζϕ ;� ανδ ϑ τηατ ωε ηαϖε δε�νεδ.

Λεµµα 11.5 Φορ εϖερψ ξ; ξ0; � 2 Ρν ανδ 0 < τ� � � Τ , ωε ηαϖε

ϕΖ1(τ; ξ; �; �)� Ζ1(τ; ξ0; �; �)ϕ
� χ(Τ ) δ(ξ; ξ0)�2 (τ� �)�4�1 (Ε(ξ; �; χ (τ� �)) +Ε(ξ0; �; χ (τ� �))) :

Προοφ. Ιφ δ(ξ; ξ0) �
π
τ� � , ιτ ισ συ′χιεντ το υσε (11.7). Ωε τηεν συπποσε

τηατ δ(ξ; ξ0) <
π
τ� � . >Φροµ (10.4), (10.10) ανδ (11.6), ιτ φολλοωσ τηατ (� =

(�; �); ζ = (τ; ξ) ; ζ0 = (τ; ξ0))

Ζ1(ζ; �)� Ζ1(ζ0; �) =
µΞ

ι;ϕ=1

(αι;ϕ (ζ)� αι;ϕ(ζ0))ΞιΞϕη�(ζ
0; �)

+
µΞ

ι;ϕ=1

(αι;ϕ (ζ)� αι;ϕ(�)) (ΞιΞϕη�(ζ; �)�ΞιΞϕη�(ζ
0; �))

+
µΞ

κ=1

(ακ (ζ)� ακ(ζ0))Ξκη�(ζ
0; �) +

µΞ

κ=1

ακ (ζ) (Ξκη�(ζ; �)�Ξκη�(ζ
0; �))

+ (α0 (ζ)� α0(ζ0))η�(ζ0; �) + α0 (ζ) (η�(ζ; �)� η�(ζ0; �)) :

Ηενχε,

ϕΖ1(ζ; �)� Ζ1(ζ0; �)ϕ � χ(Τ ) δ(ξ; ξ0)� (τ� �)�1Ε(ξ0; �; χ (τ� �))

+ χ δΠ (ζ; �)
�

µΞ

ι;ϕ=1

ϕΞιΞϕη�(ζ; �)�ΞιΞϕη�(ζ
0; �)ϕ

+ χ(Τ ) δ(ξ; ξ0)� (τ� �)�1=2Ε(ξ0; �; χ (τ� �))

+ χ
µΞ

κ=1

ϕΞκη�(ζ; �)�Ξκη�(ζ
0; �)ϕ

+ χ(Τ ) δ(ξ; ξ0)�Ε(ξ0; �; χ (τ� �)) + χ ϕη�(ζ; �)� η�(ζ0; �)ϕ :
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Ωε νοω υσε τηε µεαν ϖαλυε ινεθυαλιτψ προϖεδ ιν Λεµµα 10.13. Ρεχαλλινγ αλσο
(10.10), ωε ηαϖε

µΞ

ι;ϕ=1

ϕΞιΞϕη�(ζ; �)�ΞιΞϕη�(ζ
0; �)ϕ

� δ(ξ; ξ0)
µΞ

ι;ϕ=1

µαξ
Β(ξ;2δ(ξ;ξ0))

ϕΞΞιΞϕη�(τ; �; �)ϕ

� χ(Τ )δ(ξ; ξ0)(τ� �)�3=2 συπ
Β(ξ;2δ(ξ;ξ0))

Ε(�; �; χ (τ� �)):

Μορεοϖερ, ρεχαλλινγ (2.9) ανδ υσινγ τηε φαχτ τηατ δ(ξ; ξ0) <
π
τ� � , ιτ ισ νοτ δι′−

χυλτ το σεε τηατ τηε αβοϖε συπρεµυµ ισ λοωερ τηαν χΕ(ξ; �; χ (τ��)). Αναλογουσ
εστιµατεσ χαν βε µαδε φορ

Πµ
κ=1 ϕΞκη�(ζ; �)�Ξκη�(τ; ξ

0; �; �)ϕ ανδ ϕη�(ζ; �)� η�(τ; ξ0; �; �)ϕ.
Υσινγ αγαιν τηατ δ(ξ; ξ0) <

π
τ� � , ωε �ναλλψ γετ

ϕΖ1(τ; ξ; �)� Ζ1(τ; ξ0; �)ϕ � χ(Τ ) δ(ξ; ξ0)� (τ� �)�1Ε(ξ0; �; χ (τ� �))
+ χ δΠ (ζ; �)

�δ(ξ; ξ0)(τ� �)�3=2Ε(ξ; �; χ (τ� �))
+ χ(Τ ) δ(ξ; ξ0)� (τ� �)�1=2Ε(ξ0; �; χ (τ� �))
+ χ(Τ )δ(ξ; ξ0)(τ� �)�1=2Ε(ξ; �; χ (τ� �))
+ χ(Τ ) δ(ξ; ξ0)�Ε(ξ0; �; χ (τ� �)
+ χ(Τ )δ(ξ; ξ0)Ε(ξ; �; χ (τ� �))
� χ(Τ ) δ(ξ; ξ0)�2 (τ� �)�4�1 [Ε(ξ0; �; χ (τ� �)) +Ε(ξ; �; χ (τ� �))] :

Προποσιτιον 11.6 Λετ Τ > 0. Ωε ηαϖε

ϕ�(τ; ξ; �; �)� �(τ; ξ0; �; �)ϕ (11.13)

� χ(Τ ) δ(ξ; ξ0)�2 (τ� �)�4�1 (Ε(ξ; �; χ (τ� �)) +Ε(ξ0; �; χ (τ� �))) ;
φορ εϖερψ ξ; ξ0; � 2 Ρν, 0 < τ � � � Τ . Μορεοϖερ, �(�; �) ανδ �(ζ; �) αρε
χοντινυουσ φυνχτιονσ ιν τηειρ δοµαινσ οφ δε�νιτιον.

Προοφ. >Φροµ (11.5), (11.4), Λεµµα 11.5 ανδ (10.16), ιτ φολλοωσ τηατ

ϕ�(τ; ξ; �; �)� �(τ; ξ0; �; �)ϕ
� ϕΖ1(τ; ξ; �; �)� Ζ1(τ; ξ0; �; �)ϕ+

+

Ζ

Ρν�[�;τ]
ϕ�(σ; ψ; �; �)ϕ ϕΖ1(τ; ξ; σ; ψ)� Ζ1(τ; ξ0; σ; ψ)ϕ δψδσ

� ϕΖ1(τ; ξ; �; �)� Ζ1(τ; ξ0; �; �)ϕ+ χ(Τ )δ(ξ; ξ0)
�
2

Ζ τ

�

(τ� σ)�1+�
4 (σ� �)�1+�

2 �

�
Ζ

Ρν

Ε(ψ; �; χ(σ� �)) [Ε(ξ; ψ; χ0 (τ� σ)) +Ε(ξ0; ψ; χ00 (τ� σ))] δψδσ

� χ(Τ )δ(ξ; ξ0)�2 (τ� �)�4�1 [Ε(ξ; �; χ (τ� �)) +Ε(ξ0; �; χ (τ� �))] ;
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ωηιχη προϖεσ (11.13).
Ωε νοω τυρν το τηε προοφ οφ τηε λαστ στατεµεντ οφ Προποσιτιον 11.6.
Σινχε (11.13) ανδ (10.14) ηολδ, ιν ορδερ το προϖε τηε χοντινυιτψ οφ �(�; �), ωε

ονλψ ηαϖε το σεε τηατ �(�; ξ; �) ισ χοντινυουσ. Τηισ ωιλλ φολλοω φροµ τηε χοντινυιτψ
οφ Ζϕ(�; ξ; �), ϕ 2 Ν. Φορ ϕ = 1, συχη χοντινυιτψ φολλοωσ ιµµεδιατελψ φροµ (10.4)
ανδ τηε δε�νιτιον οφ Ζ1. Ωε νοω �ξ ϕ 2 Ν ανδ προϖε τηατ Ζϕ+1(�; ξ; �) ισ
χοντινυουσ ατ τ0 > � . Ωε ηαϖε

ϕΖϕ+1(τ; ξ; �)� Ζϕ+1(τ0; ξ; �)ϕ

�
Ζ τ0��

�

Ζ

Ρν

ϕΖϕ(σ; ψ; �)ϕ ϕΖ1(τ0; ξ; σ; ψ)� Ζ1(τ; ξ; σ; ψ)ϕδψδσ

+

Ζ τ

τ0��

Ζ

Ρν

ϕΖϕ(σ; ψ; �)Ζ1(τ; ξ; σ; ψ)ϕδψδσ

+

Ζ τ0

τ0��

Ζ

Ρν

ϕΖϕ(σ; ψ; �)Ζ1(τ0; ξ; σ; ψ)ϕδψδσ:

Βψ υσινγ (11.3), (10.9), (10.10) ανδ (10.14), ιτ ισ εασψ το σεε τηατ τηε λαστ τωο
ιντεγραλσ ιν τηε ριγητ−ηανδ σιδε αρε σµαλλ ιφ ϕτ � τ0ϕ < � ανδ � ισ σµαλλ ενουγη.
Ον τηε οτηερ ηανδ, φροµ (10.4), (10.10), (10.14) ανδ (11.6) ιτ φολλοωσ τηατ, φορ
ϕτ� τ0ϕ < �=2 ανδ φορ εϖερψ σ 2 (�; τ0 � �), ωε ηαϖε

ϕΖ1(τ0; ξ; σ; ψ)� Ζ1(τ; ξ; σ; ψ)ϕ

�
µΞ

ι;ϕ=1

�
ϕαιϕ(τ0; ξ)� αιϕ (τ; ξ)ϕ

��ΞιΞϕη(σ;ψ)(τ0; ξ; σ; ψ)
��+

+ ϕαιϕ (τ; ξ)� αιϕ(σ; ψ)ϕ
��ΞιΞϕη(σ;ψ)(τ0; ξ; σ; ψ)�ΞιΞϕη(σ;ψ)(τ; ξ; σ; ψ)

���

+
µΞ

κ=1

�
ϕακ(τ0; ξ)� ακ (τ; ξ)ϕ

��Ξκη(σ;ψ)(τ0; ξ; σ; ψ)
��

+ ϕακ (τ; ξ)ϕ
��Ξκη(σ;ψ)(τ0; ξ; σ; ψ)�Ξκη(σ;ψ)(τ; ξ; σ; ψ)

���

+ ϕα0(τ0; ξ)� α0 (τ; ξ)ϕ
��η(σ;ψ)(τ0; ξ; σ; ψ)

��
+ ϕα0 (τ; ξ)ϕ

��η(σ;ψ)(τ0; ξ; σ; ψ)� η(σ;ψ)(τ; ξ; σ; ψ)
��

� χ(τ0; �; �)
 
ϕτ� τ0ϕ

�
2 + ϕτ� τ0ϕ+

µΞ

κ=1

ϕακ(τ0; ξ)� ακ (τ; ξ) ϕ+ ϕα0(τ0; ξ)� α0 (τ; ξ) ϕ
!

= χ(τ0; �; �)∀τ0;ξ(τ);

ωηερε ∀τ0;ξ(τ) ϖανισηεσ ασ τ ! τ0, ρεχαλλινγ τηατ ακ; α0 αρε χοντινυουσ. Ιν τηε
λαστ ινεθυαλιτψ ωε ηαϖε υσεδ (10.10) ανδ (10.14) ιν ορδερ το γετ

ϕΞιΞϕη(σ;ψ)(τ0; ξ; σ; ψ)�ΞιΞϕη(σ;ψ)(τ; ξ; σ; ψ)ϕ
� ϕτ� τ0ϕ συπ

τ�2(τ0;τ)

��≅τΞιΞϕη(σ;ψ)(τ
�; ξ; σ; ψ)

��

� χ(τ0; �) ϕτ� τ0ϕ(τ� � σ)�2Ε(ξ; ψ; χ(τ� � σ)) � χ(τ0; �; �)ϕτ� τ0ϕ
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ανδ το �νδ αναλογουσ εστιµατεσ φορ ϕΞκη(σ;ψ)(τ0; ξ; σ; ψ)�Ξκη(σ;ψ)(τ; ξ; σ; ψ)ϕ ανδ
ϕη(σ;ψ)(τ0; ξ; σ; ψ) � η(σ;ψ)(τ; ξ; σ; ψ)ϕ. Ασ α χονσεθυενχε, υσινγ αλσο (10.8) ανδ
(11.3), φορ ϕτ� τ0ϕ < �=2 ωε οβταιν

Ζ τ0��

�

Ζ

Ρν

ϕΖϕ(σ; ψ; �)ϕ ϕΖ1(τ0; ξ; σ; ψ)� Ζ1(τ; ξ; σ; ψ)ϕδψδσ

� χ(τ0; �; �; ϕ)ητ0;ξ(τ)
Ζ τ0��

�

(σ� �)�1+ ϕ�
2

�Ζ

Ρν

η0(ψ; �; χ(σ� �))δψ
�
δσ

� χ(τ0; �; �; ϕ)ητ0;ξ(τ)
Ζ τ0��

�

(σ� �)�1+ ϕ�
2 σ � χ(τ0; �; �; ϕ)ητ0;ξ(τ):

Ιν τηισ ωαψ τηε χοντινυιτψ ατ τ0 οφ Ζϕ+1(�; ξ; �) ισ προϖεδ.
Ωε αρε ονλψ λεφτ το προϖε τηατ �(ζ; �) ισ χοντινυουσ. Το τηισ ενδ, ιτ ισ συ′χιεντ

το σηοω τηε χοντινυιτψ οφ Ζϕ(ζ; �) φορ εϖερψ ϕ 2 Ν. Φορ ϕ = 1, ιτ ισ εασψ το σεε
τηατ Ζ1(ζ; �) ισ χοντινυουσ βψ υσινγ (11.6), (10.4), (10.11), ανδ (10.14). Ονε χαν
τηεν προϖε τηε χοντινυιτψ οφ Ζϕ(ζ; �) βψ ινδυχτιον, σηοωινγ τηατ Ζϕ+1(ζ; �) ισ α
υνιφορµ λιµιτ, ασ � ! 0+, οφ τηε χοντινυουσ φυνχτιονσ

� = (�; �) 7!
Ζ

Ρν�[�+�;τ]
Ζ1(ζ; �)Ζϕ(�; �)δ�;

ον τηε χοµπαχτ συβσετσ οφ Ρν� (�1; τ) (βψ υσινγ τηε εστιµατεσ (11.3), (10.10),
(10.14) ανδ (10.7), σεε αλσο τηε προοφ οφ Προποσιτιον 11.2).

Προποσιτιον 11.7 Τηε φυνχτιον η ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ οφ
Ρν+1 � Ρν+1.

Προοφ. Τηε φυνχτιον η(ζ; �) ισ οβϖιουσλψ χοντινυουσ ιν τηε σετ φτ = �; ξ 6= �γ,
σινχε, ωηεν ξ0 6= �0, (11.11) ανδ (10.14) γιϖε

Ε(ξ; �; χ (τ� �)) � χ(ξ0; �0)(τ� �)! 0

ασ (τ; ξ; �; �)! (ξ0; τ0; �0; τ0), τ > � . Τηερεφορε, ωε ονλψ ηαϖε το προϖε τηατ η ισ
χοντινυουσ ιν τηε σετ φτ > �γ. Λετ υσ σηοω τηατ τηε φυνχτιον (ζ; �) 7! η�(ζ; �)
ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ φζ = �γ. Ναµελψ,

η�(ζ; �)� η�1(ζ1; �1) = [η�(ζ; �)� η�1(ζ; �)] + [η�1(ζ; �)� η�1(ζ1; �1)] :

Τηε �ρστ τερµ ϖανισηεσ ασ ζ ! ζ1 βψ (10.11) ανδ (10.14). Τηε σεχονδ τερµ
ϖανισηεσ ασ (ζ; �)! (ζ1; �1) σινχε η�1(�; �) ισ σµοοτη ουτσιδε τηε διαγοναλ (ρεχαλλ
τηατ τ > �).
Το χοµπλετε τηε προοφ, ιτ ισ ενουγη το σηοω τηατ ϑ ισ χοντινυουσ ιν φτ > �γ.

Τηισ χαν βε δονε βψ σηοωινγ τηατ τηε φυνχτιονσ

ϑ�(ζ; �) =

Ζ

Ρν�[�+�;τ��]
η�(ζ; �)�(�; �)δ�

αρε χοντινυουσ ανδ χονϖεργε υνιφορµλψ το ϑ , ασ � ! 0+, ον τηε χοµπαχτ συβσετσ
Κ οφ φτ > �γ. Τηε χοντινυιτψ οφ ϑ� φολλοωσ φροµ τηε χοντινυιτψ οφ η� ανδ οφ
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�(�; �) (σεε Προποσιτιον 11.6), βψ δοµινατεδ χονϖεργενχε, οβσερϖινγ τηατ, ασ
(ζ; �)! (ζ0; �0) 2 Κ,

�(�+�;τ��)(σ)ϕη�(ζ; �) �(�; �)ϕ � χ(Κ;�) εξπ(�χ(Κ)�1δ(ξ; ψ)2)�(�0;τ0)(σ)
� χ(Κ;�) εξπ(�χ(Κ)�1ϕψϕ2)�(�0;τ0)(σ) 2 Λ1ψ(Ρν)

(�Ι δενοτεσ τηε χηαραχτεριστιχ φυνχτιον οφ Ι). Ηερε ωε ηαϖε υσεδ (10.10), (11.4),
(10.14), (2.11) ανδ (2.3). Ον τηε οτηερ ηανδ, φορ εϖερψ Κ β φτ > �γ, αργυινγ ασ
ιν (11.12) ανδ υσινγ (10.14), ωε οβταιν

συπ
Κ
ϕϑ� � ϑ ϕ � συπ

(ζ;�)2Κ

�Ζ �+�

�

+

Ζ τ

τ��

�Ζ

Ρν

ϕη�(ζ; �) �(�; �)ϕ δ�

� χ(Κ) συπ
(ζ;�)2Κ

Ε(ξ; �; χ(τ� �))
�Ζ �+�

�

+

Ζ τ

τ��

�
(σ� �)�1+�

2 δσ

� χ(Κ)��=2 �! 0;

ασ � ! 0+.
Το προϖε τηατ Ηη (�; �) = 0 ιν Ρν+1 νφ�γ, ωε νοω τυρν το τηε στυδψ οφ δι⁄ερ−

εντιαβιλιτψ προπερτιεσ οφ τηε φυνχτιον η. Αλτηουγη ουρ �ναλ γοαλ ισ το σηοω τηατ
η (�; �) 2 Χ2;�λοχ

�
Ρν+1 ν φ�γ

�
; ασ α �ρστ στεπ ωε σηαλλ σηοω τηατ η (�; �) βελονγσ το

τηε λαργερ φυνχτιον σπαχε Χ2(Ρν+1 ν φ�γ), τηατ ωε ηαϖε ιντροδυχεδ ιν ∆ε�νιτιον
10.3.

Τηεορεµ 11.8 Φορ εϖερψ �ξεδ � 2 Ρν+1, ωε ηαϖε

η(�; �) 2 Χ2(Ρν+1 ν φ�γ); Η (η(�; �)) = 0 ιν Ρν+1 ν φ�γ. (11.14)

Μορεοϖερ, τηε φολλοωινγ εστιµατεσ ηολδ φορ 0 < τ� � � Τ :

ϕΞϕ (η(�; �)) (ζ)ϕ � χ(Τ ) (τ� �)�1=2Ε(ξ; �; χ(τ� �)); (11.15)

ϕΞιΞϕ (η(�; �)) (ζ)ϕ+ ϕ≅τ (η(�; �)) (ζ)ϕ � χ(Τ ) (τ� �)�1Ε(ξ; �; χ(τ� �)):

Ιν τηε προοφ οφ Τηεορεµ 11.8 ωε σηαλλ υσε τηε φολλοωινγ σιµπλε φαχτ:

Λεµµα 11.9 Λετ (υι)ι2Ν βε α σεθυενχε οφ χοντινυουσ φυνχτιονσ, δε�νεδ ον αν
οπεν σετ Α � Ρν, ωιτη χοντινυουσ ιντρινσιχ−δεριϖατιϖε αλονγ Ξϕ. Συπποσε τηατ
υι χονϖεργεσ ποιντωισε ιν Α το σοµε φυνχτιον υ ανδ τηατ Ξϕυι χονϖεργεσ το σοµε
φυνχτιον ω υνιφορµλψ ον τηε χοµπαχτ συβσετσ οφ Α, ασ ι!1. Τηεν τηερε εξιστσ
τηε ιντρινσιχ−δεριϖατιϖε οφ υ αλονγ Ξϕ, Ξϕυ(ξ) = ω(ξ), φορ εϖερψ ξ 2 Α.

Προοφ. Φορ ανψ �ξεδ ξ 2 Α; λετ 
 : [�Τ; Τ ]! Α; 
 (0) = ξ βε αν ιντεγραλ χυρϖε
οφ Ξϕ πασσινγ τηρουγη ξ. ∆ε�νε τηε φολλοωινγ φυνχτιονσ οφ τ 2 [�Τ; Τ ]:

φι (τ) = υι (
 (τ)) ; φ (τ) = υ (
 (τ)) ; γ (τ) = ω (
 (τ)) :

Βψ δε�νιτιον οφ ιντρινσιχ−δεριϖατιϖε ωε αλσο ηαϖε:

φ 0ι (τ) = (Ξϕυι) (
 (τ)) ; φ
0 (τ) = (Ξϕυ) (
 (τ))
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ανδ, βψ ασσυµπτιον, φι ! φ ποιντωισε ανδ φ 0ι ! γ υνιφορµλψ ιν [�Τ; Τ ]. Τηεν
τηερε εξιστσ φ 0 (0) = γ (0), τηατ ισ τηερε εξιστσ

Ξϕυ(ξ) = ω(ξ):

Τηε µαιν στεπ ιν τηε προοφ οφ Τηεορεµ 11.8 ισ τηε φολλοωινγ λεµµα.

Λεµµα 11.10 Φορ εϖερψ �ξεδ � = (�; �) 2 Ρν+1,
ϑ(�; �) 2 Χ2(φζ = (τ; ξ) 2 Ρν+1 : τ > �γ)

ανδ ωε ηαϖε

Ξϕ (ϑ(�; �)) (ζ) =
Ζ

Ρν�[�;τ]
Ξϕη�(ζ; �) �(�; �)δ�; (11.16)

ΞιΞϕ (ϑ(�; �)) (ζ) = λιµ
∀!0+

Ζ

Ρν�[�;τ�∀]
ΞιΞϕη�(ζ; �) �(�; �)δ�; (11.17)

≅τ (ϑ(�; �)) (ζ) = �(ζ; �) + λιµ
∀!0+

Ζ

Ρν�[�;τ�∀]
≅τη�(ζ; �) �(�; �)δ�: (11.18)

Μορεοϖερ, τηε φολλοωινγ εστιµατεσ ηολδ φορ 0 < τ� � � Τ :

ϕΞϕ (ϑ(�; �)) (ζ)ϕ � χ(Τ ) (τ� �)(��1)=2Ε(ξ; �; χ(τ� �)); (11.19)

ϕΞιΞϕ (ϑ(�; �)) (ζ)ϕ+ ϕ≅τ (ϑ(�; �)) (ζ)ϕ (11.20)

� χ(Τ ) (τ� �)(��2)=2Ε(ξ; �; χ(τ� �)):
Προοφ. Τηε χοντινυιτψ οφ ϑ(�; �) ηασ βεεν προϖεδ ιν Προποσιτιον 11.4. Ιν ορδερ
το προϖε τηατ τηερε εξιστ τηε ιντρινσιχ−δεριϖατιϖεσ ιν (11.16) ανδ (11.17), ωε σηαλλ
υσε Λεµµα 11.9. Λετ υσ σετ

ϑ∀(ζ; �) =

Ζ

Ρν�[�;τ�∀]
η�(ζ; �) �(�; �)δ�; (11.21)

σο τηατ ϑ∀ ποιντωισε χονϖεργεσ το ϑ , ασ ∀ ! 0+. Μακινγ υσε οφ (10.10), (11.4),
(10.14) ανδ (10.8), ιτ ισ νοτ δι′χυλτ το σεε τηατ ϑ∀(τ; �; �) ηασ χοντινυουσ ιντρινσιχ−
δεριϖατιϖεσ υπ το σεχονδ ορδερ αλονγ τηε ϖεχτορ �ελδσ Ξ1; : : : ; Ξµ, οβταινεδ
δεριϖινγ (11.21) υνδερ τηε ιντεγραλ σιγν. Ιν ορδερ το προϖε (11.16) ιτ ισ τηεν
συ′χιεντ το σηοω τηατ

συπ
ξ2Ρν

Ζ

Ρν�[τ�∀;τ]
ϕΞϕη�(ζ; �) �(�; �)ϕδ� �! 0; ασ ∀! 0+.

Τηισ ισ αν εασψ χονσεθυενχε οφ τηε εστιµατεσ (10.10), (11.4), (10.16) ανδ (2.11).
Ινδεεδ τηε αβοϖε συπρεµυµ ισ βουνδεδ βψ

χ

Ζ τ

τ�∀
(τ� σ)�1=2 (σ� �)�1+�=2 συπ

ξ2Ρν

Ζ

Ρν

Ε(ξ; ψ; χ1(τ� σ))Ε(ψ; �; χ2(σ� �))δψδσ

� χ(τ; �)∀1=2 συπ
ξ2Ρν

Ε(ξ; �; χ(τ� �))

� χ(τ; �)∀1=2 συπ
ξ2Ρν

ϕΒ(ξ; χ
π
τ� �)ϕ�1 � χ(τ; �)∀1=2: (11.22)
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Βψ Λεµµα 11.9, ιν ορδερ το προϖε (11.17), ωε νοω ονλψ ηαϖε το σηοω τηατ τηερε
εξιστσ τηε λιµιτ ιν (11.17), υνιφορµλψ ιν ξ 2 Ρν. Το τηισ ενδ, λετ υσ χονσιδερ τηε
ιντεγραλ

Ι =

Ζ

Ρν

ΞιΞϕη�(τ; ξ; σ; ψ) �(σ; ψ; �; �)δψ; � < σ < τ:

Υσινγ (10.10), (11.4) ανδ (10.16), ιτ ισ εασψ το σεε τηατ

ϕΙϕ � χ(Τ ) (τ� σ)�1 (σ� �)�1+
�
2 Ε(ξ; �; χ(τ� �)): (11.23)

Μορεοϖερ, φορ εϖερψ �ξεδ ψ0 2 Ρν, ωε ηαϖε Ι = Ι1 + Ι2 + Ι3, ωηερε

Ι1 =

Ζ

Ρν

ΞιΞϕη�(τ; ξ; σ; ψ) (�(σ; ψ; �)� �(σ; ψ0; �))δψ;

Ι2 = �(σ; ψ0; �)

Ζ

Ρν

ΞιΞϕ

�
η(σ;ψ) � η(σ;ψ0)

�
(τ; ξ; σ; ψ)δψ;

Ι3 = �(σ; ψ0; �)

Ζ

Ρν

ΞιΞϕη(σ;ψ0)(τ; ξ; σ; ψ)δψ:

Σινχε Ζ

Ρν

η(σ;ψ0)(τ; ξ; σ; ψ)δψ = 1

βψ (10.7), δι⁄ερεντιατινγ τηε ιντεγραλ ωε οβταιν Ι3 � 0. Τηισ ισ ποσσιβλε ιν ϖιεω
οφ (10.10), (2.11) ανδ (2.3), ωηιχη ενσυρε τηατ

ϕΞϕη(σ;ψ0)(τ; ξ; σ; ψ)ϕ; ϕΞιΞϕη(σ;ψ0)(τ; ξ; σ; ψ)ϕ
� χ(σ; �)Ε(ξ; ψ; χ(τ� σ)) � χ(σ; �) εξπ(�χ(τ; σ)�1ϕξ� ψϕ2):

Ωε νοω χηοοσε ψ0 = ξ ανδ ωε εστιµατε Ι1; Ι2.
Μακινγ υσε οφ (10.10), Προποσιτιον 11.6, (10.13), (10.16), ανδ (10.17), φορ

0 < τ� � � Τ ωε οβταιν

ϕΙ1ϕ � χ(Τ ) (τ� σ)�1(σ� �)�1+
�
4

Ζ

Ρν

δ(ξ; ψ)
�
2 Ε(ξ; ψ; χ(τ� σ))�

� (Ε(ψ; �; χ(σ� �)) +Ε(ξ; �; χ(σ� �))) δψ

� χ(Τ ) ((τ� σ)(σ� �))�1+
�
4

�
Ε(ξ; �; χ(σ� �))

Ζ

Ρν

Ε(ξ; ψ; χ(τ� σ))δψ

+

Ζ

Ρν

Ε(ψ; �; χ(σ� �))Ε(ξ; ψ; χ(τ� σ))δψ
�

� χ(Τ ) ((τ� σ)(σ� �))�1+
�
4 (Ε(ξ; �; χ(τ� �)) +Ε(ξ; �; χ(σ� �))) :

(11.24)

Υσινγ (11.4), (10.10), (10.11), (10.13) ανδ (10.17), ωε οβταιν

ϕΙ2ϕ � χ(Τ ) (σ� �)�1+
�
2 Ε(ξ; �; χ(σ� �))�

�
Ζ

Ρν

δ(ξ; ψ)� (τ� σ)�1Ε(ξ; ψ; χ(τ� σ)) δψ

� χ(Τ ) (τ� σ)�1+�
2 (σ� �)�1+�

2 Ε(ξ; �; χ(σ� �)): (11.25)
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Χολλεχτινγ τηε αβοϖε εστιµατεσ ανδ ρεχαλλινγ (10.12) ωε �ναλλψ οβταιν

ϕΙϕ � χ(Τ ) ((τ� �)(τ� σ))�1+�
4 Ε(ξ; �; χ(τ� �)); (11.26)

ιφ 0 < τ� � � Τ , �+τ2 < σ < τ. Ρεχαλλινγ αλσο τηατ

συπ
ξ2Ρν

Ε(ξ; �; χ(τ� �)) � χ(τ; �)

(σεε (11.22)), ιτ ισ νοω εασψ το ρεχογνιζε τηατ τηε λιµιτ ιν (11.17) εξιστσ ανδ ιτ
ισ υνιφορµ ιν ξ 2 Ρν.
Ιν ορδερ το χονχλυδε τηε προοφ οφ τηε �ρστ στατεµεντ οφ Λεµµα 11.10, ωε αρε
ονλψ λεφτ το προϖε τηατ ϑ(�; ξ; �) ηασ χοντινυουσ δεριϖατιϖε γιϖεν βψ (11.18). Το
τηισ ενδ, ιτ ισ συ′χιεντ το σηοω τηατ ϑ∀(�; ξ; �) ηασ χοντινυουσ δεριϖατιϖε, γιϖεν
βψ

≅τϑ∀(τ; ξ; �) =

Ζ

Ρν

η(τ�∀;ψ)(τ; ξ; τ� ∀; ψ) �(τ� ∀; ψ; �)δψ

+

Ζ

Ρν�[�;τ�∀]
≅τη(σ;ψ)(τ; ξ; σ; ψ) �(σ; ψ; �)δψδσ (11.27)

ανδ τηατ

συπ
τ2Κ

�����(ζ; �)�
Ζ

Ρν

η(τ�∀;ψ)(τ; ξ; τ� ∀; ψ) �(τ� ∀; ψ; �)δψ
���� �! 0; (11.28)

συπ
τ2Κ

Ζ τ

τ�∀

����
Ζ

Ρν

≅τη(σ;ψ)(τ; ξ; σ; ψ)�(σ; ψ; �)δψ

���� δσ �! 0; (11.29)

ασ ∀! 0+, φορ εϖερψ Κ �� (�;1).
Ωε ηαϖε

1
η (ϑ∀(τ+ η; ξ; �)� ϑ∀(τ; ξ; �))

=

Ζ τ�∀+η

τ�∀
1
η

Ζ

Ρν

η(σ;ψ)(τ+ η; ξ; σ; ψ)�(σ; ψ; �)δψδσ

+

Ζ

Ρν�[�;τ�∀]
1
η (η�(τ+ η; ξ; �)� η�(τ; ξ; �))�(�; �) δ�: (11.30)

Τηε σεχονδ ιντεγραλ ιν (11.30) χονϖεργεσ (ασ η ! 0) το τηε σεχονδ ιντεγραλ
ιν (11.27), βψ δοµινατεδ χονϖεργενχε (υσε τηε µεαν ϖαλυε τηεορεµ ανδ ρεχαλλ
(10.10), (10.14), (11.4), (10.8)).
Τηε �ρστ ιντεγραλ ιν (11.30) ισ εθυαλ το

Ζ 1

0

Ζ

Ρν

η(τ�∀+ρη;ψ)(τ+ η; ξ; τ� ∀+ ρη; ψ)�(τ� ∀+ ρη; ψ; �)δψδρ;

ωηιχη χονϖεργεσ το τηε �ρστ ιντεγραλ ιν (11.27) (ασ η ! 0) βψ δοµινατεδ χον−
ϖεργενχε, ασ ονε χαν εασιλψ ρεχογνιζε, υσινγ (10.10), (10.12), (10.17), (11.4),
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(10.14), (10.11) ανδ Προποσιτιον 11.6. Τηισ προϖεσ (11.27). Υσινγ τηε προπερ−
τιεσ ϕυστ ρεχαλλεδ, ιτ ισ αλσο εασψ το σεε τηατ ≅τϑ∀(ξ; �; �) ισ χοντινυουσ, αγαιν βψ
δοµινατεδ χονϖεργενχε. Ωε νοω προϖε (11.28) ανδ (11.29). Ρεχαλλινγ (10.7),
τηε συπρεµυµ ιν (11.28) ισ βουνδεδ βψ Σ1 + Σ2 + Σ3, ωηερε

Σ1 = συπ
τ2Κ

Ζ

Ρν

���η(τ�∀;ψ)(τ; ξ; τ� ∀; ψ)� η(τ�∀;ξ)(τ; ξ; τ� ∀; ψ)
�
�(τ� ∀; ψ; �)

�� δψ;

Σ2 = συπ
τ2Κ

Ζ

Ρν

η(τ�∀;ξ)(τ; ξ; τ� ∀; ψ) ϕ�(τ� ∀; ψ; �)� �(τ� ∀; ξ; �)ϕ δψ;

Σ3 = συπ
τ2Κ

ϕ�(τ� ∀; ξ; �)� �(τ; ξ; �)ϕ:

>Φροµ τηε χοντινυιτψ οφ �(ξ; �; �) (σεε Προποσιτιον 11.6), ωε ινφερ τηατ Σ3 ! 0,
ασ ∀! 0+. Υσινγ (10.11), (11.4), (10.14), (10.13) ανδ (10.17), ωε οβταιν

Σ1 � χ
Ζ

Ρν

δ(ξ; ψ)�Ε(ξ; ψ; χ ∀) (τ� ∀)�1+�=2Ε(ψ; �; χ (τ� ∀� �))δψ

� χ(Κ; �) ∀�2
Ζ

Ρν

Ε(ξ; ψ; χ ∀)δψ � χ(Κ; �) ∀�2 :

Ηενχε Σ1 ! 0, ασ ∀! 0+. Ιν α σιµιλαρ ωαψ (εξπλοιτινγ (10.10) ανδ Προποσιτιον
11.6), ονε χαν σεε τηατ αλσο Σ2 ϖανισηεσ ασ ∀ γοεσ το ζερο. Τηισ προϖεσ (11.28).
Τηε προοφ οφ (11.29) χλοσελψ φολλοωσ τηε λινεσ οφ τηε προοφ οφ (11.17) ανδ τηερεφορε
ισ οµιττεδ.
Ωε �ναλλψ τυρν το τηε προοφ οφ τηε σεχονδ στατεµεντ οφ Λεµµα 11.10. Τηε

εστιµατε (11.19) χαν βε οβταινεδ αργυινγ ασ ιν (11.12). Μορεοϖερ, φροµ (11.23)
ανδ (11.26), ιτ φολλοωσ τηατ

ϕΞιΞϕ (ϑ(�; �)) (ζ)ϕ
� χ(Τ )Ε(ξ; �; χ(τ� �)) �

�
 Ζ (τ+�)=2

�

(τ� σ)�1 (σ� �)�1+�
2 δσ+

Ζ τ

(τ+�)=2

((τ� σ)(τ� �))�1+
�
4 δσ

!

� χ(Τ ) (τ� �)�1+�
2 Ε(ξ; �; χ(τ� �)):

Τηε εστιµατε οφ ≅τϑ(ξ; �; �) ισ αναλογουσ (αλσο ρεχαλλινγ (11.4)).
Προοφ οφ Τηεορεµ 11.8. Βψ µεανσ οφ Λεµµα 11.10 (ανδ ρεχαλλινγ (10.10)
ανδ Προποσιτιον 11.4), ωε ονλψ ηαϖε το προϖε τηατ Η(η(�; �))(ζ) = 0 φορ τ > � .
Ωε εξπλιχιτλψ ρεµαρκ τηατ, βψ (10.14),

(τ� �)�1Ε(ξ; �; χ(τ� �)) � χ(�)(τ� �)

ιφ δ(ξ; �) � � > 0, τ > � : τηισ αλλοωσ το ρεχογνιζε τηατ η(�; ξ; �; �) 2 Χ1(Ρ) ιφ
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ξ 6= �. Μακινγ υσε οφ (11.8), (11.16), (11.17) ανδ (11.18), ωε οβταιν

Η (η(�; �)) (ζ) = Η (η�(�; �)) (ζ)

+ λιµ
∀!0+

Ζ

Ρν�[�;τ�∀]
Η (η�(�; �)) (ζ) �(�; �)δ� +�(ζ; �)

= �Ζ1(ζ; �)�
Ζ

Ρν�[�;τ]
Ζ1(ζ; �) �(�; �)δ� +�(ζ; �) = 0;

βψ µεανσ οφ (11.2) ανδ (11.5). Τηισ χοµπλετεσ τηε προοφ.

12 Τηε Χαυχηψ προβλεµ

Τηε αιµ οφ τηισ σεχτιον ισ το προϖε τηε φολλοωινγ τηεορεµ.

Τηεορεµ 12.1 Τηερε εξιστσ α ποσιτιϖε χονσταντ � = χ�1 συχη τηατ τηε φολλοωινγ
στατεµεντ ηολδσ φορ εϖερψ � � 0 ανδ Τ2 > Τ1 σατισφψινγ

(Τ2 � Τ1)� < �:

Γιϖεν α χοντινυουσ φυνχτιον φ (τ; ξ) ον [Τ1; Τ2]�Ρν, λοχαλλψ δ−Ηλδερ χοντινυουσ
ιν ξ, υνιφορµλψ ω.ρ.τ. τ, ανδ γιϖεν α χοντινυουσ φυνχτιον γ(ξ) ον Ρν, σατισφψινγ
τηε γροωτη χονδιτιον

ϕφ (τ; ξ)ϕ ; ϕγ(ξ)ϕ �Μ εξπ(� ϕξϕ2)

φορ σοµε χονσταντ Μ > 0, τηεν τηε φυνχτιον

υ (τ; ξ) =

Ζ

Ρν

η(τ; ξ; �; Τ1) γ(�) δ� +

Ζ

[Τ1;τ]�Ρν
η(τ; ξ; �; �) φ(�; �)δ� δ�

βελονγσ το τηε χλασσ

Χ
2((Τ1; Τ2)� Ρν) ∴ Χ([Τ1; Τ2]� Ρν)

ανδ ισ α σολυτιον το τηε φολλοωινγ Χαυχηψ προβλεµ

(
Ηυ = φ ιν (Τ1; Τ2)� Ρν;
υ(Τ1; �) = γ ιν Ρν:

Ρεµαρκ 12.2 Ασ ωε ωιλλ σεε ιν Τηεορεµ 14.4, ιφ φ 2 Χ�λοχ (ιν τηε σενσε οφ

∆ε�νιτιον 10.4), τηεν υ 2 Χ2;�λοχ .

Ωε σπλιτ τηε προοφ οφ Τηεορεµ 12.1 ιν σοµε λεµµασ.

Λεµµα 12.3 Τηε στατεµεντ οφ Τηεορεµ 12.1 ηολδσ ιφ φ � 0.
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Προοφ. Ωε ονλψ προϖε τηατ υ (τ; ξ)! γ(ξ0), ασ (τ; ξ)! (Τ1; ξ0), φορ εϖερψ �ξεδ
ξ0 2 Ρν. Τηε οτηερ προπερτιεσ οφ υ εασιλψ φολλοω φροµ Προποσιτιον 11.4 ανδ
Τηεορεµ 11.8 οβσερϖινγ τηατ, ιφ Τ1 + � � τ � Τ2, � > 0, τηεν φορ ανψ οπερατορ
∆ 2 φΞϕ ; ΞιΞϕ ; ≅τ; Ιδγ ωε ηαϖε

ϕ∆η(�;Τ1; �) (τ; ξ) γ(�)ϕ � χ(�; γ; �)Ε(ξ; �; χ(τ� Τ1)) εξπ(�ϕ�ϕ2)
� χ(�; γ; �) εξπ(�(ϕ�ϕ2 � (χ �)�1δ(ξ; �)2))
� χ(�; γ; �) εξπ(�(ϕ�ϕ2 � 2ϕξ� �ϕ2));

βψ (10.12), (2.11) ανδ (2.3), ιφ � ισ χηοσεν σµαλλ ενουγη.
Μακινγ υσε οφ (11.9) ανδ (10.7), ωε χαν ωριτε

ϕυ (τ; ξ)� γ(ξ0)ϕ � Ι1 + Ι2 + Ι3 + Ι4 + Ι5;

ωηερε

Ι1 =

Ζ

δ(ξ0;�)��
ϕη(ζ;Τ1; �) γ(�)ϕδ�;

Ι2 =

Ζ

δ(ξ0;�)<�

ϕϑ(ζ;Τ1; �) γ(�)ϕδ�;

Ι3 =

Ζ

δ(ξ0;�)<�

���η(Τ1;�)(ζ;Τ1; �)� η(Τ1;ξ0;)(ζ;Τ1; �)
�
γ(�)

�� δ�;

Ι4 =

Ζ

δ(ξ0;�)<�

��η(Τ1;ξ0)(ζ;Τ1; �) (γ(�)� γ(ξ0))
�� δ�;

Ι5 = ϕγ(ξ0)ϕ
Ζ

δ(ξ0;�)��

��η(Τ1;ξ0)(ζ;Τ1; �)
�� δ�

ανδ 0 < � < 1, δ(ξ; ξ0) < �=2 ανδ 0 < τ � Τ1 < 1. Φροµ (11.10), (2.3) ανδ
(10.17) ωε γετ

Ι2 � χ(γ; ξ0)(τ� Τ1)�=2
Ζ

δ(ξ0;�)<�

Ε(ξ; �; χ(τ� Τ1)) δ� � χ(γ; ξ0)(τ� Τ1)�=2;

ωηιχη ϖανισηεσ ασ (τ; ξ)! (Τ1; ξ0). Μορεοϖερ, ιφ � = � (∀; ξ0; γ) ισ σµαλλ ενουγη,
ωε ηαϖε

Ι3 � χ(γ; ξ0)
Ζ

δ(ξ0;�)<�

δ(ξ0; �)
�Ε(ξ; �; χ(τ� Τ1)) δ� � χ(γ; ξ0)�� � ∀;

βψ µεανσ οφ (10.11), (2.3) ανδ (10.17), ανδ

Ι4 � χ
Ζ

δ(ξ0;�)<�

Ε(ξ; �; χ(τ� Τ1))ϕγ(�)� γ(ξ0)ϕδ� � χ∀;

βψ µεανσ οφ (10.10), ανδ (10.17). Φιναλλψ, υσινγ (11.11) ανδ (10.10),

Ι1 + Ι5 � χ(γ; �; ξ0)
Ζ

δ(ξ0;�)��
Ε(ξ; �; χ(τ� Τ1)) εξπ(�ϕ�ϕ2)δ�

� χ(γ; �; ξ0; �)
Ζ

Ρν

εξπ
�
�ϕ�ϕ2 � (χ(τ� Τ1))�1 ϕξ� �ϕ2

�
δ�
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ωηιχη ϖανισηεσ ασ (τ; ξ)! (Τ1; ξ0). Ιν τηε λαστ ινεθυαλιτψ ωε ηαϖε υσεδ (10.13),
(2.11), (2.3) ανδ τηε φαχτ τηατ δ(ξ; ξ0) � �=2, ιν ορδερ το εστιµατε

Ε(ξ; �; χ(τ� Τ1)) � χ
�
τ� Τ1
δ(ξ; �)2

�Θ=2
Ε(ξ; �; χ(τ� Τ1))

� χ(�)(τ� Τ1)Θ=2Ε(ξ; �; χ(τ� Τ1))
� χ(�) εξπ(�(χ(τ� Τ1))�1δ(ξ; �)2)
� χ(�) εξπ(�(χ(τ� Τ1))�1ϕξ� �ϕ2):

Τηισ χοµπλετεσ τηε προοφ.

Λεµµα 12.4 Λετ � � 0 ανδ Τ2 > Τ1 βε συχη τηατ (Τ2 � Τ1)� ισ σµαλλ ενουγη.
Λετ φ (τ; ξ) βε α χοντινυουσ φυνχτιον ον [Τ1; Τ2]�Ρν, λοχαλλψ δ−Ηλδερ χοντινυουσ
ιν ξ, υνιφορµλψ ω.ρ.τ. τ, σατισφψινγ τηε γροωτη χονδιτιον

ϕφ (τ; ξ) ϕ �Μ εξπ(� ϕξϕ2)

φορ σοµε χονσταντ Μ > 0. Τηεν τηε φυνχτιον

ςφ (ζ) =

Ζ

[Τ1;τ]�Ρν
η�(ζ; �) φ(�)δ�; ζ = (τ; ξ) 2 [Τ1; Τ2]� Ρν (12.1)

βελονγσ το τηε χλασσ Χ2((Τ1; Τ2)� Ρν) ∴ Χ([Τ1; Τ2]� Ρν) ανδ ωε ηαϖε

Ηςφ (ζ) = φ(ζ)�
Ζ

[Τ1;τ]�Ρν
Ζ1(ζ; �) φ(�)δ�; ζ = (τ; ξ) 2 (Τ1; Τ2)�Ρν: (12.2)

Προοφ. ςφ ισ ωελλ−ποσεδ σινχε, βψ µεανσ οφ (10.10), (10.15) ανδ (10.17), ωε ηαϖε
(ωε υσε τηε νοτατιον ζ = (τ; ξ), � = (σ; ψ))

ϕη�(ζ; �)φ(�)ϕ � χ(Τ1; Τ2; φ; �)Ε(ξ; ψ; χ0(τ� σ)) εξπ(�ϕψϕ2)
� χ(Τ1; Τ2; φ; �)Ε(ξ; ψ; 2χ0(τ� σ)) εξπ(2�ϕξϕ2) 2 Λ1�((Τ1; τ)� Ρν):

Υσινγ τηε εστιµατε (10.15) ιν α σιµιλαρ µαννερ ανδ φολλοωινγ αργυµεντσ σιµιλαρ
το τηοσε ιν τηε προοφ οφ Λεµµα 11.10, ονε χαν σεε τηατ ς ηασ τηε ρεθυιρεδ
ρεγυλαριτψ ανδ

Ξϕςφ (ζ) =

Ζ

[Τ1;τ]�Ρν
Ξϕη�(ζ; �) φ(�)δ�;

ΞιΞϕςφ (ζ) = λιµ
∀!0+

Ζ

[Τ1;τ�∀]�Ρν
ΞιΞϕη�(ζ; �) φ(�)δ�;

≅τςφ (ζ) = φ(ζ) + λιµ
∀!0+

Ζ

[Τ1;τ�∀]�Ρν
≅τη�(ζ; �) φ(�)δ�:

Ρεχαλλινγ τηε δε�νιτιον (11.2) οφ Ζ1, ωε οβταιν (12.2).
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Λεµµα 12.5 Λετ � � 0 ανδ Τ2 > Τ1 βε συχη τηατ (Τ2 � Τ1)� ισ σµαλλ ενουγη.
Λετ φ βε α χοντινυουσ φυνχτιον ον [Τ1; Τ2]�Ρν, σατισφψινγ τηε γροωτη χονδιτιον

ϕφ (τ; ξ)ϕ �Μ εξπ(� ϕξϕ2)

φορ σοµε χονσταντ Μ > 0. Τηεν τηε φυνχτιον

εφ(ζ) =
Ζ

[Τ1;τ]�Ρν
�(ζ; �) φ(�)δ�; ζ = (τ; ξ) 2 [Τ1; Τ2]� Ρν (12.3)

ισ χοντινυουσ ον [Τ1; Τ2]�Ρν. Μορεοϖερ, εφ ισ λοχαλλψ δ−Ηλδερ χοντινυουσ ιν ξ,
υνιφορµλψ ω.ρ.τ. τ, ανδ σατισ�εσ τηε γροωτη χονδιτιον

ϕ εφ (τ; ξ) ϕ � φΜ εξπ(2� ϕξϕ2)

φορ σοµε χονσταντ φΜ > 0.

Προοφ. Τηε γροωτη εστιµατε οφ εφ ιµµεδιατελψ φολλοωσ φροµ (11.4), (10.15) ανδ
(10.17). Τηε Ηλδερ χοντινυιτψ εασιλψ φολλοωσ φροµ Προποσιτιον 11.6, (10.15) ανδ

(10.17). Ωε ονλψ νεεδ το προϖε τηατ εφ(ξ; �) 2 Χ([Τ1; Τ2]) φορ εϖερψ �ξεδ ξ 2 Ρν.
Ωε ηαϖε

��� εφ(τ+ η; ξ)� εφ (τ; ξ)
��� �

Ζ

[Τ1;τ��]�Ρν
ϕ(�(τ+ η; ξ; �)� �(τ; ξ; �)) φ(�)ϕ δ�

+

Ζ

[τ��;τ+η]�Ρν
ϕ�(τ+ η; ξ; �) φ(�)ϕ δ� +

Ζ

[τ��;τ]�Ρν
ϕ�(τ; ξ; �) φ(�)ϕ δ�:

Τηε �ρστ ιντεγραλ ιν τηε ριγητ−ηανδ σιδε ϖανισηεσ ασ η! 0, βψ δοµινατεδ χονϖερ−
γενχε, βψ µακινγ υσε οφ (11.4), (10.12), (10.15), (10.17) ανδ Προποσιτιον 11.6.
Ον τηε οτηερ ηανδ, τηε οτηερ τωο ιντεγραλσ αρε σµαλλερ τηαν χ(φ; �; ξ)(�+η)�=2

ανδ χ(φ; �; ξ)��=2 ρεσπεχτιϖελψ, αγαιν βψ µεανσ οφ (11.4), (10.15) ανδ (10.17).

Λεµµα 12.6 Τηε στατεµεντ οφ Τηεορεµ 12.1 ηολδσ ιφ γ � 0.

Προοφ. Ωε σετ
ω = ςφ + ς εφ ;

ωηερε εφ ισ δε�νεδ βψ (12.3) ανδ ςφ ισ δε�νεδ βψ (12.1). Φροµ Λεµµα 12.4 ανδ
Λεµµα 12.5, ιτ φολλοωσ τηατ

ω 2 Χ2((Τ1; Τ2)� Ρν) ∴ Χ([Τ1; Τ2]� Ρν)
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ανδ ωε ηαϖε (υσινγ τηε εστιµατεσ (11.7), (11.4), (10.15) ανδ (10.17))

Ηω(ζ) = φ(ζ)�
Ζ

[Τ1;τ]�Ρν
(Ζ1(ζ; �)� �(ζ; �)) φ(�)δ�

�
Ζ

[Τ1;τ]�Ρν
Ζ1(ζ; �)

 Ζ

[Τ1;σ]�Ρν
�(�; �) φ(�) δ�

!
δ�

= φ(ζ)�
Ζ

[Τ1;τ]�Ρν

∀
Ζ1(ζ; �)� �(ζ; �) +

Ζ

[�;τ]�Ρν
Ζ1(ζ; �)�(�; �)δ�

#
φ(�)δ�

= φ(ζ);

σινχε τηε εξπρεσσιον [:::] ιν τηε λαστ ιντεγραλ ϖανισηεσ βψ (11.5).
Ιτ ισ νοω συ′χιεντ το ρεχογνιζε τηατ ω = υ:

ω(ζ) = ςφ (ζ) +

Ζ

[Τ1;τ]�Ρν
φ(�)

 Ζ

[�;τ]�Ρν
η�(ζ; �) �(�; �) �

!
δ�

=

Ζ

[Τ1;τ]�Ρν
φ(�) (η�(ζ; �) + ϑ(ζ; �)) δ� = υ(ζ):

Τηισ ενδσ τηε προοφ.
Προοφ οφ Τηεορεµ 12.1. Ιτ διρεχτλψ φολλοωσ βψ Λεµµα 12.3 ανδ Λεµµα 12.6.

13 Λοωερ βουνδσ φορ φυνδαµενταλ σολυτιονσ

Ωε βεγιν ωιτη τηε φολλοωινγ ωεακ µαξιµυµ πρινχιπλε φορ Η ιν τηε χλασσ Χ2,
ωηιχη ισ α χονσεθυενχε οφ τηε ρεσυλτσ ιν [7].

Τηεορεµ 13.1 Λετ Υ βε α βουνδεδ οπεν συβσετ οφ Ρν+1 ανδ λετ τ0 2 Ρ. Ιφ

υ 2 Χ2(Υ), Ηυ � 0 ιν Υ ∴ φτ < τ0γ, λιµ συπυ � 0 ιν ≅Υ ∴ φτ < τ0γ,

τηεν υ � 0 ιν Υ ∴ φτ < τ0γ.

Προοφ. Τηε σχηεµε οφ τηε προοφ ισ χλασσιχαλ. Τηε νεω δι′χυλτψ ισ δυε το τηε
�ωεακ ρεγυλαριτψ� οφ υ, ναµελψ υ 2 Χ2(Υ). Λετ υσ σηοω τηατ υ � 0 ιν

ΥΤ := Υ ∴ φτ < Τγ;

φορ εϖερψ Τ < τ0, βψ προϖινγ τηατ

ϖ∀ (τ; ξ) = (υ (τ; ξ)� ∀γ(τ)) εξπ(�2Κτ) � 0

ιν ΥΤ φορ εϖερψ ∀ > 0, ωηερε

γ(τ) = εξπ(
2ΚΡ2

Τ � τ ); Ρ = µαξ
(τ;ξ);(τ0;ξ0)2Υ

ϕτ� τ0ϕ
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(Κ ηασ βεεν ιντροδυχεδ ιν (10.4)). Λετ ζ 2 ΥΤ βε συχη τηατ συπς ∴ΥΤ ϖ∀ =
συπΥΤ ϖ∀ φορ εϖερψ νειγηβορηοοδ ς οφ ζ. Ιφ ζ 2 ≅ΥΤ , τηεν ωε ιµµεδιατελψ γετ
ϖ∀ � 0 ιν ΥΤ , σινχε λιµ συπ ϖ∀ � 0 ιν ≅ΥΤ , βψ τηε δε�νιτιον οφ ϖ∀, τηε χοντινυιτψ
οφ υ ανδ τηε ηψποτηεσισ ον λιµ συπυ (ωε στρεσσ τηατ υ ισ χοντινυουσ ιν τηε παιρ
(τ; ξ), βψ τηε δε�νιτιον οφ Χ2). Συπποσε νοω τηατ ζ 2 ΥΤ . Τηεν ζ ισ α µαξιµυµ
ποιντ οφ ϖ∀ ιν ΥΤ . Ωε χαν τηεν υσε Προποσιτιον 2.4 ιν [7] ανδ οβταιν

(
Ξϕϖ∀(ζ) = 0; ϕ = 1; : : : ;µ; ≅τϖ∀(ζ) = 0;Πµ
ι;ϕ=1ΞιΞϕϖ∀(ζ)!ι!ϕ � 0 8! 2 Ρµ:

Σινχε (αι;ϕ(ζ))ι;ϕ ισ ποσιτιϖε δε�νιτε (σεε (10.4)), ωε γετ

µΞ

ι;ϕ=1

αι;ϕ(ζ)ΞιΞϕϖ∀(ζ) � 0:

Τηερεφορε (ρεχαλλινγ τηε δε�νιτιον (10.1) οφ Η),

Ηϖ∀(ζ) � �α0(ζ)ϖ∀(ζ): (13.1)

Ον τηε οτηερ ηανδ, ρεχαλλινγ τηατ ϕα0ϕ � Κ (σεε (10.4)) ανδ υσινγ τηε ηψποτηεσισ
Ηυ � 0, ωε αλσο ηαϖε

Ηϖ∀(ζ) = εξπ(�2Κτ)
�
Ηυ(ζ)� ∀

�
γ0(τ)� α0(ζ)γ(τ)

��
� 2Κϖ∀(ζ) (13.2)

� εξπ(�2Κτ)
�
�∀
�
γ0(τ)�Κγ(τ)

��
� 2Κϖ∀(ζ):

Α διρεχτ χοµπυτατιον γιϖεσ:

γ0 �Κγ = γ � 2ΚΡ
2

(Τ � τ)2
�Κγ = Κγ

 
2Ρ2

(Τ � τ)2
� 1
!
� Κγ

σινχε (Τ � τ)2 � Ρ2. Ινσερτινγ τηε λαστ ινεθυαλιτψ ιν (13.2), βψ (13.1) ωε ηαϖε

�α0(ζ)ϖ∀(ζ) � �∀Κγ(τ) εξπ(�2Κτ)� 2Κϖ∀(ζ):

Ασ α χονσεθυενχε,

ϖ∀(ζ)(α0(ζ)� 2Κ) � εξπ(�2Κτ)∀Κγ(τ) > 0

ανδ ϖ∀ � ϖ∀(ζ) < 0 ιν ΥΤ . Τηισ χοµπλετεσ τηε προοφ.
Τηε φολλοωινγ ϖερσιον οφ τηε ωεακ µαξιµυµ πρινχιπλε ιν ιν�νιτε στριπσ εασιλψ

φολλοωσ φροµ Τηεορεµ 13.1.

Χορολλαρψ 13.2 Λετ υ 2 Χ2((Τ1; Τ2)�Ρν) βε συχη τηατ Ηυ � 0 ιν (Τ1; Τ2)�Ρν
ανδ λιµ συπυ � 0 ιν φΤ1γ � Ρν ανδ ατ ιν�νιτψ. Τηεν υ � 0 ιν (Τ1; Τ2)� Ρν.

Προοφ. Φιξ ∀ > 0 ανδ �νδ Ρ∀ > 0 συχη τηατ

συπ
ϕζϕ�Ρ∀

υ(ζ) � ∀ εξπ(ΚΤ1)
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(ωηιχη ισ ποσσιβλε βψ ουρ ασσυµπτιον ον λιµσυπ ατ ιν�νιτψ). Αππλψ Τηεορεµ
13.1 το τηε φυνχτιον υ� ∀ εξπ(Κτ) ιν τηε σετ

Χ∀;π = φζ 2 (Τ1; Τ2)� Ρν : ϕζϕ < π+Ρ∀γ

(φορ σοµε �ξεδ π 2 Ρ). Ρεχαλλινγ τηατ α0 � Κ βψ (10.4), ωε ηαϖε

Η (υ� ∀ εξπ(Κτ)) = Ηυ+ (α0 �Κ) ∀ εξπ(Κτ) � Ηυ � 0

σο τηατ
υ� ∀ εξπ(Κτ) � 0 ιν Χ∀;π:

Λεττιν π γο το ιν�νιτψ ανδ ∀ γο το ζερο, ωε γετ τηε ασσερτιον.
Υσινγ Χορολλαρψ 13.2 ωε χαν προϖε τηε φολλοωινγ

Προποσιτιον 13.3 η ισ α νοννεγατιϖε φυνχτιον.

Προοφ. Ωε �ξ ξ0 2 Ρν, τ0 > �0 ανδ ωε σετ

ϖ = η(τ0; ξ0; �0; �):

Ωε ωιλλ σηοω τηατ
Ρ
Ρν
ϖγ � 0, φορ εϖερψ νον−νεγατιϖε τεστ φυνχτιον γ 2 Χ10 (Ρν).

Βψ τηε χοντινυιτψ οφ ϖ (σεε Προποσιτιον 11.4), τηισ ωιλλ ιµπλψ τηε ασσερτιον.
Ρεχαλλ τηατ ϖ 2 Λ1(Ρν), βψ (11.11) ανδ (10.17). Φροµ Τηεορεµ 12.1, ιτ φολλοωσ
τηατ

υ(ζ) =

Ζ

Ρν

η(ζ; �0; �) γ(�)δ�

βελονγσ το τηε χλασσ Χ2(φτ > �0γ), Ηυ = 0 ιν (�0;1) � Ρν ανδ υ ! γ � 0 φορ
τ! �0. Μορεοϖερ, υσινγ τηε εστιµατε (11.11),

συπ
�0<τ<τ0+1; ϕξϕ>Ρ

ϕυ (τ; ξ) ϕ � χ(γ; τ0; �0)
Ζ

συππ γ

συπ
�0<τ<τ0+1; ϕξϕ>Ρ

Ε(ξ; �; χ0(τ� �0))δ�

� χ(γ; τ0; �0) εξπ(�χ(τ0; �0)�1Ρ2)! 0; ασ Ρ!1:

Ιν τηε λαστ ινεθυαλιτψ ωε ηαϖε υσεδ τηε φαχτ τηατ, ιφ � 2 συππ γ ανδ ϕξϕ ισ λαργε
ενουγη, τηεν δ(ξ; �) � χ�1 (σεε (2.3)) ανδ (2.9), (10.14) γιϖε

Ε(ξ; �; χ0(τ� �0)) � Ε(ξ; �; 2χ0(τ� �0)) εξπ(�(2χ0(τ� �0))�1δ(ξ; �)2)
� χ εξπ(�χ(τ0; �0)�1Ρ2):

Τηερεφορε υ γοεσ το ζερο ατ ιν�νιτψ ιν τηε στριπ (�0; τ0+1)�Ρν. Ωε νοω αππλψ
Χορολλαρψ 13.2 ανδ οβταιν υ � 0 ιν (�0; τ0 + 1) � Ρν. Ιν παρτιχυλαρ, ωε γετΡ
Ρν
ϖγ = υ (τ0; ξ0) � 0.

Προποσιτιον 13.4 (Ρεπροδυχτιον προπερτψ φορ τηε φυνδαµενταλ σολυτιον)
Ωε ηαϖε

η(τ; ξ; �; �) =

Ζ

Ρν

η(τ; ξ; σ; ψ)η(σ; ψ; �; �)δψ;

φορ τ > σ > � ανδ ξ; � 2 Ρν.
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Προοφ. Ωε �ξ �; �; σ ασ αβοϖε ανδ ωε σετ

υ =

Ζ

Ρν

η(�; σ; ψ)η(σ; ψ; �; �)δψ; ϖ = η(�; �; �):

>Φροµ Τηεορεµ 12.1 ιτ φολλοωσ τηατ (φορ Τ2 > Τ1 = σ)

υ 2 Χ2((σ; Τ2)� Ρν) ∴ Χ([σ; Τ2]� Ρν);
Ηυ = 0 ιν (σ; Τ2)�Ρν ανδ υ (σ; �) = ϖ (σ; �) (νοτε τηατ ϖ (σ; �) ισ χοντινυουσ ανδ
βουνδεδ, βψ Προποσιτιον 11.4 ανδ (10.14)). Ον τηε οτηερ ηανδ, φροµ Τηεορεµ
11.8, ωε κνοω τηατ ϖ 2 Χ2(Ρν+1 ν φ(�; �)γ), Ηϖ = 0 ιν Ρν+1 ν φ(�; �)γ. Τηυσ,
ωε ονλψ νεεδ το σηοω τηατ

συπ
σ<τ<Τ2; ϕξϕ>Ρ

ϕυ (τ; ξ)� ϖ (τ; ξ) ϕ �! 0; ασ Ρ!1, (13.3)

ιν ορδερ το γετ υ = ϖ ιν (σ; Τ2) � Ρν φροµ τηε ωεακ µαξιµυµ πρινχιπλε ιν
Χορολλαρψ 13.2. Λετ υσ προϖε (13.3). Υσινγ τηε εστιµατεσ (11.11), (10.16), (2.11)
ανδ (2.3), ωε σεε τηατ τηε συπρεµυµ ιν (13.3) ισ λοωερ τηαν

χ(Τ2; �) συπ
σ<τ<Τ2; ϕξϕ>Ρ

�
Ε(ξ; �; χ(τ� �)) +

Ζ

Ρν

Ε(ξ; ψ; χ0(τ� σ))Ε(ψ; �; χ00(σ� �))δψ
�

� χ(Τ1; Τ2; �) συπ
ϕξϕ>Ρ

εξπ

�
�δ

2(ξ; �)

χ(Τ2; �)

�

� χ(Τ1; Τ2; �) συπ
ϕξϕ>Ρ

εξπ

�
�ϕξ� �ϕ

2

χ(Τ2; �)

�
�! 0; ασ Ρ!1.

Τηε φολλοωινγ λεµµα ισ τηε µαιν στεπ ιν τηε προοφ οφ τηε λοωερ βουνδ οφ η.

Λεµµα 13.5 Τηερε εξιστσ α ποσιτιϖε χονσταντ � = χ�1, συχη τηατ

η(τ; ξ; �; �) � χ�1Ε(ξ; �; χ�1(τ� �));
ιφ 0 < τ� � < � ανδ δ2(ξ; �) � � (τ� �) ϕ λογ(τ� �)ϕ.
Προοφ. Λετ 0 < τ� � < � < 1 ανδ δ2(ξ; �) � � (τ� �) ϕ λογ(τ� �)ϕ. Φροµ (11.9),
(11.10), (10.10) ανδ (2.9) ιτ φολλοωσ τηατ (ζ = (τ; ξ), � = (�; �))

η(ζ; �) = η�(ζ; �) + ϑ(ζ; �)

� χ�10 Ε(ξ; �; χ�11 (τ� �))� χ2 (τ� �)
�
2 Ε(ξ; �; χ3(τ� �))

� χ�10 Ε(ξ; �; χ�11 (τ� �))
�
1� χ4 (τ� �)

�
2 εξπ

�
χ1
δ2(ξ; �)

τ� �

��
:

Ωε νοω χηοοσε � < µινφ1; �
4χ1

; (2χ4)
�4=�γ ιν ορδερ το γετ

χ4 (τ� �)
�
2 εξπ

�
χ1 δ

2(ξ; �)=(τ� �)
�
� χ4 (τ� �)

�
2�� χ1 � χ4 (τ� �)

�
4 � 1

2 :

Τηισ χοµπλετεσ τηε προοφ.

Ωε αρε νοω ιν ποσιτιον το προϖε τηε µαιν ρεσυλτ οφ τηισ σεχτιον.
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Τηεορεµ 13.6 (Λοωερ βουνδ φορ τηε φυνδαµενταλ σολυτιον) Φορ εϖερψ Τ >
0, τηερε εξιστσ α ποσιτιϖε χονσταντ χ(Τ ) συχη τηατ

η(τ; ξ; �; �) � χ(Τ )�1Ε(ξ; �; χ�1(τ� �)); (13.4)

φορ 0 < τ� � � Τ ανδ ξ; � 2 Ρν.

Προοφ. Τηισ προοφ ισ σιµιλαρ το τηατ οφ Τηεορεµ 7.1 ιν Παρτ Ι.
Λετ � < ε�1 βε ασ ιν Λεµµα 13.5 ανδ λετ υσ �ξ Τ > �, ξ; � 2 Ρν ανδ

0 < τ� � � Τ . Λετ κ βε τηε σµαλλεστ ιντεγερ γρεατερ τηαν

µαξφΤ ��1; 16 δ2(ξ; �) (�(τ� �))�1γ

ανδ λετ υσ σετ

� =
1

4

π
�(τ� �)=(κ + 1):

Τηερε εξιστσ α χηαιν οφ ποιντσ ξ = ξ0; ξ1; : : : ; ξκ+1 = �, λαψινγ ον α συιτ−
αβλε Ξ−συβυνιτ πατη χοννεχτινγ τηε ποιντσ ξ ανδ �, συχη τηατ δ(ξϕ ; ξϕ+1) �
2δ(ξ; �)=(κ + 1), φορ ϕ = 0; : : : ; κ. Μορεοϖερ, ωε πιχκ τ = τ0; τ1; : : : ; τκ+1 = �
συχη τηατ τϕ � τϕ+1 = (τ � �)=(κ + 1) φορ ϕ = 0; : : : ; κ. Υσινγ Προποσιτιον 13.4
ρεπεατεδλψ, ωε οβταιν

η(τ; ξ; �; �) =

Ζ

Ρν

η(τ; ξ; τ1; ψ1)η(τ1; ψ1; �; �)δψ1

=

Ζ

(Ρν)κ
η(τ; ξ; τ1; ψ1)η(τ1; ψ1; τ2; ψ2) � � �η(τκ; ψκ; �; �) δψ1 � � � δψκ

�
Ζ

Β(ξ1;�)�����Β(ξκ;�)
η(τ0; ψ0; τ1; ψ1; ) � � �η(τκ; ψκ; τκ+1; ψκ+1) δψ1 � � � δψκ

(ηερε ωε ηαϖε σετ ψ0 = ξ, ψκ+1 = �). Ωε χλαιµ τηατ 0 < τϕ � τϕ+1 < � ανδ

δ2(ψϕ ; ψϕ+1) � � (τϕ � τϕ+1) ϕλογ (τϕ � τϕ+1)ϕ ιφ δ(ξϕ ; ψϕ) < �:

Ινδεεδ, βψ τηε δε�νιτιον οφ κ ανδ οφ �, ωε ηαϖε

τϕ � τϕ+1 = (τ� �)=(κ + 1) � Τ=(κ + 1) < �;

ανδ

δ(ψϕ ; ψϕ+1) � δ(ψϕ ; ξϕ) + δ(ξϕ ; ξϕ+1) + δ(ξϕ+1; ψϕ+1)

< 2� +
2δ(ξ; �)

κ + 1
< 2� +

π
κ�(τ� �)
2(κ + 1)

<

σ
� (τ� �)
(κ + 1)

� � (τϕ � τϕ+1) ϕλογ (τϕ � τϕ+1)ϕ
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σινχε τ� � < � < ε�1. Τηυσ, ωε χαν αππλψ Λεµµα 13.5 ανδ οβταιν τηατ

η(τ; ξ; �; �) �

� χ�1 εξπ(�χκ)
Ζ

Β(ξ1;�)�����Β(ξκ;�)

κΨ

ϕ=0

ϕΒ(ψϕ ; χ0
π
τϕ � τϕ+1)ϕ�1 δψ1 � � � δψκ

� χ�1 εξπ(�χκ)ϕΒ(ξ; χ1�)ϕ�1
κΨ

ϕ=1

ϕΒ(ξϕ ; �)ϕ
ϕΒ(ξϕ ; χ1�)ϕ

� χ�1ϕΒ(ξ;
π
χ(τ� �))ϕ�1 εξπ(�χ κ);

βψ (2.9) ανδ τηε δε�νιτιον οφ �. Νοω, ιφ δ2(ξ; �) > Τ (τ � �)=16, φροµ τηε
δε�νιτιον οφ κ ιτ φολλοωσ τηατ εξπ(�χ κ) � εξπ(�χδ2(ξ; �)=(τ� �). Ον τηε οτηερ
ηανδ, ιφ δ2(ξ; �) < Τ (τ � �)=16, τηε δε�νιτιον οφ κ γιϖεσ εξπ(�χ κ) � χ(Τ )�1.
Υσινγ αγαιν (2.9) ωε �ναλλψ γετ (13.4).

14 Ρεγυλαριτψ ρεσυλτσ

Ιν τηισ σεχτιον ωε ωιλλ προϖε τηατ Χ2 σολυτιονσ το τηε εθυατιον Ηυ = φ , ωιτη
φ 2 Χ�, αχτυαλλψ βελονγ το Χ2;�. Ιν παρτιχυλαρ, τηισ ιµπλιεσ τηατ η (�; �) 2 Χ2;�λοχ .
Τηισ ρεγυλαριζατιον ρεσυλτ ωιλλ φολλοω υσινγ τηε Σχηαυδερ τηεορψ δεϖελοπεδ ιν
[12] ανδ τηε ωεακ µαξιµυµ πρινχιπλε φορ Χ2 σολυτιονσ χονταινεδ ιν Τηεορεµ
13.1, τογετηερ ωιτη σοµε χλασσιχαλ ρεσυλτσ δυε το Βονψ [8]. Ωε σταρτ ρεχαλλινγ
τωο τηεορεµσ ωηιχη αρε προϖεδ, ρεσπεχτιϖελψ, ιν ♣10 ανδ ♣11 οφ [12].

Τηεορεµ 14.1 (Σχηαυδερ εστιµατεσ φορ Η) Φορ ανψ δοµαιν Υ 0 β Υ τηερε
εξιστσ α χονσταντ χ (Υ;Υ 0) > 0 συχη τηατ φορ εϖερψ υ 2 Χ2;�λοχ (Υ) ωιτη Ηυ 2
Χ� (Υ) ονε ηασ

κυκΧ2;�(Υ 0) � χ (Υ;Υ 0)
ν
κΗυκΧ�(Υ) + κυκΛ1(Υ)

ο
: (14.1)

Ρεχαλλ τηατ τηε εξπονεντ � ισ τηε ονε αππεαρινγ ιν ουρ ασσυµπτιονσ ον τηε
χοε′χιεντσ οφ Η (σεε (10.4)).

Τηεορεµ 14.2 (µολλι�ερσ ον Χ�) Λετ η (τ; ξ; ψ) βε τηε φυνδαµενταλ σολυτιον
οφ τηε οπερατορ

Η = ≅τ � Λ = ≅τ �
µΞ

ι=1

Ξ2
ι ;

�ξ α ποσιτιϖε τεστ φυνχτιον � 2 Χ10 (Ρ) συχη τηατ
Ρ
� (τ) δτ = 1 ανδ σετ

�∀ (τ; ξ; ψ) = ∀�1η (∀; ξ; ψ) �

�
τ

∀

�
:

Φορ ανψ � 2 (0; 1) ; φ 2 Χ�
�
Ρν+1

�
σετ

φ∀ (τ; ξ) =

Ζ

Ρν+1

�∀ (τ� σ; ξ; ψ) φ (σ; ψ) δσδψ:
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Τηεν:
κφ∀κΧ� � χ κφκΧ�

ωιτη χ ινδεπενδεντ οφ φ; ∀;

λιµ
∀!0

κφ∀ � φκΛ1(Ρν+1) = 0;

ιφ αιϕ σατισφψ ελλιπτιχιτψ χονδιτιον ιν (10.4), τηεν α
∀
ιϕ σατισφψ τηε σαµε χονδιτιον,

ωιτη ελλιπτιχιτψ χονσταντ ινδεπενδεντ οφ ∀:

Ωε ωιλλ αλσο νεεδ τηε φολλοωινγ χοµπαχτνεσσ λεµµα:

Λεµµα 14.3 Λετ φυϕγ βε α σεθυενχε ιν Χκ;� (Υ), φορ σοµε ποσιτιϖε ιντεγερ κ;
� 2 (0; 1), ανδ Υ βουνδεδ δοµαιν ιν Ρν+1, συχη τηατ

κυϕκΧκ;�(Υ) � χ

ωιτη χ ινδεπενδεντ οφ ϕ. Τηεν, τηερε εξιστσ α συβσεθυενχε υϕη ανδ α φυνχτιον
υ 2 Χκ;� (Υ) συχη τηατ

≅µτ Ξ
Ιυϕη ! ≅µτ Ξ

Ιυ

υνιφορµλψ ιν Υ φορ ανψ µ; Ι ωιτη 2µ+ ϕΙϕ � κ.

Προοφ. Φορ ανψ µ; Ι συχη τηατ 2µ + ϕΙϕ � κ; τηε φυνχτιονσ ≅µτ Ξ
Ιυϕ αρε εθυι−

βουνδεδ ανδ εθυιχοντινυουσ (ιν χλασσιχαλ σενσε), ηενχε βψ Αρζελ◊�σ τηεορεµ
τηερε εξιστσ α συβσεθυενχε ≅µτ Ξ

Ιυϕη υνιφορµλψ χονϖεργινγ ιν Υ το σοµε φυνχ−
τιον ϖµ;Ι . (Σεε Ρεµαρκ 10.5). Μορεοϖερ, ωε χαν εξτραχτ α σινγλε συβσεθυενχε
υϕη συχη τηατ αλλ τηεσε χονδιτιονσ σιµυλτανεουσλψ ηολδ. Σετ υ = ϖ0;0: Βψ Λεµµα
11.9, τηισ ιµπλιεσ τηατ τηε δεριϖατιϖε ≅µτ Ξ

Ιυ εξιστσ ανδ εθυαλσ ϖµ;Ι : Φιναλλψ,
πασσινγ το τηε λιµιτ ιν τηε ινεθυαλιτψ

��≅µτ ΞΙυϕη (τ; ξ)� ≅µτ ΞΙυϕη (σ; ψ)
�� � χδΠ ((τ; ξ) ; (σ; ψ))

�

ωε �νδ τηατ αχτυαλλψ υ 2 Χκ;� (Υ) :

Τηεορεµ 14.4 Λετ υ 2 Χ
2 (Υ) βε α σολυτιον το τηε εθυατιον Ηυ = φ , ωιτη

φ 2 Χ� (Υ). Τηεν υ 2 Χ2;�λοχ (Υ) ανδ σατισ�εσ (14.1). Ιν παρτιχυλαρ, φορ εϖερψ

� 2 Ρν+1, τηε φυνδαµενταλ σολυτιον η (�; �) βελονγσ το Χ2;�λοχ (Ρν+1 ν φ�γ).

Προοφ. Τηισ προοφ ισ σιµιλαρ το τηατ οφ Τηεορεµ 11.5 ιν [12]. Λετ υ 2 Χ2 (Υ) ;
φ = Ηυ 2 Χ� (Υ). Ασσυµε �ρστ τηατ α0 σατισ�εσ τηε σιγν χονδιτιον

α0 (τ; ξ) � �χ < 0 φορ ανψ (τ; ξ) 2 Ρν+1: (14.2)

Λετ νοω α∀ιϕ ; α
∀
ϕ ; α

∀
0; φ

∀ βε τηε µολλι�εδ ϖερσιονσ οφ αιϕ ; αϕ ; α0 ανδ φ , ανδ σετ

Η∀ = ≅τ �
µΞ

ι;ϕ=1

α∀ιϕ (τ; ξ)ΞιΞϕ �
µΞ

ι=1

α∀ι (τ; ξ)Ξι � α∀0 (τ; ξ) :
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Ρεχαλλ τηατ τηε α∀ιϕ �σ σατισφψ τηε ελλιπτιχιτψ χονδιτιον ιν (10.4) ωιτη χονσταντ
� ινδεπενδεντ οφ ∀: Σινχε Η∀ ηασ σµοοτη χοε′χιεντσ, ιτ χαν βε ωριττεν ασ α
Ηρµανδερ οπερατορ. Τηισ, τογετηερ ωιτη χονδιτιον (14.2) (νοτε τηατ αλσο α∀0
σατισ�εσ τηισ χονδιτιον), αλλοωσ το αππλψ κνοων ρεσυλτσ οφ Βονψ [8]: φορ εϖερψ
ποιντ οφ Υ 0 ωε χαν �νδ α νειγηβορηοοδ ∆ ωηερε ωε χαν υνιθυελψ σολϖε τηε
χλασσιχαλ ∆ιριχηλετ προβλεµ:

�
Η∀υ∀ = φ∀ ιν ∆
υ∀ = υ ον ≅∆

Μορεοϖερ, τηε δοµαιν ∆ σατισ�εσ τηε φολλοωινγ ρεγυλαριτψ προπερτψ ωηιχη ωιλλ
βε υσεφυλ λατερ (σεε [8, Χορολλαρψ 5.2]): φορ εϖερψ ποιντ (τ1; ξ1) 2 ≅∆ τηερε εξιστσ
αν Ευχλιδεαν βαλλ οφ χεντερ (τ0; ξ0) =2 ∆ ωηιχη ιντερσεχτσ ∆ εξαχτλψ ατ (τ1; ξ1) :
Σινχε Η∀ ισ ηψποελλιπτιχ, τηε σολυτιον υ∀ βελονγσ το Χ1 (∆) ; τηεν ωε χαν

αππλψ ουρ α−πριορι εστιµατεσ (14.1), ωριτινγ

κυ∀κΧ2;�(∆0) � Χ (∀;∆;∆0)
ν
κφ∀κΧ�(∆) + κυ∀κΛ1(∆)

ο
:

Τηε χονσταντ Χ (∀;∆;∆0) δεπενδσ ον τηε χοε′χιεντσ α∀ιϕ ; α
∀
ϕ ; α

∀
0 ονλψ τηρουγη

τηειρ Χ� (∆)−νορµσ ανδ τηε ελλιπτιχιτψ χονσταντ, ηενχε βψ Τηεορεµ 14.2, Χ χαν
βε βουνδεδ ινδεπενδεντλψ οφ ∀: Φορ τηε σαµε ρεασον κφ∀κΧ�(∆) � χ κφκΧ�(∆) :

Το γετ α βουνδ ινδεπενδεντ οφ ∀ αλσο ον κυ∀κΛ1(∆) ; λετ

ϖ∀ (τ) = µαξ
≅∆

ϕυ∀ϕ+ ετ�Μ µαξ
∆
ϕφ∀ϕ

ωιτη Μ = µιν(τ;ξ)2∆ τ. Τηεν

Η∀ϖ∀ (τ; ξ) = ετ�Μ µαξ
∆
ϕφ∀ϕ � α0 (τ; ξ) ϖ∀ � ετ�Μ µαξ

∆
ϕφ∀ϕ

� µαξ
∆
ϕφ∀ϕ � φ (τ; ξ) = Η∀υ

∀ (τ; ξ) ιν ∆

ωηιλε
ϖ∀ � υ∀ ον ≅∆,

ηενχε βψ Τηεορεµ 13.1,

κυ∀κΛ1(∆) � κϖ∀κΛ1(∆) � κυκΛ1(≅∆) + χµαξ
∆
ϕφ∀ϕ �

� κυκΛ1(≅∆) + χ κφκΧ�(∆)

Τηισ µεανσ τηατ, φορ ανψ ∆0 β ∆;

κυ∀κΧ2;�(∆0) � χ (∆0; ∆)
ν
κυκΛ1(≅∆) + κφκΧ�(∆)

ο
: (14.3)

Ηενχε, βψ Λεµµα 14.3, φορ εϖερψ ∆0 β ∆ ωε χαν �νδ α σεθυενχε ∀ν ! 0 ανδ α
φυνχτιον ϖ 2 Χ2;� (∆0) συχη τηατ

≅µτ Ξ
Ιυ∀ν ! ≅µτ Ξ

Ιϖ

110



υνιφορµλψ ιν ∆0, φορ 2µ + ϕΙϕ � 2. Βψ α στανδαρδ �διαγοναλ αργυµεντ�, ωε
χαν αλσο σελεχτ α σινγλε σεθυενχε ∀ν ! 0 ανδ α φυνχτιον ϖ 2 Χ2;�λοχ (∆) συχη τηατ
≅µτ Ξ

Ιυ∀ν ! ≅µτ Ξ
Ιϖ λοχαλλψ υνιφορµλψ ανδ ποιντωισε ιν ∆. Μορεοϖερ,

Η∀νυ∀ν = φ∀ν ! φ , βυτ αλσο Η∀νυ∀ν ! Ηϖ

ηενχε
Ηϖ = φ ιν ∆.

Ουρ νεξτ τασκ ισ το σηοω τηατ ϖ = υ ιν ∆; τηισ ωιλλ ιµπλψ υ 2 Χ2;�λοχ (∆) ;
τηατ ισ τηε δεσιρεδ ρεγυλαριτψ ρεσυλτ. Το δο τηισ, ωε ωιλλ µακε υσε οφ α χλασσιχαλ
αργυµεντ οφ βαρριερσ, τακεν φροµ [8], το σηοω τηατ υ = ϖ ον ≅∆; τηισ ωιλλ ιµπλψ
τηατ ϖ = υ ιν ∆; αγαιν βψ τηε µαξιµυµ πρινχιπλε (Τηεορεµ 13.1).
Φιξ α ποιντ (τ1; ξ1) 2 ≅∆; λετ (τ0; ξ0) βε τηε χεντερ οφ τηε εξτεριορ βαλλ τηατ

τουχηεσ ≅∆ ατ (τ1; ξ1) ; ανδ σετ:

ω (τ; ξ) = ε�Ν[ϕξ�ξ0ϕ
2+(τ�τ0)2] � ε�Ν[ϕξ1�ξ0ϕ2+(τ1�τ0)2]

ωιτη Ν α ποσιτιϖε χονσταντ το βε χηοσεν λατερ. Βψ χονστρυχτιον, ω (τ; ξ) < 0
ιν ∆. Α διρεχτ χοµπυτατιον σηοωσ τηατ, βψ τηε χονστρυχτιον οφ ∆ µαδε ιν
[8], Ηω (τ; ξ) < 0 ιν α συιταβλε νειγηβορηοοδ ∆1 οφ (τ1; ξ1), χηοοσινγ Ν λαργε
ενουγη. Νεξτ, ωε χοµπυτε, φορ ανοτηερ λαργε χονσταντ Μ :

Η (Μω � (υ∀ � υ)) =ΜΗω � (φ∀ � φ) < 0 ιν ∆1 ∴∆

φορ Μ λαργε ενουγη, σινχε (φ∀ � φ) ισ υνιφορµλψ βουνδεδ ωιτη ρεσπεχτ το ∀: Λετ
υσ σηοω τηατ

Μω � (υ∀ � υ) < 0 ον ≅ (∆1 ∴∆) :
Ον ∆1 ∴ ≅∆; ωε ηαϖε Μω � (υ∀ � υ) = Μω � 0; ον τηε οτηερ ηανδ, ον
≅∆1 ∴∆ ωε ηαϖε ω � χ0 φορ σοµε χ0 < 0, ωηιλε (υ

∀ � υ) ισ υνιφορµλψ βουνδεδ
ωιτη ρεσπεχτ το ∀; ηενχε φορ Μ λαργε ενουγη Μω� (υ∀ � υ) � 0: Τηε µαξιµυµ
πρινχιπλε τηεν ιµπλιεσ

Μω � (υ∀ � υ) � 0 ιν ∆1 ∴∆

τηατ ισ
ϕυ∀ � υϕ � �Μω ιν ∆1 ∴∆; υνιφορµλψ ιν ∀:

Φορ ∀! 0 ωε γετ

ϕ(ϖ � υ) (τ; ξ)ϕ � �Μω (τ; ξ) φορ (τ; ξ) 2 ∆1 ∴∆

ανδ, φορ (τ; ξ)! (τ1; ξ1) ωε γετ ϖ (τ1; ξ1) = υ (τ1; ξ1) : Τηισ ενδσ τηε προοφ οφ ουρ
ρεσυλτ, υνδερ τηε αδδιτιοναλ ασσυµπτιον (14.2). Ιν τηε γενεραλ χασε, ιφ υ σατισ�εσ
Ηυ = φ , τηεν

ϖκ (τ; ξ) = εκτυ (τ; ξ)

σατισ�εσ
(Η � κ) ϖκ (τ; ξ) = εκτφ (τ; ξ) :
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Φορ �κ > 0 λαργε ενουγη, ωε χαν αππλψ τηε πρεϖιουσ αργυµεντ το Η�κ; γεττινγ

κυκΧ2;�(Υ 0) � χ κϖκκΧ2;�(Υ 0) � χ
ν

εκτφ




Χ�(Υ)

+ κϖκκΛ1(Υ)
ο
�

� χ
ν
κφκΧ�(Υ) + κυκΛ1(Υ)

ο
:

Ωε αλσο ποιντ ουτ τηε φολλοωινγ προποσιτιον. Αλτηουγη ιτ ωιλλ νεϖερ βε υσεδ
ιν τηε φολλοωινγ, ιτ χοµπλετεσ τηε πιχτυρε οφ ρεγυλαριζατιον προπερτιεσ, ασσυρινγ
τηατ, ωηεν τηε χοε′χιεντσ οφ τηε οπερατορ αρε σµοοτη, ουρ �ωεακ� Χ2 σολυτιονσ
αρε αλσο σολυτιονσ ιν διστριβυτιοναλ σενσε:

Προποσιτιον 14.5 Συπποσε τηε χοε′χιεντσ αι;ϕ ; ακ; α0 οφ Η αρε σµοοτη. Τηεν
Η ισ ηψποελλιπτιχ ιν Ρν+1 ανδ, φορ εϖερψ �ξεδ � 2 Ρν+1,

Η(η(�; �)) = �� ιν ∆0(Ρν+1): (14.4)

Μορεοϖερ, γιϖεν αν οπεν σετ Υ � Ρν+1, ωε ηαϖε

(υ 2 Χ2(Υ); Ηυ = 0 ιν Υ)) (υ 2 Χ1(Υ)): (14.5)

Προοφ. Ιτ ηασ αλρεαδψ βεεν νοτεδ τηατ ιφ τηε χοε′χιεντσ αρε σµοοτη, τηεν Η
χαν βε ρεωριττεν ασ α Ηρµανδερ οπερατορ, ηενχε Η ισ ηψποελλιπτιχ. Μορεοϖερ,
τηε αδϕοιντ οπερατορ Η� ισ ωελλ δε�νεδ, ηενχε βψ στανδαρδ χοµπυτατιον, τηε
ρεπρεσεντατιον φορµυλασ ωριττεν ιν Τηεορεµ 12.1 αλσο ιµπλψ (14.4), ονχε ωε ηαϖε
προϖεδ τηε φολλοωινγ χλαιµ: ιφ α χοντινυουσ φυνχτιον υ ηασ χοντινυουσ ιντρινσιχ
δεριϖατιϖε Ξϕυ, τηεν Ξϕυ ισ αλσο α δεριϖατιϖε ιν τηε σενσε οφ διστριβυτιονσ. Τηισ
φαχτ, τογετηερ ωιτη ηψποελλιπτιχιτψ, ωιλλ αλσο ιµπλψ (14.5). Το σηοω τηισ, λετ υ∀ν
βε α σεθυενχε οφ σµοοτη φυνχτιονσ οβταινεδ φροµ υ ωιτη α στανδαρδ (Ευχλιδεαν)
µολλι�χατιον προχεδυρε. Ιτ ηασ βεεν προϖεδ ιν [7, Προποσιτιον 2.2.] τηατ

Ξϕυ∀ν ! Ξϕυ

υνιφορµλψ ον χοµπαχτ συβσετσ οφ Υ . Τηεν ωε ηαϖε, φορ ανψ τεστ φυνχτιον ∋,

Ζ
υΞ�

ϕ ∋ = λιµ
ν!1

Ζ
υ∀νΞ

�
ϕ ∋ = λιµ

ν!1

Ζ
(Ξϕυ∀ν)∋ =

Ζ
(Ξϕυ)∋:

Τηισ προϖεσ τηε χλαιµ.
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Παρτ ΙΙΙ

Ηαρναχκ ινεθυαλιτψ φορ οπερατορσ
ωιτη Ηλδερ χοντινυουσ
χοε′χιεντσ

15 Οϖερϖιεω οφ Παρτ ΙΙΙ

Ιν τηισ παρτ ωε χοµε το ονε οφ τηε µαιν γοαλσ οφ ουρ τηεορψ, ναµελψ τηε προοφ
οφ ινϖαριαντ Ηαρναχκ ινεθυαλιτιεσ φορ εϖολυτιοναρψ ορ στατιοναρψ οπερατορσ οφ τηε
κινδ

Η = ≅τ �
µΞ

ι;ϕ=1

αι;ϕ (τ; ξ)ΞιΞϕ �
µΞ

κ=1

ακ (τ; ξ)Ξκ (15.1)

ορ

Λ =
µΞ

ι;ϕ=1

αι;ϕ (ξ)ΞιΞϕ +
µΞ

κ=1

ακ (ξ)Ξκ; (15.2)

ρεσπεχτιϖελψ. Ουρ ασσυµπτιονσ αρε τηε σαµε ασ ιν Παρτ ΙΙ (ασ στατεδ ιν Σεχτιον
10; σεε αλσο Ρεµαρκ 10.9), εξχεπτ φορ τηε ϖανισηινγ οφ τηε ζερο−ορδερ τερµ (α0
ιν (10.1)), τηατ ηερε ωιλλ βε ασσυµεδ.
Ουρ µαιν ρεσυλτ ισ τηε φολλοωινγ:

Τηεορεµ 15.1 (Παραβολιχ Ηαρναχκ ινεθυαλιτψ) Λετ Η βε ασ αβοϖε. Λετ
Ρ0 > 0, 0 < η1 < η2 < 1 ανδ 
 2 (0; 1). Τηερε εξιστσ α ποσιτιϖε χονσταντ
Μ = χ(η1; η2; 
; Ρ0) συχη τηατ φορ εϖερψ (�0; �0) 2 Ρν+1, Ρ 2 (0; Ρ0] ανδ εϖερψ

υ 2 Χ2((�0 �Ρ2; �0)�Β(�0; Ρ)) ∴ Χ([�0 �Ρ2; �0]�Β(�0; Ρ))

σατισφψινγ Ηυ = 0, υ � 0 ιν (�0 �Ρ2; �0)�Β(�0; Ρ); ωε ηαϖε:

µαξ
[�0�η2Ρ2;�0�η1Ρ2]�Β(�0;
Ρ)

υ �Μ υ(�0; �0):

Ρεµαρκ 15.2 Τηε σπαχε Χ2 ηασ βεεν ιντροδυχεδ ιν ∆ε�νιτιον 10.3. Ρεχαλλ τηατ,
βψ Τηεορεµ 14.4, ανψ σολυτιον ιν Χ2 αλσο βελονγσ το Χ2;�.

Τηε αβοϖε τηεορεµ ιµµεδιατελψ ιµπλιεσ τηε στατιοναρψ ϖερσιον:

Τηεορεµ 15.3 (Ηαρναχκ ινεθυαλιτψ φορ στατιοναρψ οπερατορσ) Λετ Λ βε
ασ αβοϖε. Λετ Ρ0 > 0. Τηερε εξιστσ α ποσιτιϖε χονσταντ Μ = χ(Ρ0) συχη τηατ φορ
εϖερψ �0 2 Ρν, Ρ 2 (0; Ρ0] ανδ εϖερψ υ 2 Χ2(Β(�0; 3Ρ)) σατισφψινγ

Λυ = 0; υ � 0; ιν Β(�0; 3Ρ)

ονε ηασ
µαξ
Β(�0;Ρ)

υ �Μ µιν
Β(�0;Ρ)

υ:
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Τηε στρατεγψ ωε φολλοω το προϖε �παραβολιχ� Ηαρναχκ ινεθυαλιτψ φορ οπερατορσ
(15.1) ισ ινσπιρεδ το τηε παπερ βψ Φαβεσ−Στροοχκ [22], ωηο, ιν τυρν, εξπλοιτεδ
τηε οριγιναλ ιδεασ βψ Κρψλοϖ−Σαφανοϖ αβουτ παραβολιχ οπερατορσ ιν νονδιϖεργενχε
φορµ (σεε [32], [33], [50]). Ιν Φαβεσ−Στροοχκ�σ παπερ, Ηαρναχκ ινεθυαλιτψ ισ δε−
ριϖεδ βψ α φαιρλψ σηορτ βυτ χλεϖερ χοµβινατιον οφ εστιµατεσ βασεδ ονλψ ον τηε
Γαυσσιαν βουνδσ (φροµ αβοϖε ανδ βελοω) ον τηε Γρεεν φυνχτιον φορ α χψλινδερ.
Τηε ραδιυσ οφ τηε χψλινδερ ινχορπορατεσ τηε εσσεντιαλ γεοµετριχαλ ινφορµατιον,
γιϖινγ διλατιον ινϖαριανχε το τηε Ηαρναχκ εστιµατε.
Αβουτ ατ τηε σαµε τιµε οφ Φαβεσ−Στροοχκ παπερ, τηε σαµε δεεπ ιδεασ ωερε

αππλιεδ βψ Κυσυοκα−Στροοχκ [35] ιν τηε χοντεξτ οφ Ηρµανδερ�σ οπερατορσ ≅τ �Πθ
ι=1Ξ

2
ι . Μυχη µορε ρεχεντλψ, τηισ γενεραλ στρατεγψ ηασ βεεν αδαπτεδ βψ Βον−

�γλιολι, Υγυζζονι [6] το στυδψ νονϖαριατιοναλ οπερατορσ στρυχτυρεδ ον Ηρµαν−
δερ�σ ϖεχτορ �ελδσ ιν Χαρνοτ γρουπσ.
Ηερε ωε ωιλλ φολλοω τηε σαµε λινε. Τηε στρικινγ φεατυρε οφ τηισ προοφ ισ

τηε �αξιοµατιχ� νατυρε οφ ιτσ χορε: ιτ δεπενδσ ονλψ ον τηε συιταβλε Γαυσσιαν
εστιµατεσ φορ τηε Γρεεν φυνχτιον, α µαξιµυµ πρινχιπλε φορ Η, τηε φαχτ τηατ
χονσταντσ αρε σολυτιονσ το Ηυ = 0 (αβσενχε οφ τηε ζερο ορδερ τερµ), ανδ σοµε
γεοµετριχ προπερτιεσ οφ ΧΧ−διστανχε ανδ βαλλσ, λικε τηε δουβλινγ προπερτψ φορ
τηε Λεβεσγυε µεασυρε οφ µετριχ βαλλσ. Τηεν, αλσο ιν ουρ συβριεµαννιαν σεττινγ,
ανδ φορ οπερατορσ ιν νονδιϖεργενχε φορµ, ωε ρεχοϖερ αν αξιοµατιχ λινκ βετωεεν
Γαυσσιαν βουνδσ, σχαλινγ ινϖαριαντ Ηαρναχκ ινεθυαλιτψ, ανδ προπερτιεσ οφ τηε
υνδερλψινγ µετριχ στρυχτυρε, ασ τηε ονε στρεσσεδ βψ Σαλο⁄−Χοστε ανδ Γριγορ�ψαν
φορ διϖεργενχε φορµ παραβολιχ οπερατορσ ον Ριεµαννιαν µανιφολδσ (σεε τηε βοοκ
[51] ανδ ρεφερενχεσ τηερειν).
Ηοωεϖερ, ιν πυρσυινγ ουρ αιµ, α �ρστ προβλεµ αρισεσ: φορ ουρ οπερατορ Η

ωιτη Ηλδερ χοντινυουσ χοε′χιεντσ, τηε εξιστενχε οφ τηε Γρεεν φυνχτιον ισ νοτ
ψετ γραντεδ. Τηερεφορε ιτ ισ χονϖενιεντ, ασ α �ρστ στεπ, το µακε τηε θυαλιτα−
τιϖε ασσυµπτιον οφ σµοοτηνεσσ ον τηε χοε′χιεντσ, στυδψ τηε Γρεεν φυνχτιον ιν
τηισ σεττινγ ανδ δεριϖε τηε Ηαρναχκ ινεθυαλιτψ φορ οπερατορσ ωιτη σµοοτη χοε′−
χιεντσ. Σινχε τηε Γαυσσιαν βουνδσ ον τηε Γρεεν φυνχτιον ωιλλ βε δεριϖεδ βψ τηε
αναλογουσ βουνδσ ον τηε φυνδαµενταλ σολυτιον, εσταβλισηεδ ιν Παρτ ΙΙ, αλλ τηε
χονσταντσ ωιλλ δεπενδ ον τηε χοε′χιεντσ αιϕ ; ακ ονλψ τηρουγη τηειρ Χ

�−νορµσ
ανδ ελλιπτιχιτψ (τηε χονσταντσ Κ;� δε�νεδ ιν (10.4)). Τηισ ωιλλ αλλοω το γετ,
βψ α λιµιτινγ προχεδυρε, Ηαρναχκ ινεθυαλιτψ ιν τηε νον−σµοοτη χασε. Βυτ α
σεχονδ προβλεµ αρισεσ: εϖεν φορ τηε οπερατορ ωιτη σµοοτη χοε′χιεντσ, ωηιχη ισ
ηψποελλιπτιχ ανδ �τσ τηε ασσυµπτιονσ οφ τηε χλασσιχαλ τηεορψ δεϖελοπεδ βψ Βονψ
[8], τηε χψλινδερ βασεδ ον α µετριχ βαλλ χουλδ βε α βαδ δοµαιν φορ τηε ∆ιριχηλετ
προβλεµ, σο τηατ τηε εξιστενχε οφ τηε Γρεεν φυνχτιονσ φορ τηισ κινδ οφ δοµαιν
ισ στιλλ τρουβλεσοµε. Νεϖερτηελεσσ, Λανχονελλι, Υγυζζονι ηαϖε ρεχεντλψ προϖεδ
ιν [39] τηατ γιϖεν τωο µετριχ βαλλσ Β (�; �Ρ) ; Β (�;Ρ) ; (ωιτη � 2 (0; 1)), τηερε
αλωαψσ εξιστσ α δοµαιν Α (�;Ρ) ; ρεγυλαρ φορ τηε (στατιοναρψ) ∆ιριχηλετ προβλεµ,
ανδ συχη τηατ Β (�; �Ρ) � Α (�;Ρ) � Β (�;Ρ) (σεε Λεµµα 16.2). Τηε Γρεεν
φυνχτιον φορ Η ον Ρ�Α (�;Ρ) µυστ βε τηουγητ ασ τηε νατυραλ συβστιτυτε οφ τηε
Γρεεν φυνχτιον φορ τηε χψλινδερ Ρ�Β (�;Ρ). Ιν τηε �ναλ λιµιτινγ προχεδυρε, ωε
ωιλλ αλσο υσε τηε φαχτ τηατ τηε δοµαιν Α (�;Ρ) χαν βε συιταβλψ χηοσεν ιν ορδερ
φορ ιτ το βε �υνιφορµλψ ρεγυλαρ� φορ τηε φαµιλψ οφ αππροξιµατινγ οπερατορσ Η∀
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(σεε Λεµµα 18.1 φορ τηε εξαχτ στατεµεντ οφ τηισ προπερτψ). Τηισ ισ ανοτηερ φαχτ
προϖεδ ιν [39].

Πλαν οφ Παρτ ΙΙΙ

Ιν Σεχτιον 16 ωε στυδψ οπερατορσ ωιτη σµοοτη χοε′χιεντσ, ανδ χονστρυχτ α
Γρεεν φυνχτιον Γ φορ ρεγυλαρ δοµαινσ. Τηεν, ωε προϖε τηε Γαυσσιαν βουνδσ
φροµ αβοϖε ανδ βελοω ον Γ. Ιν Σεχτιον 17 ωε δεριϖε φροµ τηε Γαυσσιαν βουνδσ
ον Γ τηε Ηαρναχκ ινεθυαλιτψ φορ οπερατορσ ωιτη σµοοτη χοε′χιεντσ. Τηισ ισ τηε
αξιοµατιχ χορε οφ τηε προοφ, στριχτλψ ρε�εχτινγ τηε λινε οφ [22]. Φιναλλψ, ιν Σεχτιον
18 ωε σεττλε α συιταβλε λιµιτινγ προχεδυρε το προϖε παραβολιχ Ηαρναχκ ινεθυαλιτψ
ιν τηε νονσµοοτη χασε. Ηαρναχκ ινεθυαλιτψ ιν τηε στατιοναρψ χασε ισ τηεν αν
εασψ χονσεθυενχε.

16 Γρεεν φυνχτιον φορ οπερατορσ ωιτη σµοοτη

χοε′χιεντσ ον ρεγυλαρ δοµαινσ

Τηρουγηουτ Σεχτιονσ 16 ανδ 17, ωε σηαλλ µακε τηε θυαλιτατιϖε ασσυµπτιον τηατ
τηε χοε′χιεντσ αι;ϕ ; ακ οφ Η αρε σµοοτη. Ιν Σεχτιον 18, ωε σηαλλ τυρν βαχκ το
Ηλδερ χοντινυουσ χοε′χιεντσ ανδ χοµπλετε τηε προοφ οφ τηε Ηαρναχκ ινεθυαλιτψ
ιν Τηεορεµ 15.1, βψ αν αππροξιµατιον αργυµεντ.
Ωε σταρτ ωιτη τηε φολλοωινγ δε�νιτιονσ:

∆ε�νιτιον 16.1 Ωε σηαλλ σαψ τηατ α βουνδεδ χψλινδερ

∆ = (Τ1; Τ2)� 
 � Ρν+1

ισ Η−ρεγυλαρ, ιφ φορ εϖερψ χοντινυουσ φυνχτιον ∋ ον τηε παραβολιχ βουνδαρψ

≅π∆ = ([Τ1; Τ2]� ≅
) [ (φΤ1γ � 
);

τηερε εξιστσ α (υνιθυε, βψ Τηεορεµ 13.1) σολυτιον υ∋ το

υ 2 Χ1(∆) ∴ Χ(∆ [ ≅π∆); Ηυ = 0 ιν ∆; υ = ∋ ιν ≅π∆. (16.1)

Ωε σηαλλ αλσο σαψ τηατ α βουνδεδ οπεν σετ 
 � Ρν ισ Η−ρεγυλαρ ιφ, φορ ανψ
Τ1 < Τ2, τηε χψλινδερ (Τ1; Τ2)� 
 ισ Η−ρεγυλαρ.

Βψ τηε µαξιµυµ πρινχιπλε (Τηεορεµ 13.1), ιφ ∆ ισ αν Η−ρεγυλαρ δοµαιν, φορ
ανψ �ξεδ ζ 2 ∆; τηε λινεαρ φυνχτιοναλ

Τ : Χ(≅π∆)! Ρ;

Τ : ∋ 7�! υ∋ (ζ) ωιτη υ∋ ασ ιν (16.1)

ισ χοντινυουσ. Τηερεφορε τηερε εξιστσ α µεασυρε �∆ζ (συππορτεδ ον ≅π∆) σο τηατ

υ∋(ζ) =

Ζ

≅π∆

∋(�)δ�∆ζ (�):
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Τηε µεασυρεσ φ�∆ζ γζ2∆ αρε χαλλεδ Η−χαλοριχ µεασυρεσ.
Τηε φολλοωινγ λεµµα, προϖεδ ιν [39], στατεσ τηατ ιτ ισ αλωαψσ ποσσιβλε το

αππροξιµατε ανψ βουνδεδ δοµαιν 
 � Ρν βψ Η−ρεγυλαρ δοµαινσ, βοτη φροµ
τηε ινσιδε ανδ φροµ τηε ουτσιδε.

Λεµµα 16.2 Λετ Β βε α βουνδεδ οπεν σετ οφ Ρν. Τηεν φορ εϖερψ � > 0 τηερε
εξιστ Η−ρεγυλαρ δοµαινσ Α�; Α� συχη τηατ

φξ 2 Βϕδ(ξ; ≅Β) > �γ � Α� � Β � Α� � φξ 2 Ρνϕδ(ξ;Β) < �γ:

Τηε �ρστ γοαλ οφ τηισ σεχτιον ισ το προϖε τηε εξιστενχε ανδ βασιχ προπερτιεσ
οφ τηε Γρεεν φυνχτιον φορ ανψ ρεγυλαρ χψλινδερ Ρ� 
.

Τηεορεµ 16.3 Λετ 
 � Ρν βε αν Η−ρεγυλαρ δοµαιν. Τηεν τηερε εξιστσ α Γρεεν
φυνχτιον Γ = Γ
 ον τηε χψλινδερ Ρ� 
, ωιτη τηε προπερτιεσ λιστεδ βελοω.

(ι) Γ ισ α χοντινυουσ φυνχτιον δε�νεδ ον τηε σετ φ(ζ; �) 2 (Ρ�
)� (Ρ�
) :
ζ 6= �γ. Μορεοϖερ, φορ εϖερψ �ξεδ � 2 Ρ�
, Γ(�; �) 2 Χ1((Ρ�
) ν φ�γ),
ανδ ωε ηαϖε

Η(Γ(�; �)) = 0 ιν (Ρ� 
) ν φ�γ; Γ(�; �) = 0 ιν Ρ�≅
:

(ιι) Ωε ηαϖε 0 � Γ � η. Μορεοϖερ Γ(τ; ξ; �; �) = 0 ιφ τ < � .

(ιιι) Φορ εϖερψ ∋ 2 Χ(
) συχη τηατ ∋ = 0 ιν ≅
 ανδ φορ εϖερψ �ξεδ � 2 Ρ, τηε
φυνχτιον

υ (τ; ξ) =

Ζ




Γ(τ; ξ; �; �)∋(�) δ�; ξ 2 
; τ > �

βελονγσ το τηε χλασσ Χ1((�;1)� 
) ∴ Χ([�;1)� 
) ανδ σολϖεσ
8
><
>:

Ηυ = 0 ιν (�;1)� 
;
υ = 0 ιν [�;1)� ≅
;
υ(�; �) = ∋ ιν 
:

Προοφ. Φορ α �ξεδ χψλινδερ ∆ = (Τ1; Τ2)� 
 ωε σετ

	∆� (ζ) =

Ζ

≅π∆

η(�; �) δ�∆ζ (�); ζ; � 2 ∆;

σο τηατ Γ∆(ζ; �) = η(ζ; �)�	∆� (ζ) σολϖεσ

Γ∆(�; �) 2 Χ1(∆ ν φ�γ)
Η(Γ∆(�; �)) = 0 ιν ∆ ν φ�γ

Γ∆(�; �) = 0 ιν ≅π∆
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(ρεχαλλ (14.5)). Μορεοϖερ, αππλψινγ τηε ωεακ µαξιµυµ πρινχιπλε φορ Η (σεε
Τηεορεµ 13.1) �ρστ ιν τηε σετ (Τ1; �) � 
 ανδ τηεν ιν τηε σετ (�; Τ2) � 
, ωε
οβταιν

Γ∆(τ; ξ; �; �) = 0 ιφ τ � � , Γ∆(τ; ξ; �; �) � 0 ιφ τ � � . (16.2)

Ωε νοω χονσιδερ τηε σεθυενχε ∆ν = (�ν; ν)� 
 ανδ ωε οβσερϖε τηατ

Γ∆ν = Γ∆ν+1 ιν (∆ν [ ≅π∆ν)�∆ν.

Τηισ εασιλψ φολλοωσ φροµ (16.2) ανδ φροµ τηε ωεακ µαξιµυµ πρινχιπλε φορ Η

αππλιεδ το τηε φυνχτιον Γ∆ν(�; �)�Γ∆ν+1(�; �) = 	∆ν+1

� �	∆ν

� ιν τηε σετ (�; ν)�

. Ασ α χονσεθυενχε, τηε φολλοωινγ δε�νιτιον οφ Γ = Γ
 ισ ωελλ−ποσεδ:

Γ(ζ; �) = Γ∆ν(ζ; �); φορ ζ 2 ∆ν [ ≅π∆ν, � 2 ∆ν:

Μορεοϖερ, Γ σολϖεσ Η(Γ(�; �)) = 0 ιν (Ρ � 
) ν φ�γ, Γ(�; �) = 0 ιν Ρ�≅
. Ωε
αλσο δε�νε 	 = 	
 βψ

	(ζ; �) = η(ζ; �)�Γ(ζ; �)

(ι.ε., 	(ζ; �) = 	∆� (ζ) φορ � 2 ∆ = (Τ1; Τ2)� 
, ζ 2 ∆ [ ≅π∆). Ωε χλαιµ τηατ

	 2 Χ
�
(Ρ�
)� (Ρ�
)

�
: (16.3)

Σινχε 	(�; �) ισ χοντινυουσ ον Ρ�
, ιτ ισ συ′χιεντ το προϖε τηατ, φορ ανψ �0 2
Ρ�
 ανδ Τ > 0,

συπ
ζ2[�Τ;Τ ]�


ϕ	(ζ; �)�	(ζ; �0)ϕ �! 0; ασ � ! �0:

Σεττινγ φορ βρεϖιτψ ∆ = (�Τ; Τ )�
 ανδ ω� = 	(�; �)�	(�; �0), ω� ισ α σολυτιον
το Ηω� = 0 ιν ∆, ω� = η(�; �) � η(�; �0) ιν [�Τ; Τ ] � ≅
, ω�(�Τ; �) = 0 ιν 

(ιφ Τ ισ χηοσεν λαργε ενουγη). Ηενχε, βψ τηε ωεακ µαξιµυµ πρινχιπλε φορ Η
(Τηεορεµ 13.1), σινχε

ϕω� (ζ)ϕ � συπ
[�Τ;Τ ]�≅


ϕη(�; �)� η(�; �0)ϕ φορ ζ 2 ≅π∆

ωε οβταιν
συπ
ζ2∆

ϕω�(ζ)ϕ � συπ
ζ2[�Τ;Τ ]�≅


ϕη(ζ; �)� η(ζ; �0)ϕ

ωηιχη ϖανισηεσ ασ � ! �0, σινχε η ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ οφ
Ρν+1�Ρν+1 (σεε Προποσιτιον 11.4). Τηυσ (16.3) ισ προϖεδ ανδ τηε χοντινυιτψ οφ
Γ αωαψ φροµ τηε διαγοναλ οφ (Ρ�
)� (Ρ�
) ιµµεδιατελψ φολλοωσ. Τηερεφορε,
τηε προοφ οφ (ι) ισ χοµπλετεδ. Ον τηε οτηερ ηανδ, (ιι) διρεχτλψ φολλοωσ φροµ (16.2)
ανδ βψ οβσερϖινγ τηατ 	 � 0 βψ τηε δε�νιτιον οφ 	∆� . Ωε νοω τυρν το τηε προοφ
οφ (ιιι). Ωε �ρστ νεεδ τηε φολλοωινγ λεµµα.
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Λεµµα 16.4 Λετ Ψ 2 φΞι; ΞιΞϕ ; ≅τ ϕι; ϕ = 1; : : : ;µγ ανδ λετ Ο, Υ βε βουνδεδ
δοµαινσ οφ Ρν+1 συχη τηατ Ο β Υ β Ρ� 
. Ωε ηαϖε

κ	(�; �)κΧ2;�(Ο) � χ(Ο;Υ) συπ
ζ2Υ

ϕ	(ζ; �)ϕ 8 � 2 Ρ�
; (16.4)

(ζ; �) 7! Ψ (	(�; �))(ζ) ισ χοντινυουσ ιν (ζ; �) 2 (Ρ� 
)� (Ρ� 
); (16.5)

συπ
ζ2Ο; �2[�Τ;Τ ]�


ϕΨ (	(�; �))(ζ)ϕ <1: (16.6)

Προοφ. >Φροµ Τηεορεµ 14.1, ρεχαλλινγ τηατ Η(	(�; �)) = 0 ιν 
 � Ρ, (16.4)
στραιγητφορωαρδλψ φολλοωσ. Σινχε Ψ (	(�; �)) ισ χοντινυουσ ον Ρ�
 φορ εϖερψ �ξεδ
� 2 Ρ� 
, ιν ορδερ το προϖε (16.5) ωε ονλψ ηαϖε το σηοω τηατ

συπ
ζ2Ο

ϕΨ (	(�; �))(ζ)� Ψ (	(�; �0))(ζ)ϕ �! 0 ασ � ! �0 (16.7)

φορ εϖερψ �ξεδ �0 2 Ρ�
 ανδ εϖερψ βουνδεδ δοµαιν Ο β Ρ�
. Το τηισ ενδ,
ωε αππλψ Τηεορεµ 14.1 το τηε φυνχτιον 	(�; �) � 	(�; �0) ανδ οβταιν τηατ τηε
συπρεµυµ ιν (16.7) ισ λοωερ τηαν

κ	(�; �)�	(�; �0)κΧ2;�(Ο) � χ(Ο;
) συπ
ζ2[�Τ (Ο);Τ (Ο)]�


ϕ	(ζ; �)�	(ζ; �0)ϕ;

ωηιχη ϖανισηεσ ασ � ! �0, βψ (16.3). Τηισ προϖεσ (16.5). Λετ υσ νοω προϖε
(16.6). Λετ Ο, Υ , ς βε βουνδεδ δοµαινσ οφ Ρν+1 συχη τηατ Ο β Υ β ς β Ρ�
.
Αππλψινγ Τηεορεµ 14.4 το 	(�; �) ωε γετ

συπ
ζ2Ο; �2([�Τ;Τ ]�
)νς

ϕΨ (	(�; �))(ζ)ϕ � συπ
�2([�Τ;Τ ]�
)νς

κ	(�; �)κΧ2;�(Ο)

� χ(Ο;Υ) συπ
ζ2Υ; �2([�Τ;Τ ]�
)νς

ϕ	(ζ; �)ϕ

� χ(Ο;Υ) µαξ
ζ2Υ; �2([�Τ;Τ ]�
)νς

η(ζ; �) <1;

σινχε η ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ οφ Ρν+1 � Ρν+1. Ον τηε οτηερ
ηανδ, (16.5) διρεχτλψ ψιελδσ

συπ
ζ2Ο;�2ς

ϕΨ (	(�; �))(ζ)ϕ <1:

Τηυσ (16.6) ισ χοµπλετελψ προϖεδ.

Ωε αρε νοω ιν ποσιτιον το χοµπλετε τηε προοφ οφ Τηεορεµ 16.3, (ιιι). Λετ ∋ 2
Χ(
), ∋ = 0 ιν ≅
 ανδ λετ � 2 Ρ βε �ξεδ. Ωε αγρεε το εξτενδ ∋ το βε ζερο
ουτσιδε 
. Τηεν, βψ µεανσ οφ Τηεορεµ 12.1 ανδ (14.5), τηε φυνχτιον

υ1 (τ; ξ) =

Ζ

Ρν

η(τ; ξ; �; �)∋(�)δ�; ξ 2 Ρν; τ > �;

βελονγσ το τηε χλασσ Χ1((�;1) � Ρν) ∴ Χ([�;1) � Ρν) ανδ ιτ ισ α σολυτιον το
τηε Χαυχηψ προβλεµ Ηυ1 = 0 ιν (�;1)� Ρν, υ1(�; �) = ∋ ιν Ρν. Ον τηε οτηερ
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ηανδ, ρεχαλλινγ (16.3), τηε φαχτ τηατ 	 � η, ανδ τηε χοντινυιτψ οφ η αωαψ φροµ
τηε διαγοναλ, τηε φυνχτιον

υ2 (τ; ξ) =

Ζ




	(τ; ξ; �; �)∋(�)δ�

ισ ωελλ−δε�νεδ ανδ χοντινυουσ ιν (�;1) � 
. Μορεοϖερ, βψ µεανσ οφ Λεµµα
16.4, υ2 ηασ χοντινυουσ ιντρινσιχ−δεριϖατιϖεσ υπ το σεχονδ ορδερ αλονγ τηε ϖεχτορ
�ελδσΞ1; : : : ; Ξµ, ανδ χοντινυουσ δεριϖατιϖε αλονγ ≅τ, ον (�;1)�
, οβταινεδ βψ
δι⁄ερεντιατινγ υνδερ τηε ιντεγραλ σιγν. Ασ α χονσεθυενχε, Ηυ2 = 0 ιν (�;1)�
.
Φυρτηερµορε, υ2 2 Χ1((�;1) � 
) βψ (14.5). Ρεχαλλινγ τηατ Γ = η � 	 ανδ
τηατ υ = υ1 � υ2, ιν ορδερ το χοµπλετε τηε προοφ οφ Τηεορεµ 16.3 ωε αρε ονλψ
λεφτ το σηοω τηατ

υ2 (τ; ξ) �! 0; ασ (τ; ξ)! (ξ0; �); 8 ξ0 2 
: (16.8)

Ιφ ξ0 2 
 ωε χηοοσε � > 0 συχη τηατ Β = Β(ξ0; �) � 
 ανδ ωε ωριτε

ϕυ2 (τ; ξ) ϕ �
Ζ

Β

	(τ; ξ; �; �) ϕ∋(�)ϕδ� +
Ζ


νΒ
	(τ; ξ; �; �) ϕ∋(�)ϕδ�:

Ρεχαλλινγ (16.3) ανδ τηε φαχτ τηατ 	(σ; ψ; �; �) = 0 φορ σ � � , τηε �ρστ ιντεγραλ
ϖανισηεσ ασ (τ; ξ) ! (�; ξ0); ον τηε οτηερ ηανδ, υσινγ τηε εστιµατε 	 � η, τηε
σεχονδ ιντεγραλ γοεσ το ζερο ασ ωελλ. Τηυσ (16.8) ηολδσ φορ ξ0 2 
. Ιφ ξ0 2 ≅
,
ωε υσε Τηεορεµ 12.1 ανδ ωε οβταιν

ϕυ2 (τ; ξ) ϕ �
Ζ

Ρν

η(τ; ξ; �; �) ϕ∋(�)ϕδ� �! ϕ∋(ξ0)ϕ = 0; ασ (τ; ξ)! (�; ξ0).

Τηισ χοµπλετεσ τηε προοφ.

Χορολλαρψ 16.5 Λετ 
 � Ρν βε αν Η−ρεγυλαρ δοµαιν ανδ λετ Γ
 δενοτε τηε
ρελατεδ Γρεεν φυνχτιον ασ ιν Τηεορεµ 16.3. Τηε φολλοωινγ ρεπροδυχτιον προπερτψ
οφ Γ
 ηολδσ:

Γ
(τ; ξ; �; �) =

Ζ




Γ
(τ; ξ; σ; ψ)Γ
(σ; ψ; �; �)δψ;

φορ εϖερψ τ > σ > � ανδ ξ; � 2 
.

Προοφ. Ωε �ξ �; �; σ ασ αβοϖε ανδ ωε σετ ∋ = Γ
(�; σ; �; �). Τηεν ∋ 2 Χ(
),
∋ = 0 ιν ≅
, βψ Τηεορεµ 16.3−(ι). Τηερεφορε ωε χαν αππλψ Τηεορεµ 16.3−(ιιι)
ανδ οβταιν τηατ τηε φυνχτιον

υ (τ; ξ) =

Ζ




Γ
(τ; ξ; σ; ψ)∋(ψ)δψ; ξ 2 
; τ > σ;

σατισ�εσ υ 2 Χ1((σ;1) � 
) ∴ Χ([σ;1) � 
), Ηυ = 0 ιν (σ;1) � 
, υ = 0 ιν
[σ;1)� ≅
, υ(σ; �) = ∋ ιν 
. Ιτ ισ νοω συ′χιεντ το οβσερϖε τηατ Γ
(�; �; �) ηασ
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τηε σαµε προπερτιεσ ανδ το υσε τηε ωεακ µαξιµυµ πρινχιπλε φορ Η (σεε Τηεορεµ
13.1).
Ωε νοω σπεχιαλιζε ουρ στυδψ οφ Γρεεν φυνχτιονσ το χψλινδερσ βασεδ ον ρεγυλαρ

δοµαινσ ωηιχη αππροξιµατε µετριχ βαλλσ. Φορ τηεσε Γρεεν φυνχτιονσ ωε σηαλλ
προϖε Γαυσσιαν βουνδσ φροµ αβοϖε ανδ βελοω.
Φιξ �0 2 (0; 1). Βψ Λεµµα 16.2, φορ εϖερψ �0 2 Ρν ανδ Ρ > 0, τηερε εξιστσ

αν Η−ρεγυλαρ δοµαιν Α(�0; Ρ) οφ Ρν συχη τηατ

Β(�0; �0Ρ) � Α(�0; Ρ) � Β(�0; Ρ): (16.9)

Τηεν:

Λεµµα 16.6 Λετ Ρ0 > 0 ανδ � 2 (0; �0). Τηερε εξιστσ α χονσταντ � =
χ(�; �0; Ρ0)

�1 2 (0; 1), συχη τηατ
ΓΑ(�0;Ρ)(τ; ξ; �; �) � χ(Ρ0)�1Ε(ξ; �; χ�1(τ� �));

φορ εϖερψ �0 2 Ρν, Ρ 2 (0; Ρ0], ξ 2 Α(�0; Ρ), � 2 Β(�0; �Ρ), τ; � 2 Ρ σατισφψινγ
δ2(ξ; �) < τ� � < �Ρ2.

Προοφ. Λετ �0; Ρ; ξ; �; τ; � βε ασ αβοϖε. Λετ υσ σετ

∆ = (� � 1; τ+ 1)�Α(�0; Ρ):
Οβσερϖινγ τηατ �∆(τ;ξ)((τ; τ+ 1]� ≅Α(�0; Ρ)) = 0 ανδ υσινγ (11.11), (11.9), (2.9)
ανδ (2.12), ωε οβταιν

	Α(�0;Ρ)(τ; ξ; �; �) = 	∆(�;�) (τ; ξ) =

Ζ

≅π∆

η(σ; ψ; �; �)�∆(τ;ξ)(σ; ψ)

� χ(Ρ0)
Ζ

[�;τ]�≅Α(�0;Ρ)
Ε(�; ψ; χ(σ� �))�∆(τ;ξ)(σ; ψ)

� χ(Ρ0) συπ
0<ρ<τ��

ϕΒ(�;
π
ρ)ϕ�1 εξπ

�
� (�0 � �)

2Ρ2

χ ρ

�
:

Ιν τηε λαστ ινεθυαλιτψ ωε ηαϖε υσεδ τηε φαχτ τηατ � 2 Β(�0; �Ρ) ανδ τηατ
�∆(τ;ξ)(≅π∆) � 1

(ρεχαλλ τηε οπερατορ Η ισ ηοµογενεουσ). Ωε νοω εξπλοιτ Τηεορεµ 13.6, (2.12)
ανδ (2.9) ανδ οβταιν

ΓΑ(�0;Ρ)(τ; ξ; �; �) = η(τ; ξ; �; �)�	Α(�0;Ρ)(τ; ξ; �; �)

� χ1(Ρ0)�1 ϕΒ(�;
π
τ� �)ϕ�1 εξπ

�
�χ δ

2(ξ; �)

τ� �

�
�

�
�
1� χ2(Ρ0) συπ

0<ρ<τ��

ϕΒ(�;Ρπ�)ϕ
ϕΒ(�;πρ)ϕ εξπ

�
χ
δ2(ξ; �)

τ� � � Ρ2

χ(�; �0) ρ

��

� χ3(Ρ0)�1Ε(ξ; �; χ�1(τ� �))�

�
∀
1� χ4(Ρ0) συπ

0<ρ<τ��

�
�Ρ2

ρ

�Θ=2
εξπ

�
� Ρ2

χ(�; �0) ρ

�#
:

120



Ιτ ισ νοω συ′χιεντ το οβσερϖε τηατ τηε εξπρεσσιον βετωεεν σθυαρε βραχκετσ ισ
γρεατερ τηαν 1=2 ιφ � = �(�; �0; Ρ0) ισ σµαλλ ενουγη, ασ ονε χαν εασιλψ ρεχογνιζε
βψ σηοωινγ τηατ τηε φυνχτιον

η 7! (� η)Θ=2 εξπ(�η=χ(�; �0))

ισ µονοτονε δεχρεασινγ ον τηε ιντερϖαλ [��1;1).

Τηεορεµ 16.7 Λετ Ρ0 > 0, Τ > 1 ανδ 
 2 (0; �0). Ωε ηαϖε

ΓΑ(�0;Ρ)(τ; ξ; �; �) � χ(Τ; 
;Ρ0; �0)�1 ϕΒ(�;
π
τ� �)ϕ�1 εξπ

�
�χ(
;Ρ0; �0)

δ2(ξ; �)

τ� �

�
;

φορ εϖερψ �0 2 Ρν, Ρ 2 (0; Ρ0], ξ; � 2 Β(�0; 
Ρ), ανδ 0 < τ� � < Τ Ρ2.

Προοφ. Τηε ωαψ Τηεορεµ 16.7 φολλοωσ φροµ Λεµµα 16.6 ισ σιµιλαρ το τηε ωαψ
Τηεορεµ 7.1 φολλοωσ φροµ Λεµµα 7.2. Χοµπαρε αλσο ωιτη τηε προοφ οφ Τηεορεµ
13.6.
Ωε σετ � = (
 + �0)=2 ανδ χηοοσε � = �(�; �0; Ρ0) ασ ιν Λεµµα 16.6. Λετ υσ

αλσο �ξ �0; Ρ; ξ; �; τ; � ασ αβοϖε. Λετ κ βε τηε σµαλλεστ ιντεγερ γρεατερ τηαν

Μ(
; �0) µαξ
�
Τ=�; δ2(ξ; �)=(τ� �)

	
;

ωηερε τηε χονσταντ Μ(
; �0) > 1 ωιλλ βε χηοσεν λατερ, ανδ λετ υσ σετ

� =
1

4

π
(τ� �)=(κ + 1):

Ωε χλαιµ τηατ τηερε εξιστσ α χηαιν οφ ποιντσ οφ Ρν ξ = ξ0; ξ1; : : : ; ξκ+1 = � συχη
τηατ

δ(ξϕ ; ξϕ+1) � χ(
; �0)
δ(ξ; �)

κ + 1
; δ(ξϕ ; �0) � 
+�

2 Ρ: (16.10)

Ινδεεδ, ιφ δ(ξ; �) � Ρ(�0 � 
)=8, ωε χαν χηοοσε ξ1; : : : ; ξκ λαψινγ ον α συιταβλε
Ξ−συβυνιτ πατη χοννεχτινγ ξ ανδ �, σο τηατ δ(ξϕ ; ξϕ+1) � 2δ(ξ; �)=(κ + 1) ανδ

δ(ξϕ ; �0) � δ(ξ; ξϕ)+δ(ξ; �0) � 2δ(ξ; �)+δ(ξ; �0) � Ρ(�0�
)=4+
Ρ = Ρ(�+
)=2:

Ον τηε οτηερ ηανδ, ιφ δ(ξ; �) > Ρ(�0 � 
)=8, τηεν ωε χαν χηοοσε ξ1; : : : ; ξκ
λαψινγ ον συιταβλε Ξ−συβυνιτ πατησ χοννεχτινγ ξ ωιτη �0 ανδ �0 ωιτη �, σο τηατ

δ(ξϕ ; ξϕ+1) � 2
Ρ=(κ + 1) < 16
δ(ξ; �)(�0 � 
)�1(κ + 1)�1

ανδ δ(ξϕ ; �0) � 
Ρ. Οβσερϖινγ τηατ, βψ τηε δε�νιτιον οφ κ ανδ �, ωε ηαϖε
� � Μ(
; �0)

�1=2Ρ, φροµ (16.10) ιτ φολλοωσ τηατ ωε χαν χηοοσε Μ(
; �0) συχη
τηατ

Β(ξϕ ; �) � Β(�0; �Ρ): (16.11)

Μορεοϖερ, υπ το α νεω χηοιχε οφ Μ(
; �0), ωε αλσο ηαϖε

δ(ψϕ ; ψϕ+1) <

ρ
τ� �
κ + 1

φορ εϖερψ ψϕ 2 Β(ξϕ ; �); ψϕ+1 2 Β(ξϕ+1; �). (16.12)
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Ινδεεδ, φροµ (16.10) ανδ τηε δε�νιτιον οφ κ ιτ φολλοωσ τηατ

δ(ψϕ ; ψϕ+1) � 2� + δ(ξϕ ; ξϕ+1) �
1

2

ρ
τ� �
κ + 1

+ χ(
; �0)
δ(ξ; �)

κ + 1

�
ρ
τ� �
κ + 1

�
1
2 + χ(
; �0)Μ(
; �0)

�1=2
�
:

Λετ νοω τ = τ0; τ1; : : : ; τκ+1 = � βε συχη τηατ τϕ � τϕ+1 = (τ � �)=(κ + 1) φορ
ϕ = 0; : : : ; κ. Υσινγ Χορολλαρψ 16.5 ρεπεατεδλψ, ωε οβταιν (ωε σετ Γ = ΓΑ(�0;Ρ),
ψ0 = ξ, ψκ+1 = �)

Γ(τ; ξ; �; �) =

Ζ

(Α(�0;Ρ))κ
Γ(τ; ξ; ψ1; τ1)Γ(ψ1; τ1; ψ2; τ2) � � �Γ(ψκ; τκ; �; �) ψ1 � � � ψκ

�
Ζ
Θκ

ϕ=1 Β(ξϕ ;�)

κΨ

ϕ=0

Γ(ψϕ ; τϕ ; ψϕ+1; τϕ+1) ψ1 � � � ψκ;

βψ 16.11. Μορεοϖερ, φροµ (16.11), (16.12) ανδ τηε δε�νιτιον οφ κ, ιτ φολλοωσ τηατ
ψϕ+1 2 Β(�0; �Ρ),

δ2(ψϕ ; ψϕ+1) < (τ� �)=(κ + 1) = τϕ � τϕ+1 < ΤΡ2=(κ + 1) < �Ρ2:

Τηερεφορε, ωε χαν αππλψ Λεµµα 16.6 ανδ οβταιν (αργυινγ ασ ιν τηε προοφ οφ
Τηεορεµ 13.6)

Γ(τ; ξ; �; �) � χ(Ρ0)�(κ+1)
Ζ
Θκ

ϕ=1 Β(ξϕ ;�)

κΨ

ϕ=0

Ε(ψϕ ; ψϕ+1; χ
�1(τϕ � τϕ+1))δψ1 � � � δψκ

� χ(Ρ0)�1 εξπ(�χ(Ρ0) κ)
1

ϕΒ(ξ; χ�)ϕ

κΨ

ϕ=1

ϕΒ(ξϕ ; �)ϕ
ϕΒ(ξϕ ; χ�)ϕ

� χ(Ρ0)�1ϕΒ(ξ; χ�)ϕ�1 εξπ(�χ(Ρ0) κ)
� χ(Ρ0)�1ϕΒ(ξ;

π
τ� �)ϕ�1 εξπ(�χ(Ρ0) κ);

βψ τηε δε�νιτιον οφ �. Νοω, ιφ δ2(ξ; �) � Τ (τ� �)=�, φροµ τηε δε�νιτιον οφ κ ιτ
φολλοωσ τηατ κ < χ(
; �0) δ

2(ξ; �)=(τ� �) ανδ τηεν

Γ(τ; ξ; �; �) � χ(Ρ0)�1ϕΒ(ξ;
π
τ� �)ϕ�1 εξπ

�
�χ(
;Ρ0; �0)

δ2(ξ; �)

τ� �

�
:

Ον τηε οτηερ ηανδ, ιφ δ2(ξ; �) < Τ (τ � �)=�, τηε δε�νιτιον οφ κ γιϖεσ κ <
χ(
; �0)Τ=� ανδ τηεν

Γ(τ; ξ; �; �) � χ(Τ; 
;Ρ0; �0)�1ϕΒ(ξ;
π
τ� �)ϕ�1:

Τηισ χοµπλετεσ τηε προοφ οφ Τηεορεµ 16.7.

122



Ρεµαρκ 16.8 Αλλ τηε ρεσυλτσ προϖεδ ιν τηισ σεχτιον αχτυαλλψ ηολδ φορ τηε χοµ−
πλετε οπερατορ Η δε�νεδ ιν (10.1) (ι.ε. ωιτη α σµοοτη, βυτ νοτ νεχεσσαριλψ
ϖανισηινγ, χοε′χιεντ α0). Ηερε ωε ηαϖε ασσυµεδ α0 � 0 ονλψ φορ χονσιστενχε
ωιτη τηε ρεστ οφ Παρτ ΙΙΙ. Τηε ονλψ ποιντσ ωηερε τηε πρεσενχε οφ α0 ωουλδ ρεθυιρε
σλιγητ χηανγεσ ιν ουρ αργυµεντσ αρε τηε φολλοωινγ:
1. Ιν τηε �ναλ παρτ οφ τηε προοφ οφ Τηεορεµ 16.3, ιφ α0 ισ νοτ ζερο ωε σηουλδ

χοµπαρε ω� ωιτη τηε βαρριερ

ϖ (τ; ξ) = εξπ(κ(Τ + τ)) συπ
[�Τ;Τ ]�≅


ϕη(�; �)� η(�; �0)ϕ:

2. Ιν τηε προοφ οφ Λεµµα 16.6, ωε υσεδ τηε φαχτ τηατ �∆(τ;ξ) (≅π∆) � 1; ιφ
α0 ισ νοτ ζερο, ωε ωουλδ ηαϖε ινστεαδ το προϖε τηε βουνδεδνεσσ οφ τηε φυνχτιον
(σ; ψ) 7! �∆(σ;ψ)(≅π∆) χοµπαρινγ ιτ ωιτη (σ; ψ) 7! εξπ(κ(σ � � + 1)) βψ τηε ωεακ

µαξιµυµ πρινχιπλε (Τηεορεµ 13.1).

17 Ηαρναχκ ινεθυαλιτψ φορ οπερατορσ ωιτη σµοοτη

χοε′χιεντσ

Αλσο ιν τηισ σεχτιον ωε χονσιδερ οπερατορσ ωιτη σµοοτη χοε′χιεντσ. Ωε κεεπ
τηε νοτατιον ιντροδυχεδ ιν τηε πρεϖιουσ Σεχτιον; ιν παρτιχυλαρ, ρεχαλλ τηατ τηε
ρεγυλαρ δοµαιν Α(�0; Ρ), φορ ωηιχη ιν Σεχτιον 16 ωε ηαϖε εστιµατεδ τηε Γρεεν
φυνχτιον ΓΑ(�0;Ρ), δεπενδσ ον τηε χηοιχε οφ α νυµβερ �0 2 (0; 1) (σεε (16.9)).
Σεϖεραλ ρεσυλτσ ιν τηισ Σεχτιον ινϖολϖε τηισ νυµβερ �0; ωηιχη ωιλλ βε εϖεντυαλλψ
χηοσεν ιν α συιταβλε ωαψ.

Λεµµα 17.1 Λετ Ρ0 > 0 ανδ 
 2 (0; �0). Τηερε εξιστσ α χονσταντ � 2 (0; 1),
� = χ(
;Ρ0; �0), συχη τηατ φορ εϖερψ (�0; �0) 2 Ρν+1, Ρ 2 (0; Ρ0] ανδ εϖερψ

υ 2 Χ1((�0 �Ρ2; �0)�Β(�0; Ρ)) ∴ Χ([�0 �Ρ2; �0]�Β(�0; Ρ))

σατισφψινγ Ηυ = 0 ιν (�0 �Ρ2; �0)�Β(�0; Ρ), ωε ηαϖε

οσχ
[�0�
2Ρ2;�0]�Β(�0;
Ρ)

υ � � οσχ
[�0�Ρ2;�0]�Β(�0;Ρ)

υ: (17.1)

Προοφ. Ωε σετ
∆ = (�0 �Ρ2; �0)�Α(�0; Ρ)

ανδ
Σ =

�
ξ 2 Β(�0; 
Ρ) ϕυ(ξ; �0 �Ρ2) � (Μ +µ)=2

	
;

ωηερε Μ = µαξ∆ υ, µ = µιν∆ υ. Ωε αλσο δε�νε ω = υ � µ ανδ (φορ ξ 2
Α(�0; Ρ), τ > �0 �Ρ2)

ϖ (τ; ξ) =

Ζ

Α(�0;Ρ)

ΓΑ(�0;Ρ)(τ; ξ; �0 �Ρ2; ψ)ω(�0 �Ρ2; ψ)∋(ψ)δ ψ;
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ωηερε ∋ 2 Χ0(Α(�0; Ρ)) ισ α χυτ−ο⁄ φυνχτιον συχη τηατ 0 � ∋ � 1 ανδ ∋ � 1
ιν Β(�0; 
Ρ). Βψ µεανσ οφ Τηεορεµ 16.3−(ιιι), ϖ ισ α σολυτιον το Ηϖ = 0 ιν ∆,
ϖ = 0 ιν [�0 � Ρ2; �0] � ≅Α(�0; Ρ), ϖ(�; �0 � Ρ2) = ω(�0 � Ρ2; �)∋ ιν Α(�0; Ρ).
Μορεοϖερ Ηω = 0 σινχε ωε αρε συπποσινγ τηατ α0 = 0. Τηερεφορε, βψ τηε ωεακ
µαξιµυµ πρινχιπλε φορ Η (σεε Τηεορεµ 13.1), ϖ � ω ιν ∆. Ασ α χονσεθυενχε,
υσινγ τηε εστιµατε ιν Τηεορεµ 16.7, φορ εϖερψ

(τ; ξ) 2 ∆
 = (�0 � 
2Ρ2; �0)�Β(�0; 
Ρ)

ωε γετ

ω (τ; ξ) � ϖ (τ; ξ) �
Ζ

Σ

ΓΑ(�0;Ρ)(τ; ξ; �0 �Ρ2; ψ)
�
Μ+µ
2 �µ

�
δψ

�
Ζ

Σ

χ��Β
�
ξ;
π
τ� � +Ρ2

���ε
�δ(ξ;ψ)2=χ(τ��+Ρ2)Μ�µ

2 δψ

� χ(
;Ρ0; �0)�1ϕΒ(ξ;Ρ)ϕ�1 Μ�µ
2 ϕΣϕ

� χ(
;Ρ0; �0)�1ϕΒ(�0; Ρ)ϕ�1 Μ�µ
2 ϕΣϕ:

Νοω, ιφ ϕΣϕ � 1
2 ϕΒ(�0; 
Ρ)ϕ, ωε ινφερ τηατ

µιν
∆


υ�µ � χ(
;Ρ0; �0)�1(Μ �µ)

ανδ τηεν

οσχ∆

υ �Μ �µιν

∆


υ �Μ �µ� χ(
;Ρ0; �0)�1(Μ �µ)

=
�
1� χ(
;Ρ0; �0)�1

�
οσχ
∆

υ:

Ρεχαλλινγ τηατΑ(�0; Ρ) � Β(�0; Ρ), ωε ηαϖε προϖεδ (17.1) ωηεν ϕΣϕ � 1
2 ϕΒ(�0; 
Ρ)ϕ.

Ον τηε οτηερ ηανδ, ιφ ϕΣϕ < 1
2 ϕΒ(�0; 
Ρ)ϕ, τηε αργυµεντ αβοϖε χαν βε αππλιεδ

το ευ := �υ, σινχε (ωιτη τηε νατυραλ νοτατιον) ϕεΣϕ > 1
2 ϕΒ(�0; 
Ρ)ϕ. Ασ α χον−

σεθυενχε, ωε γετ (17.1) φορ ευ ανδ τηε προοφ ισ χοµπλετεδ, σινχε οσχ ευ = οσχυ.

Λεµµα 17.2 Λετ Ρ0 > 0, η 2 (0; 1) ανδ 
 2 (0; �0). Τηερε εξιστσ α ποσιτιϖε
χονσταντ � = χ(η; 
;Ρ0; �0) συχη τηατ

συπ
�>0; σ2[�0�Ρ2;�0�ηΡ2]

� ϕφψ 2 Β(�0; 
Ρ) ϕυ(σ; ψ) � �γϕ � � ϕΒ(�0; Ρ)ϕυ(�0; �0)

φορ εϖερψ (�0; �0) 2 Ρν+1, Ρ 2 (0; Ρ0] ανδ εϖερψ

υ 2 Χ1(Β(�0; Ρ)� (�0 �Ρ2; �0)) ∴ Χ(Β(�0; Ρ)� [�0 �Ρ2; �0])

σατισφψινγ Ηυ = 0, υ � 0 ιν Β(�0; Ρ)� (�0 �Ρ2; �0).
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Προοφ. Λετ υσ �ξ σ 2 [�0 �Ρ2; �0 � ηΡ2]; σετ Α = Α(�0; Ρ) ανδ

ω (τ; ξ) =

Ζ

Α

ΓΑ(τ; ξ; σ; ψ)υ(σ; ψ)∋(ψ) δψ; ξ 2 Α; τ > σ;

ωηερε ∋ 2 Χ0(Α) ισ α χυτ−ο⁄ φυνχτιον συχη τηατ 0 � ∋ � 1 ανδ ∋ � 1 ιν
Β(�0; 
Ρ). Βψ µεανσ οφ Τηεορεµ 16.3−(ιιι), ω ισ α σολυτιον το Ηω = 0 ιν
(σ;1) � Α, ω = 0 ιν [σ;1) � ≅Α, ω(σ; �) = υ(σ; �)∋ ιν Α. Τηερεφορε, βψ τηε
ωεακ µαξιµυµ πρινχιπλε φορ Η, ω � υ ιν [σ; �0] � Α. Ασ α χονσεθυενχε, υσινγ
τηε εστιµατε ιν Τηεορεµ 16.7, ωε οβταιν

υ(�0; �0) � ω(�0; �0) �
Ζ

Α

χυ (σ; ψ)∋ (ψ)

ϕΒ(�0;
π
�0 � σ)ϕ

ε�δ(�0;ψ)
2=χ(�0�σ)δψ

σινχε �0 � σ � ηΡ2 ανδ δ (�0; ψ) � χΡ

� χ(η; 
;Ρ0; �0)

ϕΒ(�0; Ρ)ϕ

Ζ

Β(�0;
Ρ)

υ(σ; ψ) δψ

� χ(η; 
;Ρ0; �0)

ϕΒ(�0; Ρ)ϕ
� ϕφψ 2 Β(�0; 
Ρ) ϕυ(σ; ψ) � �γϕ

φορ ανψ �. Τηισ ενδσ τηε προοφ.
Νεξτ τηεορεµ φολλοωσ φροµ τηε πρεϖιουσ τωο Λεµµασ, ωιτη τηε σαµε τεχη−

νιθυε υσεδ ιν [22]. Ωε ωιλλ πρεσεντ α δεταιλεδ προοφ, ανψηοω.

Τηεορεµ 17.3 Λετ Ρ0 > 0, 0 < η1 < η2 < 1 ανδ 
 2 (0; 1). Τηερε εξιστσ
α ποσιτιϖε χονσταντ Μ = χ(η1; η2; 
; Ρ0) συχη τηατ φορ εϖερψ (�0; �0) 2 Ρν+1,
Ρ 2 (0; Ρ0] ανδ εϖερψ

υ 2 Χ1((�0 �Ρ2; �0)�Β(�0; Ρ)) ∴ Χ([�0 �Ρ2; �0]�Β(�0; Ρ))

σατισφψινγ Ηυ = 0, υ � 0 ιν (�0 �Ρ2; �0)�Β(�0; Ρ), ωε ηαϖε

µαξ
[�0�η2Ρ2;�0�η1Ρ2]�Β(�0;
Ρ)

υ �Μ υ(�0; �0): (17.2)

Προοφ οφ Τηεορεµ 17.3. Ρεχαλλ τηατ ουρ πρεϖιουσ εστιµατεσ δεπενδ ον α
νυµβερ �0 2 (0; 1) ωηιχη χαν βε αρβιτραριλψ χηοσεν (σεε (16.9)). Τηεν, φορ ανψ
�ξεδ 
 2 (0; 1) ; πιχκ �0 = (1 + 
) =2:Ωε ωιλλ αππλψ αλλ ουρ πρεϖιουσ ρεσυλτσ ωιτη
τηισ παρτιχυλαρ χηοιχε οφ �0.
Λετ � = �( �02 ; Ρ0; �0) 2 (0; 1), � = �(η1;


+�0
2 ; Ρ0; �0) > 0 βε ασ ιν Λεµµα

17.1 ανδ Λεµµα 17.2 ρεσπεχτιϖελψ. Λετ χ0 βε ασ ιν (2.9). Ωε δε�νε ρ : (0;1)!
(0;1),

ρ(�) = 2

�
4�χ0

�(1� �)

�1=Θ

ανδ ωε σετ
Κ = (1 + ��1)=2
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ανδ
Μ = ρ�1

�
�0 (1� η2) (�0 � 
) (1�Κ�1=Θ)=4

�
:

Ωε νοω αργυε βψ χοντραδιχτιον ανδ συπποσε τηατ τηερε εξιστ �0; �0; Ρ ανδ υ
σατισφψινγ τηε ηψποτηεσεσ οφ τηε τηεορεµ, φορ ωηιχη (17.2) ισ νοτ τρυε (ωιτη τηε
αβοϖε χηοιχε οφ Μ). Ωε �ρστ οβσερϖε τηατ υ(�0; �0) 6= 0, σινχε οτηερωισε (17.2)
ωουλδ φολλοω φροµ Λεµµα (17.2). Λετ νοω ϖ = υ=υ(�0; �0). Σινχε ϖ ισ βουνδεδ,
ιν ορδερ το γετ α χοντραδιχτιον ανδ τηυσ προϖε τηε τηεορεµ, ιτ ισ συ′χιεντ το σηοω
τηατ τηερε εξιστσ α σεθυενχε οφ ποιντσ φ(σϕ ; ψϕ)γϕ2Ν ιν [�0 � Ρ2; �0] � Β(�0; Ρ)
συχη τηατ

ϖ(σϕ ; ψϕ) � ΚϕΜ; (σϕ ; ψϕ) 2 [�0 �Ρ2; �0]�Β(�0; Ρ):

Ινδεεδ, ρεχαλλινγ τηατ Κ > 1, τηισ ωουλδ γιϖε ϖ(σϕ ; ψϕ) ! 1. Το χονστρυχτ
τηισ σεθυενχε, ωε ωιλλ προϖε βψ ινδυχτιον τηε εξιστενχε οφ ποιντσ (σϕ ; ψϕ) 2
[�0 �Ρ2; �0]�Β(�0; Ρ) συχη τηατ:

ϖ(σϕ ; ψϕ) � ΚϕΜ (17.3)

(σ0; ψ0) 2 [�0 � η2Ρ2; �0 � η1Ρ2]�Β(�0; 
Ρ)
(σϕ ; ψϕ) 2 [σϕ�1 � �2ϕ�1; σϕ�1]�Β(ψϕ�1; �ϕ�1) ιφ ϕ � 1
ωιτη �ϕ = 2�

�1
0 ρ(ΚϕΜ)Ρ

Τηε εξιστενχε οφ (σ0; ψ0) 2 [�0�η2Ρ2; �0�η1Ρ2]�Β(�0; 
Ρ) συχη τηατ ϖ(σ0; ψ0) �
Μ φολλοωσ φροµ τηε ασσυµπτιον τηατ υ δοεσ νοτ σατισφψ (17.2). Ωε νοω συπποσε
τηατ, φορ α �ξεδ θ 2 Ν, (σ0; ψ0); : : : ; (σθ; ψθ) ηαϖε βεεν δε�νεδ ανδ σατισφψ (17.3)
φορ εϖερψ ϕ 2 φ0; : : : ; θγ. Ωε ηαϖε το προϖε τηατ ωε χαν �νδ (σθ+1; ψθ+1) σατισφψινγ
(17.3) φορ ϕ = θ + 1. Ωε χλαιµ τηατ

Β(ψθ; �θ) � Β(�0; (
 + �0)Ρ=2): (17.4)

Ινδεεδ, ιφ δ(ψ; ψθ) � �θ, τηεν ρεχαλλινγ τηε δε�νιτιον οφ Μ ανδ υσινγ (17.3) φορ
ϕ 2 φ0; : : : ; θγ, ωε οβταιν

δ(ψ; �0) � δ(�0; ψ0) +

θΞ

ϕ=1

δ(ψϕ�1; ψϕ) + δ(ψθ; ψ)

� 
Ρ+ 2��10 Ρ

θΞ

ι=0

ρ(ΚιΜ) < 
Ρ+ 2��10 ρ(Μ)Ρ
1Ξ

ι=0

Κ�ι=Θ

= (
 + (1� η2)(�0 � 
)=2)Ρ < (
 + �0)Ρ=2:

Μορεοϖερ, ωιτη α σιµιλαρ χοµπυτατιον ωε χαν προϖε τηατ

[σθ � �2θ; σθ] � (�0 �Ρ2; �0 � η1Ρ2]: (17.5)
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Ινδεεδ, σθ � σθ�1 � � � � � σ0 � �0 � η1Ρ2 ανδ

σθ � �2θ = σ0 +

θΞ

ϕ=1

(σϕ � σϕ�1)� �2θ

> �0 � η2Ρ2 � 4��20 (ρ(Μ))2Ρ2
1Ξ

ι=0

Κ�2ι=Θ

> �0 �
�
η2 + (1� η2)(1�Κ�1=Θ)(1 +Κ�1=Θ)�1

�
Ρ2 > �0 �Ρ2:

Ωε νοω αππλψ Λεµµα 17.2 (ωιτη � = (1 � �)ΚθΜ=2) το ϖ ανδ ωε οβταιν
(ρεχαλλινγ (17.5) ανδ τηε δε�νιτιον οφ ρ)

ϕφψ 2 Β(�0; (
 + �0)Ρ=2) ϕ ϖ(ψ; σθ) � (1� �)ΚθΜ=2γϕ

� 2�ϕΒ(�0; Ρ)ϕ
(1� �)ΚθΜ

=
1

2
χ�10

�
ρ(ΚθΜ)

2

�Θ
ϕΒ(�0; Ρ)ϕ

< χ�10

�
ρ(ΚθΜ)

2

�Θ
ϕΒ(ψθ; 2Ρ)ϕ � ϕφΒ(ψθ; ρ(ΚθΜ)Ρ)γϕ :

Ιν τηε λαστ ινεθυαλιτψ ωε ηαϖε υσεδ (2.9) ανδ τηε φαχτ τηατ ρ(ΚθΜ) � 2, ωηιχη
φολλοωσ φροµ τηε δε�νιτιον οφ Μ (σεε τηε προοφ οφ (17.4)). Ασ α χονσεθυενχε,
σινχε αλσο (17.4) ηολδσ, τηερε εξιστσ

ψ 2 Β(ψθ; ρ(ΚθΜ)Ρ)

συχη τηατ
ϖ(σθ; ψ) < (1� �)ΚθΜ=2:

Τηερεφορε, ρεχαλλινγ τηατ ωε αρε συπποσινγ τηατ (17.3) ηολδσ φορ ϕ = θ, ωε ηαϖε

(1 + �)ΚθΜ=2 = ΚθΜ � (1� �)ΚθΜ=2 < ϖ(σθ; ψθ)� ϖ(σθ; ψ)
� οσχ

φσθγ�Β(ψθ;ρ(ΚθΜ)Ρ)
ϖ � � οσχ

[σθ��2θ;σθ ]�Β(ψθ;�θ)
ϖ

βψ µεανσ οφ Λεµµα 17.1, (17.4) ανδ (17.5) (νοτε τηατ �θ � Ρ0 βψ τηε δε�νιτιον
οφ Μ). Σινχε ϖ � 0, ιτ φολλοωσ τηατ τηερε εξιστσ

(σθ+1; ψθ+1) 2 [σθ � �2θ; σθ]�Β(ψθ; �θ)

συχη τηατ
ϖ(σθ+1; ψθ+1) > ��1(1 + �)ΚθΜ=2 = Κθ+1Μ:

Τηισ χοµπλετεσ τηε προοφ οφ Τηεορεµ 17.3.

18 Ηαρναχκ ινεθυαλιτψ ιν τηε νον−σµοοτη χασε

Ιν τηισ σεχτιον ωε χοµπλετε τηε προοφ οφ τηε Ηαρναχκ ινεθυαλιτψ ιν Τηεορεµ 15.1.
Τηρουγηουτ τηε σεχτιον τηε χοε′χιεντσ αιϕ ; ακ οφ Η ωιλλ νοτ βε συπποσεδ το βε
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σµοοτη ασ ιν Σεχτιονσ 16−17, βυτ ονλψ Ηλδερ χοντινυουσ αχχορδινγ το (10.4).
Ωε σηαλλ αππροξιµατε Η βψ συιταβλε σµοοτη χοε′χιεντ οπερατορσ

Η∀ = ≅τ �
µΞ

ι;ϕ=1

α∀ιϕ (τ; ξ)ΞιΞϕ �
µΞ

κ=1

α∀κ (τ; ξ)Ξκ;

ωηερε α∀ι;ϕ ανδ α
∀
κ αρε ρεγυλαριζεδ ϖερσιονσ οφ αιϕ ανδ ακ ασ ιν Τηεορεµ 14.2.

Τηε φολλοωινγ ρεσυλτ ηασ βεεν προϖεδ ιν [39].

Λεµµα 18.1 Φορ εϖερψ �0 2 Ρν; Ρ > 0 ανδ � 2 (0; 1), τηερε εξιστσ α δοµαιν
Α, Η∀−ρεγυλαρ φορ ανψ ∀ > 0, συχη τηατ

Β(�0; �Ρ) � Α � Β(�0; Ρ)

ανδ ωιτη τηε φολλοωινγ προπερτψ: φορ ανψ βουνδεδ χψλινδερ ∆ = (Τ1; Τ2)�Α ανδ
φορ εϖερψ ∋ 2 Χ(≅π∆), λεττινγ υ∀ βε τηε σολυτιον το Η∀υ∀ = 0 ιν ∆, υ∀ = ∋ ιν
≅π∆, ωε ηαϖε

ϕυ∀(ζ)� ∋(ζ0)ϕ ! 0; ασ ζ ! ζ0, υνιφορµλψ ιν 0 < ∀ < 1, (18.1)

φορ εϖερψ ζ0 2 ≅π∆.

Ωε αρε �ναλλψ ιν ποσιτιον το χονχλυδε τηε προοφ οφ ουρ ινϖαριαντ Ηαρναχκ
ινεθυαλιτψ φορ Η.
Προοφ οφ Τηεορεµ 15.1. Χηοσεν

� = (µαξφ
; η1=42 γ+ 1)=2;

λετ Α βε ασ ιν Λεµµα 18.1. Ωε σετ ∆ = (�0 � Ρ2; �0) � Α, ∋ = υϕ≅π∆ ανδ ωε
δενοτε βψ υ∀ τηε σολυτιον το Η∀υ∀ = 0 ιν ∆, υ∀ = ∋ ιν ≅π∆. Ωιτη τηισ νοτατιον,
(18.1) ηολδσ, τηανκσ το Λεµµα 18.1. Ον τηε οτηερ ηανδ, αππλψινγ το Η∀ τηε
α−πριορι εστιµατεσ ιν Τηεορεµ 14.1 φορ εϖερψ ∀, ανδ τηε µαξιµυµ πρινχιπλε ιν
Τηεορεµ 13.1, ωε οβταιν, φορ εϖερψ βουνδεδ δοµαιν Ο β ∆;

κυ∀κΧ2;�(Ο) � χ(Ο;∆) συπ
∆
ϕυ∀ϕ � χ(Ο;∆) µαξ

≅π∆
ϕυϕ :

Βψ Λεµµα 14.3, τηερε εξιστσ ϖ 2 Χ2;�λοχ (∆) σατισφψινγ Ηϖ = 0 ιν ∆ συχη τηατ φορ
σοµε ∀κ ! 0, υ∀κ ! ϖ υνιφορµλψ ον ανψ χοµπαχτ συβσετ οφ ∆. Λετ υσ σηοω τηατ
ϖϕ≅π∆ = ∋. Φορ ανψ ζ0 2 ≅∆, ωε ηαϖε:

ϕϖ (ζ)� ∋ (ζ0)ϕ � ϕϖ (ζ)� υ∀κ (ζ)ϕ+ ϕυ∀κ (ζ)� ∋ (ζ0)ϕ :

Βψ (18.1),

ϕυ∀κ (ζ)� ∋ (ζ0)ϕ < � ωηενεϖερ δ (ζ; ζ0) < � (υνιφορµλψ ιν ∀κ)

ωηιλε, φορ ανψ συχη ζ ωε ηαϖε

ϕϖ (ζ)� υ∀κ (ζ)ϕ < �
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φορ ∀κ σµαλλ ενουγη (ποσσιβλψ δεπενδινγ ον ζ). Ηενχε ϖϕ≅π∆ = ∋, ανδ φροµ τηε
µαξιµυµ πρινχιπλε φορ Η ιτ φολλοωσ τηατ ϖ = υ ιν ∆. Ιν παρτιχυλαρ υ∀κ υνιφορµλψ
χονϖεργεσ το υ ον τηε χοµπαχτ συβσετσ οφ ∆. Ωε νοω ωαντ το αππλψ Τηεορεµ
17.3 το υ∀κ (ρεχαλλ τηατ υ∀ � 0 σινχε ∋ � 0). Σινχε Ηυ∀κ = 0 ιν

�
�0 �Ρ2; �0

�
�Α;

ωε νοτε τηατ υ∀κ (�0; �) χουλδ βε δισχοντινυουσ; ηενχε, το χηεχκ τηε ασσυµπτιονσ
οφ Τηεορεµ 17.3 ωε ηαϖε το χονσιδερ υ∀κ ον τηε χψλινδερ

(�� �Ρ02; ��)�Β(�0; Ρ0);

ωηερε Ρ0 = �Ρ, �� = �0 � �Ρ02 ανδ � > 0 ισ σµαλλ. Λετ αλσο η02 =
π
η2 ανδ


0 = 
=�. Βψ ουρ χηοιχε οφ τηε παραµετερσ, ωε ηαϖε:


0 < 1;


0Ρ0 = 
Ρ;

η02Ρ
02 > η2Ρ

2;

η1Ρ
02 < η1Ρ

2;

τηερεφορε

µαξ
[���η2Ρ2;���η1Ρ2]�Β(�0;
Ρ)

υ∀κ � µαξ
[���η02Ρ02;���η1Ρ02]�Β(�0;
0Ρ0)

υ∀κ

� χ(η1; η2; 
; Ρ0)υ∀κ(��; �0)

βψ Τηεορεµ 17.3. Λεττινγ �ρστ κ γο το ιν�νιτψ ανδ τηεν � γο το ζερο, φροµ τηε
αβοϖε ινεθυαλιτψ ωε �ναλλψ γετ

µαξ
[�0�η2Ρ2;�0�η1Ρ2]�Β(�0;
Ρ)

υ � χ(η1; η2; 
; Ρ0)υ(�0; �0):

Τηε αβοϖε τηεορεµ εασιλψ ιµπλιεσ αλσο τηε αναλογ στατιοναρψ ϖερσιον.
Προοφ οφ Τηεορεµ 15.3. Σινχε υ ισ αλσο α νοννεγατιϖε σολυτιον το Ηυ = 0 ιν
Ρ�Β (�0; 3Ρ) ; βψ Τηεορεµ 15.1 ωε κνοω τηατ

µαξ
Β(�0;Ρ)

υ �Μυ (�0) . (18.2)

Νοω, λετ ξ0 2 Β (�0; Ρ) συχη τηατ υ (ξ0) = µιν
Β(�0;Ρ)

υ, λετ ρ = δ (ξ0; �0) ανδ

ρ0 = (ρ +Ρ) =2. Τηεν �0 2 Β (ξ0; ρ0); Β (ξ0; 2ρ0) � Β (�0; 3Ρ) ; ηενχε αγαιν βψ
Τηεορεµ 15.1 ωε ηαϖε

υ (�0) � µαξ
Β(ξ0;ρ0)

υ �Μυ (ξ0) =Μ µιν
Β(�0;Ρ)

υ

ανδ
µαξ
Β(�0;Ρ)

υ �Μ2 µιν
Β(�0;Ρ)

υ:
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Επιλογυε

19 Αππλιχατιονσ το οπερατορσ ωηιχη αρε δε�νεδ

ονλψ λοχαλλψ

Ασ ωε ηαϖε αλρεαδψ ποιντεδ ουτ, τηε �ναλ γοαλ οφ ουρ τηεορψ ισ το εσταβλιση σοµε
λοχαλ προπερτιεσ φορ αν οπερατορ Η δε�νεδ ιν σοµε βουνδεδ δοµαιν οφ Ρν+1,
δεδυχινγ τηεµ φροµ τηε προπερτιεσ οφ τηε γλοβαλλψ δε�νεδ οπερατορσ τηατ ωε
ηαϖε χονσιδερεδ σο φαρ. Ωε χοµε ατ λαστ ατ τηισ ποιντ.
Ασσυµε Η ισ αν οπερατορ οφ τψπε

Η = ≅τ � Λ = ≅τ �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ΖιΖϕ �
θΞ

κ=1

ακ (τ; ξ)Ζκ � α0 (τ; ξ)

ωηερε Ζ1; Ζ2; :::; Ζθ αρε σµοοτη Ηρµανδερ ϖεχτορ �ελδσ ιν σοµε βουνδεδ δο−
µαιν 
 οφ Ρν; λετ δΖ βε τηε ΧΧ−διστανχε ινδυχεδ βψ τηε Ζι�σ ιν 
, ανδ δΖΠ
τηε χορρεσπονδινγ παραβολιχ ΧΧ−διστανχε δε�νεδ ιν Ρ � 
. Ασσυµε τηατ τηε
χοε′χιεντσ αιϕ ; ακ; α0 αρε βουνδεδ ανδ δΖΠ −Ηλδερ χοντινυουσ ιν α χψλινδερ
Χ =(Τ1; Τ2) � 
 (�1 � Τ1 < Τ2 � 1), ανδ λετ φαιϕγ σατισφψ τηε φολλοωινγ
υνιφορµ ποσιτιϖε δε�νιτενεσσ χονδιτιον ιν τηε σαµε χψλινδερ:

��1 ϕωϕ2 �
θΞ

ι;ϕ=1

αιϕ (τ; ξ)ωιωϕ � � ϕωϕ2 8ω 2 Ρθ; (τ; ξ) 2 (Τ1; Τ2)� 
: (19.1)

Τηεν:

Τηεορεµ 19.1 (Λοχαλ φυνδαµενταλ σολυτιον φορ Η) Υνδερ τηε αβοϖε ασ−
συµπτιονσ, φορ ανψ δοµαιν 
0 β 
, τηερε εξιστσ α φυνχτιον

η : Ρν+1 � Ρν+1 ! Ρ

συχη τηατ, σεττινγ Χ0 = (Τ1; Τ2)� 
0, ωε ηαϖε:

ι) η ισ χοντινυουσ αωαψ φροµ τηε διαγοναλ οφ Ρν+1 � Ρν+1;

ιι) η (ζ; �) ισ νοννεγατιϖε, ανδ ϖανισηεσ φορ τ � � ;

ιιι) φορ εϖερψ �ξεδ � 2 Ρν+1, ωε ηαϖε

η(�; �) 2 Χ2;�λοχ (Χ0 ν φ�γ); Η (η(�; �)) = 0 ιν Χ0νφ�γ;

ιϖ) τηερε εξιστσ Τ > 0; δεπενδινγ ον 
0, συχη τηατ τηε φολλοωινγ εστιµατεσ ηολδ
φορ εϖερψ ζ = (τ; ξ) ; � = (�; �) 2 Χ0, 0 < τ� � � Τ :

χ�1Ε(ξ; �; χ�1(τ� �)) � η(ζ; �) � χΕ(ξ; �; χ(τ� �));
ϕΖϕ (η(�; �)) (ζ)ϕ � χ(τ� �)�1=2Ε(ξ; �; χ(τ� �));

ϕΖιΖϕ (η(�; �)) (ζ)ϕ+ ϕ≅τ (η(�; �)) (ζ)ϕ � χ(τ� �)�1Ε(ξ; �; χ(τ� �));
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ωηερε

Ε(ξ; �; τ) = ϕΒδΖ (ξ;
π
τ)ϕ�1 εξπ

�
�δΖ(ξ; �)

2

τ

�

ανδ χ ισ α ποσιτιϖε χονσταντ τηατ δεπενδσ ονλψ ον τηε ϖεχτορ �ελδσ Ζι, τηε
Ηλδερ νορµσ οφ τηε χοε′χιεντσ, τηε νυµβερ � ανδ τηε δοµαινσ 
;
0;

ϖ) φορ ανψ φ 2 Χ�0 (Χ0) ; τηε φυνχτιον

υ (τ; ξ) =

Ζ

Ρν+1

η(τ; ξ; �; �) φ(�; �)δ�δ�

βελονγσ το Χ2;�λοχ (Χ0) ανδ σολϖεσ τηε εθυατιον

Ηυ = φ ιν Χ0

ϖι) τηε φολλοωινγ ρεπροδυχτιον φορµυλα ηολδσ

η(τ; ξ; �; �) =

Ζ

Ρν

η(τ; ξ; σ; ψ)η(σ; ψ; �; �)δψ;

φορ τ > σ > � ανδ ξ; � 2 Ρν.

Ιν τηε αβοϖε τηεορεµ τηε Ηλδερ σπαχεσ αρε τακεν ωιτη ρεσπεχτ το Ζ1; : : : ; Ζµ
ανδ (δΖ)Π αναλογουσλψ ασ ιν ∆ε�νιτιον 10.4.
Προοφ. Φορ 
0 β 
 �ξεδ, ωε χηοοσε δοµαινσ 
ι συχη τηατ


0 β 
2 β 
1 β 
0 β 
:

Βψ Τηεορεµ 2.9, τηερε εξιστσ α νεω σψστεµΞ = (Ξ1; Ξ2; :::; Ξµ) (µ = θ+ν)
οφ ϖεχτορ �ελδσ, συχη τηατ τηε Ξι�σ αρε δε�νεδ ον τηε ωηολε σπαχε Ρν ανδ σατισφψ
Ηρµανδερ�σ χονδιτιον ιν Ρν; µορεοϖερ:

Ξ = (Ζ1; Ζ2; :::; Ζθ; 0; 0; :::; 0) ιν 
1;

Ξ = (0; 0; :::; 0; ≅ξ1 ; ≅ξ2 ; :::; ≅ξν) ιν Ρ
ν ν 
0;

δΞ ισ εθυιϖαλεντ το δΖ ιν 
2:

Νοω, ωε εξτενδ τηε χοε′χιεντσ αιϕ ; ακ; α0 το τηε ιν�νιτε χψλινδερ Ρ�
; ϕυστ
σεττινγ:

αιϕ (τ; ξ) = αιϕ (Τ1; ξ) ιφ τ � Τ1; αιϕ (τ; ξ) = αιϕ (Τ2; ξ) ιφ τ � Τ2

(ανδ αναλογουσλψ φορ τηε ακ�σ ανδ α0). Χλεαρλψ, τηε Χ
�
Ζ νορµσ οφ τηε εξτενδεδ

χοε′χιεντσ ιν Ρ�
 αρε εθυαλ το τηοσε οφ τηε οριγιναλ χοε′χιεντσ ιν (Τ1; Τ2)�
:
Νεξτ, ωε τακε α χυτο⁄ φυνχτιον � (ξ) συχη τηατ


0 � � � 
2

ανδ δε�νε
εαιϕ = �αιϕ + (1� �) �ιϕ φορ ι; ϕ = 1; :::; θ:
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Σινχε αιϕ 2 Χ�Ζ (Ρ� 
) ; ωε αλσο ηαϖε εαιϕ 2 Χ�Ζ (Ρ� 
) ανδ τηερεφορε εαιϕ 2
Χ�Ξ (Ρ� 
2) ; βψ τηε εθυιϖαλενχε οφ δΞ ανδ δΖ ιν 
2. Ον τηε οτηερ ηανδ, ιν
Ρ � 
χ2 τηε εαιϕ �σ αρε χονσταντ, σο εαιϕ 2 Χ�Ξ

�
Ρν+1

�
, ωιτη νορµσ χοντρολλεδ βψ

καιϕκΧ�
Ζ(Ρ�
)

. Ιτ ισ αλσο ιµµεδιατε το χηεχκ τηατ τηε µατριξ φεαιϕγ στιλλ σατισ�εσ
(19.1) ωιτη τηε σαµε χονσταντ �. Φιναλλψ, ωε σετ

φεαιϕγµι;ϕ=1 =
�φεαιϕγθι;ϕ=1 0

0 Ιν

�
:

Ασ το τηε χοε′χιεντσ ακ; α0; ωε µακε αν αναλογουσ (βυτ σιµπλερ) εξτενσιον,
ϕυστ σεττινγ

εακ = �ακ

ανδ ρεπεατινγ τηε αβοϖε ρεασονινγ.
Ωιτη τηισ χονστρυχτιον, ωε σεε τηατ τηε οπερατορ

εΗ = ≅τ �
µΞ

ι;ϕ=1

εαιϕ (τ; ξ)ΞιΞϕ �
θΞ

κ=1

εακ (τ; ξ)Ξκ � εα0 (τ; ξ)

�τσ τηε ασσυµπτιονσ οφ Παρτ ΙΙ, ασ στατεδ ιν Σεχτιον 10. Ηενχε ωε χαν αππλψ
Τηεορεµ 10.7 το εΗ: Τηε γλοβαλ φυνδαµενταλ σολυτιον η οφ εΗ ισ τηεν α λοχαλ
φυνδαµενταλ σολυτιον φορ Η, σατισφψινγ αλλ τηε προπερτιεσ ρεθυιρεδ ιν ποιντσ ι) το

ϖι). Τηισ σιµπλψ φολλοωσ φροµ τηε φαχτ τηατ, ιν Χ0, εΗ χοινχιδεσ ωιτη Η ανδ δΞ
ισ εθυιϖαλεντ το δΖ .
Ωε ϕυστ νοτε τηατ τηε νυµβερ Τ ηασ το βε χηοσεν σµαλλ ενουγη, σο τηατ

ΒδΖ (ξ;
π
χΤ ) � 
2 ωηενεϖερ ξ 2 
0; τηισ φαχτ ασσυρεσ τηατ ΒδΖ (ξ;

π
τ) ισ ωελλ

δε�νεδ, ανδ ιτσ µεασυρε ισ εθυιϖαλεντ το ΒδΞ (ξ;
π
τ), φορ ανψ τ 2 (0; χΤ ) :

Αναλογουσλψ ωε ηαϖε:

Τηεορεµ 19.2 (Ηαρναχκ ινεθυαλιτψ) Ασσυµε Η σατισ�εσ αλλ τηε αβοϖε ασ−
συµπτιονσ; µορεοϖερ, τακε α0 � 0. Φορ ανψ δοµαιν 
0 β 
 τηερε εξιστσ α
χονσταντ Ρ0 > 0 συχη τηατ, φορ εϖερψ 0 < η1 < η2 < 1 ανδ 
 2 (0; 1), τηερε
εξιστσ Μ > 0, δεπενδινγ ονλψ ον η1; η2; 
;
;


0; �, τηε ϖεχτορ �ελδσ Ζι ανδ τηε
Ηλδερ νορµσ οφ τηε χοε′χιεντσ, συχη τηατ φορ εϖερψ (�0; �0) 2 Χ0 = (Τ1; Τ2)�
0,
Ρ 2 (0; Ρ0] ανδ εϖερψ

υ 2 Χ2((�0 �Ρ2; �0)�Β(�0; Ρ)) ∴ Χ([�0 �Ρ2; �0]�Β(�0; Ρ))

σατισφψινγ Ηυ = 0, υ � 0 ιν (�0 �Ρ2; �0)�Β(�0; Ρ); ωε ηαϖε

µαξ
[�0�η2Ρ2;�0�η1Ρ2]�Β(�0;
Ρ)

υ �Μ υ(�0; �0):

Αλλ τηε βαλλσ αρε τακεν ωιτη ρεσπεχτ το δΖ .

Ρεµαρκ 19.3 Ρεχαλλ τηατ, βψ Τηεορεµ 14.4, ιφ υ ισ α Χ2 σολυτιον το Ηυ = 0;
τηεν υ 2 Χ2;�λοχ . Ηερε τηε σπαχε Χ

2 ισ δε�νεδ ασ ιν ∆ε�νιτιον 10.3, βυτ ωιτη
ρεσπεχτ το τηε ϖεχτορ �ελδσ Ζι.
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Προοφ. Ωιτη τηε σαµε χονστρυχτιον εξπλαινεδ ιν τηε προοφ οφ τηε πρεϖιουσ
τηεορεµ, ωε βυιλδ αν οπερατορ εΗ ωηιχη σατισ�εσ τηε ασσυµπτιονσ οφ Τηεορεµ
15.1 ανδ συχη τηατ ιν Χ0, εΗ χοινχιδεσ ωιτη Η ανδ δΞ ισ εθυιϖαλεντ το δΖ . Τηεν,
ονε χαν ρεπεατ τηε ωηολε προοφ οφ Τηεορεµ 15.1 υσινγ τηε διστανχε δΖ ινστεαδ
οφ δΞ , ανδ χονχλυδε τηατ ουρ ασσερτιον ηολδσ. Αναλογουσλψ ονε χαν ρεστατε τηε
στατιοναρψ Ηαρναχκ ινεθυαλιτψ (Τηεορεµ 15.3) ιν τηισ λοχαλ σεττινγ.

20 Φυρτηερ δεϖελοπµεντσ ανδ οπεν προβλεµσ

Τηε ρεσυλτσ προϖεδ ιν τηισ ωορκ λεαϖε σοµε προβλεµσ οπεν, ανδ συγγεστ φυρτηερ
δεϖελοπµεντσ οφ ουρ στυδψ. Ηερε ωε σηαλλ βριε�ψ ιλλυστρατε σοµε οφ τηεµ, ωηιχη
ωε ωουλδ λικε το αδδρεσσ ιν τηε φυτυρε.

Φυνδαµενταλ σολυτιον φορ τηε στατιοναρψ οπερατορ

Λετ υσ χονσιδερ τηε στατιοναρψ οπερατορ

Λ =
µΞ

ι;ϕ=1

αιϕ (ξ)ΞιΞϕ :

Α σχαλινγ ινϖαριαντ Ηαρναχκ ινεθυαλιτψ φορ Λ ηασ βεεν δεδυχεδ βψ τηε αναλογουσ
(παραβολιχ) ρεσυλτ φορ Η, σεε Τηεορεµ 15.3.
Ιτ ωουλδ βε ιντερεστινγ το προϖε τηε εξιστενχε οφ α φυνδαµενταλ σολυτιον �

φορ Λ, ενϕοψινγ νατυραλ προπερτιεσ, αµονγ ωιτη βουνδσ οφ τηε κινδ:

δ (ξ; ψ)
2

χ ϕΒδ (ξ; ψ)ϕ
� � (ξ; ψ) � χδ (ξ; ψ)

2

ϕΒδ (ξ; ψ)ϕ
;

ϕΞξ
ι � (ξ; ψ)ϕ �

χδ (ξ; ψ)

ϕΒδ (ξ; ψ)ϕ
;

��Ξξ
ι Ξ

ξ
ϕ � (ξ; ψ)

�� � χ

ϕΒδ (ξ; ψ)ϕ
:

Α ποσσιβλε ωαψ το προϖε τηεσε ρεσυλτσ, αλρεαδψ φολλοωεδ ιν [4] φορ ϖεχτορ �ελδσ
ον Χαρνοτ γρουπσ, ισ το χονσιδερ:

� (ξ; ψ) =

Ζ 1

0

η (τ; ξ; ψ) δτ

ωηερε η ισ τηε φυνδαµενταλ σολυτιον οφ τηε εϖολυτιον οπερατορ ≅τ�Λ. Οβϖιουσλψ,
το µακε τηισ δε�νιτιον µεανινγφυλ, ονε νεεδσ το εσταβλιση λονγ τιµε εστιµατεσ
φορ η, λικε

η (τ; ξ; ψ) � χ��Βδ
�
ξ;
π
τ
��� φορ τ 2 (0;1) ; ξ; ψ 2 Ρ

ν:

Τηε προοφ οφ τηεσε λονγ τιµε εστιµατεσ ον η ισ α νοντριϖιαλ εξτενσιον οφ ουρ
ρεσυλτσ, ωηιχη σεεµσ το ρεθυιρε σοµε νεω ιδεασ.
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Γενεραλ Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ον τηε ωηολε Ρν

Ουρ τηεορψ ηασ βεεν δεϖελοπεδ το τρεατ τηε χασε οφ α σψστεµ οφ Ηρµανδερ�σ
ϖεχτορ �ελδσ δε�νεδ ον α βουνδεδ δοµαιν οφ Ρν. Τηε σψστεµ ηασ τηεν βεεν
εξτενδεδ το τηε ωηολε σπαχε ιν α συιταβλε φασηιον. Α ηαρδερ χηαλλενγε ωουλδ
βε το χονσιδερ ανψ σψστεµ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ δε�νεδ ον τηε ωηολε
Ρν; ι.ε. ωιτηουτ ασσυµινγ τηατ ουτσιδε α χοµπαχτ σετ τηεψ τακε α παρτιχυλαρ
φορµ. Χλεαρλψ, σοµε ρεθυιρεµεντ µυστ βε δονε ον τηε βεηαϖιορ οφ τηε ϖεχτορ
�ελδσ Ξι =

Πν
ϕ=1 βιϕ (ξ) ≅ξϕ ατ ιν�νιτψ, ιν τερµσ οφ τηε χοε′χιεντσ βιϕ ανδ οφ

τηειρ δεριϖατιϖεσ, ανδ / ορ ιν τερµσ οφ σοµε γλοβαλ προπερτψ οφ τηε Χαρνοτ−
Χαρατηοδορψ µετριχ ινδυχεδ βψ τηε ϖεχτορ �ελδσ.

Τιµε−δεπενδεντ ανδ ρουγη ϖεχτορ �ελδσ

Μοτιον βψ Λεϖι χυρϖατυρε ινϖολϖεσ φυλλψ νονλινεαρ παρτιαλ δι⁄ερεντιαλ εθυατιονσ
ωηοσε λινεαριζατιονσ τακε τηε φορµ:

Η � ≅τ �
2νΞ

ι;ϕ=1

αιϕ (τ; ξ)ΞιΞϕυ = φ (τ; ξ) φορ (τ; ξ) 2 Ρ2ν+2

ωιτη

Ξι =
2ν+1Ξ

ϕ=1

βιϕ (τ; ξ) ≅ξϕ :

Ηενχε, τηε ϖεχτορ �ελδσ ηαϖε τιµε−δεπενδεντ χοε′χιεντσ, εϖεν τηουγη τηεψ στιλλ
αχτ ασ δι⁄ερεντιαλ οπερατορσ ιν τηε σπαχε ϖαριαβλεσ ονλψ. Φορ ανψ �ξεδ τ, τηεσε
Ξι�σ αρε α σψστεµ οφ ϖεχτορ �ελδσ ιν Ρ2ν+1; σατισφψινγ α Ηρµανδερ�σ ρανκ χονδι−
τιον οφ στεπ τωο ωηεν, φορ ινστανχε, τηε πρεϖιουσ εθυατιον δεσχριβεσ τηε µοτιον
οφ στριχτλψ πσευδοχονϖεξ ρεαλ ηψπερσυρφαχεσ. Ον τηε οτηερ ηανδ, τηε ϖαριαβλε τ
ιν τηε χοε′χιεντσ βιϕ χαννοτ βε σεεν ϕυστ ασ α �παραµετερ�, σινχε τηε οπερατορ
Η αλσο ινϖολϖεσ τηε δεριϖατιϖε ωιτη ρεσπεχτ το τ. Εξτενδινγ ουρ τηεορψ το τηισ
σεττινγ ισ λικελψ το ποσε νεω ιντερεστινγ προβλεµσ.
∆εεπενινγ τηε αβοϖε αναλψσισ, ονε σηουλδ αλσο τακε ιντο αχχουντ τηε νεχεσσιτψ

το δεαλ ωιτη ρουγη χοε′χιεντσ βιϕ (τ; ξ) : Ινδεεδ, ιν τηε οριγιναλ φυλλψ−νονλινεαρ
εθυατιον τηεσε χοε′χιεντσ δεπενδ ον τηε σολυτιον υ (τ; ξ), ωηιχη α−πριορι χουλδ
βε νονσµοοτη. Α γενεραλ στυδψ οφ σεχονδ ορδερ �Ηρµανδερ�σ οπερατορσ� βυιλτ
ωιτη νονσµοοτη ϖεχτορ �ελδσ σεεµσ ατ πρεσεντ ουτ οφ σιγητ, βυτ ονε χουλδ τρψ το
ηανδλε σοµε µορε σιµπλψ στρυχτυρεδ σιτυατιον, συ′χιεντ το χοϖερ τηε παρτιχυλαρ
αππλιχατιον ωε ηαϖε δεσχριβεδ.
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